299 ACCkee ARRTIEL 20257

www.acckee.com



ACCkee AR

Al &N
FIRREETDIEERADIERSHREER, RITAREFSHLMIIE-Uth, IR
L5k

“BIR” BISZF19825F, 2020F A ARFRBE2ZEZHFHEREULE~E, HiER50R
B, ERERSFFHKESEICFKENETL, Fro50053UH, 405 EETIRIEH.

ABPETUNHEPOMEUFL, B “SHEEH NEARL., mREZHORM, $F,
EMFZMERTEX . RADABEEREFN, S5 PMERRARTENTIRENTE, 85
2 RIRAE, BIZISO9001REEBARRKIAIE,

REAWERE: ALK RAMITIENHEENSIAE .

ABOUT US

ACCkee isa high—tech engineering group specialized in drilling and hard material
technologies. Was established in 1983, covers an area of 80,000 square meters in
Wenling, Zhejiang,China. And since then we fully dedicated to develop and produce
boring tools, rapiddrilling tools.

After 40 years of struggle, we are continuously improving and enlarging our
product range for customers. we finally do the market through a distribution network
covering Europe, Japan, Korea, Mid—East, Russia,India and more than 30 countries
and areas.

In 2020, ACCkee invested 25 million USD to build the first phase of the project—-a
digital smart U drill production base, to start the project with an annual output of 5
million U drills and 400,000 sets of boring head. It has more than 300 machining
centers.

For product development we set up a lab for inspection according to the world
standard. Such as German HAIMER Balancing Machine, Universal Tooling
Microscope, CMM, direct-reading spectrometer, Metallographic analyzer and so
on. Till now, all of equipment’ s and testing means reached the international
advanced level.

Your vision, our innovation

Boring head series: ¢ 14-¢ 750 high—precision finish boring head, rough boring
head, combined boring head;

Shallow hole drill series: ¢ 8.5-¢ 100 SP/SO/SC, WC/WD/PDL

Deep hole drill series: 6D 7D 8D 9D 10D with centering adjustable drill

To fully adapt to the needs of your market, we will find the optimal solution for the
demands. If our presentation of the standard tools in this catalogue does not fit your
needs, please contact us to design and making special tools for your customized
solution.

Our mission: To be the high—tech engineering group sepcialised in Drilling and
Boring.






TDR-2 XD (9 10-60) Indexable drills with SP inserts TDR=3 XD (® 10-60) Indexable drills with SP inserts
SP gg ?E*}l.liﬁl U %E 2 D Holder diameter 2D:®10~60.0mm SP gg ;§¥L$EI U %E 3 D Holder diameter 3D:®10 ~60.0mm

MIAZER%E -0.25~+0.25 RANIRE ¢ 2x ®Dc MIAZER%E -0.25~+0.25 RANIRE ¢ 3x ®Dc
Range of machining tolerance:-0.25~+0.25 Drilling depth: 2xdiameter Range of machining tolerance:-0.25~+0.25 Drilling depth: 3xdiameter
o] { 3 . —
ol_ =S ol v | e
e e
] L1 L ] Ly
L2 Ls L2 Ls
L L
Fig.1 Fig.1
D R HSR Bz L | 0| 2|05 BRI & DL R sk iz L | 0|02 |0s BRI & DE e B EE L | Q| 0a|bs BFDR & D e s EE L | & 2|0 izl &
®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m
10 2D10-22SP04 ® |855| 22 (355 0.2 34 2D34-72SP09/11 | @ | 156 | 72 | 96 SP..090408 |0.8 10 3D10-32SP04 ® | 97 |32 |47 0.2 34 3D34-106SP09/11| @ | 190 |106|130 SP..090408 |0.8
10.5 2D10.5-23SP04 ® [86.5| 22 (35.5 0.2 34.5 2D34.5-73SP09/11| @ | 157 | 73 | 97 SP..110408 |0.8 10.5 3D10.5-34SP04 ® |97.5(34 |475 0.2 34.5 3D34.5-108SP09/11 @ | 192 |108|132 SP..110408 |0.8
11 2D11-24SP04 @® |87.5| 24 |36.5 0.2 35 2D35-74SP11 ® (158 |74 |98 0.8 11 3D11-34SP04 @® |98.5( 34 |485 0.2 35 3D35-109SP11 @® | 193 (109|133 0.8
11.5 20 2D11.5-24SP04 @® | 88 |24 | 38 44| SP.osTI02 0.2 35.5 2D35.5-75SP11 @® | 159 |75 | 99 0.8 11.5 20 3D11.5-37SP04 @® (100 | 37 | 50 44| SP.04T102 0.2 35.5 3D35.5-111SP11 | @ | 195 (111|135 0.8
12 2D12-26SP04 @® (90 [ 25|40 0.2 36 2D36-76SP11 @® (160 | 76 |100 0.9 12 3D12-38SP04 @® | 102 | 38 | 52 0.2 36 3D36-112SP11 ® | 196 (112|136 0.9
12.5 _2D12.5—27SP04 ® | 93 |27 |43 0.2 36.5 30 2D36.5-77SP11 ® (161 |77 |101 50 0.9 12.5_3D12.5—41SP04 @® | 105 |41 | 55 0.2 36.5 30 3D36.5-114SP11 | @ | 198 114|138 60 0.9
13 2D13-29SP05 ® | 88 |29 |44 0.2 37 2D37-79SP11 ® | 169 |79 (109 0.9 13 3D13-42SP05 ® | 101 |42 | 57 0.2 37 3D37-116SP11 @® | 206 (116|146 0.9
13.5 2D13.5-30SP05 @® | 89 | 30|45 0.2 37.5 2D37.5-80SP11 @® | 170 | 80 (110 0.9 18.5 3D13.5-44SP05 ® (103 | 44 | 59 0.2 37.5 3D37.5-181SP11 | @ | 208 (118|148 0.9
14 2D14-31SP05 @® | 90 | 31| 46 0.2 38 2D38-81SP11 @® | 17181 (111 SP.110408 0.9 14 3D14-45SP05 ® | 104 | 45 | 60 0.2 38 3D38-119SP11 @® | 209 (119]149 SP.110408 0.9
20 44 | SP..050204 20 44| SP..050204
14.5 2D14.5-32SP05 ® (91 (32|47 0.2 38.5 2D38.5-82SP11 ® | 17282 |112 0.9 14.5 3D14.5-47SP05 ® | 106 | 47 | 62 0.2 38.5 3D38.5-121SP11 | @ | 211 [121|151 0.9
15 | / |op15-33sP0s | @ |92 |33 |48 |’/ 02 39 2D39-835P11 | @ |173 (83 [113 1.0 15 | / |3p15-48spos | @ |107 |48 |63 |’ 02 39 3D39-1225P11 | @ | 212 [122|152 1.0
15.5| 25 |2D155-345P05 | @ | 93 | 34 | 49 |56 02 395 2D39.5-84SP11 | @ | 174 |84 114 1.1 15.5| 25 [3D15.5-50SP05 | ® | 109 | 50 | 65 |56 02 395 3D39.5-124SP11 | @ | 214 124|154 1.1
16 2D16-35SP06 ® | 94 | 35|50 0.2 40 2D40-85SP11 @® | 18585 115 1.1 16 3D16-51SP06 ® | 110 | 51 | 66 0.2 40 3D40-125SP11 @® | 225 (125|155 1.1
16.5 2D16.5-36SP06 @® | 95 | 36 | 51 0.2 40.5 2D40.5-86SP11 O | 186 | 86 |116 1.1 16.5 3D16.5-53SP06 ® (112 | 53 | 68 0.2 40.5 3D40.5-127SP11 | O | 227 (127|157 1.1
17 2D17-37SP06 ® | 96 | 37|52 0.2 41 2D41-87SP11 O | 187 |87 |117 1.1 17 3D17-54SP06 ® | 113 |54 | 69 0.2 41 3D41-128SP11 O | 228 (128|158 1.1
17.5 2D17.5-38SP06 ® | 109 | 38 | 53 0.2 41.5 2D41.5-88SP11 O | 188 |88 (118 1.1 17.5 3D17.5-56SP06 @® | 12756 | 71 0.2 41.5 3D41.5-129SP11 | O | 229 |129|159 1.1
18 2D18-39SP06 ® | 110 39 | 54 0.3 42 2D42-89SP14 O | 189 |89 (119 1.1 18 3D18-57SP06 ® | 128 |57 | 72 0.3 42 3D42-131SP14 O | 231 (131|161 11
18.5 2D18.5-40SP06 @® | 11140 |55 0.3 42.5 2D42.5-90SP14 O | 190 | 90 (120 1.3 18.5 3D18.5-59SP06 @® (130 |59 | 74 0.3 42.5 3D42.5-133SP14 | O | 233 (133|163 1.3
19 2D19-41SP06 ® (112 | 41| 56 SP..060204 0.3 43 2D43-91SP14 O [191 |91 |121 1.5 19 3D19-60SP06 ® | 131 (60|75 SP..060204 0.3 43 3D43-134SP14 O | 234 (134|164 1.5
19.5 2D19.5-42SP06 ® | 113 |42 | 57 0.3 43.5 2D43.5-92SP14 O (19292 |122 1.5 19.5 3D19.5-62SP06 ® | 133 |62 | 77 0.3 43.5 3D43.5-136SP14 | O | 236 |136|166 1.5
20 2D20-43SP06 ® | 114 | 43 | 58 0.3 44 2D44-93SP14 O | 193 |93 |123 1.6 20 3D20-63SP06 ® | 134 (63|78 0.3 44 3D44-137SP14 O | 237 (137|167 1.6
20.5 2D20.5-44SP06 ® | 115 44 | 59 0.3 44.5 2D44.5-94SP14 O | 194 | 94 (124 1.6 20.5 3D20.5-65SP06 ® (136 |65 | 80 0.3 44.5 3D44.5-137SP14 | O | 237 (137|167 1.6
21 2D21-45SP06 ® | 116 | 45| 60 0.3 45 2D45-95SP14 O | 19595 (125 1.7 21 3D21-66SP06 @® | 137 | 66 | 81 0.3 45 3D45-140SP14 O | 240 (140|170 1.7
21.5 25 2D21.5-46SP06 ® (117 | 46 | 61 56 0.3 45.5 2D45.5-96SP14 O | 196 | 96 |126 SP..140512 | 1.7 21.5 25 3D21.5-68SP06 @® (139 |68 | 83 56 0.3 45.5 3D45.5-142SP14 | O | 242 (142|172 SP..140512 |1.7
22 2D22-47SP07 ® (118 |47 | 62 0.4 46 2D46-97SP14 O (197 | 97 |127 1.7 22 3D22-69SP07 ® (140 |69 | 84 0.4 46 3D46-143SP14 O | 243 (143|173 1.7
22.5 2D22.5-48SP07 ® | 11948 | 63 0.4 46.5 2D46.5-98SP14 O | 198 |98 128 1.8 225 3D22.5-71SP07 ® 142 |71 | 86 0.4 46.5 3D46.5-145SP14 | O | 245 (145|175 1.8
23 2D23-49SP07 @® | 123 |49 | 67 0.4 47 2D47-99SP14 O | 199 | 99 (129 1.8 23 3D23-72SP07 @® | 146 |72 | 90 0.4 47 3D47-146SP14 O | 246 (146|176 1.8
23.5 2D23.5-50SP07 ® (124 | 50 | 68 0.4 47.5| 40 |2D47.5-100SP14 | O | 200|100|130|70 1.8 23.5 3D23.5-74SP07 ® (148 |74 | 92 0.4 47.5| 40 [3D47.5-146SP14 | O | 246 |146|176|70 1.8
24 2D24-51SP07 ® | 125| 51 | 69 0.4 48 2D48-101SP14 O | 201 [101|131 1.8 24 3D24-75SP07 ® (14975 |93 0.4 48 3D48-149SP14 O [ 249 [149|179 1.8
24.5 2D24.5-52SP07 ® | 126 |52 | 70 0.4 48.5 2D48.5-102SP14 | O | 202 |102|132 1.8 24.5 3D24.5-77SP07 ® (151 |77 | 95 0.4 48.5 3D48.5-152SP14 | O | 252 |152|182 1.8
25 2D25-53SP07 ® | 127 |53 | 71 SP..07T308 0.4 49 2D49-103SP14 O | 203 (103|133 1.9 25 3D25-78SP07 ® | 152 |78 | 96 SP.07T308 0.4 49 3D49-152SP14 O | 252 (152|182 1.9
25.5 2D25.5-54SP07 @ | 134 |54 | 74 0.6 49.5 2D49.5-105SP14 | O | 204 |104|134 1.9 2585) 3D25.5-80SP07 @® (160 | 80 (100 0.6 49.5 3D49.5-155SP14 | O | 255 (155|185 1.9
26 2D26-55SP07 @® |135|55 |75 0.6 50 2D50-105SP14 O | 205 (105|135 1.9 26 3D26-81SP07 @® | 161 | 81 |101 0.6 50 3D50-155SP14 O | 255 (155|185 1.9
26.5 2D26.5-56SP07 ® (136 | 56 | 76 0.6 51 2D51-107SP09 O |207 (107|137 2.0 26.5 3D26.5-83SP07 @® (163 | 83 (103 0.6 51 3D51-158SP09 O | 258 (158|188 2.4
27 2D27-57SP07 ® | 137 |57 | 77 0.6 52 2D52-109SP09 O | 209 (109|139 2.0 27 3D27-84SP07 ® | 164 |84 (104 0.6 52 3D52-161SP09 O | 261 (161|191 2.5
27.5 2D27.5-58SP07 @® | 138 |58 | 78 0.6 53 2D53-111SP09 O [211 (111141 2.1 27.5 3D27.5-86SP07 @® (166 | 86 (106 0.6 53 3D53-164SP09 O | 264 (164|194 2.6
28 2D28-59SP07/09 | @ [139| 59 | 79 SP..07T308 |0.6 54 2D54-113SP09 O 213 (113|143 2.2 28 3D28-87SP07/09 | @ | 167 | 87 [107 SP..07T308 |[0.6 54 3D54-167SP09 O | 267 (167|197 2.7
28.5 2D28.5-60SP07/09| ® | 140 | 60 | 80 SP..090408 | 0.6 55 2D55-1158P09 | O | 215 [115|145 2.3 28.5 3D28.5-89SP07/09| ® | 169 | 89 |109 SP..090408 |0.6 55 3D55-170SP09 | O | 270 [170|200 2.8
29 2D29-62SP09 @® (143 |62 | 83 0.7 56 2D56-120SP09 O | 222 (120|152 SP..090408 2.4 29 3D29-91SP09 ® (17291 |112 0.7 56 3D56-176SP09 O | 278 (176|208 SP..090408 2.8
29.5| 32 |2D29.5-63SP09 ® | 144 | 63 | 84 |60 0.7 57 2D57-122SP09 O | 224 (122|154 2.5 29.5| 32 [3D29.5-935P09 ® (174 |93 (114| 60 0.7 5174 3D57-179SP09 O | 281 (179|211 3.0
30 2D30-64SP09 @® | 148 | 64 | 88 0.7 58 2D58-124SP09 O | 226 (124|156 2.6 30 3D30-94SP09 @® | 178 |94 |118 0.7 58 3D58-182SP09 O | 284 (182|214 3.2
30.5 2D30.5-65SP09 @® | 149 | 65 | 89 0.7 59 2D59-126SP09 O | 228 (126|158 2.7 30.5 3D30.5-96SP09 @® (180 |96 (120 0.7 59 3D59-185SP09 O | 287 (185|217 3.3
31 2D31-66SP09 ® (150 | 66 | 90 0.7 60 2D60-128SP09 O | 230 (128|160 2.8 31 3D31-97SP09 @® | 181 |97 |121 0.7 60 3D60-188SP90 O | 290 (188|220 3.3
31.5 2D31.5-67SP09 ® | 151 | 67 | 91 SP..090408 0.7 31.5 3D31.5-99SP09 @® | 183 |99 (123 SP..090408 0.7 p
OMitFSpare Parts
32 2D32-68SP09 ® | 152 | 68 | 92 0.8 ® Mark:Standard stock item, 32 3D32-100SP09 ® | 184 (100|124 0.8 Pt BE T RusE B4k P
32.5 2D32.5-69SP09 ® | 153 |69 | 93 0.8 No mark:Made to order item. 32.5 3D32.5-102SP09 | @ | 186 (102|126 0.8 type c;icsmgtesr Blacéirggdel — 8Scre\)/(v — Wr_?gch
33 2D33-70SP09 @® | 154 | 70 | 94 0.8 33 3D33-103SP09 @® | 187 (103|127 0.8 sp 1(‘)_12'.5 SPO4 M1:8 X 4 T6
33.5 2D33.5-71SP09 | @ |155| 71| 95 08 OOERER OEFECHER 33.5 3D33.5-1055P09 | @ | 189 105|129 0.8 13-14.5 SPO5 M2 x| a T6




TDR-4 XD (% 11.5-60) Indexable drills with SP inserts TDR=5XD (® 13-60) Indexable drills with SP inserts
SP gg ?E*}l.liﬁl U %E 4 D Holder diameter 4D:®11.5 ~60.0mm SP gg ;§¥L$EI U %E 5 D Holder diameter 5D:®13.0 ~60.0mm

MIAZEZ%E -0.30~+0.30 BRANIZRE ¢ 4x ©Dc MIAZEZ% -0.30~+0.30 BRANIZRE ¢ 5x ®Dc
Range of machining tolerance:-0.30~+0.30 Drilling depth: 4xdiameter Range of machining tolerance:-0.30~+0.30 Drilling depth: 5xdiameter
o] { 3 . —
ol_ =S ol v | e
e e
] L1 L ] Ly
L2 Ls L2 Ls
L L
Fig.1 Fig.1
D AL HSR Bz L | 0| 2|05 BRI & DL R sk iz L | G| 22|0s BRI & DE e B EE L | O |0a|0s BFDR & D e s EE L | & |00 izl &
®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m
11.5 4D11.5-47SP04 ® (111 |47 | 61 0.2 35.5 4D35.5-146SP11| @ | 230 (146|170 0.8 13 5D13-68SP05 ® 129 | 68 |85 0.3 36 5D36-184SP11 @® | 268 | 184|208 1.3
12 | 20 [4D12-50SP04 ® |115|50 | 65 |44 | SP..04T102 |0.2 36 4D36-148SP11 @® | 232 (148|172 0.9 13.5 5D13.5-71SP05 ® (131 |71 |87 0.3 36.5 5D36.5-187SP11| @ | 271 | 187 |211 1.3
12.5 4D12.5-52SP04 ® | 117 | 52 | 67 0.2 36.5 4D36.5-150SP11| @ | 236 |150|174 0.9 14 5D14-73SP05 @® | 133 | 73 |89 0.3 37 5D37-190SP11 @® | 280 | 190 |220 1.3
13 _4D13—558P05 @® | 114 |55 |70 0.2 37 4D37-153SP11 ® | 243 (153|183 0.9 14.5| 20 [5D14.5-76SP05 @® (13576 |91 |44 SP..050204 0.3 37.5 30 5D37.5-193SP11| @ | 283 | 193|223 60 1.3
13.5 4D13.5-57SP05 ® (116 |57 | 72 0.2 37.5| 32 |4D37.5-155SP11| @ | 245 [155|185| 60 0.9 15 / |5D15-78SP05 ® 137 |78 |93 / 0.3 38 5D38-195SP11 @® | 285 | 195 |225 SP.110408 1.4
14 4D14-59SP05 ® | 118 |59 |74 SP..050204 0.2 38 4D38-157SP11 @® | 247 (157|187 SP..110408 |0.9 15.5| 25 [5D15.5-80SP05 ® | 140 | 80 | 95|56 0.3 38.5 5D38.5-198SP11| @ | 288 | 198 [228 1.4
14.5| 20 |4D14.5-61SP05 ® | 120 | 61 |76 |44 0.2 38.5 4D38.5-159SP11| @ | 249 |159|189 0.9 16 5D16-83SP06 @® | 142 | 83 |98 0.4 39 5D39-200SP11 @® | 290 | 200 |230 1.9
15 / |4D15-63SP05 ® (122 (63|78 | / 0.2 39 4D39-161SP11 ® (251 (161|191 1.0 16.5 5D16.5-86SP06 ® (145 86 |101 0.4 39.5 5D39.5-203SP11| @ | 293 | 203 |233 1.9
15.5| 25 |4D15.5-65SP05 ® | 124 | 65| 80 |56 0.2 39.5 4D39.5-163SP11| @ | 253 |163|193 1.1 17 5D17-88SP06 @® | 147 | 88 (103 0.4 40 5D40-205SP11 @® | 305 | 205 |235 1.9
16 4D16-67SP06 ® (126 | 67 | 82 0.2 40 4D40-165SP11 @® (265 (165|195 1.1 17.5 5D17.5-91SP06 ® | 162 | 91 |106 0.4 40.5 5D40.5-207SP11| @ | 307 | 207 |237 1.9
16.5 4D16.5-69SP06 ® | 128 |69 | 84 0.2 40.5 4D40.5-167SP11| O | 267 |167|197 1.1 18 5D18-93SP06 ® | 164 | 93 (108 0.5 41 5D41-210SP11 ® | 310 | 210 |240 2.0
17 4D17-71SP06 @® | 130 |71 |86 0.2 41 4D41-169SP11 O | 269 (169|199 1.1 18.5 5D18.5-96SP06 ® (167 | 96 |111 0.5 41.5 5D41.5-212SP11| @ | 312 | 212|242 2.0
17.5 4D17.5-73SP06 @® | 144 |73 | 88 0.2 41.5 4D41.5-1718P11| O | 271 |171|201 1.1 19 5D19-98SP06 @® | 169 | 98 (113 SP..060204 0.5 42 5D42-215SP14 | @ | 315|215 |245 2.1
18 4D18-75SP06 @® | 146 | 75| 90 0.3 42 4D42-173SP14 | O | 273 |173|203 1.1 19.5 5D19.5-101SP06 @® (172|101 |116 0.5 42.5 5D42.5-217SP14| @ | 317 | 217 |247 2.1
18.5 4D18.5-77SP06 @® (148 |77 |92 0.3 42.5 4D42.5-175SP14| O | 275 (175|205 1.3 20 5D20-106SP06 ® (174103 |118 0.5 43 5D43-220SP14 | @ | 320 | 220 |250 2.2
19 4D19-79SP06 ® | 150 |79 |94 SP..060204 0.3 43 4D43-177SP14 | O | 277 |177|207 1.5 20.5 5D20.5-106SP06 @® | 177 [ 106 |121 0.5 43.5 5D43.5-223SP14| @ | 323|223 253 2.2
19.5 4D19.5-81SP06 ® (152 | 81|96 0.3 43.5 4D43.5-179SP14| O | 279 (179|209 1.5 21 5D21-108SP06 @® | 179 (108 (123 0.5 44 5D44-225SP14 @® | 325 | 225 |255 2.3
20 4D20-83SP06 @® | 154 | 83 | 98 0.3 44 4D44-181SP14 | O | 281 (181|211 1.6 21.5 25 5D21.5-111SP06 ® (182|111 |126 56 0.5 44.5 5D44.5-225SP14| @ | 325 | 225 |255 2.3
20.5 4D20.5-85SP06 @® (156 | 85 |100 0.3 44.5 4D44.5-183SP14| O | 283 (183|213 1.6 22 5D22-113SP07 ® | 184 (113 (128 0.5 45 5D45-230SP14 | @ | 330 | 230 |260 2.4
21 4D21-87SP06 ® | 158 | 87 (102 0.3 45 4D45-185SP14 | O | 285|185|215 1.7 22.5 5D22.5-116SP07 ® | 187 (116|131 0.5 45.5 5D45.5-232SP14| @ | 332 | 232 |262 SP..140512 [2.4
21.5 25 4D21.5-89SP06 ® | 160 | 89 [104 %6 0.3 45.5 4D45.5-187SP14| O | 287 |187|217 SP..140512 | 1.7 23 5D23-118SP07 ® | 192 (118 (136 0.6 46 5D46-235SP14 | @ | 335|235 |265 2.5
22 4D22-91SP07 @® | 162 | 91 [106 0.4 46 4D46-189SP14 | O | 289 (189|219 1.7 23.5 5D23.5-121SP07 ® (195|121 |139 0.6 46.5 5D46.5-235SP14| @ | 335 | 235 |265 2.5
22.5 4D22.5-93SP07 @® | 164 | 93 |108 0.4 46.5 4D46.5-191SP14| O | 291 |191|221 1.7 24 5D24-123SP07 @® | 197 (123 (141 0.6 47 5D47-240SP14 | @ | 340 | 240|270 2.6
23 4D23-95SP07 ® (169 | 95 |113 0.4 47 4D47-193SP14 | O | 293 (193|223 1.8 24.5 5D24.5-126SP07 @® (200|126 |144 0.8 47.5| 40 |5D47.5-240SP14| @ | 340 | 240 270| 70 2.6
23.5 4D23.5-97SP07 ® (17197 |115 0.4 47.5| 40 |4D47.5-193SP14| O | 295|195|225|70 1.8 25 5D25-128SP07 ® | 202 (128 (146 SP..07T308 0.8 48 5D48-245S5P14 | @ | 345|245 (275 2.7
24 4D24-99SP07 ® | 173 |99 (117 0.4 48 4D48-197SP14 | O | 297 |197|227 1.8 25.5 5D25.5-131SP07 ® | 213 131 (153 0.8 48.5 5D48.5-250SP14| @ | 350 | 250 |280 2.7
245 4D24.5-101SP07 ® | 175 (101|119 0.4 48.5 4D48.5-199SP14| O | 299 |199|229 1.8 26 5D26-133SP07 ® | 216 (133 (156 0.8 49 5D49-250SP14 | @ | 350 | 250 |280 2.8
25 4D25-103SP07 @® | 177 (103|121 SP..07T308 0.4 49 4D49-201SP14 | O | 301 |201|231 1.9 26.5 5D26.5-136SP07 ® (217|136 |157 0.8 49.5 5D49.5-252SP14| @ | 352 | 252 |282 2.9
25.5 4D25.5-105SP07 @® |185(105|125 0.6 49.5 4D49.5-204SP14| O | 303 [203|233 1.9 27 5D27-138SP07 ® | 218 (138 (158 0.8 50 5D50-255SP14 | @ | 355|255 |285 3.0
26 4D26-107SP07 ® (187 (107|127 0.6 50 4D50-205SP14 | O | 305 |205|235 1.9 27.5 5D27.5-141SP07 ® | 221|141 |161 0.8 51 5D51-260SP09 | O | 360 | 260 |290 3.0
26.5 4D26.5-1095P07 | @ | 189 109|129 0.6 51 4D51-209SP09 | O | 309 |209|239 2.9 28 5D28-1435P07/09 | @ | 223 143 (163 SP.07T308 | 0-9 52 5D52-265SP09 | O | 365 | 265 [295 3.1
27 4D27-111SP07 ® [ 191 111|131 0.6 52 4D52-213SP09 | O | 313 |213(243 3.0 28.5|  [5D28.5-1465P07/09 @ | 226 | 146 [166 SP.090408 |0-9 53 5D53-270SP09 | O | 370 | 270 [300 3.2
27.5 4D27.5-113SP07 @® | 193 (113|133 0.6 53 4D53-217SP09 | O | 317 |217|247 3.1 29 5D29-149SP09 @® | 230 (149 (170 0.9 54 5D54-275SP09 | O | 375|275 |305 3.3
28 4D28-115SP07/09 | @ | 195|115|135 SP..07T308 |0.6 54 4D54-221SP09 | O | 321 |221|251 3.2 29.5 5D29.5-151SP0O5 @® (233|151 (173 0.9 55 5D55-280SP09 | O | 380|280 (310 3.4
28.5 4D28.5-117SP07/09| @ | 197 |117|137 SP..090408 |0.6 55 4D55-225SP09 | O | 325 |225|255 3.3 30 5D30-154SP09 ® | 238|154 (178 1.0 56 5D56-285SP09 | O | 385|285 315 SP..090408 3.6
29 4D29-120SP09 @® | 201 (120|141 0.7 56 4D56-232SP09 | O | 334 (232|264 SP..090408 3.5 30.5| 32 [5D30.5-157SP09 ® | 241|157 [181| 60 1.0 57 5D57-290SP09 | O | 390 | 290 (320 3.8
29.5 4D29.5-122SP09 @® | 203 (122|143 0.7 57 4D57-236SP09 | O | 338 |236|268 3.7 31 5D31-159SP09 @® | 243 (159 (183 1.0 58 5D58-295SP09 | O | 395|295 |325 3.9
30 4D30-1245P09 | @ | 208 124|148 07 58 4D58-240SP09 | O | 342 |240 272 3.8 31.5|  |5D31.5-1625P09 | @ | 245|162 (185 SP.090408 1445 59 5D59-300SP09 | O | 400 | 300 [330 4.1
30.5 32 4D30.5-126SP09 ® (210 (126|150 60 0.7 59 4D59-244SP09 | O | 346 (244|276 4.0 32 5D32-164SP09 @® | 248 | 164 |188 1.1 60 5D60-305SP09 | O | 405|305 (335 4.2
31 4D31-1285P09 ® | 212 (128|152 0.7 60 4D60-248SP09 | O | 350 |248|280 4.1 32.5 5D32.5-167SP09 @® | 251 (167|191 1.1
31.5|  [4D31.5-130SP09 | @ |214 (130|154 0.7 33 5D33-1695P09 ® | 253|169 (193 1.1 OMytSpare Parts
32 4D32-1325P09 | @ | 216 (132156 SP..090408 (0.8 33.5|  [5D33.5-1725P09 | @ | 255|172 (195 1.1 smA B TP RigE 244 RS
32,5 4D32.5-134SP09 | @ | 218 (134|158 0.8 ORIHSpare Parts 34 5D34-174SP11 ® | 258 (174|198 SP..090408 |1.2 type diameter | Blade model Screw Wrench
33 4D33-136SP09 ® | 220 (136|160 0.8 $5HY =14 T RuSE 1244 RE 34.5 5D34.5-177SP11 ® | 261|177 |201 SP..110408 |1.2 29-34.5 SP09 M3.5 X | 8.5 T15
33.5 4D33.5-138SP09 @ |222 (138|162 0.8 type diameter Blade model Screw Wrench 35 5D35-179SP11 ® | 263 (179 (203 1.2 SP 35-41.5 SP11 M4 X | 10 T20
34 4D34-140SP09/11 | @ |224 (140|164 SP..090408 [ 0.8 15-15.5 SP05 M2 X| 5 T7 35.5 5D35.5-182SP11 | @ | 265 | 182 |205 SP.110408 |, , 42-50 SP14 M5 x| 11 T20
34.5 4D34.5-142SP09/11| @ | 226 | 142|166 SP..110408 |0.8 SP 16-21.5 SP06 M2.2 X 5 T7
35 4D35-144SP11 ® (228 (144|168 SP..110408 |0.8 22-28.5 SPO7 M2.5 X 6 T8




TOP=2 XD (® 13-40) Indexable drills with SOMT inserts
SO gg E;E*}Lﬁ]j/ U %‘j 2 D Holder diameter 2D: $ 13.0 ~40.0mm

S
P
= ; S
NIAEZE#E -0.25~+0.25 RANIZRE ¢ 2 x ®Dc
Range of machining tolerance:-0.25~+0.25 Drilling depth: 2xdiameter 0
. W
[9) = g C
5l c "
T Ly D
Lo - Ls X
Fig.1 E
8
23% ﬁ?lﬁ Specififf’ﬁn/lfem S%E L| & |20 Appﬁ?bﬁﬁ;sen % ?Iﬁ% ngs Speciﬁt%t;ﬁc;n/nem iﬁ L| & |lz| 0 Appﬁiﬁbﬁﬁl—sen 6D
13 2D13-29SOMT05 | @ | 88 | 29 |44 0.2 36 2D36-76SOMT11 @® | 160 | 76 |100 SOMT11T308 0.9 886
13.5 2D13.5-30SOMT05| @ | 89 | 30 |45 0.2 36.5 2D36.5-77SOMT11| O [ 161 | 77 [101 0.9
14 2D14-31SOMT05 | @ | 90 | 31 |46 0.2 37 2D37-79SOMT13 | O [ 169 | 79 (109 0.9 g
14.5| 20 |2D14.5-32SOMTO05| @ | 91 | 32 | 47|44 | SOMT050204 |0.2 37.5 40 2D37.5-80SOMT13| O [ 170 | 80 [110 60 0.9 0
15 | / |2D15-33SOMT05 | @ | 92 | 33 | 48| / 0.2 38 2D38-81SOMT13 | O [171| 81 [111 0.9 L
15.5| 25 [2D15.5-34SOMT05| @ | 93 | 34 |49 |56 0.2 38.5 2D38.5-82SOMT13| O | 172 | 82 [112 SOMT130408 |0.9 =z
16 2D16-35SOMT05 | @ | 94 | 35 |50 0.2 39 2D39-83SOMT13 | O [173| 83 [113 1.0 Z;%g
16.5 2D16.5-36SOMT06| ® | 95 | 36 | 51 0.2 39.5 2D39.5-84SOMT13| O [174 | 84 (114 1.1 %’ig
17 2D17-37SOMT06 | @ | 96 | 37 |52 0.2 40 | 40 |2D40-85SOMT13 | O | 185 85 [115| 70 1.1 §U§
17.5 2D17.5-38SOMT06| @ | 109 | 38 |53 0.2
18 2D18-39SOMT06 | @ [ 110 | 39 |54 SOMTO60204 0.3 7(#
Ei
18.5 2D18.5-40SOMT06| @ | 111 | 40 |55 0.3 'mg
19 2D19-41SOMT06 | @ |112| 41 |56 0.3 G:gi
19.5 2D19.5-42S0OMT07| @ | 113 | 42 |57 0.3 féfg
20 2D20-43SOMT07 | @ | 114 | 43 |58 0.3
20.5 2D20.5-44SOMT07| @ | 115 | 44 |59 0.3 7]5
SOMT070306 o
21 2D21-45S0MT07 | @ | 116 | 45 | 60 0.3 = g
21.5| 25 [2D21.5-46SOMT07| @ |117 | 46 |61 |56 0.3 FA >
22 2D22-47SOMT07 | @ | 118 | 47 |62 0.4 SOESAEC R Bl g
225 oD22.5-4850MT0s| @ | 119 | 48 | 63 0.4 Part number structure of SO type holder ;
23 2D23-49SOMT08 | @ [123 | 49 | 67 0.4 C20- 2D 14 - 45 SOMT05 #H
23.5 2D23.5-50SOMT08| @ | 124 | 50 | 68 0.4 %ﬁg
24 2D24-51SOMT08 | @ | 125 | 51 |69 0.4 Dé'
SOMT08T306 A<
24.5 2D24.5-52S0MT08| @ | 126 | 52 | 70 0.4 EORY fEE EBERY EE T)E RSE 5| %
25 2D25-53S0MT08 ® | 127 53 | 71 0.4 Shank Diameter Drill Length Diameter Length Inserts type -
25.5 2D25.5-54S0MT08| @ | 134 | 54 | 74 0.6 ?E;r’
26 2D26-55S0MT08 | @ | 135 | 55 | 75 0.6 =
26.5 2D26.5-56S0MT09| ® | 136 | 56 | 76 0.6 7]8'
27 2D27-57SOMT09 | @ |137 | 57 |77 06 OBt#FSpare Parts gﬁ%
27.5 2D27.5-58SOMT09| @ | 138 | 58 | 78 0.6 e pad] 5@ TI s EUSE 1244 S -
28 2D28-59SOMT09 | @ [ 139 | 59 |79 0.6 type diameter Blade model Screw Wrench ﬁﬁ
28.5 2D28.5-60SOMT09| @ | 140 | 60 | 80 0.6 13-16 S005 M2 X| 5 T6 ;]9
29 2D29-62SOMT09 | @ | 143 | 62 |83 0.7 16.5-19 S006 M22 |X| 5 T7 g‘f‘v
20.5|  [2D29.5-6350MT09| ® | 144 | 63 | 84 SOMTOST308 |, 5 19.5-22 5007 M2.2 | X| 5 T7 4§|]
30 2D30-64SOMT09 | @ | 148 | 64 |88 0.7 22.5-26 S0O08 M2.5 X 6 T8
30.5| 32 [2D30.5-65SOMT09| @ | 149 | 65 |89 |60 0.7 so 26.5-31.5 S009 M35 |X| 85 T15 AN >
31 2D31-66SOMT09 | @ | 150 | 66 | 90 0.7 32-36.5 SO11 M3.5 | X| 8.5 T15 £§
31.5 2D31.5-67SOMT09| @ | 151 | 67 | 91 0.7 37-43 S013 M4 X | 10 T20 %%
32 2D32-68SOMT11 | @ | 152 | 68 |92 0.8 44-50 S015 M5 X[ 1 T20 5l v
32.5 2D32.5-69SOMT11| @ | 153 | 69 | 93 0.8 o
33 2D33-70SOMT11 | @ | 154 | 70 | 94 0.8 ﬁﬁg
33.5 2D33.5-71SOMT11| @ | 155 | 71 | 95 SOMT11T308 0.8 1?”%
34 2D34-72SOMT11 | @ | 156 | 72 | 96 0.8 ® Mark:Standard stock item, %é
34.5 2D34.5-73SOMT11| @ | 157 | 73 |97 0.8 No mark:Made to order item. }%é
35 2D35-74SOMT11 | @ | 158 | 74 | 98 0.8 o
35.5 2D35.5-75S0MT11| @ | 159 | 75 | 99 08 (VOETELE OEREEHESR ;f)’g%
2
11
& o
=&




TOP-3 XD (® 13-40) Indexable drills with SOMT inserts TOP=4 XD (® 13-40) Indexable drills with SOMT inserts
SO®RBEfW/UE 3D Holder diameter 3D: ¢ 13.0 ~40.0mm SOEBF/UE 4D Holder diameter 4D: ¢ 13.0 ~40.0mm

MIAZER%E -0.25~+0.25 RANIRE ¢ 3x ®Dc MIAZEZ% -0.30~+0.30 RANIZRE ¢ 4 x ®Dc
Range of machining tolerance:-0.25~+0.25 Drilling depth: 3xdiameter Range of machining tolerance:-0.30~+0.30 Drilling depth: 4xdiameter

.- —— : B —— i

ol_ v | e ol_ o

o e

L T L L
L2 Ls L2 Ls
L L
Fig.1 Fig.1
D AL HSR Bz L |0 |00 BRI & DL R sk iz L | O |02|0s BRI & DE e SR EE L | O |0a|0s BFDR & D e s EE L | & |02|0s izl &
®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m
13 3D13-42SOMT05 ® (101 | 42 |57 0.2 36 3D36-112SOMT11 | @ | 196|112 {136 0.9 13 4D13-55SOMT05 ® (114 | 55 |70 0.2 36 4D36-148SOMT11 | @ | 232|148 (172 0.9
SOMT11T308 SOMT11T308

13.5 3D13.5-44SOMT05 | @ | 103 | 44 |59 0.2 36.5 3D36.5-114SOMT11| O | 198 | 114 {138 0.9 13.5 4D13.5-57SOMT05 | @ | 116 | 57 |72 0.2 36.5 4D36.5-150SOMT11| O | 236 | 150 |174 0.9
14 3D14-45SOMT05 @® | 104 | 45 |60 0.2 37 3D37-136SOMT13 | O | 206 | 116 {146 0.9 14 4D14-59SOMT05 ® (118 | 59 |74 0.2 37 4D37-153SOMT13 | O | 243 | 153|183 0.9
14.5| 20 [3D14.5-47SOMT05 | @ | 106 | 47 |62 |44 | SOMT050204 |0.2 37.5 32 3D37.5-181SOMT13| O | 208 | 118 {148 60 0.9 14.5| 20 [4D14.5-61SOMT05 | @ | 120 | 61 |76 |44 | SOMT050204 |0.2 37.5 30 4D37.5-155S0MT13| O | 245 | 155 |185 60 0.9
15 / |3D15-48SOMT05 ® (107 | 48 |63 / 0.2 38 3D38-139SOMT13 | O | 209 | 119 |149 0.9 15 / |4D15-63SOMT05 @® |122 | 63 (78| / 0.2 38 4D38-157SOMT13 | O | 247|157 (187 0.9
15.5| 25 [3D15.5-50SOMT05 | @ | 109 | 50 |65 | 56 0.2 38.5 3D38.5-121SOMT13| O | 211|121 {151 SOMT130408 | 0.9 15.5| 25 [4D15.5-65SOMT05 | @ | 124 | 65 |80 | 56 0.2 38.5 4D38.5-159SOMT13| O | 249 | 159 |189 SOMT130408 |0.9
16 3D16-51SOMT05 ® | 110 | 51 |66 0.2 39 3D39-122SOMT13 | O | 212|122 [152 1.0 16 4D16-67SOMT05 ® 126 | 67 |82 0.2 39 4D39-161SOMT13 | O | 251 | 161 [191 1.0
16.5 3D16.5-563SOMT06 | @ | 112 | 53 |68 0.2 39.5 3D39.5-124SOMT13| O | 214|124 [154 1.1 16.5 4D16.5-69SOMT06 | @ | 128 | 69 | 84 0.2 39.5 4D39.5-163SOMT13| O | 253 | 163 |193 1.1
17 3D17-54SOMT06 ® | 113 | 54 |69 0.2 40 | 40 3D40-125S0MT13 | O | 225|125 |155| 70 1.1 17 4D17-71SOMT06 @® (130 | 71 |86 0.2 40 | 40 |4D40-165SOMT13 | O | 265 | 165 |195| 70 1.1
17.5 3D17.5-56SOMT06 | @ | 127 | 56 | 71 0.2 17.5 4D17.5-73SOMT06 | @ | 144 | 73 | 88 0.2
18 3D18-57SOMT06 | @ [128| 57 |72 SOMT060204 0.3 18 4D18-75S0MT06 ® (146 | 75 |90 SOMT060204 0.3
18.5 3D18.5-59SOMT06 | @ | 130 | 59 |74 0.3 18.5 4D18.5-77SOMT06 | @ | 148 | 77 |92 0.3
19 3D19-60SOMT06 @® | 131 | 60 |75 0.3 19 4D19-79SOMT06 @® (150 | 79 |94 0.3
19.5 3D19.5-62SOMT07 | @ | 133 | 62 |77 0.3 19.5 4D19.5-81SOMT07 | @ | 152 | 81 | 96 0.3
20 3D20-63SOMT07 ® (134 | 63 |78 0.3 20 4D20-83SOMT07 @® | 154 | 83 |98 0.3
20.5 3D20.5-65SOMT07 | @ | 136 | 65 |80 0.3 20.5 4D20.5-85S0MT07 | @ | 156 | 85 |100! 0.3
21 3D21-66SOMT07 @® | 137 | 66 |81 SOMT070308 0.3 21 4D21-87SOMT07 ® | 158 | 87 [102 SOMT070308 0.3
21.5| 25 (3D21.5-68SOMT07 | @ | 139 | 68 |83 |56 0.3 21.5| 25 |4D21.5-89SOMT07 | @ | 160 | 89 |104|56 0.3
22 3D22-69SOMT07 | @ |140 | 69 |84 0.4 SOfEBREC 3% 22 4D22-91SOMT07 | @ |162 | 91 106 0.4 SO EAEC Ik
22 5 3D22.5-7150MTos | @ | 142 | 71 |86 0.4 Part number structure of SO type holder 295 4D22.5-9350MT08 | ® | 164 | 93 |108 0.4 Part number structure of SO type holder
23 3D23-7250MT08 | @ [146| 72 |90 0.4 C20- 3D 14 - 45 SOMTO05 23 4D23-9550MT08 | @ |169 | 95 [113 0.4 C20- 4D 14 - 59 SOMT05
23.5 3D23.5-74SOMT08 | @ | 148 | 74 |92 0.4 23.5 4D23.5-97SOMT08 | @ | 171 | 97 [115 0.4
24 3D24-75SOMT08 @® | 149 | 75 |93 0.4 24 4D24-99SOMT08 ® (173 | 99 (117 0.4
24.5 3D24.5-77SOMT08 | @ | 151 | 77 |95 SOMTO8T306 0.4 BEORY BE EBRY EE TR BusE 24.5 4D24.5-101SOMTO08| @ | 175 [ 101 {119 SOMTO8T306 0.4 EORY =@ EBERY EE TR RusE
25 3D25-78SOMT08 ® |152] 78 | 96 0.4 Shank Diameter Drill Length Diameter Length Inserts type 25 4D25-10330MT08 | @ | 177 | 103121 0.4 Shank Diameter Drill Length Diameter Length Inserts type
25.5 3D25.5-80SOMT08 | @ | 160 | 80 {100 0.6 25.5 4D25.5-105S0MT08| @ | 185 | 105 {125 0.6
26 3D26-81SOMT08 @® | 161 | 81 |101 0.6 26 4D26-107SOMT08 | @ | 187 | 107 {127 0.6
26.5 3D26.5-83SOMT09 | @ | 163 | 83 {103 0.6 26.5 4D26.5-109SOMT09| @ | 189 | 109 {129 0.6
27 3D27-84SOMT09 | @ |164 | 84 [104 0.6 OMItFSpare Parts 27 4D27-111SOMT09 | @ [191 111|131 0.6 OBF¥FSpare Parts
27.5 3D27.5-86SOMT09 | @ | 166 | 86 |106 0.6 E =il =0y T AU 244 P e 27.5 4D27.5-113SOMT09| @ | 193 [ 113|133 0.6 E =il =0y T RS 244 P e
28 3D28-87SOMT09 ® (167 | 87 |107 0.6 type diameter Blade model Screw Wrench 28 4D28-115SOMT09 | @ | 195 | 115 (135 0.6 type diameter Blade model Screw Wrench
28.5 3D28.5-89SOMT09 | @ | 169 | 89 [109 0.6 13-16 S005 M2 X 5 T6 28.5 4D28.5-117SOMT09| @ | 197 | 117 {137 0.6 13-16 S005 M2 X 5 T6
29 3D29-91SOMT09 ® (172 | 91 112 0.7 16.5-19 S006 M2.2 X 5 T7 29 4D29-120SOMT09 | @ | 201 | 120 [141 0.7 16.5-19 S006 M2.2 X 5 T7
29.5 3D29.5-93SOMT09 | @ | 174 | 93 |114 SOMTO9T308 0.7 19.5-22 S007 M2.2 X 5 T7 29.5 4D29.5-122SOMT09| @ | 203 | 122|143 SOMTO9T308 0.7 19.5-22 S0O07 M2.2 X 5 T7
30 3D30-94SOMT09 ® | 178 | 94 |118 0.7 22.5-26 SO08 M2.5 X 6 T8 30 4D30-124SOMT09 | @ | 208 | 124 {148 0.7 22.5-26 S008 M2.5 X 6 T8
30.5| 32 (3D30.5-96SOMT09 | @ | 180 | 96 |120| 60 0.7 o 26.5-31.5 S009 M3.5 X | 8.5 T15 30.5| 32 |4D30.5-126SOMT09| @ | 210 | 126 |150| 60 0.7 so 26.5-31.5 S009 M3.5 X | 8.5 T15
31 3D31-97SOMT09 @® (181 | 97 |121 0.7 32-36.5 SO11 M3.5 X | 8.5 T15 31 4D31-128SOMT09 | @ [ 212 | 128 [152 0.7 32-36.5 SO11 M3.5 X | 8.5 T15
31.5 3D31.5-99SOMT09 | @ | 183 | 99 (123 0.7 37-43 SO13 M4 X 10 T20 31.5 4D31.5-130SOMT09| @ | 214 | 130 [154 0.7 37-43 SO13 M4 X 10 T20
32 3D32-100SOMT11 | @ | 184 | 100 |124 0.8 44-50 SO15 M5 X 11 T20 32 4D32-132SOMT11 | @ | 216 | 132|156 0.8 44-50 SO15 M5 X 11 T20
32.5 3D32.5-102SOMT11| @ | 186 | 102|126 0.8 32.5 4D32.5-134SOMT11| @ |218 | 134|158, 0.8
33 3D33-103SOMT11 | @ | 187|103 [127 0.8 33 4D33-136SOMT11 | @ | 220 | 136 {160 0.8
33.5 3D33.5-105SOMT11| @ | 189 | 105 {129 0.8 33.5 4D33.5-138SOMT11| @ | 222 | 138 [162 0.8
34 3D34-106SOMT11 | @ | 190 | 106 |130 SOMTI1T308 0.8 @® Mark:Standard stock item, 34 4D34-140SOMT11 | @ | 224 | 140|164 SOMTI1T308 0.8 @® Mark:Standard stock item,
34.5 3D34.5-108SOMT11| @ | 192 | 108 {132 0.8 No mark:Made to order item. 34.5 4D34.5-142SOMT11| @ | 226 | 142 [166 0.8 No mark:Made to order item.
35 3D35-111SOMT11 | @ | 193|109 [133 0.8 35 4D35-144SOMT11 | @ | 228 | 144 {168 0.8
35.5 3D35.5-111SOMT11| @ | 195 | 111|135 0.8 0OETELE OEREEMER 35.5 4D35.5-146SOMT11| @ | 230 | 146 {170 0.8 0@ETRELE OFTEEMER




TOP-5 XD (® 13-40) Indexable drills with SOMT inserts Customised Solution-0.2/0.3/0.4/0.7/0.8/0.9 (bottom hole of the thread)
SO ﬁg f*é}l,!ﬁlj/ U !E-Hj 5 D Holder diameter 5D: ¢ 16.0 ~40.0mm ﬂE*ﬁ/lj\ynﬁum%&E} gFﬁU'ﬁ]j—O-2/0-3/0-4/0-7/0-8/0-9

MNIAEZE#¥ -0.30~+0.30 BRANIZRE £5 x ®Dc T AZEE%E -0.05~+0.15
Range of machining tolerance:-0.30~+0.30 Drilling depth: 5xdiameter Range of machining tolerance:-0.05 ~ +0.15
$| = —— 3 e o | 3
e - — e_- L
] L1 Ly
L2 L3 L2 Ls
L L
Fig.1 Fig.1
A H13/SKD61

DE | B B | (o]0 | EEOE |8 nEimm 0 ms B | |10, || BADE &S
®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m
16 | 20 [5D16-83S0MT05 | @ [142 | 83 | 98|44 | SOMT050204 |0.4 39 - 5D39-200SOMT13 | O | 290 |200 [230 6o 1.9
16.5| / |5D16.5-86SOMT06 | ® | 145 | 86 [101| / 0.4 395 5D39.5-203S0MT13| O | 293 | 203 |233 SOMT130408 [ 1.9
17 | 25 |5D17-88S0MT06 | ® | 147 | 88 [103| 56 0.4 40 | 40 [5D40-205S0MT13 | O | 305 | 205 [235|70 1.9
17.5 5D17.5-91SOMT06 | @ | 162 | 91 [106 0.4
18 5D18-93SOMT06 | @ | 164 | 93 [108 SOMT060204 | o
18.5 5D18.5-96SOMT06 | ® | 167 | 96 111 0.5
19 5D19-98SOMT06 | ® | 169 | 98 |113 0.5
19.5 5D19.5-101SOMT07 | @ | 172 | 101 [116 0.5
20 5D20-107SOMT07 | @ | 174 [ 103|118 0.5
20.5 5D20.5-107SOMT07 | @ | 177 | 106|121 0.5
21 5D21-108SOMT07 | @ | 179 | 108|123 SOMT070306 |, o
21.5| 2° |spat.5-11150MT07| @ | 182 | 111 [126] °° 0.5
22 5D22-113S0MT07 | @ | 184 [ 113|128 0.5
22.5 5D22.5-116SOMT08 | @ | 187 | 116|131 0.5
23 5D23-118SOMT08 | @ | 192|118 136 0.6 D AR B5R DR AR BU5R D R BUSR DR AR BU5R
535 e | = ey 0.6 ®Dc |®Ds| Specification/ltem ®Dc |®Ds| Specification/ltem ®Dc |®Ds| Specification/ltem ®Dc |®Ds| Specification/ltem
24 5D24-123S0MT08 | @ | 197 | 123|141 SOMTOST308 0.6 8.8 KSD088-2D-520-SP03 | [13.3 €20-3D13.3-42SP05 | [30.2 ©32-3D30.2-94SP09 | |38.7 ©32-3D38.7-121SP11
24.5 5D24.5-126S0MT08 | @ | 200 | 126 |144 0.8 9 KSD090-2D-S20-SP03 | [14.8 C20-3D14.8-485P05 | [30.3 ©32-3D30.3-94SP09 | |38.8 ©32-3D38.8-122SP11
25 5D25-128SOMT08 | @ |202 | 128|146 0.8 SOEEREC R 9.3 KSD093-2D-520-SP03 | [15.8| 20 | C20-3D15.8-50SP05 | |30.7 £32-3D30.7-96SP09 | |39.2| 32 | €32-3D39.2-122SP11
255 5D25.5-131S0MT08 | @ |213 [ 131 [153 0.8 Part number structure of  type holder 9.5 KSD095-2D-520-5P03 | [16.3 020-3D16.3-545P06 | |30.8 032-3D30.8-975P09 | [39.3 (32-3D39.3-124SP11
26 5D26-133S0MT08 | ® | 216 | 133|156 0.8 C20- 5D 16 - 88 SOMTO05 10.5 KSD105-2D-520-5P04 | |16.8 C20-3D16.8-535P06 | [31.2 032-3D31.2-975P09 | [39.7 C32-3D30.7-1245P11
26.5 5D26.5-136SOMT09 | @ |217 | 136|159 0.8 10.8 KSD108-2D-S20-SP04 | [17.3 C25-3D17.3-565P06 | [31.2 ©32-3D31.2-96SP09 | |39.8 C40-3D39.8-1255P11
27 5D27-138SOMT09 | @ |218 | 138 160 0.8 11 KSD110-2D-S20-SP04 | [19.8 C25-3D19.8-62SP06 | [31.3 €32-3D31.3-99SP09 | |40.2 C40-3D40.2-1255P11
27.5 5D27.5-141SOMT09| @ |221 | 141 |161 0.8 BORY mm EERY EE TS 11.5 KSD115-2D-S20-SP04 | |20.8 25-3D20.8-665P06 | [31.7 €32-3D31.7-100SP09 | [40.7 C40-3D40.7-127SP11
28 5D28-14350MT09 | @ |223 | 143|163 0.9 ShankDiamefer  Drilllength Diamefer  length Insertstype 12.5 KSD125-2D-520-5P04 | |21.7 C25-3D21.7-685P06 | |31.8 C32-3D31.8-100SP09 | |40.8 C40-3D40.8-1285P11
28.5 5D28.5-146S0MT09 | @ |226 | 146 |166 0.9 13 €20-2D13-29SP05 21.8 C25-3D21.8-69SP07 | [32.2 ©32-3D32.2-100SP09 | |41.2 C40-3D41.2-128SP11
29 5D29-149SOMT09 | @ |230 | 149 [170 SOMT09T308 | 0.9 14.5 €20-2D14.5-32SP05 227 C25-3D22.7-718P07 | [32.7 ©32-3D32.7-103SP09 | |41.3 C40-3D41.3-128SP11
29.5 5D29.5-151SOMTO5| @ |233 | 151 173 0.9 15 €20-2D15-33SP05 22.8| 2% | cos-apos-71sp07 | [32.8 ©32-3D32.8-103SP09 | [41.7 C40-3D41.7-129SP11
30 5D30-154S0MT09 | @ |238 | 154 [178 1.0 OMItFSpare Parts 16 | 20 | C20-2D16-355P06 23.2 €25-3D23.2-725P07 | [33.2 ©32-3D33.2-1035P09 | |41.8 C40-3D41.8-131SP14
30.5 5D30.5-157SOMT09 | @ |241 | 157 (181 1.0 EEpad) =tid T ugE 1244 RF 16.5 €20-2D16.5-365P06 23.3 25-3D23.3-725P07 | [33.3 ©32-3D33.3-1055P09 | |42.2 C40-3D42.2-131SP14
31 5D31-159SOMT09 | @ |243 | 159 |183 1.0 type diameter | Blade model Screw Wrench 17 €20-2D17-37SP06 23.8 25-3D23.8-755P07 | [33.7 ©32-3D33.7-1055P09 | |42.8 4o | C40-3D428-1345P14
31.5 5D31.5-162S0MT09 | @ |245 | 162|185 1.0 13-16 S005 M2 X| 5 T6 18 €20-2D18-39SP06 24.3 C25-3D24.3-77SP07 | [33.8 ©32-3D33.8-106SP11 | [42.7 C40-3D42.7-134SP14
32 | 32 |5D32-164SOMT11 | @ |248 | 164 (188| 60 1.1 16.5-19 S006 M22 |X| 5 T7 18.5 €20-2D18.5-40SP06 24.8 C25-30248-775P07 | [34.2| 22 | c3o-ap3e2-106sP11 | [43.7 C40-3D43.7-137SP14
32.5 5D32.5-167SOMT11| @ |251 | 167 |191 1.1 19.5-22 S007 M22 |X| 5 T7 19 €20-2D19-41SP06 23.3 €32-3D23.3-74SP07 | [34.3 C32-3D34.3-106SP11 | |43.8 C40-3D43.8-137SP14
33 5D33-169SOMT11 | @ |253 | 169 (193 1.1 o 22.5-26 S008 M25 |[X| 6 T8 20 €20-2D20-43SP06 26.7 32-3D26.7-835P07 | [34.8 ©32-3D34.8-109SP11 | |44.7 C40-3D44.7-137SP14
33.5 5D33.5-172S0MT11| @ |255 172|195 1.1 26.5-31.5 S009 M35 |X| 85 T15 20.5 €20-2D20.5-44SP06 26.8 32-3D26.8-84SP07 | [35.2 €32-3D35.2-109SP11 | |44.8 C40-3D44.8-140SP14
34 5D34-174SOMT11 | @ |258 174 |198 1.2 32-36.5 SO11 M3.5 |X| 85 T15 21 €20-2D21-45SP06 27.2 ©32-3D27.2-84SP07 | [35.3 ©32-3D35.3-108SP11 | |45.2 C40-3D45.2-140SP14
34.5 5D34.5-177SOMT11| @ |261 | 177 [201 SOMTI1T308 |, , 37-43 S013 M4 X| 10 T20 22 €20-2D22-47SP07 27.3 €32-3D27.3-83SP07 | [35.7 €32-3D35.7-111SP11 | |46.2 C40-3D46.2-143SP14
35 5D35-179SOMT11 | @ |263 | 179|203 1.2 44-50 S015 M5 X | 11 T20 22.5 €20-2D22.5-48SP07 27.7 C32-3D27.7-86SP07 | [35.8 C32-3D35.8-112SP11 | |48.2 C40-3D48.2-149SP14
35.5 5D35.5-182SOMT11| @ | 265 | 182|205 1.2 23 €20-2D23-49SP07 27.8 32-3D27.8-87SP09 | [36.2 ©32-3D36.2-112SP11 | |49.2 C40-3D49.2-1528P14
36 5D36-184SOMT11 | O |268 | 184 |208 1.3 25 €20-2D25-53SP07 27.9 €32-3D27.9-87SP09 | [36.3 ©32-3D36.3-114SP11 | |50.2 €40-3D50.2-155SP14
36.5 5D36.5-187SOMT11| O |271 | 187 [211 1.3 25.5 €32-2D25.5-54SP07 28.3| 32 | (32-3D28.3-89SP09 | [36.7 C32-3036.7-1165P11 | o 7 iema sy AT
37 5D37-190SOMT13 | O | 280 | 190 (220 1.3 @® Mark:Standard stock item, 26 ©32-2D26-555P07 28.7 ©32-3D28.7-915P09 36.8 ©32-3D36.8-116SP11
37.5 5D37.5-193S0OMT13| O |283 | 193 |223 1.3 No mark:Made to order item. 26.5 €32-2D26.5-56SP07 28.8 (©32-3D28.8-91SP09 37.2 €32-3D37.2-116SP11
38 5D38-19550MT13 | O | 285 | 195|225 SOMT130408 |, , 27 | 32 | C32-2D27-57SP07 28.9 32-3D28.9-915P09 | [37.3 £32-3D37.3-118SP11
38.5 5D38.5-198S0MT13| O | 288 | 198|228 14 o@ERELE OEFREERMER 28 ©32-2D28-59SP07 29.2 ©32-3D29.2-93SP09 | |37.7 ©32-3D37.7-118SP11

28.5 £32-2D28.5-60SP07 29.3 £32-3D29.3-93SP09 | |38.2 €32-3D38.2-119SP11

29 €32-2D29-62SP09 29.8 ©32-3D29.8-94SP09 | |38.3 €32-3D38.3-119SP11




WC=2XD (©10-80) Indexable drills with WC inserts
WC ﬁ'-ﬁ E;E;}Lgﬁl U %Ilj 2 D Holder diameter 2D:®10.0 ~ 80.0mm

T AZERE -0.25~+0.25 RAMIRE ¢ 2x ®Dc
Range of machining tolerance:-0.25~+0.25  Drilling depth: 2xdiameter

| ®Dc
®Dshe

Ly
Lo - N Ls ﬁp-
Fig.1
DEEE % mE | |, || BEADE & Dmimm 0 Rk @ | || EADAE S
®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m
10 2D10-22WC02 @® |855( 22 (355 0.2 35.5 2D35.5-75WC06| @ | 159 | 75 | 99 0.8
10.5 2D10.5-23WC02 @® (86.5| 22 (355 0.2 36 2D36-76WC06 ® [ 160 | 76 |100 0.9
11 20 2D11-24WC02 ® (87524 |36.5 4 0.2 36.5 2D36.5-77WC06| @ | 161 | 77 |101 0.9
11.5 2D11.5-24WC02 @® (88 |24 |38 0.2 & 2D37-79WCO06 ® | 169 | 79 |109 0.9
12 2D12-26WC02 @® | 90 [ 25|40 WC..020104 0.2 37.5| 32 [2D37.5-80WC06| @ | 170 | 80 |110| 60 0.9
12.5 2D12.5-27WC02 @® (93 |27 | 43 0.2 38 2D38-81WCO06 ® (17181 111 WC..06T308 |0.9
13 2D13-29WC02 @® | 88 [ 29|44 0.2 38.5 2D38.5-82WC06| @ | 172 | 82 |112 0.9
13.5 2D13.5-30WC02 @® | 89 [ 30|45 0.2 39 2D39-83WCO06 ® | 173 |83 (113 1.0
14 2D14-31WC02/03 | @ | 90 | 31 | 46 WC..020104 [0.2 39.5 2D39.5-84WC06| @ | 174 | 84 |114 11
14.5| 20 |2D14.5-32WC02/03| @ | 91 | 32 | 47 |44 | WC..030208 |0.2 40 2D40-85WCO06 ® | 185|85 (115 1.1
15 / |2D15-33WC03 @® | 92 (33|48 / 0.2 41 2D41-87WCO06 ® | 187 |87 [117 1.1
15.5| 25 |2D15.5-34WC03 ® | 93 [ 34|49 |56 0.2 42 2D42-89WCO08 ® | 189 |89 (119 1.1
16 2D16-35WC03 ® | 94 | 35|50 0.2 43 2D43-91WCO08 ® | 191 |91 [121 1.5
16.5 2D16.5-36WC03 ® | 95 | 36 | 51 0.2 44 2D44-93WC08 ® | 193 |93 |123 1.6
17 2D17-37WC03 @® | 96 [ 37|52 0.2 45 2D45-95WCO08 ® | 195|95 125 1.7
17.5 2D17.5-38WC03 @® (109 | 38 | 53 0.2 46 2D46-97WC08 ® | 197 | 97 (127 1.7
18 2D18-39WCO03 ® 11039 | 54 WC..030208 0.3 47 2D47-99WC08 @® | 199 |99 (129 1.8
18.5 2D18.5-40WC03 @® (111]40 | 55 0.3 48 2D48-101WC08 | @ | 201 [101|131 1.8
19 2D19-41WC03 ® | 112 |41 | 56 0.3 49 2D49-103WC08 | @ | 203 (103|133 1.9
19.5 2D19.5-42WC03 ® (113 | 42 | 57 0.3 50 2D50-105WC08 | @ | 205 [105|135 1.9
20 2D20-43WC03 ® | 114 | 43 | 58 0.3 51 2D51-107WC08 | @ | 207 (107|137 WC..080412 |2.0
20.5 2D20.5-44WC03 ® | 115| 44 | 59 0.3 52 2D52-109WC08 | @ | 209 [109|139 2.0
21 25 2D21-45WC04 ® | 116 | 45 | 60 56 0.3 53 2D53-111WC08 | @ | 211 [111|141 2.1
21.5 2D21.5-46WC04 ® (117 | 46 | 61 0.3 54 2D54-113WC08 | @ | 213 (113|143 2.2
22 2D22-47WC04 ® | 118 | 47 | 62 0.4 55 2D55-115WC08 | @ | 215 (115|145 2.3
22.5 2D22.5-48WC04 ® (119 48 | 63 0.4 56 2D56-120WC08 | @ | 222 (120|152 2.4
23 2D23-49WC04 ® [ 123 |49 | 67 WC..040208 0.4 57 2D57-122WC08 | @ | 224 (122|154 2.5
23.5 2D23.5-50WC04 ® (124 | 50 | 68 0.4 58 2D58-124WC08 | @ | 226 |124|156 2.6
24 2D24-51WC04 ® (125 |51 | 69 0.4 59 2D59-126WC08 | @ | 228 (126|158 2.7
24.5 2D24.5-52WC04 @® (126 |52 | 70 0.4 60 | 40 |2D60-128WC08 | @ | 230 (128|160 (|70 2.8
25 2D25-53WC05 ® (127 |53 | 71 0.4 61 2D61-130WC06 | @ | 232 (130|162
25.5 2D25.5-54WC05 @® | 13454 |74 0.6 62 2D62-132WC06 | @ | 234 (132|164
26 2D26-55WC05 ® |135|55 |75 0.6 63 2D63-134WC06 | @ | 236 (134|166
26.5 2D26.5-56WC05 @® | 136 |56 | 76 0.6 64 2D64-136WC06 | ® | 238 (136|168
27 2D27-57WC05 ® | 137 |57 |77 0.6 65 2D65-138WC06 | @ | 240 (138|170
27.5 2D27.5-58WC05 @® | 138 |58 | 78 0.6 66 2D66-140WC06 | @ | 242 (140|172
28 2D28-59WC05 ® | 13959 |79 WC..050308 0.6 67 2D67-142WC06 | @ | 244 (142|174
28.5 2D28.5-60WC05 @® (140 | 60 | 80 0.6 68 2D68-144WC06 | @ | 246 (144|176
29 2D29-62WC05 @® | 143 |62 | 83 0.7 69 2D69-146WC06 | @ | 248 [146|178
29.5 2D29.5-63WCO5 ® (144 |63 | 84 0.7 70 2D70-148WC06 | @ | 250 (148|180
30 2D30-64WC05 ® 148 |64 | 88 0.7 71 2D71-150WC06 | @ | 252 [150|182 WC..06T308
30.5 82 2D30.5-65WC05 ® | 14965 | 89 60 0.7 72 2D72-152WC06 | @ | 254 [152|184
31 2D31-66WC06 @® | 150 | 66 | 90 0.7 73 2D73-154WC06 | @ | 256 |154|186
31.5 2D31.5-67W06 ® (151 |67 | 91 0.7 74 2D74-156WC06 | @ | 258 [156|188
32 2D32-68WC06 ® | 152 | 68 | 92 0.8 75 2D75-158WC06 | @ | 260 (158|190
8245! 2D32.5-69WC06 | @ | 153 | 69 | 93 0.8 76 2D76-160WC06 | @ | 262 (160|192
33 2D33-70WC06 ® 154 |70 | 94 WC..06T308 |0.8 77 2D77-162WC06 | @ | 264 |162|194
33.5 2D33.5-71WC06 ® (155| 71 | 95 0.8 78 2D78-164WC06 | @ | 266 |164|196
34 2D34-72WC06 @® | 156 | 72 | 96 0.8 79 2D79-166WC06 | @ | 268 |166|198
34.5 2D34.5-73WC06 @® (157 | 73 | 97 0.8 80 2D80-168WC06 | @ | 270 168|200
35 2D35-74WC06 ® 158 |74 | 98 0.8 0 @ETELE OXTELCHER




WC -3 XD (@10-80) Indexable drills with WC inserts
WC gg iié}l;"fﬁ/ U %Ijj 3 D Holder diameter 3D:®10.0 ~80.0mm

WC=4XD (©11.5-80) Indexabledrills with WC inserts
WC g! ;g?l.lillj/ U %ﬁ 4 D Holder diameter 4D:®11.5~80.0mm

] NI AZER%E -0.25~+0.25 RANIRE ¢ 3x ©Dc ] T AZEREE -0.30~+0.30 BRANIZRE ¢ 4x ©Dc
. Range of machining tolerance:-0.25~+0.25  Drilling depth: 3xdiameter . Range of machining tolerance:-0.30~+0.30  Drilling depth: 4xdiameter
o =y - ' e e . -
] L / ‘ | ] L1 {
L2 R Ls L2 N Ls =
L ' L
Fig.1 Fig.1

DEWEE WK mE | || || BANA & mmimm 0 R @& || || EADA S DERE  BE @ |, (g | BEDE & DEEE O BE @&E || || BRDR S
®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m
10 3D10-32WC02 ® | 97 [ 32|47 0.2 35.5 3D35.5-111WC06| @ | 195 (111|135 1.0 11.5 4D11.5-47WC02 ® | 111 |47 | 61 0.2 37 4D37-153WC06 | @ | 243 (153|183 1.2
10.5 3D10.5-34WC02 ® (975( 34 |47.5 0.2 36 3D36-112WC06 | @ | 196 (112|136 1.0 12 | 20 [4D12-50WC02 ® (115| 50 | 65 |44 0.2 37.5 4D37.5-155WC06| @ | 245 (155|185 1.2
11 20 3D11-34WC02 @® (98.5| 34 |48.5 m 0.2 36.5 3D36.5-114WC06| @ | 198 (114|138 1.1 12.5 4D12.5-52WC02 ® 117 |52 | 67 WC..020104 |0.2 38 30 4D38-157WC06 | @ | 247 (157|187 60 1.3
11.5 3D11.5-37WC02 @® (100 | 37 | 50 0.2 37 3D37-116WC06 | @ | 206 (116|146 1.1 13 4D13-55WC02 ® (114 |55 (70 0.2 38.5 4D38.5-159WC06| @ | 249 (159|189 1.3
12 3D12-38WC02 ® (102 | 38 | 52 WC..020104 0.2 37.5| 32 |3D37.5-118WC06| @ | 208 118|148 | 60 1.1 18.5 4D13.5-57WC02 ® | 116 |57 | 72 0.2 39 4D39-161WC06 | @ | 251 [161|191 1.8
12.5 3D12.5-41WC02 ® (105 41|55 0.2 38 3D38-119WC06 | @ | 209 (119|149 WC..06T308 | 1.1 14 4D14-59WC02/03 | @ | 118 | 59 | 74 WC..020104 (0.2 39.5 4D39.5-163WC06| ® | 253 (163|193 WC..06T308 |1.8
13 3D13-42WC02 ® | 101 | 42|57 0.2 38.5 3D38.5-121WC06| @ | 211 [121|151 1.1 14.5| 20 [4D14.5-61WC02/03| @ | 120 | 61 | 76 | 44| WC..030208 (0.2 40 4D40-165WC06 | @ | 265 (165|195 1.8
13.5 3D13.5-44WC02 @® (103 | 44 | 59 0.2 39 3D39-122WC06 | @ | 212 (122|152 1.2 15 / |4D15-63WC03 ® (12263 (78| / 0.2 41 4D41-169WC06 | @ | 269 (169|199 1.9
14 3D14-45WC02/03 | @ | 104 | 45 | 60 WC..020104 |[0.2 39.5 3D39.5-124WC06| @ | 214 (124|154 1.3 15.5| 25 [4D15.5-65WC03 @® | 124 | 65 | 80 |56 0.2 42 4D42-173WC08 | @ | 273 [173|203 2.0
14.5| 20 [3D14.5-47WC02/03| @ | 106 | 47 | 62 |44 | WC..030208 |0.2 40 3D40-125WC06 | @ | 225 (125|155 1.6 16 4D16-67WC03 ® (126 |67 | 82 0.3 43 4D43-177WC08 | @ | 277 (177|207 2.1
15 / |3D15-48WC03 ® (107 (48|63 | / 0.2 41 3D41-128WC06 | @ | 228 (128|158 1.7 16.5 4D16.5-69WC03 @® | 128 (69 | 84 0.3 44 4D44-181WC08 | @ | 281 (181|211 2.2
15.5| 25 [3D15.5-50WC03 ® | 109 | 50 | 65 | 56 0.2 42 3D42-131WC08 | @ |231|131|161 1.7 17 4D17-71WC03 ® | 130 |71 |86 0.3 45 4D45-185WC08 | @ | 285 (185|215 2.3
16 3D16-51WC03 ® (110 | 51 | 66 0.2 43 3D43-134WC08 | @ | 234 (134|164 1.8 17.5 4D17.5-73WC03 @® | 144 |73 | 88 0.3 46 4D46-189WC08 | @ | 289 (189|219 2.4
16.5 3D16.5-53WC03 ® (112 | 53 | 68 0.2 44 3D44-137WC08 | @ | 237 (137|167 1.8 18 4D18-75WC03 ® (146 |75 | 90 WC..030208 0.4 47 4D47-193WC08 | @ | 293|193 (223 2.5
17 3D17-54WC03 ® (113 | 54 | 69 0.2 45 3D45-140WC08 | @ | 240 (140|170 1.9 18.5 4D18.5-77WC03 @® | 148 |77 | 92 0.4 48 4D48-197WC08 | @ | 297 (197|227 2.6
17.5 3D17.5-56WC03 ® (127 |56 | 71 0.3 46 3D46-143WC08 | @ | 243 (143|173 2.0 19 4D19-79WC03 ® (150 |79 | 94 0.4 49 4D49-201WC08 | @ | 301 |201 (231 2.7
18 3D18-57WC03 @® (128 |57 |72 WC..030208 0.3 47 3D47-146WC08 | @ | 246 (146|176 2.1 19.5 4D19.5-81WC03 @® | 152 |81 |96 0.4 50 4D50-205WC08 | @ | 305 |205|235 2.8
18.5 3D18.5-59WC03 ® (130 (59|74 0.3 48 3D48-149WC08 | @ | 249 (149|179 2.2 20 4D20-83WC03 ® | 154 | 83 | 98 0.4 51 4D51-209WC08 | @ | 309 |209 (239 2.9
19 3D19-60WC03 ® (131(60 |75 0.3 49 3D49-152WC08 | @ | 252 (152|182 2.2 20.5 4D20.5-85WC03 @® | 156 | 85 |100 0.4 52 4D52-213WC08 | @ | 313 (213|243 3.0
19.5 3D19.5-62WC03 ® (13362 |77 0.3 50 3D50-155WC08 | @ | 255 (155|185 2.3 21 4D21-87WC04 @® (158 | 87 (102 0.4 53 4D53-217WC08 | @ | 317 |217 (247 WC..080412 3.1
20 3D20-63WC03 ® | 13463 |78 0.4 51 3D51-158WC08 | @ | 258 (158|188 WC..080412 |2.4 21.5 25 4D21.5-89WC04 @® | 160 | 89 |104 56 0.4 54 4D54-221WC08 | @ | 321 |221 251 3.2
20.5 3D20.5-65WC03 ® | 136 |65 | 80 0.4 52 3D52-161WC08 | @ | 261 (161|191 2.5 22 4D22-91WC04 ® (162 | 91 (106 0.4 55 4D55-225WC08 | @ | 325 (225|255 3.3
21 3D21-66WC04 ® (137 |66 | 81 0.4 53 3D53-164WC08 | @ | 264 (164|194 2.6 22.5 4D22.5-93WC04 @® | 164 | 93 |108 0.4 56 4D56-232WC08 | @ | 334 |232 (264 3.5
21.5 25 3D21.5-68WC04 ® (13968 | 83 %6 0.4 54 3D54-167WC08 | @ | 267 (167|197 2.7 23 4D23-95WC04 ® (169 | 95 (113 WC..040208 0.5 57 4D57-236WC08 | @ | 338 |236 (268 3.7
22 3D22-69WC04 ® (140 69 | 84 0.4 55 3D55-170WC08 | @ | 270 (170|200 2.8 23.5 4D23.5-97WC04 @® | 171 |97 |115 0.5 58 4D58-240WC08 | @ | 342|240 (272 3.8
22.5 3D22.5-71WC04 ® | 142 | 71| 86 0.4 56 3D56-176WC08 | @ | 278 (176|208 2.8 24 4D24-99WC04 ® | 173 |99 |117 0.5 59 4D59-244WC08 | @ | 346 |244 (276 4.0
23 3D23-72WC04 ® | 146 | 72 | 90 WC..040208 0.4 57 3D57-179WC08 | @ | 281 (179|211 3.0 245 4D24.5-101WC04 | @ | 175 (101|119 0.7 60 | 40 |4D60-248WC08 | @ | 350 (248|280 |70 4.1
23.5 3D23.5-74WC04 ® (148 | 74| 92 0.4 58 3D58-182WC08 @ (284 (182|214 3.2 25 4D25-103WC05 @® (177|103 (121 0.7 61 4D61-252WC06 @ | 354 (252|284
24 3D24-75WC04 ® (149 (75| 93 0.4 59 3D59-185WC08 | @ | 287 (185|217 3.3 25.5 4D25.5-105WC05 | @ | 185 |105(125 0.7 62 4D62-256WC06 | @ | 358 |256 (288
24.5 3D24.5-77WC04 ® (151 (77| 95 0.4 60 | 40 |3D60-188WC08 | @ | 290 |188(220(70 3.3 26 4D26-107WCO5 ® (187|107 (127 0.7 63 4D63-260WC06 | @ | 362 |260 (292
25 3D25-78WC05 ® | 152 | 78 | 96 0.4 61 3D61-191WC06 | @ | 291 [191|221 26.5 4D26.5-109WC05 | @ | 189|109 (129 0.7 64 4D64-264WC06 | @ | 366 |264 (296
25.5 3D25.5-80WC05 @® | 160 | 80 [100 0.6 62 3D62-194WC06 | @ | 296 |194|226 27 4D27-111WCO05 ® | 191 {111 131 0.7 65 4D65-268WC06 | @ | 370 (268|300
26 3D26-81WCO5 ® (161 | 81 |101 0.6 63 3D63-197WC06 | @ | 299 (197|229 27.5 4D27.5-113WC05 | @ | 193|113 (133 0.7 66 4D66-272WC06 | @ | 374 |272 (304
26.5 3D26.5-83WC05 ® (163 | 83 |103 0.7 64 3D64-200WC06 | @ | 302 (200|232 28 4D28-115WC05 ® (195 (115(135 WC..050308 0.8 67 4D67-276WC06 | @ | 378 |276 (308
27 3D27-84WC05 ® (164 | 84 |104 0.7 65 3D65-203WC06 | @ | 305 (203|235 28.5 4D28.5-117WC05 | @ | 197 |117 (137 0.8 68 4D68-280WC06 | @ | 382 (280312
27.5 3D27.5-86WC05 ® | 166 | 86 |106 0.7 66 3D66-206WC06 | @ | 308 206|238 29 4D29-120WC05 @® (201|120 (141 0.8 69 4D69-284WC06 | @ | 386 (284|316
28 3D28-87WC05 ® (167 | 87 |107 WC..050308 0.7 67 3D67-209WC06 | @ | 311 [209|241 29.5 4D29.5-122WC05 | @ | 203 |122 (143 0.8 70 4D70-288WC06 | @ | 390 |288 (320
28.5 3D28.5-89WC05 ® (169 | 89 |109 0.7 68 3D68-212WC06 | @ | 314 (212|244 30 4D30-124WC05 ® | 208 (124 (148 0.9 71 4D71-292WC06 | @ | 394 |292 (324 WC..06T308
29 3D29-91WC05 ® (17291 |112 0.7 69 3D69-215WC06 | @ | 317 (215|247 30.5 4D30.5-126WC05 | @ | 210|126 (150 0.9 72 4D72-296WC06 | @ | 398 |296 (328
29.5 3D29.5-93WC0O5 ® (17493 |114 0.7 70 3D70-218WC06 | @ | 320 (218|250 31 | 32 |4D31-128WC06 ® (212 (128 (152| 60 0.9 73 4D73-300WC06 | @ | 402 |300 (332
30 3D30-94WC05 ® (178 |94 |118 0.7 71 3D71-221WC06 | @ | 323 (221|253 WC..06T308 31.5 4D31.5-130W06 ® | 214 (130|154 0.9 74 4D74-304WC06 | @ | 406 (304|336
30.5 32 3D30.5-96WC05 @® (180 96 |120 60 0.8 72 3D72-224WC06 | @ | 326 (224|256 32 4D32-132WC06 ® | 216 (132|156 1.0 75 4D75-308WC06 | @ | 410 |308 (340
31 3D31-97WC06 ® (18197 |121 0.8 73 3D73-227WC06 | @ | 329 (227|259 32.5 4D32.5-134WC06 | @ | 218|134 (158 1.0 76 4D76-312WC06 | @ | 414 |312(344
31.5 3D31.5-99W06 @® (18399 |123 0.9 74 3D74-230WC06 | @ | 332 (230|262 33 4D33-136WC06 ® (220|136 (160 1.0 77 4D77-316WC06 | @ | 418 |316(348
32 3D32-100WC06 ® | 184 {100|124 0.9 75 3D75-233WC06 | @ | 335 (233|265 33.5 4D33.5-138WC06 | @ | 222|138 (162 1.0 78 4D78-320WC06 | @ | 422 (320352
32.5 3D32.5-102WC06 | @ | 186 |102|126 0.9 76 3D76-236WC06 | @ | 338 |236|268 34 4D34-140WC06 ® | 224 (140 (164 WC..06T308 1.1 79 4D79-324WC06 | @ | 426 (324|356
33 3D33-103WC06 ® (187 (103|127 WC..06T308 |[0.9 77 3D77-239WC06 | @ | 341 (239|271 34.5 4D34.5-142WC06 | @ | 226 |142 (166 1.1 80 4D80-328WC06 | @ | 430 |328 (360
33.5 3D33.5-105WC06 | @ | 189 (105|129 0.9 78 3D78-242WC06 | @ | 344 (242|274 35 4D35-144WC06 ® (228 (144 (168 1.1
34 3D34-106WC06 | @ | 190 [106|130 09 79 3D79-245WC06 | @ | 347 245|277 35.5|  [4D35.5-146WC06 | @ | 230 |146|170 14 ®@Mark:Standard stockitem,
34.5 3D34.5-108WC06 | ® | 192 |108[132 1.0 80 3D80-248WC06 | ® | 350 (248|280 36 4D36-148WC06 | ® | 232 148|172 12 Nomark:Made to order item.
35 3D35-109WC06 @® | 193 (109(133 1.0 0@EREL OERELGMER 36.5 4D36.5-150WC06 | @ | 236 (150|174 1.2 0 @ETELE OXTELCHER




WC-5XD (©13-70) Indexable drills with WC inserts
WC gg f*é}l;!fﬁ/ U iljj 5 D Holder diameter 5D:®13.0 ~70.0mm

MNINEZE# -0.30~+0.30 RAMNIZRE ¢ 5x ©Dc
. Range of machining tolerance:-0.30~+0.30  Drilling depth: 5xdiameter
Ji=s { 3 _
) © )
— L (-
L2 Ls \ﬁ_ .
L
Fig.1
s |iE s e g S| s P 1E N S
?ﬁjl{)% @Sﬁ Speciﬁ%tsifn/ltem ?}E Lo| 6| 2|0 Appﬁiﬁbﬁi—sert ﬁ ;733% E{Jgi Specifi%tsifn/ltem iﬁ L] 6| Lz|0s Appﬁiﬁbﬁﬁsert %
13 5D13-68WC02 ® (12968 | 85 WG..020104 38.5 5D38.5-198WC06| @ | 288 (198|228 1.4
13.5 5D13.5-71WC02 | @ [ 131 |71 | 87 39 | 32 |5D39-200WC06 | @ | 290 200|230 |60 1.9
14 5D14-73WC03 @® (133|733 |89 39.5 5D39.5-203WC06| @ | 293 (203|233 WC..06T308 |1.9
14.5| 20 [5D14.5-76WC03 | @ | 135 |76 | 91 |44 40 5D40-205WC06 | @ | 305 (205|235 1.9
15 / |5D15-78WC03 ® (137 (78|93 | / 41 5D41-210WC06 | O | 310 (210|240 2.0
15.5| 25 [5D15.5-81WC03 | @ | 140 | 81 | 95 | 56 42 5D42-215WC08 | O | 315 (215|245 2.1
16 5D16-83WC03 @® | 142 |83 | 98 0.4 43 5D43-220WC08 | O | 320 (220|250 2.2
16.5 5D16.5-86WC03 | @ | 145 | 86 |101 0.4 44 5D44-225WC08 | O | 325 [225|255 2.3
17 5D17-88WC03 ® (147 |88 |103 0.4 45 5D45-230WC08 | O | 330 (230|260 2.4
17.5 5D17.5-91WC03 | @ [ 162 | 91 |106 WC..030208 0.4 46 5D46-235WC08 | O | 335 (235|265 2.5
18 5D18-93WC03 ® (164 | 93 |108 0.5 47 5D47-240WC08 | O | 340 (240|270 2.6
18.5 5D18.5-96WC03 | @ | 167 | 96 |111 0.5 48 5D48-245WC08 | O | 345 (245|275 2.7
19 5D19-98WC03 ® (169 |98 |113 0.5 49 5D49-250WC08 | O | 350 (250|280 2.8
19.5 5D19.5-101WC03| @ | 172 (101|116 0.5 50 5D50-255WC08 | O | 355 [255|285 2.9
20 5D20-103WC03 ® (174 (103|118 0.5 51 5D51-260WC08 | O | 360 (260|290 3.0
20.5 5D20.5-106WC03| @ | 177 (106|121 0.5 52 5D52-265WC08 | O | 365 (265|295 3.1
21 5D21-108WC04 ® (179 (108|123 0.5 53 5D53-270WC08 | O | 370 (270|300 3.2
21.5 25 5D21.5-111WC04 | @ | 182 (111|126 %6 0.5 54 5D54-275WC08 | O | 375 (275|305 3.3
22 5D22-113WC04 ® (184 (113|128 0.5 55 | 40 |5D55-280WC08 | O |380(280(310(70 3.4
22.5 5D22.5-116WC04 | @ | 187 [116|131 WG..040208 0.5 56 5D56-285WC08 | O | 385 |285|315 WC..080412 |3.6
23 5D23-118WC04 ® | 192 (118|136 0.6 57 5D57-295WC08 | O | 390 (295|320 3.8
23.5 5D23.5-121WC04 | @ | 195 (121|139 0.6 58 5D58-300WC08 | O | 395 (300|325 3.9
24 5D24-123WC04 ® (197 (123|141 0.6 59 5D59-305WC08 | O |400 [305|330 4.1
24.5 5D24.5-126WC04 | @ | 200 (126|144 0.8 60 5D60-310WC08 | O |405 (310|335 4.2
25 5D25-128WC05 ® | 202 (128|146 0.8 61 5D61-315WC08 | O | 410 315|340 4.3
25.5 5D25.5-131WC05| @ | 213 (131|153 0.8 62 5D62-320WC08 | O | 415 (320|345 4.4
26 5D26-133WCO5 | @ | 216 (133|156 0.8 63 5D63-325WC08 | O |420 (325|350 4.5
26.5 5D26.5-136WC05| @ | 217 (136|157 0.8 64 5D64-330WC08 | O |425 |330|355 4.6
27 5D27-138WC05 ® (218 (138|158 0.8 65 5D65-335WC08 | O | 430 [335|360 4.7
27.5 5D27.5-141WC05 | @ | 221 (141|161 0.8 66 5D66-340WC08 | O | 435 (340|365 4.8
28 5D28-143WC05 ® | 223 143|163 WC..050308 0.9 67 5D67-345WC08 | O | 440 (345|370 4.9
28.5 5D28.5-146WC05| @ | 226 (146|166 0.9 68 5D68-350WC08 | O |445 (350|375 5.0
29 5D29-149WC05 @® | 230 (149|170 0.9 69 5D69-355WC08 | O |450 [355|380 5.1
29.5 5D29.5-151WCO5| @ | 233 (151|173 0.9 70 5D70-360WC08 | O |455 [360|385 5.2
30 5D30-154WC05 ® | 238 (154|178 1.0
30.5 5D30.5-157WC05| @ | 241 |157|181 1.0
31 5D31-150WC06 | @ |243 [159[183 10 OBF#FSpare Parts
31.5|  [5D31.5-162W06 | @ | 245 |62 185 1.0 Phd) B TIR FZE B4 BT
32 5D32-164WC06 | @ | 248 (164|188 1.1 type diameter Blade model Screw Wrench
32.5 5D32.5-167WCO6| @ | 251 (167|191 1.1 13-14.5 WCo02 M1.8 X 5 T6
33 5D33-169WC06 @® | 253 (169|193 1.1 14-14.5 WC03 M2.5 X | 5.5 T8
33.5 5D33.5-172WC06 | @ | 255 (172|195 1.1 15-20.5 WCo03 M2.5 X T8
34 5D34-174WC06 ® | 258 (174|198 1.2 21-24.5 WCo04 M2.5 X T8
34.5 5D34.5-177WC06 | @ | 261 (177|201 WC..06T308 |1.2 we 25-30.5 WCO05 M3 X T8
35 5D35-179WC06 ® | 263 (179]|203 1.2 31-41.5 WCO06 M3.5 X | 8.5 T15
35.5 5D35.5-182WC06 | @ | 265 |182|205 1.2 42-62 WCO08 M4 X 10 T15
36 5D36-184WC06 ® | 268 (184|208 1.3 63-80 WCO06 M3.5 X | 85 T8
36.5 5D36.5-187WC06 | @ | 271 (187|211 1.8
37 5D37-190WC06 @® | 280 (190|220 1.3 @® Mark:Standard stock item,
37.5 5D37.5-193WC06 | @ | 283 |193|223 1.3 No mark:Made to order item.
38 5D38-195WC06 @® | 285 (195|225 1.4 0@ETELR OETELGLMER




TDR-2 XD (® 8.5-40) Indexable drills with SP inserts
SP gg ?E*}l.liﬁl U %E 2 D Holder diameter 2D:$®8.5 ~40.0mm

TDR=3 XD (® 8.5-40) Indexable drills with SP inserts
SP g! ;g;lliﬁl U iljj 3 D Holder diameter 3D:®8.5~40.0mm

NTAZEZE -0.2~+0.2 BANIRE ¢ 2x ©Dc NTAZEZE -0.2~+0.2 RAMIZRE ¢ 3x ©Dc
Range of machining tolerance:-0.2~+0.2 Drilling depth: 2xdiameter Range of machining tolerance:-0.2~+0.2 Drilling depth: 3xdiameter
o { z . ] i
o l e o l ] 1 e
e i e
] L1 L ] Ly
L2 Ls L2 Ls
L L
Fig.1 Fig.1
D AL HSR Bz L (& 0|05 BANA & SO #fE Lk &= L | & |22|0 i) & N B EE L |G| 2 |Ys il & D e s EE L | & |00 izl &
®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m
8.5 KSD085-2D-520-SP03 @® (83.5(18(33.5 0.2 31.5 KSD315-2D-532-SP09 | @ | 151 | 67 |91 0.7 8.5 KSD085-3D-520-SP03 ® |92.5(27 |42.5 0.2 31.5 KSD315-3D-S32-SP09 | @ | 183 | 99 (123 0.7
9 KSD090-2D-S20-SP03 ® (84.5(19(34.5 SP..030202 |0.2 32 KSD320-2D-S32-SP09 | @ | 152 | 68 |92 0.8 9 KSD090-3D-S20-SP03 ® |93.5(28 (43.5 SP..030202 |0.2 32 KSD320-3D-S32-SP09 | @ | 184 | 100 |124 0.8
9.5 KSD095-2D-S20-SP03 | @ [85.5| 20 [35.5 0.2 32.5 KSD325-2D-S32-SP09 | @ | 153 | 69 |93 SP..090408 [0.8 9.5 KSD095-3D-520-SP03 @® |94.5(29 (445 0.2 32.5 KSD325-3D-S32-SP09 | @ | 186 | 102 |126 SP..090408 [0.8
10 KSD100-2D-S20-SP04 | @ [85.5| 22 |35.5 0.2 33 KSD330-2D-S32-SP09 | @ | 154 | 70 | 94 0.8 10 KSD100-3D-S20-SP04 | @ | 97 |31 | 47 0.2 33 KSD330-3D-S32-SP09 | @ | 187 | 103 (127 0.8
10.5| 20 |KSD105-2D-S20-SP04 ® |86.5|2236.5|44 0.2 33.5 KSD335-2D-S32-SP09 | @ [ 155 | 71 |95 0.8 10.5| 20 |KSD105-3D-S20-SP04 ® (97.5|33|47.5|44 0.2 33.5 KSD335-3D-S32-SP09 | @ | 189 | 105 |129 0.8
11 KSD110-2D-520-SP04 ® (87.5(23(37.5 SP..04T102 0.2 34 KSD340-2D-S32-SP09/11| @ | 156 | 72 |96 SP..090408 |0.8 11 KSD110-3D-S20-SP04 @® (98.5|34 (485 SP.04T102 0.2 34 KSD340-3D-S32-SP09/11] @ | 190 | 106 {130 SP..090408 |0.8
11.5 KSD115-2D-S20-SP04 ® (88 (24| 38 0.2 34.5 KSD345-2D-S32-SP09/11| @ | 157 | 73 |97 SP..110408 |0.8 11.5 KSD115-3D-S20-SP04 @® | 100 [ 36 | 50 0.2 34.5 KSD345-3D-532-SP09/11| @ | 192|108 (132 SP..110408 |0.8
12 KSD120-2D-S20-SP04 @® (90 (25| 40 0.2 35 KSD350-2D-S32-SP11 ® (158 | 74 |98 0.8 12 KSD120-3D-S20-SP04 @® (102 |37 | 52 0.2 35 KSD350-3D-532-SP11 ® | 193 (109 |133 0.8
12.5 KSD125-2D-S20-SP04 @® (93 (27| 43 0.2 35.5| 32 |KSD355-2D-S32-SP11 ® (159 | 75 |99 | 60 0.8 12.5 KSD125-3D-S20-SP04 @® | 105 |39 | 55 0.2 35.5 | 32 |KSD355-3D-532-SP11 ® | 195|111 [135| 60 0.8
13 KSD130-2D-S20-SP05 ® (88 (29| 44 0.2 36 KSD360-2D-S32-SP11 @® | 160 | 76 (100 0.9 13 KSD130-3D-S20-SP05 ® | 101 |42 | 57 0.2 36 KSD360-3D-S32-SP11 ® (196|112 [136 0.9
13.5 KSD135-2D-520-SP05 | @ | 89 |30 | 45 0.2 36.5 KSD365-2D-S32-SP11 | @ | 161 | 77 (101 0.9 13.5 KSD135-3D-S20-SP05 ® 103 (44| 59 0.2 36.5 KSD365-3D-532-SP11 ® | 198 (114|138 0.9
14 KSD140-2D-S20-SP05 @® (90 [31] 46 SP..050204 0.2 37 KSD370-2D-S32-SP11 ® (169 | 79 |109 0.9 14 KSD140-3D-S20-SP05 ® (104 | 45| 60 SP..050204 0.2 37 KSD370-3D-532-SP11 ® | 206 (116 |146 0.9
14.5| 20 |KSD145-2D-S20-SP05 ® | 91 |32 47 |44 0.2 37.5 KSD375-2D-S32-SP11 ® (170 | 80 |110 SP..110408 |[0.9 14.5| 20 |KSD145-3D-S20-SP05 @® | 106 |47 | 62 |44 0.2 37.5 KSD375-3D-532-SP11 @® | 208 (118|148 SP..110408 |0.9
15 / |KSD150-2D-520-SP05 @® (92 (33|48 | / 0.2 38 KSD380-2D-S32-SP11 ® (171 81 |111 0.9 15 / |KSD150-3D-520-SP05 @® (107 (48| 63 | / 0.2 38 KSD380-3D-S32-SP11 ® | 209 (119 |149 0.9
15.5| 25 |KSD155-2D-S20-SP05 @® | 93 [34| 49 |56 0.2 38.5 KSD385-2D-S32-SP11 ® | 172 82 [112 0.9 15.5| 25 |KSD155-3D-S20-SP05 ® | 109 50| 65 |56 0.2 38.5 KSD385-3D-S32-SP11 ® (211|121 [151 0.9
16 KSD160-2D-S20-SP06 | @ | 94 | 35| 50 0.2 39 KSD390-2D-S32-SP11 | @ [ 173 | 83 (113 1 16 KSD160-3D-S20-SP06 | @ | 110 |51 | 66 0.2 39 KSD390-3D-532-SP11 ® | 212 (122|152 1.0
16.5 KSD165-2D-S25-SP06 ® | 95 |36 51 0.2 39.5 KSD395-2D-S32-SP11 ® (174 | 84 |114 1.1 16.5 KSD165-3D-525-SP06 ® | 112 |53 | 68 0.2 39.5 KSD395-3D-532-SP11 ® | 214 (124 |154 11
17 KSD170-2D-S25-SP06 | @ | 96 |37 | 52 0.2 40 | 40 [KSD400-2D-S40-SP11 | @ | 185 | 85 [115| 70 1.1 17 KSD170-3D-S25-SP06 | @ | 113 | 54 | 69 0.2 40 | 40 |KSD400-3D-S40-SP11 @® | 225 (125 [155| 70 1.1
17.5 KSD175-2D-S25-SP06 ® (109 |38 | 53 0.2 17.5 KSD175-3D-S25-SP06 ® | 127 |56 | 71 0.2
18 KSD180-2D-S25-SP06 ® (110 (39| 54 0:3 18 KSD180-3D-S25-SP06 @® (128 |57 | 72 0.3
18.5 KSD185-2D-S25-SP06 | @ | 111 [ 40| 55 0.3 18.5 KSD185-3D-525-SP06 ® | 130 (59| 74 0.3
19 KSD190-2D-325-SP06 | @ | 112 |41 | 56 SP-.060204 0.3 19 KSD190-3D-S25-SP06 | @ | 131 |60 | 75 SP-.060204 0.3
19.5 KSD195-2D-525-SP06 ® (113 42| 57 0.3 19.5 KSD195-3D-525-SP06 @® | 133 (62| 77 0.3
20 KSD200-2D-S25-SP06 ® (114 (43| 58 0.3 20 KSD200-3D-S25-SP06 @® (134 |63 | 78 0.3
20.5 KSD205-2D-525-SP06 ® (115 (44| 59 0.3 20.5 KSD205-3D-525-SP06 ® | 136 |65 80 0.3
21 KSD210-2D-S25-SP06 | @ | 116 |45 | 60 0.3 21 KSD210-3D-S25-SP06 ® | 137 |66 | 81 0.3
21.5 25 KSD215-2D-525-SP06 ® (117 |46 | 61 %6 0.3 21.5 25 KSD215-3D-525-SP06 @® | 139 (68| 83 56 0.3
22 KSD220-2D-S25-SP07 ® (118 (47| 62 0.4 22 KSD220-3D-S25-SP07 @® (140 |69 | 84 0.4
22.5 KSD225-20-$25-SP07 | @ | 119 | 48| 63 0.s  OB#FSpare Parts 22.5 KSD225-3D-25-SP07 | @ |142 | 71| 86 0.4 OMItFSpare Parts
23 KSD230-2D-825-SP07 | @ | 123 |49 | 67 0.4 RERIRET R 23 KSD230-3D-25-SP07 | @ | 146 | 72| 90 0.4 RERIRET wRF
23.5|  |KsDagb-2D-25-5P07 | @ | 124 |50 | 68 0.4 S“e iliencl BT 23.5|  |KSD23b-3D-S25-5P07 | @ | 148 |74/ 92 0.4 Ec\ el T T —
24 KSD240-2D-S25-SP07 ® (125 (51| 69 0.4 ﬁ 24 KSD240-3D-S25-SP07 ® (149 | 75| 93 0.4 @ ﬁ
24.5 KSD245-2D-525-SP07 ® (126 |52 | 70 0.4 24.5 KSD245-3D-S25-SP07 ® | 151 |77 | 95 0.4
25 KSD250-20-525-5P07 | @ | 127 | 53| 71 SP.07T308 |, ["M1.8'3.6 | T6 | KSD0B5-2D-S20-SP03-KSD095-2D-S20-SP03 25 KSD250-30-325-5°07 | @ | 152 | 78| 96 SP.07T308 |, ["M1.8'36 | T6 | KSD085-2D-S20-SP03-KSD095-2D-S20-SP03
25.5 KSD255-2D-532-SP07 | @ | 134 |54 | 74 0.6 M1.8*4 T6 KSD100-2D-S20-SP04~KSD125-2D-S20-SP04 255 KSD255-3D-532-SP07 | @ | 160 | 80 | 100 0.6 M1.8%4 T6 KSD100-2D-S20-SP04~KSD125-2D-S20-SP04
26 KSD260-2D-S32-SP07 @® |135|55| 75 0.6 M2*4 T6 KSD130-2D-S20-SP05~KSD145-2D-S20-SP05 26 KSD260-3D-S32-SP07 @® | 161 [ 81| 101 0.6 M2*4 T6 KSD130-2D-S20-SP05~KSD145-2D-S20-SP05
26.5 KSD265-2D-S32-SP07 ® (136 |56 | 76 0.6 M2*5 T7 KSD150-2D-S20-SP05~KSD155-2D-S20-SP05 26.5 KSD265-3D-S32-SP07 @® | 163 (83| 103 0.6 M2*5 T7 KSD150-2D-S20-SP05~KSD155-2D-S20-SP05
27 KSD270-2D-S832-SP07 ® (137 (57| 77 0.6 M2.2*5 T7 KSD160-2D-S20-SP06~KSD215-2D-S25-SP06 27 KSD270-3D-S32-SP07 ® (164 |84 | 104 0.6 M2.2*5 T7 KSD160-2D-S20-SP06~KSD215-2D-S25-SP06
27.5 KSD275-2D-S32-SP07 ® (138 58| 78 0.6 M2.5*6 T8 KSD220-2D-S25-SP07~KSD285-2D-S32-SP07 27.5 KSD275-3D-S32-SP07 ® (166 | 86| 106 0.6 M2.5*6 T8 KSD220-2D-S25-SP07~KSD285-2D-S32-SP07
28 KSD280-2D-S32-SP07/09| @ | 139 |59 | 79 SP..07T308 |0.6 M3.5*8.5 T15 KSD280-2D-S32-SP07~KSD345-2D-S32-SP09 28 KSD280-3D-S32-5P07/09| @ | 167 | 87 | 107 SP..07T308 |0.6 M3.5*8.5 T15 KSD280-2D-S32-SP07~KSD345-2D-S32-SP09
28.5 82 KSD285-2D-S32-SP07/09| @ | 140 | 60 | 80 60 SP..090408 |0.6 M4*10 T20 KSD340-2D-S32-SP11~KSD400-2D-S40-SP11 28.5 82 KSD285-3D-S32-5P07/09| @ | 169 | 89 | 109 60 SP..090408 |0.6 M4*10 T20 KSD340-2D-S32-SP11~KSD400-2D-S40-SP11
29 KSD290-2D-S32-SP09 ® (143 (62| 83 0.7 29 KSD290-3D-S32-SP09 ® (172 |91 | 112 0.7
29.5 KSD295-2D-$32-P09 | @ | 144 |63 | 84 0.7 ® Mark:Standard stock item, 29.5 KSD295-3D-532-SP09 | @ | 174 |93 [ 114 0.7 @ Mark:Standard stock item,
30 KSD300-2D-S32-SP09 @ (148 |64 | 88 SP..090408 |0.7 No mark:Made to order item. 30 KSD300-3D-S32-SP09 | @ | 178 |94 | 118 SP..090408 |0.7 No mark:Made to order item.
30.5 KSD305-2D-332-SP09 ® (149 (65| 89 0.7 30.5 KSD305-3D-S32-5P09 @® | 180 (96 | 120 0.7
31 KSD310-2D-S32-SP09 ® (150 (66 | 90 0.7 0 @EFRELE OEREEMER 31 KSD310-3D-S32-SP09 ® (181 |97 | 121 0.7 0@EFELE OEREECEMER




TDR-4 XD (® 11.5-40) Indexable drills with SP inserts
SP gg ?E*}l.liﬁl U %E 4 D Holder diameter 4D:®11.5~40.0mm

TDR=5XD (® 15.5-40) Indexable drills with SP inserts
SP gg ;;E*}Liﬁl U %Ijj 5 D Holder diameter 5D:®15.5~40.0mm

NIAEZE -0.2~+0.2 BRANIRE ¢ 4x ©Dc NIAEZE -0.2~+0.2 BRAMNITRE £ 5x ©Dc

Range of machining tolerance:-0.2~+0.2 Drilling depth: 4xdiameter Range of machining tolerance:-0.2~+0.2 Drilling depth: 5xdiameter

ol e ol U | e

e ) d

] L1 L ] Ly

L2 Ls L2 Ls
L L
Fig.1 Fig.1

WA (R ﬂiﬁ E2E3 L (& 0|05 ;EFHDH- & A (iR ﬂ% &z L | & |00 EFEDH- & S e ﬂ% Bz L |O |00 Eﬁﬁﬂ)ﬁ" S S e ﬂgﬁ Bz L |4 |00 EFHDFT S
®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m
11.5 KSD115-4D-S20-SP04 | @ | 111 |47 | 61 0.2 34 KSD340-4D-832-SP09/11| @ | 224 | 140 |164 SP..090408 (0.8 15.5 0 [SD155-50-520-5°05 | @ 140 | 80 |95 “ SP..04T102 |0.3 38 KSD380-5D-S32-SP11 @ | 285 | 195|225 1.4
12 | 20 |KSD120-4D-S20-SP04 | @ [115 |50 | 65 | 44| SP..04T102 |0.2 34.5 KSD345-4D-832-SP09/11| @ | 226 | 142 |166 SP..110408 [0.8 16 ) KSD160-5D-S20-SP06 | @ | 142 | 83 | 98 } 0.4 38.5| ., [KSD3B5-5D-532-5P11| @ | 288 | 198 228 1.4
12.5 KSD125-4D-S20-SP04 | @ | 117 |52 | 67 0.2 35 KSD350-4D-332-SP11 | @ | 228 | 144 |168 0.8 16.5 KSD165-5D-S25-SP06 | @ | 145 | 86 |101 0.4 39 KSD390-5D-$32-SP11 @ | 290 | 200 230 SP..110408 [1.9
13 KSD130-4D-S20-SP05 | @ | 114 |55 | 70 0.2 35.5 KSD355-4D-332-SP11 | @ | 230 | 146 [170 0.8 17 | 25 [ksormo-so-sos-spos | @ | 147 | 88 [10a] %® 0.4 39.5 KSD395-5D-S32-SP11 @ | 293 | 203 [233 1.9
13.5 KSD135-4D-S20-SP05 | @ | 116 |57 | 72 0.2 36 KSD360-4D-832-SP11 | @ | 232|148 [172 0.9 17.5 KSD175-5D-$25-P06 | @ | 162 | 91 |106 0.4 40 | 40 |KSD400-5D-S40-SP11| @ | 305 | 205 [235| 70 1.9
14 KSD140-4D-S20-SP05 | @ | 118 |59 | 74 P 050204 0.2 36.5 | 32 |KSD365-4D-$32-SP11 | @ | 236 | 150 |174|60 0.9 18 KSD180-5D-S25-SP06 | @ | 164 | 93 108 0.5
14.5| 20 |KSD145-4D-S20-SP05 | @ | 120 |61 | 76 |44 0.2 37 KSD370-4D-832-SP11 | @ | 243|153 |183 0.9 18.5 KSD185-5D-S25-SP06 | @ | 167 | 96 111 SP_060204 0.5
15 | / |KSD150-4D-S20-SP05 | @ [122 (63| 78 | / 0.2 37.5 KSD375-4D-$32-SP11 | @ | 245 | 155 |185 SP..110408 [0.9 19 KSD190-5D-S25-P06 | @ | 169 | 98 [113 0.5
15.5| o5 |KSD155-4D-S20-SP05 | @ | 124 |65 | 80 | 56 0.2 38 KSD380-4D-$32-SP11 | @ | 247 | 157 |187 0.9 19.5 KSD195-5D-S25-SP06 | @ | 172 | 101 (116 0.5
16 KSD160-4D-S20-SP06 | @ | 126 |67 | 82 0.2 38.5 KSD385-4D-832-SP11 | @ | 249|159 [189 0.9 20 KSD200-5D-S25-SP06 | @ | 174 | 103 (118 0.5
16.5 KSD165-4D-S25-SP06 | @ | 128 |69 | 84 0.2 39 KSD390-4D-832-SP11 | @ | 251 | 161|191 1.0 20.5 KSD205-5D-$25-SP06 | @ | 177 | 106 |121 0.5
17 KSD170-4D-S25-SP06 | @ | 130 [ 71| 86 0.2 39.5 KSD395-4D-832-SP11 | @ | 253 | 163 [193 1.1 21 25 KSD210-5D-S25-P06 | @ | 179 | 108|123 56 0.5
17.5 KSD175-4D-S25-SP06 | @ | 144 |73 | 88 0.2 40 | 40 [KSD400-4D-S40-SP11 | @ | 265 | 165 [195|70 1.1 21.5 KSD215-5D-S25-P06 | @ | 182 | 111 (126 0.5
18 KSD180-4D-S25-SP06 | @ | 146 | 75 | 90 0.3 22 KSD220-5D-S25-SP07 | @ | 184 | 113 (128 0.5
18.5 KSD185-4D-S25-SP06 | @ | 148 |77 | 92 0.3 225 KSD225-5D-S25-P07 | @ | 187 | 116|131 0.5
19 KSD190-4D-S25-SP06 | @ | 150 |79 | 94 SP..060204 0.3 23 KSD230-5D-S25-SP07 | @ | 192 | 118136 0.6
19.5 KSD195-4D-S25-SP06 | @ | 152 |81 | 96 0.3 23.5 KSD235-5D-S25-SP07 | @ | 195 | 121139 0.6
20 KSD200-4D-S25-SP06 | @ | 154 |83 | 98 0.3 24 KSD240-5D-S25-SP07 | @ | 197 | 123141 0.6
20.5 KSD205-4D-S25-SP06 | @ | 156 | 85 | 100 0.3 24.5 KSD245-5D-S25-P07 | @ | 200 | 126|144 0.8
21 KSD210-4D-S25-SP06 | @ | 158 |87 | 102 0.3 25 KSD250-5D-S25-SP07 | @ | 202 | 128|146 SP..07T308 0.8
21.5| 25 |KSD215-4D-825-SP06 | @ | 160 |89 | 104 | 56 0.3 25.5 KSD255-5D-$32-SP07 | @ | 213 | 131153 0.8 SPEETEECSE
22 KSD220-4D-S25-3P07 | @ | 162 |91 106 0.4 26 KSD260-5D-S32-3P07 | @ | 216 | 133[156 0.8 Part number structure of SPtype holder
22.5 KSD225-4D-825-5P07 | @ | 164 |93 |108 0.4 26.5 KSD265-5D-832-SP07 | @ | 217 | 136|157 0.8 KSD160—- 5D - S20 - SP06
23 KSD230-4D-S25-SP07 | @ | 169 |95 | 113 0.4 27 KSD270-5D-S32-SP07 | @ | 218 | 138158 0.8
23.5 KSD235-4D-S25-SP07 | @ | 171 |97 | 115 0.4 27.5 KSD275-5D-$32-5P07 | @ | 221 | 141|161 0.8
24 KSD240-4D-525-5P07 | @ | 173 |99 | 117 0.4 28 KSD280-5D-S32-8P07/05| @ | 223 | 143|163 SP.07T308 |0.9 BRRT mE EORY i
24.5 KSD245-4D-S25-SP07 | @ | 175 [101] 119 0.4 28.5 KSD285-5D-S32-SP07/09| @ | 226 | 146 |166 SP..090408 |0.9 Drilllength  Shank Diameter
25 KSD250-4D-S25-SP07 | @ | 177 103|121 SP.07T308 |,  OMItFSpare Parts 29 KSD290-5D-532-SP09 | @ | 230 | 149 [170 0.9
25.5 KSD255-4D-$32-SP07 | @ | 185 [105| 125 0.6 REEIRE] RF 29.5 KSD295-5D-932-SP09 | @ | 233 | 151 173 0.9
26 KSD260-4D-S32-SP07 | @ | 187 [107]127 0.6 Sgiy || WEREY ey — 30 KSD300-50-S32-8P0 | @ | 238 | 154|178 1 OMitSpare Parts
26.5 KSD265-4D-S32-SP07 | @ | 189 [109] 129 0.6 /\g> PP 30.5 KSD305-5D-S32-SP09 | @ | 241 | 157 |181 1 SEFIRET "RF
27 KSD270-4D-S32-SP07 | @ | 191 [111]131 0.6 D 7 31 KSD310-5D-532-5P09 | @ | 243 | 159 (183 1 SEE e . : i
27,5  |ksoors-i0-se-spor | @ | 193 113|133 0.6 | M18s T6 | KSD115-4D-520-SP04-KSD125-4D-S20-SP04 31.5| 32 |ksoats-50-s32-5P00 | @ | 245 | 162 [185{ 0| 00408 | @ /<§ -SRIl
28 KSD280-4D-$32-SP07/09| @ | 195 [115] 135 SP..07T308 |0.6 M2*4 T6 KSD130-4D-S20-SP05~KSD145-4D-S20-SP05 32 KSD320-5D-S32-SP09 | @ | 248 | 164|188 1.1
28.5 KSD285-4D-832-SP07/09| @ | 197 117|137 SP..090408 |0.6 M2*5 T7 KSD150-4D-S20-SP05~KSD155-4D-S20-SP05 325 KSD325-5D-532-SP09 | @ | 251 | 167|191 1.1 M2*5 T7 KSD155-4D-S20-SP05~KSD155-4D-S20-SP05
29 KSD290-4D-S32-SP09 | @ | 201 [120| 141 0.7 M2.2*5 T7 KSD160-4D-S20-SP06~KSD215-4D-S25-SP06 33 KSD330-5D-S32-SP09 | @ | 253 | 169|193 1.1 M2.2*5 T7 KSD160-4D-S20-SP06~KSD215-4D-S25-SP06
29.5 KSD295-4D-S32-SP09 | @ | 203 [122] 143 0.7 M2.5%6 T8 KSD220-4D-S25-SP07~KSD285-4D-S32-SP07 33.5 KSD335-5D-S32-P09 | @ | 255 | 172195 1.1 M2.5%6 T8 KSD220-4D-S25-SP07~KSD285-4D-S32-SP07
30 | 32 Ksosuo-an-saz-spe | @ | 208 [124] 148 | %° 0.7 M3.5%8.5 T15 KSD280-4D-S32-SP07~KSD345-4D-S32-SP09 34 KSD340-5D-S32-SP09/11| @ | 258 | 174|198 SP..090408 |[1.2 M3.5*8.5 T15 KSD280-4D-S32-SP07~KSD345-4D-S32-SP09
30.5 KSD305-4D-S32-SP09 | @ | 210 [126] 150 0.7 M4*10 T20 KSD340-4D-S32-SP11~KSD400-4D-S40-SP11 34.5 KSD345-5D-S32-SP09/11| @ | 261 | 177|201 SP.110408 |1.2 M4*10 T20 KSD340-4D-S32—-SP11~KSD400-4D-S40-SP11
31 KSD310-4D-S32-SP09 | @ | 212|128 152 0.7 35 KSD350-5D-S32-SP11 | @ | 263 | 179|203 1.2
31.5 KSD315-4D-S32-SP09 | @ | 214 [130| 154 SP.090408 1, ; 35.5 KSD355-5D-S32-SP11 | @ | 265 | 182|205 1.2
32 KSD320-4D-S32-SP09 | @ | 216 |132| 156 0.8 ® Mark:Standard stock item, 36 KSD360-5D-S32-SP11 | @ | 268 | 184|208 P 110408 1.3 ® Mark:Standard stock item),
32.5 KSD325-4D-332-SP09 @® | 218 (134|158 0.8 No mark:Made to order item. 36.5 KSD365-5D-532-SP11 ® (271 187|211 1.3 No mark:Made to order item.
33 KSD330-4D-S32-SP09 | @ | 220 136/ 160 0.8 37 KSD370-5D-S32-SP11 | @ | 280 | 190|220 1.3
33.5 KSD335-4D-S32-SP09 | @ | 222|138 162 08 O@EREELE OErRELGHESR 37.5 KSD375-5D-S32-SP11 | @ | 283 | 193|223 13 0@ERER OETFEGRMES




OP=2 XD (® 13-40) Indexable drills with SOMT inserts
—— SO B EIs/UEE 2D Holder diameter 2D: ¢ 13.0 ~ 40.0mm

NIAER%E -0.2~+0.2 BANLERE ¢ 2x ©Dc
Range of machining tolerance:-0.2~+0.2 Drilling depth: 2xdiameter

l@\ —

®Dc
®Dshe

L2 Ls
L A H13/SKD61
Fig.1
DAL R LSk Bz L |O |00 BRDA S i [ s EE L |4 |00 ol S
®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m
13 KOD130-2D-S20/25-S005| @ | 88 | 29 | 44 0.2 36 KOD360-2D-S32-S011| @ | 160 | 76 {100 0.9
SOMT11T308
18.5 KOD135-2D-520/25-S005| @ | 89 | 30 | 45 0.2 36.5 KOD365-2D-S32-S011| O [ 161 | 77 (101 0.9
14 KOD140-2D-520/25-S005| @ | 90 | 31 | 46 0.2 37 KOD370-2D-S32-S013| O | 169 | 79 (109 0.9
14.5| 20 |KOD145-2D-S20/25-S005| @ | 91 | 32 | 47 | 44| SOMT050204 |0.2 37.5 30 KOD375-2D-S32-S013| O 170 | 80 (110 60 0.9
15 /|KOD150-2D-S20/25-S005| @ | 92 | 33 (48| / 0.2 38 KOD380-2D-S32-S013| O 171 | 81 [111 0.9
15.5| 25 [KOD155-2D-520/25-S005| @ | 93 | 34 | 49 | 56 0.2 38.5 KOD385-2D-S32-S013| O 172 | 82 (112 SOMT130408 |0.9
16 KOD160-2D-520/25-S005| @ | 94 | 35 | 50 0.2 39 KOD390-2D-S32-S013| O | 173 | 83 (113 1.0
16.5 KOD165-2D-520/25-S006| @ | 95 | 36 | 51 0.2 39.5 KOD395-2D-S32-S013| O 174 | 84 (114 1.1
17 KOD170-2D-S20/25-S006| @ | 96 | 37 |52 0.2 40 | 40 [KOD400-2D-S40-S013| O | 185 | 85 [115]| 70 1.1
17.5 KOD175-2D-$25-S006 ® (109 | 38 |53 0.2
18 KOD180-2D-S25-S006 ® 110 | 39 |54 SOMT060204 0.3
18.5 KOD185-2D-S525-5006 ® (111 | 40 |55 0.3
19 KOD190-2D-525-S006 ® 112 | 41 |56 0.3
19.5 KOD195-2D-$25-S007 ® | 113 | 42 |57 0.3
20 KO0D200-2D-$25-S007 ® (114 | 43 |58 0.3
20.5 K0D205-2D-525-5007 ® (115 | 44 |59 0.3
21 K0D210-2D-525-S007 ® (116 | 45 |60 SOMTO70306 0.3
21.5| 25 [KOD215-2D-525-S007 ® (117 | 46 | 61|56 0.3
22 K0D220-20-825-5007 | @ | 118 | 47 |62 0.4 SOfEFAEC R
295 KoD22s-2D-525-5008 | @ | 119 | 48 |63 0.4 Part number structure of SO type holder
23 KOD230-2D-525-5008 | @ |123 | 49 |67 0.4 KOD160- 2D - S20 - SOMTO05
23.5 K0D235-2D-525-S008 ® (124 | 50 |68 0.4
24 KOD240-2D-325-S008 ® (125 | 51 |69 SOMTO08T306 0.4 _ ’e
24.5 KoD245-2D-525-5008 | @ | 126 | 52 |70 0.4 R DriIILl%Lﬁ ﬁgﬁ)gﬂe‘er ,ﬁéﬁ%y’f"e
25 KO0D250-2D-S25-S008 ® (127 | 53 |71 0.4
25.5 KOD255-2D-532-5008 ® (134 | 54 (74 0.6
26 K0D260-2D-S32-S008 ® 135 | 55 |75 0.6
26.5 KOD265-2D-832-5009 | @ | 136 | 56 |76 06 OBt#FSpare Parts
27 KOD270-2D-$32-5009 | @ | 137 | 57 |77 0.6 RERIRET wRF
27.5|  |koDers-2D-532-5009 | @ | 138 | 58 |78 0.6 Screw Wre“h I Applicable Dril
28 K0D280-2D-S32-S009 ® (139 | 59 |79 0.6 @ /@
28.5 K0D285-2D-332-S009 ® (140 | 60 |80 0.6 <
29 K0D290-2D-832-S009 ® | 143 | 62 |83 0.7 M2*5 T6 KOD130-2D-S20-S005~KOD160-2D-S20-S005
29.5 K0D295-2D-532-009 ® |144 | 63 |84 SOMT09T308 0.7 M2.2*5 T7 KOD165-2D-820-S006~KOD190-2D-S25-S006
30 K0D300-2D-$32-S009 ® | 148 | 64 |88 0.7 M2.2*5 T7 KOD195-2D-S25-S007~K0OD220-2D-S25-S007
30.5| 32 [KOD305-2D-$32-S009 ® (149 | 65 |89 |60 0.7 M2.5*6 T7 KOD225-2D-S25-S008~K0OD260-2D-S32-S008
31 KOD310-2D-S32-S009 ® (150 | 66 |90 0.7 M3.5*8.5 T7 KOD265-2D-532-S009~KOD315-2D-S32-S009
31.5 K0D315-2D-$32-S009 ® | 151 | 67 |91 0.7 M3.5*8.5 T8 KOD320-2D-S32-S011~KOD365-2D-S32-S011
32 K0D320-2D-$32-S011 ® (152 | 68 |92 0.8 M4*10 T15 KOD370-2D-832-S013~KOD400-2D-S40-S013
32.5 K0D325-2D-S32-S011 ® (153 | 69 |93 0.8
33 K0D330-2D-S32-S011 ® (154 | 70 |94 0.8
33.5 KOD335-2D-332-S011 ® (155 | 71 |95 0.8
34 KOD340-2D-332-S011 ® (156 | 72 |96 SOMT11T308 0.8 @® Mark:Standard stock item,
34.5 KOD345-2D-832-S011 ® | 157 | 78 |97 0.8 No mark:Made to order item.
35 KOD350-2D-S32-S011 ® (158 | 74 |98 0.8
35.5|  [K0D35-20-532-5011 | @ | 159 | 75 | 99 08 OOEFEE OETELGMESD




TOP-3 XD (% 13-40) Indexable drills with SOMT inserts TOP=4 XD (® 13-40) Indexable drills with SOMT inserts
SO §2 ;iai}l,%ﬁ/ U %ﬁ 3D Holder diameter 3D: ¢ 13.0 ~40.0mm SO gg iﬁ?rl,'f]‘j/ U !EIE 4D Holder diameter 4D: ¢ 13.0 ~40.0mm

NINEZE#E -0.2~+0.2 BANLRE ¢ 3x ©Dc NINEZEHE -0.2~+0.2 BANIRE ¢ 4 x ®Dc
Range of machining tolerance:-0.2~+0.2 Drilling depth: 3xdiameter Range of machining tolerance:-0.2~+0.2 Drilling depth: 4xdiameter
) —| r— B ] &
ol v | e ol_ e
e e
] L1 ] Ly L
L2 Ls L2 Ls
L A H13/SKD61 L A H13/SKD61
Fig.1 Fig.1
WA (R ﬂiﬁ E2E3 L |0 |00 ;EFHDH- & A (iR ﬂ% &z L | & |00 EFEDH- & N ﬂ% Bz L |O |00 Eﬁﬁﬂ)ﬁ" S i [ ﬂiﬁ Bz L |4 |00 EFHDFT &
®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m
13 KOD130-3D-520/25-5005| @ | 101 | 42 |57 0.2 36 3D36-112SOMT11 ® | 196|112 (136 SOMT11T308 0.9 13 KOD130-4D-S20/25-S005| @ | 114 | 55 | 70 0.2 36 KOD360-4D-332-S011| @ | 232 | 148 |172 SOMT11T308 0.9
18.5 KOD135-3D-520/25-5005| @ | 103 | 44 |59 0.2 36.5 3D36.5-114SOMT11| O [ 198 | 114 {138 0.9 13.5 KOD135-4D-520/25-S005| @ | 116 | 57 | 72 0.2 36.5 KOD365-4D-S32-S011| O | 234 [ 150 (174 0.9
14 KOD140-3D-520/25-5005| @ | 104 | 45 | 60 0.2 37 3D37-136SOMT13 | O [ 206 | 116 {146 0.9 14 KOD140-4D-$20/25-S005| @ | 118 | 59 | 74 0.2 37 KOD370-4D-S32-S013| O | 243 | 153 {183 0.9
14.5| 20 |KOD145-3D-S20/25-S005| @ | 106 | 47 | 62 | 44| SOMT050204 |0.2 37.5 32 3D37.5-181SOMT13| O [ 208 | 118 {148 60 0.9 14.5| 20 |KOD145-4D-S20/25-S005| @ | 120 | 61 | 76 | 44| SOMT050204 |0.2 37.5 30 KOD375-4D-S832-S013| O | 245 | 155 |185 60 0.9
15 / |KOD150-3D-520/25-S005| @ | 107 | 48 (63| / 0.2 38 3D38-139SOMT13 | O [ 209 | 119 {149 0.9 15 / |KOD150-4D-S20/25-S005| @ | 122 | 63 (78| / 0.2 38 KOD380-4D-S32-S013| O | 247 | 157 (187 0.9
15.5| 25 |KOD155-3D-S20/25-S005| @ | 109 | 50 | 65 | 56 0.2 38.5 3D38.5-121SOMT13| O | 211 | 121 |151 SOMT130408 |0.9 15.5| 25 |KOD155-4D-520/25-S005| @ | 124 | 65 | 80 | 56 0.2 38.5 KOD385-4D-S32-S013| O | 249 | 159 (189 SOMT130408 |0.9
16 KOD160-3D-S20/25-5005| @ | 110 | 51 | 66 0.2 39 3D39-122SOMT13 | O [ 212|122 [152 1.0 16 KOD160-4D-S20/25-5005| @ | 126 | 67 | 82 0.2 39 KOD390-4D-S32-S013| O | 251 | 161 {191 1.0
16.5 KOD165-3D-S20/25-S006| @ | 112 | 53 | 68 0.2 39.5 3D39.5-124SOMT13| O | 214 | 124 (154 1.1 16.5 KOD165-4D-520/25-S006| @ | 128 | 69 | 84 0.2 39.5 KOD395-4D-S32-S013| O | 253 | 163 {193 1.1
17 KOD170-3D-S20/25-S006| @ | 113 | 54 | 69 0.2 40 | 40 |3D40-125S0MT13 | O | 225|125 [155| 70 1.1 17 KOD170-4D-S20/25-S006| @ | 130 | 71 | 86 0.2 40 | 40 [KOD400-4D-S40-S013| O | 265 | 165 [195| 70 1.1
17.5 K0D175-3D-S25-S006 ® (127 | 56 |71 0.2 17.5 KOD175-4D-$25-S006 ® | 144 | 73 |88 0.2
18 KOD180-3D-525-S006 ® (128 | 57 |72 SOMT060204 0.3 18 KOD180-4D-S25-5006 ® | 146 | 75 |90 SOMTO60204 0.3
18.5 K0D185-3D-S525-S006 @® |130| 59 |74 0.3 18.5 KOD185-4D-525-S006 ® (148 | 77 |92 0.3
19 KOD190-3D-525-S006 ® (131 60 |75 0.3 19 KOD190-4D-$25-S006 ® 150 | 79 |94 0.3
19.5 KOD195-3D-S25-S007 @® |133| 62 |77 0.3 19.5 KOD195-4D-$25-S007 ® | 152 | 81 |96 0.3
20 K0D200-3D-S25-S007 ® |134| 63 |78 0.3 20 KO0D200-4D-S25-S007 ® (154 | 83 |98 0.3
20.5 KO0D205-3D-525-S007 @® (136 | 65 |80 0.3 20.5 K0D205-4D-S25-5007 ® | 156 | 85 (100 0.3
21 KOD210-3D-525-S007 ® (137 | 66 |81 SOMT070306 0.3 21 KOD210-4D-$25-S007 ® (158 | 87 102 SOMTO70306 0.3
21.5| 25 |KOD215-3D-§25-S007 ® (139 | 68 |83 |56 0.3 21.5| 25 |[KOD215-4D-$25-S007 | @ | 160 | 89 [104| 56 0.3
22 K0D220-3D-825-8007 | @ | 140 | 69 |84 0.4 SOIESAECR 22 K0D220-4D-825-5007 | @ | 162 | 91 [106 0.4 SOIESREC R
22 5 KoD225-30-525-3008 | @ | 142 | 71 |86 0.4 Part number structure of SO type holder 295 KOD225-4D-525-5008 | @ | 164 | 93 |108 0.4 Part number structure of SO type holder
23 KOD230-30-525-5008 | @ [146 | 72 |90 0.4 KOD160- 3D - S20 - SOMTO05 23 KOD230-4D-525-5006 | @ | 169 | 95 [113 0.4 KOD160- 4D - S20 - SOMTO05
23.5 K0D235-3D-525-S008 @ |148 | 74 |92 0.4 23.5 K0D235-4D-$25-S008 ® | 171 | 97 |115 0.4
24 KOD240-3D-525-S008 ® (149 | 75 |93 0.4 . 24 KO0D240-4D-$25-S008 ® (173 | 99 (117 0.4 .
24.5 KOD245-3D-525-5008 | @ | 151 | 77 |95 SOMTO8TS06 | SN~ - fEm BORY @éﬁ%’ﬁa 24.5 KOD245-4D-525-5008 | @ | 175 | 101 [119 SOMTOSTS06 | %‘.%3 & BORY ,Eﬁ%ﬁe
25 KOD250-3D-525-5008 | @ |152 | 78 | 96 0.4 Brlllengh  ShenEiEmes 25 KOD250-4D-525-5008 | @ | 177 | 103 [121 0.4 Billlenglh St Bl
25.5 K0D255-3D-S532-S008 @® | 160 | 80 {100 0.6 25.5 KOD255-4D-$32-S008 ® (185|105 (125 0.6
26 KOD260-3D-S32-S008 ® (161 | 81 |101 0.6 26 K0D260-4D-$32-S008 ® (187 [ 107 [127 0.6
26.5|  |KoDaes-30-s2-5009 | @ | 163 | 83 |103 0.6 OFt¥Spare Parts 26.5|  |[KoD2g5-4D-s32-5008 | @ | 189 | 109|129 06 OMItFSpareParts
27 KOD270-3D-832-5009 | @ | 164 | 84 104 0.6 IRERIRET RF 27 KOD270-4D-$32-5009 | @ | 191 | 111131 0.6 IRERIRET wRF
27.5|  |koD275-3D-532-5009 | @ | 166 | 86 [106 0.6 Scre W’e“h STV Applicable Oril 27.5|  |koD2rs-4D-532-5008 | @ |193 | 113|133 0.6 Screw Wre“h I Applicable Dril
28 K0D280-3D-S32-S009 ® | 167 | 87 (107 0.6 /® 28 K0D280-4D-$32-S009 ® (195 115|135 0.6 @ /®
28.5 K0D285-3D-S32-S009 ® | 169 | 89 (109 0.6 < 28.5 K0D285-4D-$32-S009 ® | 197 | 117|137 0.6 g
29 KOD290-3D-832-S009 ® |172| 91 [112 0.7 M2*5 T6 KOD130-3D-S20-S005~KOD160-3D-S20-S005 29 K0D290-4D-832-S009 ® | 201 | 120 [141 0.7 M2*5 T6 KOD130-4D-S20-S005~KOD160-4D-S20-S005
20.5|  |coness-30-s2-5000 | @ |174 | o3 [114] | SOMTOOTS08 | M2.2*5 T7 | KOD165-3D-520-5006-KOD190-3D-525-S006 295  |[oDosdn-sar-son9 | @ | 203 | 122|143 | SOMTO9T308 |- M2.2*5 T7 | KOD165-4D-520-S006~KOD190-4D-S25-5006
30 KOD300-30-532-5009 | @ | 178 | 94 |118 0.7 M2.2*5 T7 KOD195-3D-S25-S007~K0D220-3D-525-S007 30 KOD300-4D-532-5009 | @ | 208 | 124 |148 0.7 M2.2*5 T7 KOD195-4D-S25-S007~K0D220-4D-S25-S007
30.5| 32 [KOD305-3D-$32-S009 ® (180 | 96 [120| 60 0.7 M2.5*6 T7 KOD225-3D-S25-S008~K0OD260-3D-S32-S008 30.5| 32 [KOD305-4D-$32-S009 ® (210 | 126 (150| 60 0.7 M2.5*6 T7 KOD225-4D-525-S008~KOD260-4D-S32-S008
31 KOD310-3D-532-S009 ® |181 | 97 [121 0.7 M3.5*8.5 T7 KOD265-3D-532-S009~KOD315-3D-S32-S009 31 KOD310-4D-$32-S009 ® (212|128 152 0.7 M3.5*8.5 T7 KOD265-4D-532-S009~KOD315-4D-S32-S009
31.5 KOD315-3D-S32-S009 @® | 183 | 99 (123 0.7 M3.5*8.5 T8 KOD320-3D-S32-S011~KOD365-3D-S32-S0O11 31.5 K0D315-4D-$32-S009 ® | 214|130 |154 0.7 M3.5*8.5 T8 KOD320-4D-S32-S011~KOD365-4D-S32-S011
32 K0D320-3D-S32-S011 @ (184|100 (124 0.8 M4*10 T15 KOD370-3D-S32-S013~KOD400-3D-S40-S013 32 K0D320-4D-$32-S011 ® (216 | 132|156 0.8 M4*10 T15 KOD370-4D-S32-S013~KOD400-4D-S40-S013
32.5 K0D325-3D-532-S011 ® (186 | 102 |126 0.8 32.5 KOD325-4D-S32-S011 ® | 218 [ 134 (158 0.8
33 K0D330-3D-S32-S011 @® | 187 | 103 [127 0.8 33 KOD330-4D-$32-S011 ® (220 | 136 (160 0.8
33.5 K0D335-3D-S32-S011 @® | 189 | 105 (129 0.8 33.5 K0D335-4D-$32-S011 ® | 222|138 (162 0.8
34 KOD340-3D-$32-8011 | @ | 190 | 106 |130 SOMTTIT308 | g ® Mark:Standard stock item, 34 KOD340-4D-832-S011 | @ |224 | 140 164 SOMTIITS08 | o @ Mark:Standard stock item,
34.5 KOD345-3D-832-S011 ® | 192 108|132 0.8 No mark:Made to order item. 34.5 KOD345-4D-832-S011 | @ | 226 | 142 (166 0.8 No mark:Made to order item.
35 K0D350-3D-S32-S011 @® | 193|109 (133 0.8 35 KOD350-4D-$32-S011 @® [ 228 | 144|168 0.8
35.5 K0D355-3D-S32-S011 @® | 195|111 (135 0.8 0 @EFRELE OEREEMER 35.5 KOD355-4D-$32-S011 @® | 230|146 (170 0.8 0@EFELE OEREECEMER




TOP-5 XD (® 16-40) Indexable drills with SOMT inserts
SO gg ;;E*}L!EIEI U !E-Ijj 5 D Holder diameter 5D: ¢ 16.0 ~40.0mm

WC=2XD (©13-40) Indexable drills with WC inserts
WC ﬁ'-ﬁ E;E;}Lgllj/ U %Ilj 2 D Holder diameter 2D:®13.0 ~40.0mm

MIAEFHE -0.2-+0.2 BRANIZRE 05 x ®Dc NI RERE -0.2~+0.2 RANIRE ¢ 2x ODc
Range of machining tolerance:-0.2~+0.2 Drilling depth: 5xdiameter Range of machining tolerance: -0.2~+0.2 Drilling depth: 2xdiameter
= =K =k
o L ] Ly | |
Ly L2 Ls
= C Ls L A H13/SKD61
- A H13/SKD61 Fig.1
Fig.1
DE (fE B BE | lp,lp| BRDE IS m@imm s B2 | g 1o, |0, | BEADA S
_ _ ®Dc | Ds| Specification/Ifem [Store Applicable Insert|[ks]  ®Dc |®Ds| Specification/item |sfore 1| 2| €3 |applicable Insert| kg
kit CEISR B | | 0| 05 BRADR  |S M FRRE BISR R EIAY) BRADAR S
®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store 1| ¥2| %3 |Applicable Insert m 13 KCO-D-S0sBce | @ | 88 | 29 |44 We.00108 02 37 KCD370-3D-S32-WC06l ® 1206 | 116 146 1
16 | 20 [KOD160-5D-820/25-5005| @ | 142 | 83 |98 |44 | SOMT050204 |0.4 39 KOD390-5D-832-5013| O | 290 | 200 [230 1.9 13.5 KOD135-20-520/825-WC02 | @ | 89 | 30 |45 ) 02 375 KCD375-3D-S32-WC06| @ | 208 | 118 (148 1.1
16.5| / |KOD1G5-6D-5201%5-5006| @ | 145 | 86 [101| / 04 39.5 2 konsss-sp-ss2-sota| O | 293 | 203 |2a3| | somTiz0408 1.9 14 KCDI4D-20-S20S25-C05 | @ | 90 | 31 146 we.osoz0s |02 38 | gp [(CDIE0-ED-SE2-WCOE) @ ) 209|119 1149] 11
17 | 25 Kop170-50-S20125-s006| @ | 147 | 88 [103| 56 0.4 40 | 40 [K0D400-50-540-5013| O | 305 | 205 |235| 70 19 14.5| 20 [KCD145-20-5201S2%5-WC03 | @ | 91 | 32 |47 |44 - 0.2 38.5 KCD385-3D-S32-WC06| @ | 211|121 [151 WC..06T308 [ 1.1
17.5 K0D175-5D-$25-S006 ® | 162 | 91 [106 0.4 15 / |KCD150-2D-S20/525-WC03 | @ | 92 | 33 (48| / 0.2 39 KCD390-3D-S32-WC06| @ | 212 | 122 {152 1.2
18 KOD180-5D-325-5006 | @ | 164 | 93 [108 SOMT060204 0.5 15.5 | 25 [KCD155-20-52015%5-WC03 | @ | 93 | 34 |49 |56 0.2 39.5 KCD395-3D-532-WC06| @ | 214 |124 |154 1.3
18.5 KOD185-50-525-5006 | @ | 167 | 96 [111 0.5 16 KCD160-2D-520/525-WC03 | @ | 94 | 35 |50 0.2 40 | 40 |KCD400-3D-S40-WC06| O | 225 | 125 [155|70 1.6
19 KOD190-50-525-5006 | @ | 169 | 98 [113 0.5 16.5 KCD165-20-520/525-WC03 | @ | 95 | 36 |51 0.2
19.5 KOD195-5D-525-5007 | @ | 172|101 [116 0.5 17 KCD170-20-520/925-WC03 | @ | 96 | 37 |52 0.2
20 K0D200-5D-$25-3007 | @ | 174 [ 103 |118 0.5 17.5 KCD175-2D-825-WC03 ® | 109 | 38 |53 WG..030208 0.2
20.5 KOD205-5D-$25-3007 | @ | 177 | 106 |121 5 18 KCD180-2D-825-WC03 ® 110 | 39 |54 0.3
21 KOD210-5D-525-5007 | @ | 179 [ 108 123 SOMT070308 0.5 18.5 KCD185-2D-525-WC03 ® (111 40 |55 0.3
21.5 % KOD215-5D-525-3007 | @ | 182 [ 111 |126 %6 0.5 19 KCD190-2D-825-WC03 ® | 112 | 41 |56 0.3
22 KOD220-5D-S25-5007 ® | 184 113 (128 0.5 19.5 KCD195-2D-525-WC03 ® | 113 | 42 |57 0.3
22.5 KOD225-5D-$25-3008 | @ | 187 | 116 |131 0.5 20 KCD200-2D-525-WC03 ® |114 | 43 |58 0.3
23 KOD230-5D-525-5008 | @ | 192 [ 118 |136 0.6 20.5 KCD205-2D-825-WC03 ® | 115 | 44 |59 0.3
23.5 KOD235-5D-525-5008 | @ | 195 [ 121 139 0.6 21 o5 KCD210-2D-525-WC04 ® | 116 | 45 |60 56 0.3
24 KOD240-5D-$25-5008 | @ | 197 | 123 |141 0.6 21.5 KCD215-2D-825-WC04 ® (117 | 46 |61 0.3
24.5 KOD245-5D-$25-3008 | @ | 200 | 126 |144 SOMTO8T306 0.8 22 KCD220-2D-825-WC04 ® | 118 | 47 |62 0.4
25 K0D250-5D-325-5008 | @ | 202 | 128 (146 0.8 SOfEBEECE 22.5 KCD225-2D-$25-WC04 ® (119 | 48 |63 0.4
255|  |KOD2S5-50-532-5008 | @ | 213 131|153 0.8 Part number structure of SO type holder 23 Koz--s5-WCK | @ | 123 | 49 |67 we.osoz08 |4
26 KOD260-5D-332-5008 | @ | 216|133 (156 0.8 KOD160- 5D - S20 - SOMTO05 23.5 KCD236-2D-S25-WC04 ® (124 | 50 |68 " 0.4
26.5 KOD265-5D-532-5009 | @ | 217 136 |157 0.8 ‘ 24 KCD240-2D-825-WC04 ® | 125 | 51 |69 0.4
27 KOD270-5D-S32-5009 ® | 218|138 [158 0.8 24.5 KCD245-2D-525-WC04 ® (126 | 52 |70 0.4
27.5|  |fob2rs-s0-s2-5009 | @ | 221 [141 161 0.8 SN~ s BORY dat ) 25 | |com-a-ssics | @ 127 | 53 | 74 0.4
28 KOD280-5D-832-5009 | @ | 223|143 [163 0.9 DrillLength  Shank Diameter 25.5 KCD255-2D-832-WC05 @® (134 | 54 |74 0.6
28.5 KOD285-5D-532-5009 | @ | 226 | 146 |166 0.9 26 KCD260-2D-832-WC05 ® |135| 55 |75 0.6
29 KOD290-5D-532-5009 | @ | 230 | 149 |170 SOMTO09T308 |0.9 26.5 KCD265-20-832-WC05 ® (136 | 56 |76 0.6
29.5 KOD295-5D-532-5009 | @ | 233|151 [173 09 OBMSpare Parts 27 KCD270-20-$32-WC05 ® |137 |57 |77 0.6
30 KOD300-5D-$32-5009 | @ |238 | 154 (178 1.0 REEIRET wRF 27.5 KCD275-2D-832-WC05 ® (138 | 58 |78 WC..050308 0.6
30.5 KOD305-50-832-5009 | @ | 241|157 181 1.0 Sy il &A7# Aoplicable Dril 28 KCD280-20-832-WC05 ® 13959 |79 ) 0.6 i
31 KOD310-5D-532-5009 | @ | 243|159 183 1.0 /\’é it 28.5 KCD285-2D-832-WC05 @® [ 140 | 60 |80 06 OPBFtESpare Parts
31.5 KOD315-5D-532-5009 | @ | 245 | 162|185 1.0 S 4 29 KCD290-2D-532-WC03 ® | 143 | 62 |83 0.7 RERIRET RF
32 | 32 [KoD30-50-S32-3011 | @ | 248|164 [188[60 1.1 M2°5 6 KOD160-5D-520-S005 [ e 07 serev | dhench SERIT4T Applicable Dril
32.5 KOD325-5D-332-S011 | @ | 251 | 167 |191 1.1 M2.2*5 T7 KOD165-5D-520-S006~KOD190-5D-S25-S006 30 KCD300-2D-832-WC05 ® (148 | 64 |88 0.7 @ /\)é
33 KOD330-5D-$32-5011 | @ |253 | 169 {193 1.1 M2.2*5 T7 KOD195-5D-525-S007~KOD220-5D-525-S007 30.5 KCD305-2D-832-WC05 ® 149 | 65 |89 0.7 4
33.5 KOD335-5D-532-5011 | @ | 255|172 (195 1.1 M2.5*6 T7 KOD225-5D-$25-S008~K0D260-5D-$32-S008 31 | 32 |KCD310-2D-532-WC0 ® | 150 | 66 |90 |60 0.7 M1.8"5 T6 KCD130-3D-S$20-WC02~KCD145-3D-525-WC02
34 KOD340-5D-332-S011 ® | 258|174 |198 1.2 M3.5*8.5 T7 KOD265-5D-832-S009~KOD315-5D-532-S009 31.5 KCD315-2D-532-WC06 @® | 151 | 67 |91 0.7 M2.5*5.5 T8 KCD140-3D-S20-WC03~KCD145-3D-S25-WC03
34.5 KOD345-5D-532-5011 | @ | 261 177 |201 SOMTI1T308 |, , M3.5*8.5 T8 KOD320-5D-532-S011~KOD365-5D-532-S011 32 KCD320-2D-532-WC06 ® 152 | 68 |92 0.8 M2.5*6 T8 KCD150-3D-520-WC03~KCD205-3D-525-WC03
35 KOD350-5D-532-5011 | ® | 263 | 179 |203 12 M2"10 T15 KOD370-5D-532-S013~KOD400-5D-540-8013 32.5 KCD325-2D-832-WC06 ® (153 | 69 |93 0.8 M2.5*6 T8 KCD210-3D-525-WC04~KCD245-3D-525-WC04
35.5 KOD355-5D-532-5011 | @ | 265 | 182 |205 1.2 33 KCD330-2D-832-WC06 @ |154 | 70 |94 0.8 M3*7 T8 KCD250-3D-525-WC05~KCD305-3D-$32-WC05
36 KOD360-5D-832-5011 O | 268|184 |208 1.3 33.5 KCD335-2D-S32-WC06 ® |155| 71 |95 0.8 M3.5*8.5 T15 KCD310-3D-S32-WC06~KCD400-3D-S40-WC06
WC..06T308
36.5 KOD365-5D-532-5011 | O | 271 | 187 |211 1.3 34 KCD340-2D-832-WC0 ® 156 | 72 |96 0.8
37 KOD370-5D-832-8013 | O | 280 | 190 220 1.3 ® Mark:Standard stock item, 34.5 KCD345-2D-532-WC06 ® (157 | 73 |97 0.8
37.5 KOD375-5D-832-8013 | O | 283 193 [223 1.3 No mark:Made to order item. 35 KCD350-20-832-WC06 ® 158 | 74 |98 0.8 @ Mark:Standard stock item,
38 KOD380-50-832-8013 | O | 285 | 195 [225 SOMT130408 1 35.5 KCD335-20-832- W00 ® | 159 | 75 |99 0.8 No mark:Made to order item.
38.5 KOD385-5D-$32-3013 | O | 288 | 198 |228 14 COERELE OEFECHESDR 36 KCD360-2D-832-WC0B ® | 160 | 76 (100 0.9
36.5 KCD365-2D-832-WC06 ® |161 | 77 [101 09 oQeETEE OEREEHER




WC -3 XD (9 13-40) Indexable drills with WC inserts WC =4 XD (©13-40) Indexable drills with WC inserts
WC gg ?E*}l.lsﬁl U %E 3 D Holder diameter 3D:®13.0 ~40.0mm WC g! §§¥L$£I U %ﬁ 4 D Holder diameter 4D:®13.0 ~40.0mm

NINEZE#E -0.2~+0.2 BANILZRE ¢ 3x ®Dc NINEZEHE -0.2~+0.2 BANLZRE ¢ 4x ®Dc
Range of machining tolerance:-0.2~+0.2 Drilling depth: 3xdiameter Range of machining tolerance: -0.2~+0.2 Drilling depth: 4xdiameter
[a] a o [a]
e l | el |
] Ly || ] Ly | |
L2 Ls L2 Ls
L A H13/SKD61 L A H13/SKD61
Fig.1 Fig.1

D (e D Bz L |0 |20 BAEDA S T e Lk Bz L | & |00 BRI S N1 SR BE L |& |02V BAEDA S i [ sk B L |4 |00 BAEDA S
®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert m

13 KCD130-3D-S20/525-WCo2 | @ | 101 | 42 |57 WC..020104 0.2 37 KCD370-3D-S32-WC06| @ | 206 | 116 |146 1.1 13 KCD130-4D-S20/S25-WC02 | @ | 114 | 55 |70 WC..020104 0.2 37 KCD370-3D-S32-WC06| @ | 243 | 153 |183 1.2
13.5 KCD135-3D-S20/525-WC02 | @ | 103 | 44 |59 0.2 37.5 KCD375-3D-S32-WC06| @ | 208 | 118 |148 1.1 18.5 KCD135-4D-S20/S25-WC02 | @ [ 116 | 57 |72 0.2 37.5 KCD375-3D-S32-WC06| @ | 245 | 155 |185 1.2

14 KCD140-3D-S20/525-WC03 | @ | 104 | 45 |60 0.2 38 KCD380-3D-S32-WC06| @ | 209 | 119 |149 1.1 14 KCD140-4D-S20/S25-WC03 | @ [ 118 | 59 | 74 0.2 38 KCD380-3D-S32-WC06| @ | 247 | 157 {187 1.3

WC..030208 32 60 WC..030208 32 60

14.5| 20 [KCD145-3D-520/525-WC03 | @ | 106 | 47 |62 | 44 0.2 38.5 KCD385-3D-532-WC06| @ | 211 [ 121 |151 WC..06T308 | 1.1 14.5| 20 [KCD145-4D-820/525-WC03 | @ | 120 | 61 |76 | 44 0.2 38.5 KCD385-3D-S32-WC06| @ | 249 | 159 (189 WC..06T308 |1.3

15 / |KCD150-3D-820/S25-WC03 | @ | 107 | 48 (63| / 0.2 39 KCD390-3D-532-WC06| @ | 212 | 122 |152 1.2 15 / |KCD150-4D-S20/S25-WC03 | @ | 122 | 63 (78 | / 0.2 39 KCD390-3D-S32-WC06| @ | 251 [ 161 {191 1.8
15.5| 25 [KCD155-3D-520/825-WC03 | @ | 109 | 50 |65 | 56 0.2 39.5 KCD395-3D-S32-WC06| @ | 214 | 124 |154 1.3 15.5 | 25 [KCD155-4D-520/S25-WC03 | @ | 124 | 65 |80 | 56 0.2 39.5 KCD395-3D-532-WC06| @ | 253 | 163 (193 1.8

16 KCD160-3D-S20/525-WC03 | @ | 110 | 51 |66 0.2 40 | 40 |KCD400-3D-S40-WC06| O | 225|125 [155(70 1.6 16 KCD160-4D-S20/S25-WC03 | @ | 126 | 67 |82 0.3 40 | 40 |KCD400-3D-S40-WC06| O | 265|165 [195|70 1.8
16.5 KCD165-3D-S20/525-WC03 | @ | 112 | 53 | 68 0.2 16.5 KCD165-4D-S20/S25-WC03 | @ | 128 | 69 |84 0.3

17 KCD170-3D-520/525-WC03 | @ | 113 | 54 |69 0.2 17 KCD170-4D-520/825-WC03 | @ | 130 | 71 | 86 0.3
17.5 KCD175-3D-S25-WC03 ® (127 | 56 |71 0.3 17.5 KCD175-4D-525-WC03 ® | 144 | 73 |88 0.3

18 KCD180-3D-S25-WC03 ® (128 | 57 |72 WC..030208 0.3 18 KCD180-4D-525-WC03 @® | 146 | 75 |90 WC..030208 0.4
18.5 KCD185-3D-S25-WC03 ® (130 59 |74 0.3 18.5 KCD185-4D-825-WC03 ® (148 | 77 |92 0.4

19 KCD190-3D-S25-WC03 ® |131| 60 |75 0.3 19 KCD190-4D-S525-WC03 ® (150 | 79 |94 0.4
19.5 KCD195-3D-S25-WC03 ® (133 62 |77 0.3 19.5 KCD195-4D-525-WC03 @® (152 | 81 |96 0.4

20 KCD200-3D-525-WC03 ® (134 | 63 |78 0.4 20 KCD200-4D-525-WC03 @® | 154 | 83 (98 0.4
20.5 KCD205-3D-S25-WC03 ® (136 | 65 |80 0.4 20.5 KCD205-4D-525-WC03 @® (156 | 85 [100 0.4

21 KCD210-3D-S25-WC04 ® (137 | 66 |81 0.4 21 KCD210-4D-S25-WC04 @® | 158 | 87 (102 0.4
21.5 25 KCD215-3D-S25-WC04 ® | 139 | 68 |83 %6 0.4 21.5 25 KCD215-4D-525-WC04 @® | 160 | 89 (104 %6 0.4

22 KCD220-3D-525-WC04 @® (140 | 69 |84 0.4 22 KCD220-4D-525-WC04 ® | 162 | 91 (106 0.4
22.5 KCD225-3D-S25-WC04 ® (142 | 71 |86 0.4 22.5 KCD225-4D-525-WC04 ® (164 | 93 [108 0.4

23 KCD230-3D-S25-WC04 ® (146 | 72 |90 0.4 23 KCD230-4D-525-WC04 ® | 169 | 95 (113 0.5
23.5 KCD235-3D-S25-WC04 ® (148 | 74 |92 WC..040208 0.4 23.5 KCD235-4D-825-WC04 ® (171 | 97 |115 WC..040208 0.5

24 KCD240-3D-S25-WC04 ® |149| 75 |93 0.4 24 KCD240-4D-525-WC04 ® (173 | 99 (117 0.5
24.5 KCD245-3D-525-WC04 ® (151 | 77 |95 0.4 24.5 KCD245-4D-525-WC04 ® (175|101 |119 0.7

25 KCD250-3D-525-WC05 ® (152 | 78 |96 0.4 25 KCD250-4D-525-WC05 ® | 177 (103 (121 0.7
25.5 KCD255-3D-S32-WC05 ® (160 | 80 |100 0.6 2585) KCD255-4D-832-WC05 ® (185 | 105|125 0.7

26 KCD260-3D-S32-WC05 ® (161 | 81 |101 0.6 26 KCD260-4D-S32-WC05 ® (187 | 107 [127 0.7
26.5 KCD265-3D-S32-WC05 ® (163 | 83 |103 0.7 26.5 KCD265-4D-S32-WC05 @® (189|109 (129 0.7

27 KCD270-3D-532-WC05 ® (164 | 84 |104 0.7 27 KCD270-4D-$32-WC05 ® | 191 [ 111 (131 0.7
27.5 KCD275-3D-S32-WC05 ® (166 | 86 |106 0.7 27.5 KCD275-4D-S32-WC05 @® (193 113|133 0.7

28 KCD280-3D-S32-WC05 ® (167 | 87 |107 We..050308 0.7 28 KCD280-4D-S832-WC05 @® | 195 115135 WC..050308 0.8
28.5 KCD285-3D-S32-WC05 ® | 169 | 89 [109 07 OMt¥Spare Parts 28.5 KCD285-4D-S32-WO05 ® 197|117 137 0s OPMIESpare Parts

29 KCD290-3D-832-WC05 ® |172| 91 [112 0.7 RERIRET RF 29 KCD290-4D-832-WC05 ® [ 201 | 120 [141 0.8 SEEIRET RF
29.5 KCD295-3D-832- 005 ® |174| 93 [114 0.7 Sc’e W'e“h BT Applicable Dril 29.5 KCD295-4D-832- 005 ® (203 |122(143 0.8 ety Wre“h 74T Applicable Dril

30 KCD300-3D-S32-WC05 ® (178 | 94 |118 0.7 (ﬁ\\\\\\\ //\} 30 KCD300-4D-S32-WC05 @® | 208 | 124 (148 0.9 @ /@
30.5 KCD305-3D-832-WC05 ® (180 | 96 |120 0.8 4 30.5 KCD305-4D-S832-WC05 ® (210 | 126|150 0.9 ¢

31 | 32 [KCD310-3D-S32-WC06 @® | 181 | 97 [121|60 0.8 M1.8*5 T6 KCD130-3D-S20-WC02~KCD145-3D-S25-WC02 31 | 32 |KCD310-4D-S32-WC06 ® | 212|128 (152| 60 0.9 M1.8*5 T6 KCD130-3D-S20-WC02~KCD145-3D-S25-WC02
31.5 KCD315-3D-532-WC06 ® (183 99 [123 0.9 M2.5*5.5 T8 KCD140-3D-S20-WC03~KCD145-3D-S25-WC03 31.5 KCD315-4D-$32-WC06 ® (214 (130|154 0.9 M2.5*5.5 T8 KCD140-3D-S20-WC03~KCD145-3D-S25-WC03

32 KCD320-3D-532-WC06 @® | 184|100 (124 0.9 M2.5*6 T8 KCD150-3D-S20-WC03~KCD205-3D-S25-WC03 32 KCD320-4D-S$32-WC06 ® | 216 | 132 (156 1.0 M2.5*6 T8 KCD150-3D-S20-WC03~KCD205-3D-S25-WC03
32.5 KCD325-3D-532-WC06 ® (186 | 102 |126 0.9 M2.5*6 T8 KCD210-3D-S25-WC04~KCD245-3D-S25-WC04 32.5 KCD325-4D-S32-WC06 ® (218 | 134|158 1.0 M2.5*6 T8 KCD210-3D-S25-WC04~KCD245-3D-S25-WC04

33 KCD330-3D-532-WC06 ® (187 (103|127 0.9 M3*7 T8 KCD250-3D-S25-WC05~KCD305-3D-S32-WC05 33 KCD330-4D-S32-WC06 @® | 220 | 136 (160 1.0 M3*7 T8 KCD250-3D-S25-WC05~KCD305-3D-S32-WC05
33.5 KCD335-3D-532-WC06 ® | 189 | 105 (129 0.9 M3.5*8.5 T15 KCD310-3D-S32-WC06~KCD400-3D-S40-WC06 33.5 KCD335-4D-S$32-WC06 @ | 222 | 138 [162 1.0 M3.5*8.5 T15 KCD310-3D-S32-WC06~KCD400-3D-S40-WC06

34 KCD340-3D-532-WC06 @® (190 | 106 |130 WC..06T308 0.9 34 KCD340-4D-S32-WC06 @® | 224 (140 (164 WC..06T308 1.1
34.5 KCD345-3D-532-WC06 ® (192 (108|132 1.0 34.5 KCD345-4D-S32-WC06 @ (226 | 142|166 11

35 KCD350-3D-832-WC06 ® | 193|109 (133 1.0 ® Mark:Standard stock item, 35 KCD350-4D-832-WC06 @ | 228|144 |168 1.1 ® Mark:Standard stock item),
35.5 KCD355-3D-532-WC06 ® (195 (111|135 1.0 No mark:Made to order item. 35.5 KCD355-4D-S832-WC06 @® (230 | 146|170 1.1 No mark:Made to order item.

36 KCD360-3D-S532-WC06 ® | 196|112 {136 1.0 36 KCD360-4D-S32-WC06 @ 232|148 (172 1.2
36.5 KCD365-3D-532-WC06 @® (198 (114|138 1.1 O@ETELE OEREERER 36.5 KCD365-4D-532-WC06 @® (236|150 (174 1.2 O@ETRELE OETELEMER




WC -5XD (©16-40) Indexable drills with WC inserts
WC gg f*é}l;!fﬁ/ U iljj 5 D Holder diameter 5D:®16.0 ~40.0mm

NI REZE%E -0.2~+0.2 BRAMNIRE ¢ 5x ®Dc
Range of machining tolerance:-0.2~+0.2 Drilling depth: 5xdiameter
W ©
- 8 l% _:f\i { 3
o e
] L1
Lo Ls
L
Fig.1 A H13/SKD61
D A RE® B | g lo,lp | BERDE IS n@mimm % 5 | g lglp| EADE
®Dc |®Ds| Specification/Item |Store Applicable Insert m ®Dc |®Ds| Specification/Item |Store Applicable Insert w
16 | 20 [KCD160-5D-520/S25-WC03| @ | 142 | 83 | 98 | 44 0.4 37 KCD370-5D-S32-WC06| @ | 206 | 116 |146 1.1
16.5| / |[KCD165-5D-S20/525-WC03| @ | 145 | 86 (101] / 0.4 37.5 KCD375-5D-S32-WC06| @ | 208 | 118 |148 1.1
17 | 25 [KCD170-5D-S20/S25-WC03| @ | 147 | 88 |103| 56 0.4 38 30 KCD380-5D-S32-WC06| @ | 209 | 119 |149 60 1.1
17.5 KCD175-5D-325-WC03 ® (162 | 91 [106 0.4 38.5 KCD385-5D-S32-WC06| @ | 211|121 {151 WC..06T308 |1.1
18 KCD180-5D-S25-WC03 ® (164 | 93 (108 WC..030208 0.5 39 KCD390-5D-532-WC06| @ | 212 | 122 |152 1.2
18.5 KCD185-5D-S25-WC03 ® (167 | 96 |111 0.5 39.5 KCD395-5D-S32-WC06| @ | 214 | 124 |154 1.3
19 KCD190-5D-325-WC03 ® (169 | 98 (113 0.5 40 | 40 |KCD400-5D-S40-WC06| O | 225|125 [155(70 1.6
19.5 KCD195-5D-325-WC03 ® (172 (101|116 0.5
20 KCD200-5D-S525-WC03 ® | 174103 |118 0.5
20.5 KCD205-5D-S25-WC03 ® (177 (106 |121 0.5
21 o5 KCD210-5D-S25-WC04 ® (179 (108 [123 56 0.5
21.5 KCD215-5D-325-WC04 ® (182 (111|126 0.5
22 KCD220-5D-325-WC04 ® | 184 113|128 0.5
225 KCD225-5D-525-WC04 ® (187 (116|131 0.5
23 KCD230-5D-S25-WC04 ® (192 (118|136 WC..040208 0.6
23.5 KCD235-5D-S25-WC04 ® (195 (121|139 0.6
24 KCD240-5D-S25-WC04 ® (197 (123 |141 0.6
24.5 KCD245-5D-325-WC04 ® | 200 | 126 (144 0.8
25 KCD250-5D-525-WC05 ® (202 (128 [146 0.8
25.5 KCD255-5D-S32-WC05 ® (213 (131|153 0.8
26 KCD260-5D-S32-WC05 ® (216 (133|156 0.8
26.5 KCD265-5D-332-WC05 ® (217 (136 |157 0.8
27 KCD270-5D-332-WC05 ® (218 (138|158 0.8
27.5 KCD275-5D-S32-WC05 ® (221 (141 |161 0.8
28 KCD280-5D-S32-WC05 @® (223 (143 (163 WC..050308 0.9
28.5 KCD285-5D-332-WC05 ® (226 (146 |166 0.9
29 KCD290-5D-5%2-WC05 | @ | 230 [ 149 [170 0.0 OPfFtESpare Parts
29.5 KCD295-5D-332-WC05 @® (233151 (173 0.9 REEIRE] RF .
30 KCD300-5D-532-WC05 | @ | 238 | 154 (178 1.0 SC'e MIIEDE o T —
30.5 KCD305-5D-S32-WC05 ® (241 (157 |181 1.0 ﬁ
31 | 32 [KCD310-5D-S32-WC06 @® | 243|159 [183| 60 1.0
31.5 KCD315-5D-332-WC06 ® (245 (162 |185 1.0 M2.5*6 T8 KCD160-4D-S20-WC03~KCD205-4D-S25-WC03
32 KCD320-5D-332-WC06 ® | 248|164 (188 1.1 M2.5*6 T8 KCD210-4D-S25-WC04~KCD245-4D-S25-WC04
32.5 KCD325-5D-S32-WC06 ® (251 (167 |191 1.1 M3*7 T8 KCD250-4D-S25-WC05~KCD305-4D-S32-WC05
33 KCD330-5D-S32-WC06 ® | 253 (169 [193 1.1 M3.5*8.5 T15 KCD310-4D-S32-WC06~KCD400-4D-S40-WC06
33.5 KCD335-5D-332-WC06 @® (255 (172|195 1.1
34 KCD340-5D-332-WC06 ® | 258|174 {198 WC..06T308 1.2
34.5 KCD345-5D-S32-WC06 ® (261 (177 |201 1.2
35 KCD350-5D-S32-WC06 @® (263 (179 |203 1.2 @® Mark:Standard stock item,
35.5 KCD355-5D-S32-WC06 @® | 265 | 182|205 1.2 No mark:Made to order item.
36 KCD360-5D-S32-WC06 @® | 268 (184 |208 1.3
36.5|  [KCD3E-5D-5%-WC06 | @ | 271|187 [211 13 cexERER OEFELEHER




Il

——\WDX (D 15-30) flat—bottom drills with WD X inserts
EVDX/PDLEE SFJEG%IE Holder diameter:®15.0 ~30.0mm

MNIAZER%E -0.05~+0.15 BRANIZRE ¢ 2x ®Dc
Range of machining tolerance:-0.05 ~ +0.15 Drilling depth: 2xdiameter

BRADAR

Specification/Item Applicable Insert

PDL150D2S25 WDXT042004

PDL160D2S25
PDL170D2S25 WDXT052504
PDL180D2S25
PDL190D2S25
PDL200D2S25
PDL210D2S25
PDL220D2S25
PDL230D2S25
PDL240D2S25
PDL250D2S25
PDL260D2S32
PDL270D2S32
PDL280D2S32
PDL290D2S32
PDL300D2S32
PDL310D2S32
PDL320D2S32 WDXT094008
PDL330D2S32
PDL340D2S32
PDL350D2S32

WDXT063006

WDXT073506

NRLZHREIRER
Notes About Mounting Inserts(PDL Type) PCTEL, PDLEUHIHBIETSE
Part nmuber structure of PCT, PDL Type holder

/@/’ PCT 250 D3 S25
_— @EDiqmete}r WENEL/D DR

($25.0 Drill Length i
DI [} ri (3eDr;g Shank Diameter

($25.0)
Inner edge PCTE!, PDLEUERIH BURBIESSSH

Part nmuber structure of WDXT inserts

WDXT _07_ 35
wERy_ |
Width Across l;l;;;s'

06
N

Thick’nierixlo CornerRu:ﬁi\ustlo
Outer edge (3.5) (RO.6)
PDLEY: DA NEDNRPINDIDTER. ERNEDERNDE, R
BEERPILDER, @K, ERPILDERNDRE, ReEfE
RANBDER.
PCTEL: ZIRFAEW, EMA27IK

Half Pre—cast | Intersectin f f inated

[ ow [ om [ow [om | o | o

Feed Rate(f Not
applicable

G

-

ErEigER
Breaker Type

Back Boring

Not
applicable




K2D-2 X D (@ 13-35) Indexable drills with XO/SP inserts K4D=4 X D (® 13-35) Indexable drills with XO/SP inserts
XO/S ng ié-*?ll%ﬁ/ U %E 2 D Holder diameter 2D:®13.0 ~ 35.0mm XO/S ng ?é?l.!%ﬁl U %ﬁ 4 D Holder diameter 4D:®13.0 ~35.0mm

MIAZER%E -0.05~+0.15 BANIRE 2x ©Dc MNIRZEZ#E -0.05~+0.15 BANLERE 4x ©Dc
Range of machining tolerance:-0.05 ~ +0.15 Drilling depth: 2xdiameter O Threaded Fittings /Connection: PT Range of machining tolerance:-0.05 ~ +0.15 Drilling depth: 4xdiameter O Threaded Fittings /Connection: PT
N /1—[ £ LB ’\\<{ A—l £
Dl e Dl | e
o L Ovi
Ly L
L2 L3 L2 Ls
L L
Fig.1 Fig.1
D S B B | lp, |0 | BERIA DS R s = | o lo,lp, | ERDE DE R kg BE | o g, p . EREDA DE RE B B% | p p, p, . BRI
®Dc |®Ds| Specification/Item |Store 1| ¥2 1 %3 |Applicable Insert ®Dc |®Ds| Specification/Item |Store 1| ¥2 | %3 |Applicable Insert ®Dc ®Ds Specification/ltem  Store 1 ¥2 23 Applicable Insert ®Dc ®Ds Specification/Item  Store 1 ¥2 %3 ppplicable Insert
12 K2D12020-04 | @ | 90 | 25 |40 SPMT040204 24 K2D24025-09 | @ | 125| 51 |69 12 K4D12020-04 | ® | 115| 50 | 65 SPMT040204 24 K4D24025-09 | @ [ 173 | 99 [117
25 56 25 56
13 K2D13020-04 | @ | 88 | 29 |44 XOMT040204 25 K2D25025-09 | @ [127 | 53 | 71 13 K4D13020-04 | @ | 114 | 55 |70 XOMT040204 25 K4D25025-09 | @ | 177 | 103|121
14 | 20 | K2D14020-05 | @ | 90 | 31 |46 |44 26 K2D26032-09 | ® | 135| 55 |75 SPMT090308 14 | 20 | K4D14020-05 | @ | 118 | 59 |74 |44 26 K4D26032-09 | @ |187 | 107|127 SPMT090308
_ SPMT050204 _ XOMTO090308 _ SPMT050204 _ XOMT090308
15 K2D15020-05 | @ | 92 | 33 |48 XOMT050204 27 K2D27032-09 | @ | 137 | 57 |77 15 K4D15020-05 | @ |122| 63 |78 XOMT050204 27 K4D27032-09 | @ | 191 | 111[131
16 K2D16020-05 | ® | 94 | 35 |50 28 K2D28032-09 | O [139| 59 |79 16 K4D16020-05 | @ | 126 | 67 |82 28 K4D28032-09 | O [195 | 115[135
17 K2D17025-06 | ® | 96 | 37 |52 29 K2D29032-09 | O |143| 62 |83 17 K4D17025-06 | ® |130| 71 |86 29 K4D29032-09 | O |201 | 120(141 60
SPMT060205 — SPMT060205
18 K2D18025-06 | ® | 110 | 39 |54 XOMTOR0205 30 a2 K2D30032-11 | O | 148 | 64 |88 60 18 K4D18025-06 | @ | 146 | 75 |90 XOMTOR0205 30 a2 K4D30032-11 | O |208 | 124 (148
19 K2D19025-06 | ® |112| 41 |56 31 K2D31032-11 | O [ 150 | 66 |90 19 K4D19025-06 | @ | 150 | 79 | 94 31 K4D31032-11 | O [212| 128152
20 | 25 | K2D20025-07 | @ | 114 | 43 |58 |56 32 K2D32032-11 | O 152 | 68 |92 SPMT11T308 20 | 25 | K4D20025-07 | @ | 154 | 83 |98 |56 32 K4D32032-11 | O |216 | 132(156 SPMT11T308
21 K2D21025-07 | @ | 116 | 45 |60 SPMTO7T208 33 K2D33032-11 | O [ 154 | 70 | 94 XOMT11T308 21 K4D21025-07 | @ | 158 | 87 |102 SPMTO7T208 33 K4D33032-11 | O |220 | 136|160 XOMT11T308
22 K2D22025-07 | @ | 118 | 47 |62 XOMT07T208 34 K2D34032-11 | O [156| 72 |96 22 K4D22025-07 | @ | 162 91 [106 XOMT07T208 34 K4D34032-11 | O |224 | 140|164
23 K2D23025-07 | @ | 123 | 49 | 67 35 K2D35032-11 | O | 158 | 74 |98 23 K4D23025-07 | @ | 169 | 95 [113 35 K4D35032-11 | O |228 | 146|168

K3D-3 X D (@ 13-35) Indexable drills with XO/SP inserts K5D=5X D (® 13-35) Indexable drills with XO/SP inserts
XO/S ng f’é*?r[.'f'ﬁ/ U %Ijj 3 D Holder diameter 3D:$®13.0 ~35.0mm XO/S ng iiE*}ll%Ilj/ U !E-Ijj 5 D Holder diameter 5D:$®13.0 ~35.0mm

MIAEZEE -0.05~+0.15 BANIRE 3x 0Dc NI AEZEE -0.05~+0.15 BRAMNIRE 5x ®Dc
Range of machining tolerance:-0.05 ~ +0.15 Drilling depth: 3xdiameter O Threaded Fittings /Connection: PT Range of machining tolerance:-0.05 ~ +0.15 Drilling depth: 5xdiameter O Threaded Fittings /Connection: PT
— 2 —
o | PY—> o o | MY—>> a
ol 6 ol { e
Svi L Ovi
L ¢
L2 L3 h Os
L L
Fig.1 Fig.1
VR KR il B | ool BRDAR VL (FRAE Eick BE | o 1o, lo BRDR WA FRAE BISR 5| | ATAY; BRDH AL FRAE Lk BE | ATAY: BRDH
®Dc |®Ds| Specification/Item |Store 1| ©2 | %3 |Applicable Insert ®Dc |®Ds| Specification/Item |Store 1| ©2 | %3 |Applicable Insert ®Dc |®Ds| Specification/Item |Store 1| ¥2 | %3 |Applicable Insert ®Dc |®Ds| Specification/Item |Store 1| ©2 | %3 |Applicable Insert
12 K3D12020-04 | @ [102| 37 |52 SPMT040204 24 K3D24025-09 | @ (149 | 75 |93 12 K5D12020-04 | @ | 124 | 63 |80 SPMT040204 24 K5D24025-09 | @ | 197 |123 [141
25 56 25 56
13 K3D13020-04 | @ (101 | 42 |57 XOMT040204 25 K3D25025-09 | @ 152 | 78 |96 13 K5D13020-04 | ® | 129 | 68 |85 XOMT040204 25 K5D25025-09 | @ |202 128 [146
14 | 20 | K3D14020-05 | ® | 104 | 45 |60 | 44 26 K3D26032-09 | @ | 161 | 81 [101 SPMT090308 14 | 20 | K5D14020-05 | ® | 133| 73 |89 |44 26 K5D26032-09 | @ |216 |133[156 SPMT090308
- SPMT050204 _ XOMT090308 - SPMT050204 _ XOMT090308
15 K3D15020-05 | @ [ 107 | 48 |63 XOMT050204 27 K3D27032-09 | @ |164 | 84 |104 15 K5D15020-05 | @ | 137 | 78 |93 XOMT050204 27 K5D27032-09 | @ |218|138 (158
16 K3D16020-05 | ® [110| 51 |66 28 K3D28032-09 | O [ 167 | 87 107 16 K5D16020-05 | @ | 142 | 83 |98 28 K5D28032-09 | O |223 143|163
17 K3D17025-06 | ® 113 | 54 |69 29 K3D29032-09 | O [172| 91 |112 17 K5D17025-06 | @ | 147 | 88 [103 29 K5D29032-09 | O |230|149 [170 60
SPMT060205 — SPMT060205
18 K3D18025-06 | @ 128 | 57 |72 XOMTO60205 30 40 K3D30032-11 | O [178| 94 |118 60 18 K5D18025-06 | @ | 164 | 93 {108 XOMT060205 30 a2 K5D30032-11 | O |238|154 178
19 K3D19025-06 | @ [131 | 60 |75 31 K3D31032-11 | O [ 181 | 97 |121 19 K5D19025-06 | @ | 169 | 98 [113 31 K5D31032-11 | O |243 |159 [183
20 | 25 | K3D20025-07 | @ | 134 | 63 | 78|56 32 K3D32032-11 | O | 184 | 100|124 SPMT11T308 20 | 25 | K5D20025-07 | @ | 174 | 103|118| 56 32 K5D32032-11 | O | 248|164 [188 SPMT11T308
21 K3D21025-07 | @ | 137 | 66 |81 SPMTO7T208 33 K3D33032-11 | O [ 187 | 103|127 XOMT11T308 21 K5D21025-07 | @ | 179 | 108(123 SPMTO7T208 33 K5D33032-11 | O [253|169 [193 XOMT11T308
22 K3D22025-07 | @ [ 140 | 69 |84 XOMT07T208 34 K3D34032-11 | O [ 190 | 106|130 22 K5D22025-07 | @ | 184 | 113|128 XOMT07T208 34 K5D34032-11 | O |258 174 [198
23 K3D23025-07 | @ | 146 | 72 | 90 35 K3D35032-11 | O [193| 109|133 23 K5D23025-07 | @ | 192 | 118(136 35 K5D35032-11 | O |263|179 [203




TCAP=2.25DN (8-32) Multifunction tools for drilling, boring, facing & external turning
TCAP 2.25 D 712 INaeihE— R RESL

(h © Threaded Fittings /Connection: "G”
© o
& FT——|| ] &
L1 -
L2 L3
L
® RNEF O RNEGHEED
NE | RS B ’ 0 ’ EADA IR ®F | &
®Dc | ®Ds Specification/Item Store U 2 e Applicable Insert Screw Wrench m
8 12 TCAP 08R 2.25D [ ] 64.5 17.5 22.5 42 XCMT040104-R M2*4 T6 0.2
8 12 TCAP 08L 2.25D @] 64.5 17.5 22.5 42 XCMT040104-L M2*4 T6 0.2
10 12 TCAP 10R 2.25D [ ] 70.5 22.5 28.5 42 XCMT050204 M2*4 T6 0.2
10 12 TCAP 10L 2.25D @] 70.5 22.5 28.5 42 XCMT050204 M2*4 T6 0.2
12 16 TCAP 12R 2.25D [ ] 79 27 34 45 XCMT060204 M2.2*5 T7 0.2
12 16 TCAP 12L 2.25D O 79 27 34 45 XCMT060204 M2.2*5 T7 0.2
14 16 TCAP 14R 2.25D [ ] 85 32 40 45 XCMT070304 M2.5*6 T8 0.2
14 16 TCAP 14L 2.25D @] 85 32 40 45 XCMT070304 M2.5*6 T8 0.2
16 20 TCAP 16R 2.25D [ J 96 36 46 50 XCMT080304 M3*7 T8 0.2
16 20 TCAP 16L 2.25D @] 96 36 46 50 XCMT080304 M3*7 T8 0.2
20 25 TCAP 20R 2.25D [ J 113 45 57 56 XCMT10T304 M3.5*8.5 T15 0.3
20 25 TCAP 20L 2.25D @] 113 45 57 56 XCMT10T304 M3.5*8.5 T15 0.3
25 32 TCAP 25R 2.25D [ ] 130 57 70 60 XCMT130404 M5*11 T20 0.6
25 32 TCAP 25L 2.25D O 130 57 70 60 XCMT130404 M5*11 T20 0.6
32 32 TCAP 32R 2.25D [ ] 145 72 85 60 XCMT170508 M5*11 T20 0.9
32 32 TCAP 32L 2.25D @] 145 72 85 60 XCMT170508 M5*11 T20 0.9

TCAP=3DN (8-32) Multifunction tools for drilling, boring, facing & external turning
TCAP 3 D 7] 2 IhaEeEhE— R RIEEh

Mh © Threaded Fittings /Connection: "G”
o oD
s @ Q | &
L1 -
L2 L3
L
O RMNEF O RNEGHEEMR

NE | EUEE BE | ) 0 0 EADA R ®F | &
®Dc | ®Ds Specification/Item Store U 2 g Applicable Insert Screw Wrench | (kg
8 12 TCAP 08R 3D [ ] 72.5 24 30.5 42 XCMTO040104-R M2*4 T6 0.2

8 12 TCAP 08L 3D O 72.5 24 30.5 42 XCMT040104-L M2*4 T6 0.2
10 12 TCAP 10R 3D [ ] 79 30 37 42 XCMT050204 M2*4 T6 0.2
10 12 TCAP 10L 3D @] 79 30 37 42 XCMT050204 M2*4 T6 0.2
12 16 TCAP 12R 3D [ J 89 37 44 45 XCMT060204 M2.2*5 T7 0.2

| 12 16 TCAP 12L 3D O 89 37 44 45 XCMT060204 M2.2*5 T7 0.2
14 16 TCAP 14R 3D [ J 95 42 50 45 XCMT070304 M2.5*6 T8 0.2
14 16 TCAP 14L 3D O 95 42 50 45 XCMTO070304 M2.5*6 T8 0.2
16 20 TCAP 16R 3D [ ] 108 48 58 50 XCMT080304 M3*7 T8 0.2
16 20 TCAP 16L 3D O 108 48 58 50 XCMT080304 M3*7 T8 0.2
20 25 TCAP 20R 3D [ ] 128 60 72 56 XCMT10T304 M3.5*8.5 T15 0.3
20 25 TCAP 20L 3D @] 128 60 72 56 XCMT10T304 M3.5*8.5 T15 0.3
25 32 TCAP 25R 3D [ J 148 75 88 60 XCMT130404 M5*11 T20 0.6
25 32 TCAP 25L 3D @] 148 75 88 60 XCMT130404 M5*11 T20 0.6
32 32 TCAP 32R 3D [} 169 96 109 60 XCMT170508 M5*11 T20 0.9
32 32 TCAP 32L 3D O 169 96 109 60 XCMT170508 M5*11 T20 0.9




Boring Block for U Drills

L 1S L 111
. kL1 7 J !

L
£ 7, 7,
e
HA
H x
|
BUsE
Specification/Iltem H HI L D
DK20-16 37 60 16
DK20-20 20 47 65 20
DK20-25 47 65 25
DK20-32 55 85 32
DK25-16 42 65 16
DK25-25 o5 53] 70 25
DK25-32 60 85 32
DK25-40 65 90 40
DK32-40 32 83 100 40
DK32-50 83 100 50
- —_—
P
T OB B {4 3 BlSet up example
1 pEREEET N 2 EEREE URZETAI BRBERE T wmmmzern [ anemzens
o
UBECER 4z 0O
Threaded Fittings/Connection (PT&GHEEIE ) PT& G for your selection
° @ RENE P IREE
ik USRS o S IME IRMIME .
Specification Holder AlrPips Exzzml diameter Threads External diameter Scr?r\rl;/nr:;'rch
PC10-M10%1.5 c20 10 M10 15
PC10-M12*1.75 Cc25 10 M12 1.75
PC12-M16*2 ca2 12 M16 5
PC12-M20-2.5 c40 12 M20 25
BUSR VR IR RIME 52 (9)
Specification Holder Threads External diameter Weight
@’L\)\ M10*1.5-PT1/8 Cc20 M10 17.4
M12*1.75-PT1/8 Cc25 M12 34
M16*2-PT1-4 C32 M16 48
ConneCT M20*2.5-PT1/4 C40 M20 56




¥ &

\
#

2N

[ipes
[14a XYW AWTA  pHSsUl [[1d W3S

R

=H
g
I

=
#

SNTFS

sp@su| apiqip)

N =H>
b
ABojouyds] Juqung  sjoo] Bupspuny)

8Q°%'UJ>O—| XOS 0SS Ow Tw

poeH bupog ysiuly - ppeH Buuog ybnoy

Py

S9110SS9I2Y

Inch dimension Coolant Thru Indexable Drills (For America Market)

Fl ik FLeh/tHkEE/UsE (SKD61)

AUSE Metric INCH

< sEgitelen iz © DI L1 L4 LS D DI L1 L4 LS D
C0.75-3D0500 | 1/4-18NPT | 12.7 | 661 | 38.1 05 | 2602 | 15
€0.75-3D0531 1/8-27 NPT |13.4874| 68.46 | 40.46 0.531 | 2.695 | 1.592
C0.75-3D0563 | 1/8-27NPT | 14.3 | 69.9 | 42.9 0.563 | 2.752 | 1.689
C0.75-3D0594 | 1/8-27 NPT |[15.0876| 72.26 | 45.26 | 50.8 | 19.05 | 0.594 | 2.844 | 1.781 2 0.75
C0.75-3D0625 | 1/8-27 NPT | 15.875 | 73.625 | 47.625 0.625 | 2.898 | 1.875
C0.75-3D0656 | 1/8-27 NPT |16.6624| 76.99 | 49.99 0.656 | 3.031 | 1.968
C0.75-3D0688 | 1/8-27 NPT |17.4752| 78.43 | 52.43 0.688 | 3.087 | 2.064

C1-3D0703 1/4-18 NPT |17.8562| 83.57 | 53.57 0.703 | 3.29 | 2.109

C1-3D0734 1/4-18 NPT |18.6436| 84.93 | 55.93 0.734 | 3.343 | 2.202

C1-3D0750 1/4-18 NPT | 19.05 | 86.15 | 57.15 0.75 | 3.391 | 2.25

C1-3D0781 1/4-18 NPT [19.8374| 88.51 | 59.51 0.781 | 3.484 | 2.342

C1-3D0813 1/4-18 NPT | 20.65 | 89.95 | 61.95 0.813 | 3.541 | 2.439

C1-3D0844 1/4-18NPT |21.4376| 92.31 | 64.31 | _ | | 0.844 | 3634 | 2.531 s ;

C1-3D0875 1/4-18 NPT | 22.225 | 93.68 | 66.68 0.875 | 3.688 | 2.625

C1-3D0906 1/4-18 NPT [23.0124| 96.04 | 69.04 0.906 | 3.781 | 2.718

C1-3D0938 1/4-18 NPT |23.8252| 98.48 | 71.48 0.938 | 3.877 | 2.814

C1-3D0969 1/4-18 NPT |24.6126| 100.84 | 73.84 0.969 | 3.97 | 2.907

C1-3D0984 1/4-18 NPT |24.9936( 101.98 | 74.98 0.984 | 4.015 | 2.952

C1-3D1000 1/4-18NPT | 25.4 | 103.2 | 27 1.0 | 4.063 | 3.0
C1.25-3D1031 1/4-18 NPT |26.1874| 108.56 | 78.56 1.031 | 4.274 | 3.092
C1.25-3D1063 | 1/4-18 NPT 27 110 81 1.063 | 4.33 | 3.189
C1.25-3D1094 | 1/4-18 NPT |27.7876| 112.36 | 83.36 1.094 | 4.423 | 3.281
C1.25-3D1125 | 1/4-18 NPT |28.575 [114.725| 85.725 | 82.55 | 31.75 | 1.125 | 4.516 | 3.375 | 3.25 | 1.25
C1.25-3D1156 | 1/4-18 NPT |29.3624| 116.09 | 88.09 1.156 | 4.57 | 3.468
C1.25-3D1188 | 1/4-18 NPT |30.1752| 118.53 | 90.53 1.188 | 4.666 | 3.564
C1.25-3D1219 | 1/4-18 NPT |30.9626| 119.89 | 92.89 1.219 | 4.72 | 3.657

C1.5-3D1250 1/4-18 NPT | 31.75 | 124.42 | 95.25 1.25 | 4.898 | 3.75

C1.5-3D1281 1/4-18 NPT [32.5374| 127.61 | 97.61 1.281 | 5.024 | 3.842

C1.5-3D1313 1/4-18 NPT | 33.35 | 129.05 | 100.05 1.313 | 5.08 | 3.939

C1.5-3D1375 1/4-18 NPT | 34.925 | 133.77 [104.775 1.375 | 5.266 | 4.125

C1.5-3D1406 1/4-18 NPT |35.7124| 135.14 | 107.14 1.406 | 5.32 | 4.218

C1.5-3D1438 1/4-18 NPT |36.5252| 137.58 | 109.58 1.438 | 5.416 | 4.314

C1.5-3D1469 1/4-18NPT |37.3126| 138.94 | 111.94 | 9525 | _ | 1469 | 5.47 | 4.407 | 375 5
C1.5-3D1500 1/4-18 NPT | 381 | 144.3 | 114.3 15 | 5681 | 4.5

C1.5-3D1531 1/4-18 NPT |38.8874| 146.66 | 116.66 1.531 | 5.774 | 4.592

C1.5-3D1563 1/4-18 NPT | 39.7 | 1491 | 119.1 1.563 | 5.87 | 4.689

C1.5-3D1625 1/4-18 NPT | 41.275 | 153.82 [123.825 1.625 | 6.055 | 4.875

C1.5-3D1656 1/4-18 NPT |42.0624| 156.19 | 126.19 1.656 | 6.149 | 4.968

C1.5-3D1688 1/4-18 NPT [42.8752| 157.63 | 128.63 1.688 | 6.205 | 5.064

C1.5-3D1750 1/4-18 NPT | 44.45 | 161.35 | 133.35 | 50.8 1.75 | 6.352 | 5.25 2

C2-3D1813 1/4-18 NPT | 46.05 | 168.15 | 138.15 1.813 | 6.62 | 5.439

C2-3D1875 1/4-18 NPT | 47.625 | 171.88 |142.875 1875 | 6.766 | 5.625

C2-3D1938 1/4-18 NPT  [49.2252| 176.68 | 147.68 1.938 | 6.955 | 5.814

C2-3D2000 1/4-18 NPT | 50.8 | 183.4 | 152.4 20 | 7.22 6.0

C2-3D2125 1/4-18 NPT | 53.975 | 192.92 | 161.92 101.6 | 50.8 2.125 | 7.595 | 6.374 4 2

C2-3D2250 1/4-18 NPT | 57.15 | 208.45 | 171.45 225 | 8.206 | 6.75

C2-3D2375 1/4-18 NPT | 60.325 | 217.98 | 180.98 2.375 | 8.581 | 7.125

C2-3D2500 1/4-18 NPT | 63.5 | 227.5 | 190.5 25 | 895 | 7.5




WC Turbo Drill 6D&8D

S
i RO i BRI £
M 6D&8 -
WC m 10 IEE D D Holder diameter 6D:®18.0 ~ 39.0mm P
S
IMITREZEEE -0.09~+0.1 BRANIZRE 26 x dDc
Range of machining tolerance: -0.09~+0.1 Drilling depth: 6xdiameter 0
e Do " W
i w . ~ - — C
‘x el =
<2 = o - \ [ W
A >[2
T
C
A
M | AR itk Lloele P& BRDAE 1RE] RF P
®Dc | ®Ds Specification/ltem ® Pilot Drill Applicable Insert Screw WRENCH 6D
18 C25-6D18-115WC02 196 | 115 | 56 &
WC..020104 M1.8%4 T6 8D
19 C25-6D19-121WC02 202 (121 56
20 C25-6D20-127WCO03 208 | 127 | 56 8
21 05 C25-6D21-133WCO03 214 133 | 56 8
22 C25-6D22-139WC03 220 139 | 56 0
WC..030208 M2.5%6 T8
23 C25-6D23-145WC03 226 | 145 | 56 949
24 C25-6D24-151WC03 232|151 | 56 =F =
0620 Lo
25 C25-6D25-157WC03 238 | 157 | 56 i =
26 C32-6D26-163WC04 251|163 | 60 Az
27 C32-6D27-169WC04 257 [ 169 | 60 5l z
28 C32-6D28-175WC04 263 175 | 60 * =
WC..040208 M2.5*6 T8 =
29 C32-6D29-181WC04 269 | 181 | 60 B3
30 C32-6D30-187WC04 275|187 | 60 g
31 C32-6D31-193WC04 281 (193 60 Uz
32 a2 C32-6D32-199WC05 287 [ 199 | 60 &=
33 C32-6D33-205WC05 293|205 | 60 o
34 C32-6D34-211WCO05 299 | 211 | 60 7):],_33
35 C32-6D35-217WC05 305 217 | 60 0
0825 WC..050308 M3*7 T15 >
36 C32-6D36-223WC05 311|223 | 60 S
37 C32-6D37-229WC05 317|229 | 60 @
38 C32-6D38-235WC05 323|235 | 60 ¥q 3
Cc
39 C32-6D39-241WC05 329 | 241 | 60 g% S
v 2]
o
7) 3
2T
DE | WE i Llole I EADA 1RE] R 58
®Dc | ®Ds Specification/ltem & Pilot Drill Applicable Insert Screw WRENCH -
8 >
18 C25-8D18-151WC02 232 151 | 56 g% >
WC..020104 M1.8%4 T6 g
19 C25-8D19-159WC02 240 [ 159 | 56 J)s
«Q
20 C25-8D20-167WC03 248 | 167 | 56 P T
21 o5 C25-8D21-175WC03 256 (175 | 56 5l g
22 C25-8D22-183WC03 264|183 | 56 su
WC..030208 M2.5*6 T8
23 C25-8D23-191WC03 272 (191 56 7,
24 C25-8D24-199WC03 280 [ 199 | 56 0620 e
25 C25-8D25-207WC03 288|207 | 56 e
26 C32-8D26-215WC04 303 | 215 | 60 5
27 C32-8D27-223WC04 311|223 | 60 N
28 C32-8D28-231WC04 319|231 60 TR
WC..040208 M2.5%6 T8 2
29 C32-8D29-239WC04 327|239 | 60 & g
30 C32-8D30-247WC04 335 | 247 | 60 P g
31 C32-8D31-255WC04 343 | 255 | 60 .l
32 32 C32-8D32-263WC05 351 | 263 | 60 g2 Q
Q
33 C32-8D33-271WC05 359 | 271 | 60 73
[0]
34 C32-8D34-279WC05 367 | 279 | 60 12 3
35 C32-8D35-287WC05 375|287 | 60 ===
0825 WC..050308 M3*7 T15 =
36 C32-8D36-295WC05 383 | 295 | 60 R O
37 C32-8D37-303WC05 391 303 | 60 }ng
38 C32-8D38-311WC05 399 311 60 AE g
=
39 C32-8D39-319WC05 407 (319 60 I g
= 3
25
<




——

——

=——880-Udrill

— 880 Ush

INDEXABLE 4 2 S R IR T ESRES,
DRILL TR R R  E E R — L,

FZEZE (12-84mm) ,

FEBMHIRE (1-5DC) ,

PES RN, B (12-63mm) , BEARETEMEEE (DCIFIDC2)
#EOM\APSC, Varilock, ABS, HSK, HILEMZFHthiEO,

{ERFFIBBORIIDGERBIN T, —HINTEHSEEHIL

RIFTEYERET, TRERENSEERIARIIMIRETENI R ESSORITEBRABBSHVEIIE, BEM
MEEHWER, RSP HREKNINE,

WERAT: RERENDRENTE, UERNIEDZREBAN, EREaNELCEURBEBIILAE,

EEEMNZIETEIEE: POVREBDREEEBEENDELRZ, BEIBMERER, £EERE
TEENRBIUREZEMENBRSER.

EEMANEE: ZEREMRNNKRFERE, BSNBIERD TRE, RENES.
BIReIVSHESL . BIRRIVSHIESLRET, JRIFBERNMBIE, FRRSHBRENHERIASD,

BERE, 2¢7)5%51: JUERENRBNILAZ, TRAMEN—E, AESENREXEARNLES.




O 0o oo

880 U drill 880 U drill
880 Uth 880 Uth

3L AE - BRNME
880AFIBEABERREDHNTEFBEEAZERINAN, BBAIHILBHAZ, o BRIEREER
LEE, mm 12.00-43.99 44.00-52.99 53.00-63 LM G BvES =&uEms bz
O ER: 2-3xDC
ILAZE, mm 0/+0.25 0/+0.28 0/+0.30 CREDEES B NN ==L Xed
- ENTEBMNISERBHEERS S IM-RUBHNEEE
LERE, mm 12.00-43.99 44.00-52.99 53.00-63 - EELDHI
O R 4-5xDC
ILAZ, mm 0/+0.28 0/+0.33 0/+0.35 8
oM @ BEVENSH =&ns o ;
- EEOBES - BRSBTS B T AL OB
- BT N DR B ERE T RIENEE R
- REES
. GR @ Bl zaqe anT
&S Ra,pm Rz,um % N
\  EEEER R DRBEREE
i 0.6-1 4-6 \ -3, NIRELDIHID - EREREHPREBNIE R
hx 1-2 6-15 §
= 2-4 15-30 &
BE:

830RIBENETNERERDP DR BEAEZENDIARAENEES. BRENIDRHEAEESEILAZED,
BERRMLE. A, BE). #R. TRREREUENTHRSAREBISHRBOFRREIIAE
AN BEELERE,

ACCkee Xt I

o &

NOTISOP, K. AHMEIHIPVDERE DK ME,
SREMEAERIIXAEEAITING, ZEDRAEBRSNMEHREHEeNnERE L.
DOTISO P, M, K, SFIN#Z RIBVPVDERE T K #1 8 o

= = MP3150 TERBSE, MRENSEEEETRXMAPVDEEAITIN, STEHEEEaNDRLEH
R BREm R TERNEBERGR e,

DOTISO M, SHINM KIBIPVD R B4 E

VIV REDSEONBEESSHE. BERENINE, BB, BRGIPVORE, BEHENES
HEENBENLENMEY, AFERERBNMNERE. TN RSERENTHNENS

MP2130

[RBIME AT FEARBERN DA RI B,

D, 12.00-13.99mm D, 14.00-63.50mm w 5 R T
O BENARRINEAE BHBIERENER.
ISO P,KBICVDE[E R
ERY 01 02 03 04 05 06 07 08 09 JTISO P.KEICVDER IR M H
aEXfE (mm) 0.4 0.6 0.7 0.9 1.1 1.1 1.4 1.6 2.0 EENBRAETETICN+AI203+TINERE, QIFXASHEEESEESME . EBRENR

BRANOETE, ALEESHNMEENRBEF2ERERE, IRTFHNRETNNSE

12.00—- | 14.00- | 15.50- | 20.00- | 24.00- | 30.00- | 36.00- | 44.00- | 53.00- 0T, OREBSHINEE. NEEEelhEEas,

13.99 | 16.49 | 19.99 |23.99 |29.99 |35.99 |43.99 |52.99 |63.50

Dc (mm)




O 0o oo

880 Indexable Drill Coding Rules
880F& 54 L 4w A5 AR M

880 QNI E R MR KR A

880 Indexable Drill Coding Rules

830 | 3 | 260 lFc 20 [Msp]os

1 2

3 4 5 6 7

5| System

RELE Length-diameter ratio

EDIE £ Dia.

880

3=3xDC

260=26mm

L EEFER Installation type

n 7R $88 Inserts Type

& DA Adaptor Inserets

FC=BIET FC=Weldon

#EZOTUSE Interface type

20=20mm

SP=3EISO]
SP=NotISO Inserts

05=SC05 SPO5

880 #&H| ) #mISFR 8l

880 Indexable Inserts Coding Rules

| 0 [ s | |G| x]05]03 05 B GR Mp2150)
1 2 3 4 5 6 7 8 9 10

7R B8 InsertsType

TR AR Inserts Shape

ZHAIE Installation position

D=EHIZ R/

D=Drilling Inserts

S=IE/5 8
S=Square

c=thMN R P=RE7NA
C=Center Inserts
P=Peripheral Inserts

BEEZ4R Accuracy levels

IRET3LEEEY Screw hole type

n TR #848 Inserts Specifications

G=GiRAZE
G=Gtolerance

X=FE1E3|, B
X=non-standard

05=05705
05=05inserts

EES(mm) Thickness S(mm)

E TRBEfERe(mm) Inserts point Angle Re

n J) R #&T Inserts groove

02=2 04=3.5
02=2.4 04=4
05=2.6 05=4.5
03=2.8 06=5.5
05=3

4=0.4 10=1.0
05=0.5 12=1.2
06=0.6
07=0.7
08=0.8

LM=ES 80T
LM=LightMachining

GM=hZF /BRI
GM=Medium/generalpurposeprocessing

GR=E#HNT
GR=Heavydutymachining

J)F # & Inserts material

ACCkee AH

—&E, EITNFERAER
EnEEFRE

Adrill that makes your manufacturing cost
lower and product quality more stable.




O 0o oo

880 Inserts U Drill 880 1Inserts U Drill
880FFJIHFES 880RFTIHFHS

O%EE: HILEMISO 9766 \ M . a -
0% HIF B RISk ERIA s | DDRE | mmem | RERE | MBEE | AHET | 2NE | &2 s
B v . S EOE Specification/Item
RHEIIE: RPEET DD | BEOE | DC Lc L4 L5 D1 D4 BAR KG
IEEEREE. 2XDC MGU2310_FC40_SP06 SC06 SP06 31 66.75 20 70 40 48 10 1.02 *

MGU2320_FC40_SP06 SC06 SP06 32 68.18 92 70 40 48 10 1.04 *
MGU2330_FC40_SP06 SC06 SP06 33 70.74 95 70 40 48 10 1.07 *
MGU2340_FC40_SP06 SC06 SP06 34 73.43 98 70 40 48 10 1.1 *
MGU2350_FC40_SP06 SC06 SP06 35 76.24 101 70 40 48 10 1.14 *
MGU2360_FC40_SP07 sco7 SP07 36 77.35 104 70 40 48 10 1.16 *
MGU2370_FC40_SP07 sco7 SP07 37 79 105 70 40 48 10 1.193 *
MGU2380_FC40_SP07 SCo7 SP07 38 80.37 108 70 40 48 10 1.244 * 8
MGU2390_FC40_SP07 sSco7 SP07 39 82.53 110 70 40 48 10 1.29 * 8
0]
. tHI7) A N - . .
— BRI Eﬁj’@ NNEE g@ﬁﬁg REEE | mDEE | 2EEE | SHRE == MGU2400_FC40_SP07 SCo07 SPO7 40 85.83 113 70 40 48 10 1.32 *
Specification/ifem B MGU2410_FC40_SP07 sco7 SP07 41 90.75 117 70 40 48 10 1.38 *
DINDR | AgDA DC LC L4 L5 D1 D4 BAR KG
MGU2420_FC40_SP07 sSco7 SP07 42 93.74 119 70 40 48 10 1.42 *
MGU2120_FC20_SP01 Sco1 SPO1 12 24 45 50 20 25 10 0.149 *
MGU2430_FC40_SP07 sSco7 SP07 43 91.12 122 70 40 49.5 10 1.47 *
MGU2125_FC20_SP01 sco SPO1 12.5 25 46 50 20 25 10 0.152 *
MGU2440_FC40_SP08 SCo8 SP08 44 93.23 124 70 40 62.5 10 1.65 *
MGU2130_FC20_SP01 sco1 SPO1 13 26 47 50 20 25 10 0.155 *
MGU2450_FC40_SP08 SCo08 SPO8 45 95.33 127 70 40 62.5 10 1.71 *
MGU2135_FC20_SP01 SCo1 SPO1 13.5 27 47 50 20 25 10 0.158 *
MGU2460_FC40_SP08 SCo08 SP08 46 98.82 130 70 40 62.5 10 1.75 *
MGU2140_FC20_SP02 SCo2 SP02 14 31 44 50 20 25 10 0.159 *
MGU2470_FC40_SP08 SCo8 SP08 47 101.34 132 70 40 62.5 10 1.8 *
MGU2145_FC20_SP02 SCo02 SP02 14.5 33 46 50 20 25 10 0.16 *
MGU2480_FC40_SP08 SCo8 SP08 48 104.88 135 70 40 62.5 10 1.86 *
MGU2150_FC20_SP02 SCo2 SP02 15 34 47 50 20 25 10 0.163 *
MGU2490_FC40_SP08 SCo8 SP08 49 107.44 137 70 40 62.5 10 1.92 *
MGU2155_FC20_SP02 SC02 SP02 15.5 36.26 49 50 20 25 10 0.167 *
MGU2500_FC40_SP08 SCo8 SP08 50 105.46 140 70 40 62.5 10 1.99 *
MGU2160_FC20_SP02 SCo2 SP02 16 36.33 51 50 20 25 10 0.175 *
MGU2510_FC40_SP08 SCo08 SPO8 51 108.78 144 70 40 62.5 10 2.1 *
MGU2165_FC20_SP03 SC02 SP02 16.5 37.51 52 50 20 25 10 0.173 *
MGU2520_FC40_SP08 SCo08 SP08 52 110.37 146 70 40 62.5 10 2.17 *
MGU2170_FC25_SP03 sSco3 SP03 17 38.45 53 56 25 32 10 0.283 *
MGU2530_FC40_SP09 SC09 SP09 53 113.41 149 70 40 62.5 10 2.15 e
MGU2175_FC25_SP03 Sco3 SP03 17.5 40.52 55 56 25 32 10 0.288 *
MGU2540_FC40_SP09 SC09 SP09 54 114.73 151 70 40 62.5 10 2.22 Yo
MGU2180_FC25_SP03 SCo3 SP03 18 40.27 56 56 25 32 10 0.293 *
MGU2550_FC40_SP09 SC09 SP09 55 116.67 154 70 40 62.5 10 2.31 o
MGU2185_FC25_SP03 SCo3 SP03 18.5 41.39 57 56 25 32 10 0.297 *
MGU2560_FC40_SP09 SC09 SP09 56 118.52 157 70 40 62.5 10 2.4 e
MGU2188_FC25_SP03 SCo3 SP03 18.8 40.4 56 56 25 32 10 0.297 *
MGU2570_FC40_SP09 SC09 SP09 57 120.68 159 70 40 62.5 10 2.48 e
MGU2190_FC25_SP03 SCo3 SP03 19 42.52 58 56 25 32 10 0.302 *
MGU2580_FC40_SP09 SC09 SP09 58 122.93 162 70 40 62.5 10 2.57 ¥
MGU2195_FC25_SP03 SC03 SP03 19.5 44.66 60 56 25 32 10 0.307 *
MGU2590_FC40_SP09 SC09 SP09 59 124.85 164 70 40 62.5 10 2.61 ¥
MGU2200_FC25_SP04 SCo04 SP04 20 442 61 56 25 32 10 0.316 *
MGU2600_FC40_SP09 SC09 SP09 60 126.60 167 70 40 62.5 10 2.77 Y
MGU2205_FC25_SP04 SCo4 SP04 20.5 46.39 64 56 25 32 10 0.327 *
MGU2610_FC40_SP09 SC09 SP09 61 129.80 171 70 40 62.5 10 2.89 e
MGU2210_FC25_SP04 SC04 SP04 21 46.59 64 56 25 32 10 0.323 *
MGU2620_FC40_SP09 SC09 SP09 62 131.55 173 70 40 62.5 10 2.95 e
MGU2215_FC25_SP04 SC04 SP04 21.5 47.8 65 56 25 32 10 0.323 *
MGU2630_FC40_SP09 SC09 SP09 63 133.60 176 70 40 62.5 10 3.06 e
MGU2220_FC25_SP04 SC04 SP04 22 48 66 56 25 32 10 0.339 *
MGU2230_FC25_SP04 SC04 SP04 23 51.48 69 56 25 32 10 0.351 *
MGU2240_FC25_SP05 SC05 SP05 24 53.21 71 56 25 32 10 0.35 *
MGU2250_FC25_SP05 SC05 SP05 25 56.13 74 56 25 32 10 0.369 *
MGU2260_FC32_SP05 SC05 SP05 26 56.6 77 60 32 39.6 10 0.587 *
MGU2270_FC32_SP05 SCo5 SP05 27 59.49 79 60 32 39.6 10 0.604 *
MGU2280_FC32_SP05 SC05 SP05 28 60.79 82 60 32 39.6 10 0.63 *
MGU2290_FC32_SP05 SCo5 SP05 29 62.54 84 60 32 39.6 10 0.653 *
MGU2300_FC32_SP06 SC05 SP05 30 65.1 87 60 32 39.6 10 0.653 *




O 0o oo

880 Inserts U Drill
880FJJIHES
BOFER: BT EKIS09766

BHBI: RSt
IEXEEGEE: 3XDC

EDHIZ)

BAR

880 1Inserts U Drill
880RFTIHFHS

w5 BRI g | PDRE | pppe | RRRE | MEEC | AREC | A0 | =8 |
Specification/Item
PINDE | @87 | DC LC L4 L5 D1 D4 BAR KG

MGU3120_FC20_SPO1 SCO1 SPO1 12 36 57 50 20 25 10 0.156 *
MGU3125_FC20_SPO1 SCoO1 SPO1 12.5 37.5 58.5 50 20 25 10 0.159 *
MGU3130_FC20_SPO1 SCo1 SPO1 13 39 60 50 20 25 10 0.162 *
MGU3135_FC20_SPO1 SCo1 SPO1 18.5 40.5 60.5 50 20 25 10 0.165 *
MGU3140_FC20_SP02 SCo02 SP02 14 44.88 58 50 20 25 10 0.165 *
MGU3145_FC20_SP02 SCo02 SP02 14.5 47 60 50 20 25 10 0.165 *
MGU3150_FC20_SP02 SC02 SP02 15 49.12 62 50 20 25 10 0.17 *
MGU3155_FC20_SP02 SC02 SP02 15.5 51.25 64 50 20 25 10 0.174 *
MGU3160_FC20_SP02 SCo02 SP02 16 51.33 66 50 20 25 10 0.185 *
MGU3165_FC20_SP03 SC03 SP03 16.5 53.51 68 50 20 25 10 0.183 *
MGU3170_FC25_SP03 SC03 SP03 17 54.45 69 56 25 32 10 0.292 *
MGU3175_FC25_SP03 SC03 SP03 17.5 57.52 72 56 25 32 10 0.297 *
MGU3180_FC25_SP03 SCO03 SP03 18 57.27 73 56 25 32 10 0.306 *
MGU3185_FC25_SP03 SC03 SP03 18.5 59.39 75 56 25 32 10 0.311 *
MGU3190_FC25_SP03 SCO03 SP03 19 60.52 76 56 25 32 10 0.318 *
MGU3193_FC25_SP03 SCO03 SP03 19.25 63.57 79 56 25 32 10 0.322 *
MGU3195_FC25_SP03 SC03 SP03 19.5 63.66 79 56 25 32 10 0.324 *
MGU3200_FC25_SP04 SCo04 SP04 20 63.2 81 56 25 32 10 0.339 *
MGU3205_FC25_SP04 SCo04 SP04 20.5 64.39 82 56 25 32 10 0.346 *
MGU3210_FC25_SP04 SCo04 SP04 21 66.59 84 56 25 32 10 0.344 *
MGU3215_FC25_SP04 SCo04 SP04 21.5 68.8 86 56 25 32 10 0.352 *
MGU3220_FC25_SP04 SCo04 SP04 22 69.02 87 56 25 32 10 0.365 *
MGU3225_FC25_SP04 SCo04 SP04 22.5 72.24 90 56 25 32 10 0.375 *
MGU3230_FC25_SP04 SCo04 SP04 23 73.48 91 56 25 32 10 0.382 *
MGU3235_FC25_SP04 SCo04 SP04 23.5 75.72 93 56 25 32 10 0.392 *
MGU3240_FC25_SP05 SCO05 SP05 24 77.21 95 56 25 32 10 0.386 *
MGU3245_FC25_SP05 SCO05 SP05 24.5 79.5 97 56 25 32 10 0.396 *
MGU3250_FC25_SP05 SCO05 SP05 25 81.81 99 56 25 32 10 0.41 *
MGU3253_FC40_SP05 SCO05 SP05 25 81.81 99 56 25 32 10 0.41 *
MGU3255_FC25_SP05 SCO05 SP05 25.5 83.13 100 56 25 32 10 0.419 *
MGU3260_FC32_SP05 SCO05 SP05 26 81.6 102 60 32 39.6 10 0.631 *
MGU3265_FC32_SP05 SC05 SP05 26.5 83.79 104 60 32 39.6 10 0.643 *
MGU3270_FC32_SP05 SCO05 SP05 27 85.49 105 60 32 39.6 10 0.657 *
MGU3275_FC32_SP05 SCO05 SP05 27.5 88.69 108 60 32 39.6 10 0.672 *
MGU3280_FC32_SP05 SCO05 SP05 28 86.65 109 60 32 39.6 10 0.682 *
MGU3285_FC32_SP05 SCO05 SP05 28.5 88.95 111 60 32 39.6 10 0.695 *
MGU3290_FC32_SP05 SCO05 SP05 29 90.25 112 60 32 39.6 10 0.708 *
MGU3295_FC32_SP05 SC05 SP05 29.5 93.57 115 60 32 39.6 10 0.724 *

— BRI D | InEE | phn | RESE | MEES | AWES | SHE | B8
Specification/Item B
DR | BEDR DC LC L4 L5 D1 D4 BAR KG
MGU3300_FC32_SP06 SC06 SP06 30 95.11 117 60 32 39.6 10 0.717 *
MGU3305_FC32_SP06 SC06 SP06 30.5 96.11 118 60 32 39.6 10 0.729 *
MGU3310_FC40_SP06 SC06 SP06 31 97.75 121 70 40 48 10 1.09 *
MGU3315_FC40_SP06 SC06 SP06 31.5 98.94 122 70 40 48 10 1.101 *
MGU3320_FC40_SP06 SC06 SP06 32 100.18 124 70 40 48 10 1.123 *
MGU3325_FC40_SP06 SC06 SP06 32.5 102.39 126 70 40 48 10 1.14 *
MGU3330_FC40_SP06 SC06 SP06 33 103.74 128 70 40 48 10 1.159 *
MGU3335_FC40_SP06 SC06 SP06 33.5 105.98 130 70 40 48 10 1.178 *
MGU3340_FC40_SP06 SC06 SP06 34 106.43 131 70 40 48 10 1.196 *
MGU3345_FC40_SP06 SC06 SP06 34.5 109.7 134 70 40 48 10 1.219 *
MGU3350_FC40_SP06 SC06 SP06 35 110.24 135 70 40 48 10 1.24 *
MGU3355_FC40_SP06 SC06 SP06 35.5 112.54 137 70 40 48 10 1.261 *
MGU3360_FC40_SP07 SCo7 SPO7 36 112.35 139 70 40 48 10 1.282 *
MGU3370_FC40_SP07 SCo7 SPO7 37 115.9 142 70 40 48 10 1.329 *
MGU3380_FC40_SP07 sSCo7 SPo7 38 118.37 146 70 40 48 10 1.391 *
MGU3383_FC40_SP07 SCo7 SPo7 38.35 | 119.75 | 147.5 70 40 48 10 1.41 *
MGU3385_FC40_SP07 SCo7 SPoO7 38.5 119.94 | 1475 70 40 48 10 1.418 *
MGU3390_FC40_SP07 SCo7 SPO7 39 121.54 149 70 40 48 10 1.445 *
MGU3395_FC40_SP07 SCo7 SPO7 39.5 123.39 151 70 40 48 10 1.449 *
MGU3400_FC40_SP07 SCo7 SPO7 40 125.83 153 70 40 48 10 1.475 *
MGU3405_FC40_SP07 sSCo7 SPo7 40.5 127.89 153 70 40 48 10 1.57 *
MGU3410_FC40_SP07 SCo7 SPo7 41 127.82 157 70 40 48 10 1.623 *
MGU3420_FC40_SP07 sSCo7 SPo7 42 130.88 160 70 40 48 10 1.689 *
MGU3430_FC40_SP07 SCo7 SPO7 43 133.12 164 70 40 49.5 10 1.771 *
MGU3440_FC40_SP08 SCo8 SP08 44 136.54 167 70 40 49.5 10 1.815 *
MGU3450_FC40_SP08 SCo8 SP08 45 140.57 172 70 40 49.5 10 1.902 *
MGU3460_FC40_SP08 SCo8 SP08 46 144 176 70 40 49.5 10 1.98 *
MGU3470_FC40_SP08 SCo8 SP08 47 146.07 179 70 40 62.5 10 2.12 *
MGU3480_FC40_SP08 sSCo8 SP08 48 149.33 183 70 40 62.5 10 2.3 *
MGU3490_FC40_SP08 SCo8 SP08 49 152.41 186 70 40 62.5 10 2.39 *
MGU3495_FC40_SP08 SCo8 SP08 49.5 153.7 188 70 40 59 10 2.31 *
MGU3500_FC40_SP08 SCo8 SP08 50 155.46 190 70 40 62.5 10 2.37 *
MGU3510_FC40_SP08 SCo8 SP08 51 158.29 194 70 40 62.5 10 2.58 *
MGU3520_FC40_SP08 SCo8 SP08 52 161.37 197 70 40 62.5 10 2.69 *
MGU3530_FC40_SP09 SC09 SP09 53 164.4 201 70 40 62.5 10 2.71 P
MGU3540_FC40_SP09 SC09 SP09 54 167.73 204 70 40 62.5 10 2.81 Y
MGU3550_FC40_SP09 SC09 SP09 55 171.67 209 70 40 62.5 10 2.94 Y
MGU3560_FC40_SP09 SC09 SP09 56 174.52 213 70 40 62.5 10 3.07 Y
MGU3570_FC40_SP09 SC09 SP09 57 177.68 216 70 40 62.5 10 3.19 Y
MGU3580_FC40_SP09 SC09 SP09 58 180.93 220 70 40 62.5 10 3.32 Y
MGU3590_FC40_SP09 SC09 SP09 59 183.85 223 70 40 62.5 10 3.41 P
MGU3600_FC40_SP09 SC09 SP09 60 186.89 227 70 40 62.5 10 3.55 Y
MGU3610_FC40_SP09 SC09 SP09 61 190.8 232 70 40 62.5 10 3.71 Y
MGU3620_FC40_SP09 SC09 SP09 62 193.78 235 70 40 62.5 10 3.94 Y
MGU3630_FC40_SP09 SC09 SP09 63 196.6 239 70 40 62.5 10 41 Y

O 0o oo




O 0o oo

880 Inserts U Drill
880X TIHE=S

BOEAE. HITEMISO9766
BRI : RSRET
IEXEFEGEE: 4XDC

880 1Inserts U Drill
880RFTIHFHS

. BRI I | oms | yire | RESE |ARES |ZRES | 2H0R | B8 -
Specification/Item
DINDA | BEDA DC LC L4 L5 D1 D4 BAR KG

MGU4270_FC32_SP05 SC05 SPO5 27 112.19 132 60 32 39.6 10 0.717 *
MGU4280_FC32_SP05 SC05 SPO5 28 115.66 137 60 32 39.6 10 0.748 *
MGU4290_FC32_SP05 SC05 SPO5 29 120.24 141 60 32 39.6 10 0.781 *
MGU4295_FC32_SP05 SC05 SPO5 29.5 123.2 144 60 32 39.6 10 0.801 *
MGU4300_FC32_SP06 SC06 SP06 30 125.5 147 60 32 39.6 10 0.801 *
MGU4310_FC40_SP06 SC06 SP06 31 128 152 70 40 48 10 1.18 *
MGU4320_FC40_SP06 SC06 SP06 32 131.98 156 70 40 48 10 1.218 *
MGU4330_FC40_SP06 SC06 SP06 33 136.61 161 70 40 48 10 1.264 *
MGU4340_FC40_SP06 SC06 SP06 34 140.74 165 70 40 48 10 1.312 *
MGU4350_FC40_SP06 SC06 SP06 35 145.58 170 70 40 48 10 1.369 *
MGU4360_FC40_SP07 sSCco7 SP07 36 148.89 175 70 40 48 10 1.431 *
MGU4370_FC40_SP07 sSCo7 SP07 37 151.71 179 70 40 48 10 1.484 *
MGU4380_FC40_SP07 sSCo7 SP07 38 157.09 184 70 40 48 10 1.546 *
MGU4390_FC40_SP07 SCo7 SP07 39 161.85 188 70 40 48 10 1.62 *
MGU4400_FC40_SP07 sco7 SP07 40 167.65 193 70 40 48 10 1.771 *
MGU4410_FC40_SP07 sSCo7 SP07 41 168.69 198 70 40 48 10 1.86 *
MGU4420_FC40_SP07 sSco7 SP07 42 172.18 202 80 50 62.5 10 2.64 *
MGU4430_FC40_SP07 SCo7 SP07 43 176 207 80 50 62.5 10 2.74 *
MGU4440_FC40_SP08 SC08 SPO8 44 180.04 211 80 50 62.5 10 2.833 *
MGU4450_FC40_SP08 SCo08 SP08 45 185.224 | 217 80 50 62.5 10 2.953 *
MGU4460_FC40_SP08 SCo8 SPO8 46 188.97 222 80 50 62.5 10 3.056 *
MGU4470_FC40_SP08 SCo08 SPO8 47 193.1 226 80 50 62.5 10 3.124 *
MGU4480_FC40_SP08 SCo08 SPO8 48 197 231 80 50 62.5 10 3.25 *
MGU4490_FC40_SP08 SC08 SP08 49 201.18 235 80 50 62.5 10 3.365 *
MGU4500_FC40_SP08 SC08 SPO8 50 204.98 240 80 50 62.5 10 3.51 *
MGU4505_FC40_SP08 SCo08 SPO8 50.5 | 208.229 | 242 80 50 62.5 10 3.56 *
MGU4510_FC40_SP08 SCo08 SP08 51 209.17 245 80 50 62.5 10 3.61 *
MGU4520_FC40_SP08 SCo08 SP08 52 213.03 249 80 50 62.5 10 3.75 *
MGU4530_FC40_SP09 SC09 SP09 53 218 253 80 50 62.5 10 3.83 ¥
MGU4540_FC40_SP09 SC09 SP09 54 221.98 258 80 50 62.5 10 3.92 P
MGU4550_FC40_SP09 SC09 SP09 55 226 263 80 50 62.5 10 4.12 ¥
MGU4560_FC40_SP09 SC09 SP09 56 230.68 269 80 50 62.5 10 4.32 ¢
MGU4570_FC40_SP09 SC09 SP09 57 234 273 80 50 62.5 10 4.45 Y
MGU4580_FC40_SP09 SC09 SP09 58 238.95 277 80 50 62.5 10 4.63 ¥
MGU4590_FC40_SP09 SC09 SP09 59 242 282 80 50 62.5 10 4.92 Y
MGU4600_FC40_SP09 SC09 SP09 60 246 287 80 50 62.5 10 5.23 e
MGU4610_FC40_SP09 SC09 SP09 61 250 292 80 50 62.5 10 5.55 ¥
MGU4620_FC40_SP09 SC09 SP09 62 254 296 80 50 62.5 10 5.87 ¥
MGU4630_FC40_SP09 SC09 SP09 63 258 301 80 50 62.5 10 6.18 ¥

o BRI He |DDRE|gogg |FRRE | MEEE AMES | cum | =R |
Specification/Item
WD E | AEDRE DC LC L4 L5 D1 D4 BAR KG

MGU4120_FC20_SPO1 SCOo1 SPO1 12 48 69 50 20 25 10 0.163 *
MGU4125_FC20_SPO01 SCO1 SPO1 12.5 50 71 50 20 25 10 0.166 *
MGU4130_FC20_SPO01 SCo1 SPO1 13 52 73 50 20 25 10 0.169 *
MGU4135_FC20_SPO01 SCO1 SPO1 13.5 54 74 50 20 25 10 0.172 *
MGU4140_FC20_SP02 SC02 SP02 14 59.01 72 50 20 25 10 0.174 *
MGU4145_FC20_SP02 SCo02 SP02 14.5 62.13 75 50 20 25 10 0.175 *
MGU4150_FC20_SP02 SC02 SP02 15 64.87 77 50 20 25 10 0.178 *
MGU4155_FC20_SP02 SC02 SP02 15.5 66.4 79 50 20 25 10 0.184 *
MGU4160_FC20_SP02 SC02 SP02 16 67.51 82 50 20 25 10 0.194 *
MGU4165_FC20_SP03 SCo03 SP03 16.5 69.7 84 50 20 25 10 0.195 *
MGU4170_FC25_SP03 sSco3 SP03 17 71.54 86 56 25 32 10 0.305 *
MGU4175_FC25_SP03 Sco3 SP03 17.5 73.79 89 56 25 32 10 0.317 *
MGU4180_FC25_SP03 Sco3 SP03 18 75.4 91 56 25 32 10 0.323 *
MGU4185_FC25_SP03 SCo03 SP03 18.5 77.53 93 56 25 32 10 0.330 *
MGU4190_FC25_SP03 SCo3 SP03 19 79.66 95 56 25 32 10 0.34 *
MGU4193_FC25_SP03 SC03 SP03 19.25 83.7 99 56 25 32 10 0.343 *
MGU4195_FC25_SP03 Sco3 SP03 19.5 83.8 99 56 25 32 10 0.347 *
MGU4200_FC25_SP04 SC04 SP04 20 83.38 101 56 25 32 10 0.365 *
MGU4205_FC25_SP04 SCo4 SP04 20.5 86.58 104 56 25 32 10 0.375 *
MGU4210_FC25_SP04 SC04 SP04 21 89.78 105 56 25 32 10 0.374 *
MGU4215_FC25_SP04 SC04 SP04 21.5 89.56 107.5 56 25 32 10 0.387 *
MGU4220_FC25_SP04 SC04 SP04 22 91.22 109 56 25 32 10 0.397 *
MGU4225_FC25_SP04 SCo04 SP04 22.5 93.63 112 56 25 32 10 0.406 *
MGU4230_FC25_SP04 SC04 SP04 23 95.9 114 56 25 32 10 0.417 *
MGU4240_FC25_SP05 SC05 SP05 24 101.48 119 56 25 32 10 0.426 *
MGU4245_FC25_SP05 SC05 SP05 24.5 102.36 | 121.5 56 25 32 10 0.443 *
MGU4250_FC25_SP05 SC05 SP05 25 107.1 124 56 25 32 10 0.456 *
MGU4253_FC25_SP05 SC05 SP05 25.25 | 107.24 124 56 25 32 10 0.46 *
MGU4260_FC32_SP05 SC05 SP05 26 107.79 128 60 32 39.6 10 0.686 *
MGU4265_FC32_SP05 SC05 SP05 26.5 109.98 130 60 32 39.6 10 0.702 *

O 0o oo




O 0o oo

880 Inserts U Drill
880X TIHE=S

EOFER: HITEKIS09766
BRI : RSRET
IEXEFEGEE: 5XDC

880 1Inserts U Drill
880RFTIHFHS

o BRI Be | DDRE| gogg | TRRE | MEEE| AMES | cum | =R |
Specification/Item
PINDk | BEDR DC LC L4 L5 D1 D4 BAR KG

MGU5290_FC32_SP05 SCo05 SP05 29 149.53 171 60 32 39.6 10 0.855 *
MGU5300_FC32_SP06 SC06 SP06 30 155.49 177 60 32 39.6 10 0.880 *
MGU5310_FC40_SP06 SC06 SP06 31 159.0 183 70 40 48 10 1.260 *
MGU5320_FC40_SP06 SC06 SP06 32 164.42 188 70 40 48 10 1.310 *
MGU5330_FC40_SP06 SC06 SP06 33 169.2 194 70 40 48 10 1.364 *
MGU5340_FC40_SP06 SC06 SP06 34 175.73 200 70 40 48 10 1.426 *
MGU5350_FC40_SP06 SC06 SP06 35 181.57 206 70 40 48 10 1.495 *
MGU5360_FC40_SP07 SCo7 SPo7 36 186.0 212 70 40 48 10 1.574 *
MGU5370_FC40_SP07 sCo7 SPo7 37 189.0 216 70 40 48 10 1.643 *
MGU5380_FC40_SP07 SCo7 SPO7 38 195.08 222 70 40 48 10 1.720 *
MGU5390_FC40_SP07 SCo7 SPO7 39 201.84 228 70 40 48 10 1.793 *
MGU5400_FC40_SP07 SCo7 SPO7 40 208.64 234 70 40 48 10 1.841 *
MGU5410_FC40_SP07 SCo7 SPO7 41 215.51 240 70 40 48 10 2.110 *
MGU5420_FC40_SP07 SCo7 SPO7 42 219.85 245 80 50 62.5 10 2.854 *
MGU5430_FC40_SP07 sCo7 SPo7 43 236.16 251 80 50 62.5 10 2.969 *
MGU5440_FC40_SP08 sSCo8 SP08 44 223.99 255 80 50 62.5 10 3.153 ¥
MGU5450_FC40_SP08 SCo8 SP08 45 230.14 262 80 50 62.5 10 3.281 Y
MGU5460_FC40_SP08 SCo8 SP08 46 234.97 268 80 50 62.5 10 3.410 ¥
MGU5470_FC40_SP08 sSCo8 SP08 47 240.1 273 80 50 62.5 10 3.520 P
MGU5480_FC40_SP08 SCo8 SP08 48 245.0 279 80 50 62.5 10 3.675 ¥
MGU5490_FC40_SP08 SCo8 SP08 49 250.18 284 80 50 62.5 10 3.827 ¥
MGU5500_FC40_SP08 SCo8 SP08 50 254.92 290 80 50 62.5 10 3.990 s
MGU5510_FC40_SP08 sSCo8 SP08 51 259.47 296 80 50 62.5 10 4.131 Y
MGU5520_FC40_SP08 SCo8 SP08 52 265.0 301 80 50 62.5 10 4.305 Y

. @A I | InsE | grae | REEE | muEs | @A | SR | B2 -
Specification/Item
DINDA | AEDA DC LC L4 L5 D1 D4 BAR KG
MGU5120_FC20_SPO01 SCo1 SPO1 12 60.0 81 50 20 25 10 0.167 *
MGU5125_FC20_SP01 SCo1 SPO1 12.5 62.5 84 50 20 25 10 0.170 *
MGU5130_FC20_SP01 SCo1 SPO1 13 65.0 86 50 20 25 10 0.173 *
MGU5135_FC20_SP01 SCo1 SPO1 13.5 67.5 88 50 20 25 10 0.176 *
MGU5140_FC20_SP02 SCo02 SP02 14 73.65 86 50 20 25 10 0.180 *
MGU5145_FC20_SP02 SCo02 SP02 14.5 76.76 89 50 20 25 10 0.181 *
MGU5150_FC20_SP02 SCo02 SP02 15 79.26 92 50 20 25 10 0.187 *
MGU5155_FC20_SP02 SCo02 SP02 15.5 82.4 95 50 20 25 10 0.194 *
MGU5160_FC20_SP02 SCo02 SP02 16 83.5 98 50 20 25 10 0.208 *
MGU5165_FC20_SP03 SC03 SP03 16.5 86.7 101 50 20 25 10 0.207 *
MGU5170_FC25_SP03 SCo03 SPO03 17 88.0 103 56 25 32 10 0.317 *
MGU5175_FC25_SP03 SCo03 SP03 17.5 91.27 107 56 25 32 10 0.331 *
MGU5180_FC25_SP03 SCo03 SP03 18 93.4 109 56 25 32 10 0.339 *
MGU5185_FC25_SP03 SCo03 SP03 18.5 96.52 112 56 25 32 10 0.348 *
MGU5190_FC25_SP03 SCo03 SP03 19 98.66 114 56 25 32 10 0.356 *
MGU5193_FC25_SP03 SCo03 SP03 19.25 102.73 118 56 25 32 10 0.363 *
MGU5195_FC25_SP03 SCo03 SPO03 19.5 102.8 118 56 25 32 10 0.367 *
MGU5200_FC25_SP04 SCo04 SP04 20 103.38 121 56 25 32 10 0.388 *
MGU5205_FC25_SP04 SCo04 SP04 20.5 105.57 123 56 25 32 10 0.398 *
MGU5210_FC25_SP04 SCo04 SP04 21 108.78 126 56 25 32 10 0.401 *
MGU5215_FC25_SP04 SCo04 SP04 21.5 111.0 129 56 25 32 10 0.411 *
MGU5220_FC25_SP04 SCo04 SP04 22 113.22 131 56 25 32 10 0.425 *
MGU5230_FC25_SP04 SCo04 SP04 23 119.89 138 56 25 32 10 0.459 *
MGU5240_FC25_SP05 SC05 SP05 24 125.47 143 56 25 32 10 0.470 *
MGU5250_FC25_SP05 SCo05 SPO05 25 132.09 149 56 25 32 10 0.502 *
MGU5253_FC25_SP05 SCO05 SP05 25.25 132.22 149 56 25) 32 10 0.507 *
MGU5260_FC32_SP05 SCo05 SPO05 26 133.78 154 60 32 39.6 10 0.739 *
MGU5265_FC32_SP05 SC05 SP05 26.5 136.49 157 60 32 39.6 10 0.755 *
MGU5270_FC32_SP05 SC05 SP05 27 139.18 159 60 32 39.6 10 0.775 *
MGU5280_FC32_SP05 SC05 SP05 28 143.28 165 60 32 39.6 10 0.814 *

O 0o oo




O 0o oo

880 Seminserts 880 Seminserts

880F%5thHITI R 880F%tAHITI A
oW IDR o BIMWNDR

P ° ° o P ° ° o °
M o o ° M o o °
K ° ° K ° ° °
N o o N o o
S @) ° S o) °
H ° o H ° o
w3 RY (mm) HHE L] ET RY (mm) HE 8
Specification/Item e 5 RE W& Mp2150 | Mp3150 | Mm4235 el P e e Ic 3 RE oS ey Mp3150 RS 8
01 D-SCGX010203-LM 457 2 0.3 PHEH ° 01 |D-SPGX010204-LM 4.6 2 0.4 PEEL hd
— D-SPGX010204-GR 4.6 2 0.4 Stk °
D-SCGX010203-GR 4.57 2 0.3 B ° I
D-SPGX020204-GM 5.1 2.4 0.4 ° °
D-SCGX020204-LM 4.9 2.4 0.4 N hd hd 0y | D-SPGX020205-LM | 5.1 2.4 0.5 e °
02 D-SCGX020204-GM 4.9 2.4 0.4 ° ° D_SPGX020205-MS 51 o4 05 Py
D-SCGX020204-GR 4.9 2.4 0.4 Bk ° ° D-SPGX020205-GR 5.1 2.4 0.5 st °
D-SCGX030305-LM 5.7 2.6 0.5 . ° ° D-SPGX030305-GM 6.0 2.6 0.5 ° °
03 D-SCGX030305-GM 5.7 2.6 0.5 M ° ° 03 D-SPGX030306-LM 6.0 2.6 0.6 DL °
D-SCGX030305-GR 5.7 2.6 0.5 B ° ° D-SPGX030305-MS | 6.0 2.6 0.6 hd
= = . . . St °
D-SCGX040305-LM 6.8 2.8 0.5 ° ° D-SPGX030306-GR 6.0 26 0.6 RS
04 T o8 8 05 [EaE=3 3 ° ° D-SPGX040305-GM 7.4 2.8 0.5 [ ®
- - : : : — 04 D-SPGX040307-LM 7.4 2.8 0.7 hEES °
D-SCGX040305-GR 6.8 2.8 0.5 Bk ° ° D_SPGX020307_MS — o8 07 °
D-SCGX050305-LM 8.4 3 0.5 s ot ot D-SPGX040307-GR 7.4 2.8 0.7 =i °
~F XEE i
05 D-SCGX050305-GM 8.4 3 0.5 ° ° D-SPGX050305-GM 8.9 3.0 0.5 ° °
D-SCGX050305-GR 8.4 3 0.5 B ° ° i D-SPGX050308-LM 8.9 3.0 0.8 s °
D-SCGX060406-LM 10.2 3.5 0.6 I ° ° D-SPGX050308-MS 8.9 3.0 0.8 hd
~F JE R = — =
06 D-SCGX060406-GM 10.2 35 0.6 i} ° ° D-SPGX050308-GR | 8.9 8.0 0.8 BB hd
= D-SPGX060406-GM 10.7 3.5 0.6 ° °
D-SCGX060406-GR 10.2 3.5 0.6 e ° °
T ——— -~ " v . . 06 D-SPGX060408-LM 10.7 3.5 0.8 DL °
o7 : : D= D-SPGX060408-MS 10.7 3.5 0.8 °
D-SCGX070406-GM 12.4 4 0.6 ° ° BESECXOEAoECE 5 s o o =g °
D-SCGX070406-GR 12.4 4 0.6 Bk ° ° D-SPGX070406-GM 12.7 4.0 0.6 ° °
D-SCGX080508-LM 14.9 4.5 0.8 I ° ° i D-SPGX070410-LM 12.7 4.0 1.0 DL °
08 D-SCGX080508-GM 14.9 45 0.8 TR ° ° D-SPGX070410-MS 12.7 4.0 1.0 °
D-SCGX080508-GR 14.9 4.5 0.8 s ° ° D-SPGX070412-GR 12.7 4.0 1.2 SRS d
- - ] . ] °
D-SCGX090608-LM 17.9 5.5 0.8 e ° ° g :Egigzgz?g 3\':' 1? Z : 2 ‘1) 2 e hd o
09 D-SCGX090608-GM 17.9 5.5 0.8 T ° ° 08 D SPGX080510-MS 15'5 4'5 1'0 T °
D-SCGX090608-GR 17.9 5.5 0.8 e ° ° R = e > =t &
D-SPGX090608-GM 18.6 5.5 0.8 ° °
i D-SPGX090610-LM 18.6 5.5 1.0 DEES °
D-SPGX090610-MS 18.6 5.5 1.0 °
D-SPGX090612-GR 18.6 5.5 1.2 B °




O 0o oo

880 System Spare
880FR 455k T B K Fo i

o JFhetE: =H|

880 System Spare
880F 5455k T B K Fo i

o RRIE: e

RRAIZRE ELREREBENRTE WeRDHRE MR PN T ¢ 2 V4B Rk EN E R 15718580.03mm
HE
6 7 RLBOX SR ELERBUX B K 2 R R LD M N BARAF
Bl \\ . EEEsE=R
OEEH PINDF CEE, EREER SRR, 07mm e
8
0
- TRHEHASHRIEANIL, URBBEESHIEDET
BRI L.
MEEH EAEEEHETBEN/3 V) EmsE « I BAEFAIE IR T ) A BB T30
- EREBE BT UNTERBIRDE,
« BAAP—IRARIBB/EIE ) H 1 CERI70%
- ERRTAENNEE, WERDBRS, RTREBERNZE
2, Y /I Y
AN D st fegi 0 - IRREEHBB2 | WBESRBREESEN/S
@)
- ERBENRIEE Bott
RX 3L - ERBLNIEATRRAETNE, BHEGRNSEREGRN/I DMDEE (mm) Keygrip
c AERBTEEEMPDIEH DRRY IRETIAAE b ® ®RF
DC TORXPLUS
12.00-13.50 01 M1.8 SM18-040-5IP 5IP 1056000051-5DS
14.00-16.00 02 M2 SM20-045-61P 61P 1056000001-6DS
e m a
EREENREE/3 :00-23. : —072- -
= 24.00-29.00 05 M3 SM30-082-9I1P 9IP 1056000004-9DS
30.00-43.00 06-07 M3.5 SM35-094-101 10IP 1056000005-10DS
44.00-63.50 08-09 M4 SM40-110-15IP 15IP 1056000006-15DS
= ® 3]
=g BROUREEDA ZEND N TERFETEROAT, BRI © R TORXPLUSTRF S SIPRF AL
8 FHEEATFDC/4
cRTESSERTHE, BUOERETARNEE, FRSRERESE
FrERIEE
- - BIMER RIS HIRUERFED HEE
: c BASERERRBBBETH0%, BETREBHNLBTRE,
RS EREEDRE TR
- BBEWEI, AEEMZNEH, SRTREBE T RBNFBEM.



O 0o oo

880 System Application 880 System Application
880U iR 88075 AiSm

0 B O tIHIEERYIEZZ-vc, m/min
BRHEEEREREE, cHHER., LBE. DESnAELEZE, o ZLETHEPc kW (Hp) *EI}H%EMC Nm FENEEBINTFEURBEME (HIRNEKHRTE)
FaNRERELFTSNEEFIZNERIBEBESE, BYLDIE Al T
" .
SEIBI BREEEEERR REDNEEHNSRARE
% [_n =; 1 Eiil‘ = ) =l R

RIS HIR BRETR, MEHENETEH DM EEES MR

CBRIFBER, BARENT OB ELR ERBRTRTEBRY, BRASFES , . .
(4-5XDC) B  TEFEIEMR « B EERBIR .EEE ,
RS « DRBIERT « BT HEBRE
o o D  LEBENAETRE GLERENLAZRE EEEEEDY

O 0o oo

* JELBRFREBUREHRIZESL (<3XDc) FHER

O ELLBIZE-fn, mm/r

0 S HEEE « S IFAN) . IDERPC kW (Hp) RO EEMC Nm FELEREES
o IR B LD B AN HE «BENF R/ DA E NFIRE N
aEMELIHEE (LR ) % A
* SHER5-12% (NIAHMETRI0-25% ) * IR SHEPTRINE SEL R
o EP (1BEE) FADE o 7EISO-MAIISO- ST R NEED Ve EEABELN
o BB ERE A =
o LI BERIERE &
yay—1) ° =] & e
o EENSHRARE ARERRNERBDBEHERIBI w &
o ILESIRIE @ o
q(1/min) E 2
A ® B
601 gL =R $
50- « BEUBHRNEE >
. ELS
40 IEBEERS
o« DEEEENIR
304 TR EERNERYERE
R ® A &R EERE RIS
204
10{ -~
032 20 30 40 50 60 70 80 Dc=(mm) O E/%l%%i%ﬁ'ggb
H B BEM. DREX
O EEUHIZE BIRHEHATESER. VBEEREI EENTSE o MERFEIRR RIS, RRSUBETEEBE. BREE
BRI B YPNMRER, BRT IR, BE. DA ERINEE, SNREN, REUDLSH, 18 HERDAS®. DARENDHSBEREER. =B, MBNRERERIEGR.
EESEUNEBCOBE, RPeEs. BESHNTEE, NEBWEA. DH HE. - ERBRBER/NDBHIBILIN, DRSLEILE
B BAEBREBEDES LR, UERLESTESN, HEETENSES A EBYaRPETRE, EENE SRNASH.
SETHBRG, HENBSRTYBEE, BELENANRERE, IRGESE. IRTHSUBEE, sEUE.
NRUBEMEE, BRst, NRRERUBEE, 553, PRUBEES, BEIEMET, 2 A JESm
e WS HIBREBBEIVEE, BARLERNSIRENZ JBBNRNEBRER, BRIEEHTERS, AN
SERER, THHE. XAE8. NESOELYE, M55 E RS N B RS E Ry,

 EHIEMRIARRIRE], FTERDE, BERIDA



O 0o oo

880 System Common Troubleshooting

880FR5E W EHEFR

fRBL=
il
i IFiess . EH|

3L LEISHRRE, AREESE, AREAEDy | [ REERHEER,
REAS. 2. BEIEE80° .
) ERAERREMEIEESNEE (PLDAR | 3 ERERSEMIIESE0EE (DL
A o RERE) .

LR LEISHRRE, BREES. BraRADy | [ REEREEER,
BENIRSL. 2. 1S &R E180°
2 ERADNSAIEESNEL, TRREA | JEREDNEHIESENEL, EREE
IR, FRITIRLI MR,

=5 VBRI, A THEE.

|Illlllh.'= 2 FRIELDHIRE ,

SERNARBERRRANER, HEEBINLIESHRERNRBELESLSE,

BARHAER 2 RS,

2 FBEIRED BB BRI EI D o

880-System Common Troubleshooting

880FR 5 E W= HERR

o JIREiR
E JRE RIRTIE
HIEERS. PRELIHIERR
®BIEEE
MEMEERT, BEMEUESHME,
Sh-yala) AR
BFeEE BB L REE AR RENEA. EEMEESNNE,
< RARLDHIRE
=MWy =lhWa) oy
-RiEBENGEMERERNES, <FRARLDHIESS

<BEUHIZDEN0ENIER, RI-LM,

a) EIEE (UEEE) 85, @, Bl

iR (@i
ﬁl&é&ﬁ/ (E@DF‘I—) % (ﬁﬁﬁ, I#@E) o

a-b) BEMEMES. RBEBIITREEHEH
HE,

b) BE#NBEEN/ABFEEENZRE

a-b) BELIEIER,

a-b) EEERMIER,

HERIDERE 1R ELRIRE,

2 BRRLDHIELS

SEZIIREDHIE R D RRELDAI Ao

3L, URRYBE LBISARRE, BRiBES, FRERPIVSEIRL.

2 ERERBRERTENER, FERBNINSHEENRBESLE,

=R,
a) BEEE.
a) HEIHERE, o) EEHEESOME,
o b) TP HEE BT, b) EEBEEEOVER,

c) ¥B%E (BUE) ,

o) ITBIEIREIEREHI DENHENEE,

d) RBARA,

d) BREDRFEELS

e) BEMEE.

e) REREE.

f) 2=RE) (5R#E) o

) ZEBREESNER, FMES.

3 HEFE BB,
VERERRFRIRIIZRER R, FRERHFE.
DR IRETIRIE
2 BB EFERIDA IR,
1 BERRBEVB G,
2 R REBIIRUIRRSV AT REZEE,
REESE

MR (DEDEREER) .
R (50E) o) LIMBERSEIR (L4 DEREEIR)

o) REUEIERERSABEEME,

b) K EREVEIHI DK,

b) EELDEI 7D EMENEVEEL,

o) HRXEMERT. HINELRFRMAME,

d) UHIRNSHES D LER.

c-d) REVHRNSHSNE /B0,

3BINSHIERE BRE RS BRERDPIVSENRIL.

A MBRERAS, ReEIHEEE,

RERTNHI S BERE.

mEsEEOyEEE, | 2ENNARE, HREES, HREBPNS DAL,

EBRUBEEN 3B Y 2 HEEAREES.

A EEBUHSHBERNRSEIRE.

O 0o oo




O 0o oo

ISO

Recommended parameters for the 880 series inserts

880&5T] R =#itE=

O 4-5 x DCEDHIZ &

(DDHIREERELS ) 1%2082-3 x DCAY75-85%

hEEE HEEER tIHIRE FERY (2 - 3*D C) /3E4S (fnmm/rev)
MCHRSE THHER HB Dc mm HRER (m/min) M cM CR
e 12.00-16.49 | GPK30 | 210-325 | 0.04-0.08
vz 12.00-13.99 | MP2150 | 180-235 | 0.04-0.08 | 0.04-0.06 | 0.04-0.06
0.05-0.10%C 16.50-19.99 | MP3150 | 150-220 | 0.04-0.10 | 0.04-0.06 | 0.04-0.06
20.00-23.99 0.04-0.12 | 0.04-0.08 | 0.04-0.08
P1('(?1'.Z(',;L\N 90-200 | 24.00-29.99 0.04-0.12 | 0.04-0.08 | 0.04-0.08
30.00-35.99 0.06-0.14 | 0.06-0.10 | 0.06-0.10
36.00-43.99 0.06-0.16 | 0.06-0.10 | 0.06-0.10
44.00-52.99 0.08-0.16 | 0.08-0.12 | 0.08-0.12
53.00-63.50 0.08-0,16 | 0.08-0.12 | 0.08-0.12
12.00-16.49 | GPK30 | 200-310 | 0.04-0.10
VTR 12.00-13.99 | MP2150 | 170-225 | 0.04-0.10 | 0.04-0.06 | 0.04-0.06
0.05-0.25%C 16.50-19.99 | MP3150 | 140-210 | 0.04-0.10 | 0.04-0.06 | 0.04-0.06
20.00-23.99 0.04-0.12 | 0.04-0.10 | 0.04-0.10
P1('(?1'.Z1'fN 90-200 | 24.00-29.99 0.04-0.12 | 0.04-0.10 | 0.04-0.10
30.00-35.99 0.06-0.14 | 0.06-0.12 | 0.06-0.12
36.00-43.99 0.06-0.16 | 0.06-0.12 | 0.06-0.12
44.00-52.99 0.08-0.16 | 0.08-0.12 | 0.08-0.12
33.00-63.50 0.08-0.16 | 0.08-0.12 | 0.08-0.12
12.00-16.49 | GPK30 | 200-310 | 0.04-0.10
EVETEs 12.00-13.99 | MP2150 | 170-225 | 0.04-0.10 | 0.04-0.10 | 0.04-0.10
0.25-0.55%C 16.50-19.99 | MP3150 | 140-210 | 0.04-0.12 | 0.04-0.12 | 0.04-0.12
20.00-23.99 0.04-0.14 | 0.04-0.14 | 0.04-0.14
P1('(?1'.22';L\N 125-225 | 24.00-29.99 0.04-0.18 | 0.04-0.18 | 0.04-0.18
30.00-35.99 0.06-0.18 | 0.06-0.18 | 0.06-0.18
36.00-43.99 0.06-0.24 | 0.06-0.24 | 0.06-0.24
44.00-52.99 0.08-0.24 | 0.08-0.24 | 0.08-0.24
53.00-63.50 0.08-0.24 | 0.08-0.24 | 0.08-0.24
12.00-16.49 | GPK30 | 200-310 | 0.04-0.10
RS 12.00-13.99 | MP2150 | 170-225 | 0.04-0.10 | 0.04-0.10 | 0.04-0.10
0.55-0.80%C 16.50-19.99 | MP3150 | 140-210 | 0.04-0.12 | 0.04-0.12 | 0.04-0.12
20.00-23.99 0.04-0.14 | 0.04-0.14 | 0.04-0.14
P1('§1'_zéfN 150-250 | 24.00-29.99 0.04-0.18 | 0.04-0.18 | 0.04-0.18
30.00-35.99 0.06-0.18 | 0.06-0.18 | 0.06-0.18
36.00-43.99 0.06-0.24 | 0.06-0.24 | 0.06-0.24
44.00-52.99 0.08-0.24 | 0.08-0.24 | 0.08-0.24
53.00-63.50 0.08-0.24 | 0.08-0.24 | 0.08-0.24

Recommended parameters for the 880 series inserts

880RINTI F = &=

ISO

m
12.00-16.49 | GPK30 | 200-310 | 0.04-0.10
BRMARETEME 12.00-13.99 | MP2150 | 170-225 | 0.04-0.10 | 0.04-0.10 | 0.04-0.10
16.50-19.99 | MP3150 | 140-210 | 0.04-0.12 | 0.04-0.12 | 0.04-0.12
20.00-23.99 0.04-0.14 | 0.04-0.14 | 0.04-0.14
P1(':1'.24fN 180-275 | 24.00-29.99 0.04-0.18 | 0.04-0.18 | 0.04-0.18
30.00-35.99 0.06-0.18 | 0.06-0.18 | 0.06-0.18
36.00-43.99 0.06-0.24 | 0.06-0.24 | 0.06-0.24
44.00-52.99 0.08-0.24 | 0.08-0.24 | 0.08-0.24
53.00-63.50 0.08-0.24 | 0.08-0.24 | 0.08-0.24
12.00-16.49 | GPK30 | 180-280 | 0.04-0.10
ESEHM (FEEN) 12.00-13.99 | MP2150 | 150-230 | 0.04-0.10 | 0.04-0.10 | 0.04-0.10
16.50-19.99 | MP3150 | 110-180 | 0.04-0.12 | 0.04-0.12 | 0.04-0.12
20.00-23.99 0.04-0.14 | 0.04-0.14 | 0.04-0.14
Pz(-gz..z{f‘N 150-260 | 24.00-29.99 0.04-0.18 | 0.04-0.18 | 0.04-0.18
30.00-35.99 0.06-0.18 | 0.06-0.18 | 0.06-0.18
36.00-43.99 0.06-0.24 | 0.06-0.24 | 0.06-0.24
44.00-52.99 0.08-0.24 | 0.08-0.24 | 0.08-0.24
53.00-63.50 0.08-0.24 | 0.08-0.24 | 0.08-0.24
12.00-16.49 | GPK30 | 95-200 | 0.04-0.10
BEREANSSH 12.00-13.99 | MP2150 | 90-160 | 0.04-0.10 | 0.04-0.10 | 0.04-0.10
16.50-19.99 | MP3150 | 80-150 | 0.04-0.12 | 0.04-0.12 | 0.04-0.12
20.00-23.99 0.04-0.14 | 0.04-0.14 | 0.04-0.14
Pz(.;)z..z{;w 220-450 | 24.00-29.99 0.04-0.18 | 0.04-0.18 | 0.04-0.18
30.00-35.99 0.06-0.18 | 0.06-0.18 | 0.06-0.18
36.00-43.99 0.06-0.24 | 0.06-0.24 | 0.06-0.24
44.00-52.99 0.08-0.24 | 0.08-0.24 | 0.08-0.24
53.00-63.50 0.08-0.24 | 0.08-0.24 | 0.08-0.24
12.00-16.49 | GPK30 | 150-260 | 0.04-0.10
Za2m GEW) 12.00-13.99 | MP2150 | 120-210 | 0.04-0.10 | 0.04-0.10 | 0.04-0.10
16.50-19.99 | MP3150 | 90-190 | 0.04-0.12 | 0.04-0.12 | 0.04-0.12
20.00-23.99 0.04-0.14 | 0.04-0.14 | 0.04-0.14
P?ég'_ff;N 150-250 | 24.00-29.99 0.04-0.18 | 0.04-0.18 | 0.04-0.18
30.00-35.99 0.06-0.18 | 0.06-0.18 | 0.06-0.18
36.00-43.99 0.06-0.24 | 0.06-0.24 | 0.06-0.24
44.00-52.99 0.08-0.24 | 0.08-0.24 | 0.08-0.24
53.00-63.50 0.08-0.24 | 0.08-0.24 | 0.08-0.24
12.00-16.49 | GPK30 | 80-190 | 0.04-0.10
AEERENESSSH 12.00-13.99 | MP2150 | 65-150 | 0.04-0.10 | 0.04-0.10 | 0.04-0.10
16.50-19.99 | MP3150 | 60-110 | 0.04-0.12 | 0.04-0.12 | 0.04-0.12
20.00-23.99 0.04-0.14 | 0.04-0.14 | 0.04-0.14
P?(')g';';T 250-350 | 24.00-29.99 0.04-0.18 | 0.04-0.18 | 0.04-0.18
30.00-35.99 0.06-0.18 | 0.06-0.18 | 0.06-0.18
36.00-43.99 0.06-0.24 | 0.06-0.24 | 0.06-0.24
44.00-52.99 0.08-0.24 | 0.08-0.24 | 0.08-0.24
53.00-63.50 0.08-0.24 | 0.08-0.24 | 0.08-0.24

O 0o oo




Recommended parameters for the 880 series inserts

880&5T] R =#itE=

S Vr— Teette hKEE EHEAT - ﬁJéUEE 18 (2-3*DC) /3#% (fnmm/rev)
HB Dcmm (m/min’) LM GM GR
12.00-16.49 | GPK50 | 140-280 | 0.04-0.08
SR 12.00-13.99 | MP2150 | 110-220 | 0.04-0.08 | 0.04-0.08 | 0.04-0.08
16.50-19.99 | MP3150 | 100-180 | 0.04-0.08 | 0.04-0.08 | 0.04-0.08
20.00-23.99 0.04-0.10 | 0.04-0.10 | 0.04-0.10
6.1 90-225 24.00-29.99 0.04-0.10 | 0.04-0.10 | 0.04-0.10
30.00-35.99 0.06-0.14 | 0.06-0,14 | 0.06-0.14
36.00-43.99 0.06-0.14 | 0.06-0.14 | 0.06-0.14
44.00-52.99 0.08-0.14 | 0.08-0.14 | 0.08-0.14
53.00-63.50 0.08-0.14 | 0.08-0.14 | 0.08-0.14
g 12.00-16.49 | GPK30 | 140-280 | 0.04-0.10
(0] BEEMEETE <5%) 12.00-13.99 | MP2150 | 110-220 | 0.04-0.10 |{0.04-0.10{0.04-0.10
16.50-19.99 | MP3150 | 100-180 | 0.04-0.14 |0.04-0.14|0.04-0.14
P15.0UT 20.00-23.99 0.06-0.18 [0.06-0.18 (0.06-0.18
(06.2) 150-250 | 24.00-29.99 0.06-0.18 [0.06-0.18 |0.06-0.18
30.00-35.99 0.06-0.20 [0.06-0.20|0.06-0.20
36.00-43.99 0.06-0.22 [0.06-0.22 (0.06-0.22
44.00-52.99 0.10-0.22 [{0.10-0.22|0.10-0.22
53.00-63.50 0.10-0.22 [0.10-0.22 | 0.10-0.22
50 | scatimss Teete HKEE | #EEAL H2E ﬂJﬁUiziE FEHY (2 - 3*D C) /3&4S (fn mm/rev)
HB Dcmm (m/min) LM MS GM GR
BRE/ SKERHHE 12.00-16.49 | MP2150 | 130-190 | 0.04-0.12 | 0.04-0.12
BE813%-25% 12.00-13.99 | MP3150 | 125-185 | 0.04-0.14 | 0.04-0.14 | 0.04-0.08 | 0.04-0.08
16.50-19.99 | GM4235 | 110-170 | 0.06-0.16 | 0.06-0.16 | 0.04-0.08 | 0.04-0.08
5 0.7 AN 20.00-23.99 0.06-0.18 | 0.06-0.18 | 0.06-0.14 | 0.06-0.14
(05.1) 150-270 | 24.00-29.99 0.06-0.18 | 0.06-0.18 | 0.06-0.14 | 0.06-0.14
30.00-35.99 0.06-0.20 | 0.06-0.20 | 0.06-0.16 | 0.06-0.16
36.00-43.99 0.06-0.20 | 0.06-0.20 | 0.06-0.16 | 0.06-0.16
44.00-52.99 0.10-0.24 | 0.10-0.24 | 0.10-0.18 | 0.10-0.18
53.00-63.50 0.10-0.24 | 0.10-0.24 | 0.10-0.18 | 0.10-0.18
M RERFHRSE>0% 12.00-16.49 | MP2150 | 130-190 |0.04-0.12 | 0.04-0.12
RE813%-25% 12.00-13.99 | MP3150 | 125-185 | 0.04-0.14 | 0.04-0.14 | 0.04-0.08 | 0.04-0.08
16.50-19.99 | GM4235 | 110-170 | 0.06-0.16 | 0.06-0.16 | 0.04-0.08 | 0.04-0.08
P5.0.2 AN 20.00-23.99 0.06-0.18 | 0.06-0.18 | 0.06-0.14 | 0.06-0.14
(05.11) 150-275 | 24.00-29.99 0.06-0.18 | 0.06-0.18 | 0.06-0.14 | 0.06-0.14
30.00-35.99 0.06-0.20 | 0.06-0.20 | 0.06-0.16 | 0.06-0.16
36.00-43.99 0.06-0.20 | 0.06-0.20 | 0.06-0.16 | 0.06-0.16
44.00-52.99 0.10-0.20 | 0.10-0.20 | 0.10-0.16 | 0.10-0.16
53.00-63.50 0.10-0.20 | 0.10-0.20 | 0.10-0.16 | 0.10-0.16
BEE/ERE (LERHHE) 12.00-16.49 | MP2150 | 100-190 |0.04-0.12 | 0.04-0.12
12.00-13.99 | MP3150 | 90-110 |0.04-0.14 | 0.04-0.14 | 0.04-0.08 | 0.04-0.08
M3.1.Z.AQ 16.50-19.99 | GM4235 | 80-100 |0.06-0.16 |0.06-0.16 | 0.04-0.08 | 0.04-0.08
(05.51) 20.00-23.99 0.06-0.18 | 0.06-0.18 | 0.06-0.14 | 0.06-0.14
M3.2.Z.AQ 200-320 | 24.00-29.99 0.06-0.18 | 0.06-0.18 | 0.06-0.14 | 0.06-0.14
(05.52) 30.00-35.99 0.06-0.20 | 0.06-0.20 | 0.06-0.16 | 0.06-0.16
36.00-43.90 0.06-0.20 | 0.06-0.20 | 0.05-0.16 | 0.05-0.16
44.00-52.99 0.10-0.24 | 0.10-0.24 | 0.10-0.18 | 0.10-0.18
53.00-63.50 0.10-0.24 | 0.10-0.24 | 0.10-0.18 | 0.10-0.18

Recommended parameters for the 880 series inserts

880RINTI F = &=

150 | scatiimss TR HEEE | #EEAK 2 ﬂJﬁUEE R (2 - 3*D C) /3&4S (fn mm/rev)
Dcmm (m/min’) LM MS GM GR
BRKESEE RN EM 12.00-16.49 0.04-0.12{0.04-0.12
13%-25% 12.00-13.99 | MP2150 | 120-190 | 0.04-0.14 | 0.04-0.14 | 0.04-0.08 | 0.04-0.08
16.50-19.99 | MP3150 | 100-160 | 0.06-0.16 | 0.06-0.16 | 0.04-0.08 | 0.04-0.08
MLO.C.UT 20.00-23.99 | GM4235 | 80-130 |0.06-0.18 | 0.06-0.18 [ 0.06-0.14 | 0.06-0.14
M (15.21) 150-250 | 24.00-29.99 0.06-0.18 | 0.06-0.18 | 0.06-0.14 | 0.06-0.14
30.00-35.99 0.06-0.20 | 0.06-0.20 | 0.06-0.16 | 0.06-0.16
36.00-43.99 0.06-0.20 | 0.06-0.20 | 0.06-0.16 | 0.06-0.16
44.00-52.99 0.10-0.24 | 0.10-0.24 | 0,10-0.18 | 0,10-0.18
53.00-63.50 0.10-0.24 | 0.10-0.24 | 0.10-0.18 | 0.10-0.18
12.00-16.49 0.04-0.08 | 0.04-0.08
$2.0.Z.AN BRESRSE 12.00-13.99 | MP3150 | 25-80 |0.04-0.08 | 0.04-0.08 | 0.04-0.08 | 0.04-0.08
(20.21) 16.50-19.99 | GM4235 | 20-70 |0.05-0.08 | 0.05-0.08 | 0.05-0.08 | 0.05-0.08
$2.0.Z.AG 20.00-23.99 0.05-0.08 | 0.05-0.03 | 0.05-0.03 | 0.05-0.03
(20.22) 140-425 | 24.00-29.99 0.06-0.10 | 0.06-0.10 | 0.06-0.10 | 0.06-0.10
$2.0.C.NS 30.00-35.99 0.06-0.12 | 0.06-0.12 | 0.06-0.12 | 0.06-0.12
(20.24) 36.00-43.99 0.06-0.12 | 0.06-0.12 | 0.06-0.12 | 0.06-0.12
44.00-52.99 0.06-0.12 | 0.06-0.12 | 0.06-0.12 | 0.06-0.12
53.00-63.50 0.08-0.14 | 0.08-0.14 | 0.08-0.14 | 0.08-0.14
12.00-16.49 0.04-0.14
NEx 12.00-13.90 | MP3150 | 35-120 |0.04-0.14 0.04-0.10 | 0.04-0.10
$4.2.7.AN 16.50-19.99 | GM4235 | 30-100 |0.08-0.16 0.04-0.12 | 0.04-0.12
(23.21) (“;*:a) 20.00-23.99 0.08-0.16 0.04-0.14 | 0.04-0.14
S4.3.7.AG 600-1500 24.00-29.99 0.12-0.18 0.04-0.18 | 0.04-0.18
(23.22) 30.00-35.99 0.12-0.18 0.06-0.18 | 0.06-0.18
36.00-43.99 0.12-0.18 0.06-0.24 | 0.06-0.24
44.00-52.99 0.12-0.18 0.08-0.24 | 0.08-0.24
53.00-63.50 0.14-0.20 0.08-0.24 | 0.08-0.24
hKEE EEER N LDHIRE &R (2 - 3*D C) /3&45 (fn mm/rev)
B0 Gl Al HB Dc mm ] (m/min) LM GM GR
TkEE BRE (BUB) 12.00-16.49 | GPK30 | 120-220 | 0.06-0.10
12.00-13.99 | MP2150 | 100-180 | 0.06-0.10 | 0.06-0.12 | 0.06-0.20
16.50-19.99 | MP3150 | 80-140 | 0.06-0.12 | 0.08-0.14 | 0.08-0.22
20.00-23.99 0.08-0.14 | 0.10-0.18 | 0.08-0.28
K1.1C.NS 110-145 | 24.00-29.99 0.08-0.14 | 0.10-0.20 | 0.10-0.30
(07.1) 30.00-35.99 0.06-0.14 | 0.10-0.20 | 0.10-0.32
36.00-43.99 0.10-0.16 | 0.10-0.20 | 0.10-0.34
44.00-52.99 0.10-0.16 | 0.10-0.20 | 0.12-0.34
53.00-63.50 0.12-0.18 | 0.12-0.22 | 0.12-0.34
12.00-16.49 | GPK30 | 90-150 | 0.06-0.10
KN RIRDE) 12.00-13.99 | MP2150 | 70-125 | 0.06-0.10 | 0.06-0.12 | 0.06-0.16
16.50-19.99 | MP3150 | 50-100 | 0.06-0.12 | 0.08-0.14 | 0.08-0.18
K1 1CNS 20.00-23.99 0.08-0.14 | 0.10-0.18 | 0.10-0.24
(07.2) 150-270 | 24.00-29.99 0.08-0.14 | 0.10-0.20 | 0.10-0.28
30.00-35.99 0.06-0.14 | 0.10-0.20 | 0.10-0.30
36.00-43.99 0.10-0.16 | 0.10-0.20 | 0.10-0.32
44.00-52.99 0.10-0.16 | 0.10-0.20 | 0.10-0.32
53.00-63.50 0.12-0.18 | 0.12-0.22 | 0.10-0.32

O 0o oo




O 0o oo

ISO

Recommended parameters for the 880 series inserts

880&5T] R =#itE=

O 4-5 x DCUDHIS L (HIEE

En

N

YE4S ) #20B82-3 x DCAY75-85%

RS TeptE mREE EEER H2E wﬁUEE FEHY (2 - 3*D C) /3&4S (fn mm/rev)
HB Dcmm (m/min’) M cMm CR
12.00-16.49 | GPK30 | 190-300 | 0.06-0.10
RO (RABHRE 12.00-13.99 | MP2150 | 150-235 | 0.06-0.10 | 0.06-0.12 | 0.06-0.18
16.50-19.99 | MP3150 | 110-180 | 0.06-0.12 | 0.08-0.14 | 0.08-0.18
20.00-23.99 0.08-0.14 | 0.10-0.18 | 0.10-0.24
Kz(géi')UT 125-225 | 24.00-29.99 0.08-0.14 | 0.10-0.20 | 0.10-0.28
30.00-35.99 0.06-0.14 | 0.10-0.20 | 0.10-0.30
36.00-43.99 0.10-0.16 | 0.10-0.20 | 0.10-0.32
44.00-52.99 0.10-0.18 | 0.10-0.20 | 0.10-0.34
53.00-63.50 0.12-0.18 | 0.12-0.22 | 0.10-0.34
12.00-16.49 | GPK30 | 100-200 | 0.06-0.10
mOES,; aniiaE 12.00-13.99 | MP2150 | 80-180 | 0.06-0.10 | 0.06-0.12 | 0.06-0.16
16.50-19.99 | MP3150 | 60-130 | 0.06-0.12 | 0.08-0.14 | 0.08-0.18
20.00-23.99 0.08-0.14 | 0.10-0.18 | 0.10-0.24
Kz(':fz')w 200-330 | 24.00-29.99 0.08-0.14 | 0.10-0.18 | 0.10-0.28
30.00-35.99 0.06-0.14 | 0.10-0.18 | 0.10-0.30
36.00-43.99 0.10-0.16 | 0.10-0.20 | 0.10-0.30
44.00-52.90 0.10-0.18 | 0.10-0.20 | 0.10-0.32
53.00-63.50 0.12-0.18 | 0.12-0.22 | 0.10-0.32
12.00-16.49 | GPK30 | 110-210 | 0.06-0.10
IREZBEEREL) 12.00-13.99 | MP2150 | 90-160 | 0.06-0.10 | 0.06-0.12 | 0.06-0.16
16.50-19.99 | MP3150 | 70-130 | 0.06-0.12 | 0.08-0.14 | 0.08-0.18
20.00-23.99 0.08-0.14 | 0.10-0.18 | 0.10-0.24
Ks(géi')UT 150-230 | 24.00-29.99 0.08-0.14 | 0.10-0.18 | 0.10-0.28
30.00-35.99 0.06-0.14 | 0.10-0.18 | 0.10-0.30
36.00-43.99 0.10-0.16 | 0.10-0.20 | 0.10-0.30
44.00-52.99 0.10-0.18 | 0.10-0.20 | 0.10-0.32
53.00-63.50 0.12-0.18 | 0.12-0.22 | 0.10-0.32
12.00-16.49 | GPK30 | 100-200 | 0.06-0.10
BRae 12.00-13.99 | MP2150 | 80-160 | 0.06-0.10 | 0.06-0.12 | 0.06-0.16
16.50-19.99 | MP3150 | 70-135 | 0.06-0.12 | 0.08-0.14 | 0.08-0.18
20.00-23.99 0.08-0.14 | 0.10-0.18 | 0.10-0.24
Ks('ggfz';” 150-260 | 24.00-29,99 0.08-0.14 | 0.10-0.18 | 0.10-0.28
30,00-35.99 0.06-0.14 | 0.10-0.18 | 0.10-0.30
36.00-43.99 0.10-0.16 | 0.10-0.20 | 0.10-0.30
44.00-52.99 0.10-0.18 | 0.10-0.20 | 0.10-0.32
53.00-63.50 0.12-0.18 | 0.12-0.22 | 0.10-0.32
12.00-16.49 | GPK30 | 30-70 | 0.10-0.16
e EEs 12.00-13.99 | MP2150 | 30-50 | 0.04-0.08 | 0.04-0.12 | 0.04-0.08
16.50-19.99 | MP3150 | 25-60 | 0.05-0.12 | 0.06-0.14 | 0.05-0.12
. . 20.00-23.99 0.05-0.14 | 0.06-0.18 | 0.05-0.14
(04.1) (HRC) 24.00-29.99 0.05-0.14 | 0.06-0.18 | 0.05-0.14
30.00-35.99 0.06-0.14 | 0.06-0.20 | 0.06-0.16
36.00-43.99 0.06-0.16 | 0.06-0.20 | 0.06-0.16
44.00-52.99 0.06-0.16 | 0.10-0.20 | 0.10-0.16
53.00-63.50 0.10-0.16 | 0.10-0.20 | 0.10-0.16

Recommended parameters for the 880 series inserts

880RINTI F = &=

ISO

N hKEE EEER N DHIRE R (2 - 3*D C) /3&4S (fn mm/rev)
G Az HB Dc mm i (m/min) LM GM GR
12.00-16.49 0.04-0.08
BEE-BETRENRNRE 12.00-13.99 0.04-0.14 | 0.04-0.12 | 0.04-0.12
16.50-19.99 | MP3150 | 250-350 | 0.04-0.16 | 0.04-0.14 | 0.04-0.14
H1.3.2 HA 20.00-23.99 0.06-0.18 | 0.06-0.16 | 0.06-0.16
(30.12) 30-150 | 24.00-29.99 0.10-0.20 | 0.10-0.18 | 0.10-0.18
30.00-35.99 0.10-0.25 | 0.10-0.20 | 0.10-0.20
36.00-43.99 0.10-0.25 | 0.10-0.20 | 0.10-0.20
44.00-52.59 0.12-0.28 | 0.12-0.22 | 0.12-0.22
53.00-63.00 0.12-0.28 | 0.12-0.22 | 0.12-0.22
12.00-16.49 0.04-0.08
$RiE, FEEFW 12.00-13.99 0.04-0.14 | 0.04-0.12 | 0.04-0.12
16.50-19.99 | MP3150 | 250-350 | 0.04-0.16 | 0.04-0.14 | 0.04-0.14
H13.C.UT 20.00-23.99 0.06-0.18 | 0.06-0.16 | 0.06-0.16
(30.21) 40-100 | 24.00-29.99 0.10-0.20 | 0.10-0.18 | 0.10-0.18
30.00-35.99 0.10-0.25 | 0.10-0.20 | 0.10-0.20
36.00-43.99 0.10-0.25 | 0.10-0.20 | 0.10-0.20
44.00-52.99 0.12-0.28 | 0.12-0.22 | 0.12-0.22
53.00-63.50 0.12-0.28 | 0.12-0.22 | 0.12-0.22
12.00-16.49 0.04-0.08
12.00-13,99 0.04-0.14 | 0.04-0.12 | 0.04-0.12
SRS N FRURIR 16.50-19,99 | MP3150 | 25-60 | 0.04-0.16 | 0.04-0.14 | 0.04-0.14
N1.3.CAG 20.00-23.99 0.06-0.18 | 0.06-0.16 | 0.06-0.16
(30.22) 70-140 | 24.00-29.99 0.10-0.20 | 0.10-0.18 | 0.10-0.18
30.00-35.99 0.10-0.25 | 0.10-0.20 | 0.10-0.20
36.00-43.99 0.10-0.25 | 0.10-0.20 | 0.10-0.20
44.00-52.99 0.12-0.28 | 0.12-0.22 | 0.12-0.22
53.00-63.50 0.12-0.28 | 0.12-0.22 | 0.12-0.22
12.00-16.49 0.04-0.14
mAMEE 12.00-13.99 0.04-0.14 | 0.04-0.12 | 0.04-0.12
16.50-19,99 | MP3150 | 200-300 | 0.04-0.16 | 0.04-0.14 | 0.04-0.14
N3.3.UUT 20.00-23.99 0.06-0.18 | 0.06-0.16 | 0.06-0.16
(04.1) 70-160 | 24.00-29.99 0.10-0.20 | 0.10-0.18 | 0.10-0.18
30.00-35.99 0.10-0.25 | 0.10-0.20 | 0.10-0.20
36.00-43.99 0.10-0.25 | 0.10-0.20 | 0.10-0.20
44.00-52.99 0.12-0.28 | 0.12-0.22 | 0.12-0.22
53.00-63.50 0.12-0.28 | 0.12-0.22 | 0.12-0.22
12.00-16.49 0.04-0.14
EMNBHER (BSE<%) 12.00-13.99 0.04-0.14 | 0.04-0.12 | 0.04-0.12
16.50-19.99 | MP3150 | 150-220 | 0.04-0.16 | 0.04-0.14 | 0.04-0.14
N3.2.C.UT 20.00-23.99 0.06-0.18 | 0.06-0.16 | 0.06-0.16
(33.2) 50-200 | 24.00-29.99 0.10-0.20 | 0.10-0.18 | 0.10-0.18
30.00-35.99 0.10-0.25 | 0.10-0.20 | 0.10-0.20
36.00-43.99 0.10-0.25 | 0.10-0.20 | 0.10-0.20
44.00-52.99 0.12-0.28 | 0.12-0.22 | 0.12-0.22
53.00-63.50 0.12-0.28 | 0.12-0.22 | 0.12-0.22

O 0o oo




HCD DRILL HCDDRILL
HCDRRH S £ E L HEDmH%I S £ 2 th

O HCOT®RAEEETHE O HCDOTBRAEGEE2BE

L — Q‘ L3\<L1& : ‘ O Q‘ LS\Q;&

E

L2

SEll - 1CD - WDAT - 3xD - A% 9 HCD - WDA® - 5xD - 4\l <
Bz Bz
" =
Seat Seat
3 x DHYSE Dc/mm Lc/mm Ls/mm d/mm size 5 x DEYSE Dc/mm Lc/mm Ls/mm d/mm size
HCD-03-12.00F16 12 36 48 16 A HCD-05-12.00F16 12 62 48 16 A
HCD-03-13.00F16 13 41 48 16 A HCD-05-13.00F 16 13 67 48 16 A
HCD-03-14.00F16 14 45 48 16 B HCD-05-14.00F16 14 73 48 16 B
HCD-03-15.00F16 15 48 48 16 B HCD-05-15.00F16 15 78 48 16 B
HCD-03-16.00F20 16 51 50 20 c HCD-05-16.00F20 16 83 50 20 c
HCD-03-17.00F20 17 54 50 20 © HCD-05-17.00F20 17 88 50 20 (6
HCD-03-18.00F20 18 57 50 20 D HCD-05-18.00F20 18 93 50 20 D
HCD-03-19.00F20 19 61 50 20 D HCD-05-19.00F20 19 98 50 20 D
HCD-03-20.00F20 20 64 50 20 E HCD-05-20.00F20 20 104 50 20 E
HCD-03-21.00F20 21 67 50 20 E HCD-05-21.00F20 21 109 50 20 E
HCD-03-22.00F25 22 70 56 25 F HCD-05-22.00F25 22 114 56 25 F
HCD-03-23.00F25 23 73 56 25 F HCD-05-23.00F25 23 19 56 25 F
HCD-03-24.00F25 24 76 56 25 G HCD-05-24.00F25 24 124 56 25 G
HCD-03-25.00F25 25 80 56 25 G HCD-05-25.00F25 25 130 56 25 G
HCD-03-26.00F25 26 83 56 25 H HCD-05-26.00F25 26 135 56 25 H
HCD-03-27.00F25 27 86 56 25 H HCD-05-27.00F25 27 140 56 25 H
HCD-03-28.00F32 28 89 60 32 J HCD-05-28.00F32 28 145 60 32 J
HCD-03-29.00F32 29 92 60 32 J HCD-05-29.00F32 29 150 60 32 J
HCD-03-30.00F32 30 95 60 32 K HCD-05-30.00F32 30 1585 60 32 K
HCD-03-31.00F32 31 99 60 32 K HCD-05-31.00F32 31 161 60 32 K
HCD-03-32.00F40 32 102 70 40 M HCD-05-32.00F40 32 166 70 40 M
HCD-03-33.00F40 33 105 70 40 M HCD-05-33.00F40 33 171 70 40 M
HCD-03-34.00F40 34 108 70 40 N HCD-05-34.00F40 34 176 70 40 N
HCD-03-35.00F40 35 111 70 40 N HCD-05-35.00F40 35 181 70 40 N
HCD-03-36.00F40 36 115 70 40 P HCD-05-36.00F40 36 187 70 40 P
HCD-03-37.00F40 37 118 70 40 P HCD-05-37.00F40 37 192 70 40 P




HCD DRILL HCDDRILL
HCDAI A S £ 2 th HEDEH%I S £ 2L

O HCDTRASER2TH O HCOT RN EESTM

L — Q‘ L3\<L1& : | £ wl — Q‘ LS\Q;&

@

E

L2

5l ©HCD - WD#R - 7xD - A 9 HCD - WDA® - 10xD - 2\l E
AL 2k
7 x DEYSE Dc/mm Lc/mm Ls/mm d/mm i-(iaz%' 10 x DBUSE Dc/mm Lc/mm Ls/mm d/mm Ssciazcg
HCD-07-12.00F16 12 86 48 16 A HCD-10-12.00F16 12 120 48 16 A
HCD-07-13.00F16 13 93 48 16 A HCD-10-13.00F16 13 130 48 16 A
HCD-07-14.00F16 14 101 48 16 B HCD-10-14.00F16 14 140 48 16 5
HCD-07-15.00F16 15 108 48 16 B HCD-10-15.00F16 15 150 48 16 B
HCD-07-16.00F20 16 115 50 20 c HCD-10-16.00F20 16 160 50 20 c
HCD-07-17.00F20 17 122 50 20 © HCD-10-17.00F20 17 170 50 20 c
HCD-07-18.00F20 18 133 50 20 D HCD-10-18.00F20 18 180 50 20 D
HCD-07-19.00F20 19 136 50 20 D HCD-10-19.00F20 19 190 50 20 D
HCD-07-20.00F20 20 144 50 20 E HCD-10-20.00F20 20 200 50 20 E
HCD-07-21.00F20 21 151 50 20 E HCD-10-21.00F20 21 210 50 20 E
HCD-07-22.00F25 22 158 56 25 F HCD-10-22.00F25 22 220 56 25 E
HCD-07-23.00F25 23 165 56 25 F HCD-10-23.00F25 23 230 56 25 E
HCD-07-24.00F25 24 172 56 25 G HCD-10-24.00F25 24 240 56 25 G
HCD-07-25.00F25 25 180 56 25 G HCD-10-25.00F25 25 250 56 25 G
HCD-07-26.00F25 26 187 56 25 H
HCD-07-27.00F25 27 194 56 25 H
HCD-07-28.00F32 28 201 60 32 J
HCD-07-29.00F32 29 208 60 32 J
HCD-07-30.00F32 30 215 60 32 K
HCD-07-31.00F32 31 223 60 32 K
HCD-07-32.00F40 32 230 70 40 M
HCD-07-33.00F40 33 237 70 40 M
HCD-07-34.00F40 34 244 70 40 N
HCD-07-35.00F40 35 251 70 40 N
HCD-07-36.00F40 36 259 70 40 P
HCD-07-37.00F40 37 266 70 40 P




SEMDRILL
SEME5Z

SEMDRILL
SEME R

EIHD
1HD

|
&

Ac731541 88, DATIAIN BESM  Ac7320 MERAMAITIN RE ACPMA45 #188, TIAIN EEEE
HNESERE, JRTHEEYE BHENPYWRE, KBS - IERENEEMN, RETH
BEPEHKE. S®iE, #EE AHETHNNERNIER. BRZDIERE, BRHIGE, Soa, K
FRHFNLER. ABESREEMATEEII TR

i

N
pabi{e

(%)
S
o
=
=
4

o

=
o

w
2
o
=
=
[
o
=
[e %

]
e

RIZHES
AEE, SEENFBETE
RIBZOVHERE, mMERDE
£, WEDEMERE.

RS

RSHIAKTTR
“ )
O HzBRFEA O IBEIDR
o @AY, TRETHHRBHRR, o KIFDEATRESFXLIRERETEN DL
o SHEIEPLIERE, BER.
o RIBEAERBEED BREENTIEE. o SEEEARER SR RH R EIRAII0 %I ENE
SERS0ERE.
BRREAER
Eﬁﬁggﬂbgﬁg%§$#
O BENDERE, BFERIA O BETEEE i R L, Lin
SEM RSUEIRICTIREDR B
* RENNBRE, EROHNBITFOEHHD * DR DORERAFRER, BERUBHEE EE DA BRI URE R
 UEHEAR NSRRI ZEEE, BRERH t, ReERE
o EFRFDHFEE—LEENRTANT. o WEER), SASEREIETESEN

° RFEERHARNIMENRER




SEMINSERTS
SEMEEHhih K

o SEMJJE - HZ - AC7315-1&

P K NS &
[eJofo] | [ ]

SEM INSERTS
SEMEEHhR

SEM HZ AC7315 LD HIZDE#FM RN T B an B R RRNBRNERSSH.
HZ BRDRBE—EERAESREN HZ B, TJLUBSTEBIREN, MM
DGR, CBAERENEDFEDDEFSMNtIERFIEENBRNIESE
o, BEERIBMENIOHhEERNRR, \
AC7315 B—BMIRFIIEESEME, KMATAIN E880YPVD B8 EE,
TEERENMEE, ERETR TYURABRSNLIEIRESE,

140°

AC7315 HZ DD HIDBREESE M S S MAVESLIN L. " 0 se " o se e
AC7315 HZ £)17) STHE BB S st 0 T e / GotaiE RIS EISE IHIELE TERY EmE RIS RIS IHIERE DERY
ERRXEER SEM2010 20.1 3 ERRXEER SEM2490 24.9 5
BRI g5 SEM2020 20.2 3 iR SEM2500 25.0 5
® SEN\DH— . HZ R AC73]5 BRI R SEM2030 20.3 3 BRI R SEM2510 25.1 5
FRREER SEM2040 20.4 3 FRREER SEM2520 25.2 5
PMK NS H ERXER SEM2050 20.5 3 ERRR SEM2530 25.3 5
FRXER SEM2060 20.6 3 ERXEER SEM2540 25.4 5
R AEER SEM2070 20.7 3 BRI R SEM2550 25.5 5 ”
BRI R SEM2080 20.8 3 B EER SEM2560 25.6 5 S
ER2E R ELSE tHIER TDEERY ERSE FRIS ISR HIEE DERY =k -2 SEM2090 20.9 3 BRI SEM2570 25.7 5 g
B shR SEM2100 21.0 3 BRXshR SEM2580 25.8 5 2
FRRER SEM1250 12.5 C R R SEM1630 16.3 1 BRIt R SEM2110 211 3 Bt SEM2590 25.9 5 %
AR SEM1260 12.6 c CETENETES SEM1640 16.4 1 BRI R SEM2120 21.2 3 BRI R SEM2600 26.0 5
LETEN S SEM1270 12.7 c R R SEM1650 16.5 1 R SEM2130 21.3 3 EHsteR SEM2610 26.1 6
R ghR SEM1280 12.8 C EREh R SEM1660 16.6 1 Bhistshs SEM2140 21.4 3 Bhstshs SEM2620 26.2 6
AR SEM1290 12.9 c ARk SEM1670 16.7 1 BHtehR SEM2150 21.5 3 EHistehR SEM2630 26.3 6
FRREER SEM1300 13.0 C ERR R SEM1680 16.8 1 Bt R SEM2160 21.6 3 B SEM2640 26.4 6
ERREhR SEM1310 13.1 C ERX R SEM1690 16.9 1 BHrstehs SEM2170 21.7 3 Efrstshs SEM2650 26.5 6
R AR SEM1320 13.2 c CETENETES SEM1700 17.0 1 EHR R SEM2180 21.8 3 stk SEM2660 26.6 6
EhEhR SEM1330 13.3 C EhEhR SEM1710 17.1 1 Bzt SEM2190 21.9 3 Ehieh SEM2670 26.7 6
AR SEM1340 13.4 c Rk SEM1720 17.2 1 BHiztehR SEM2200 22.0 3 EHiztehR SEM2680 26.8 6
AR SEM1350 13.5 c EHR R SEM1730 17.3 1 Btk SEM2210 22.1 4 B R SEM2690 26.9 6
EREhR SEM1360 13.6 B EhEhR SEM1740 17.4 1 BHistehk SEM2220 202 4 Bzt SEM2700 27.0 6
AR SEM1370 13.7 B EHrR R SEM1750 17.5 1 BRI R SEM2230 22.3 4 Btk SEM2710 27.1 6
FRREER SEM1380 13.8 B JERR R SEM1760 17.6 1 B R SEM2240 204 4 Bt SEM2720 27.0 6
R SEM1390 13.9 B CETENETES SEM1770 17.7 1 BRI R SEM2250 225 4 BRI R SEM2730 27.3 6
R SEM1400 14.0 B EHr R SEM1780 17.8 1 Btk SEM2260 22.6 4 B R SEM2740 27.4 6
EhEhR SEM1410 14.1 B EhRX R SEM1790 17.9 1 Bzt SEM2270 207 4 Bzt SEM2750 27.5 6
AR SEM1420 14.2 B e hR SEM1800 18.0 1 EHstehR SEM2280 22.8 4 EHistehR SEM2760 27.6 6
FRRER SEM1430 14.3 B ERR R SEM1810 18.1 2 BRIt R SEM2290 22.9 4 Bt SEM2770 27.7 6
BRI R SEM1440 14.4 B JEREER SEM1820 18.2 2 BRtsE R SEM2300 23.0 4 BhisE R SEM2780 27.8 6
AR SEM1450 14.5 B EHR R SEM1830 18.3 2 Btk SEM2310 23.1 4 B R SEM2790 27.9 6
R EhR SEM1460 14.6 A Eh X Eh R SEM1840 18.4 2 Bhstshs SEM2320 23.2 4 EHrstEh SEM2800 28.0 6
AR SEM1470 14.7 A AR SEM1850 18.5 2 BHstehR SEM2330 23.3 4 BHiztehR SEM2810 28.1 7
AR SEM1480 14.8 A EHR R SEM1860 18.6 2 B R SEM2340 23.4 4 B R SEM2820 28.2 7
ERREhR SEM1490 14.9 A EhEhR SEM1870 18.7 2 BHrstehk SEM2350 235 4 EHrstehs SEM2830 28.3 7
AR SEM1500 15.0 A Rk SEM1880 18.8 2 R R SEM2360 23.6 4 EHstehR SEM2840 28.4 7
FRRER SEM1510 15.1 A R R SEM1890 18.9 2 B R SEM2370 23.7 4 Bt SEM2850 28.5 7
AR SEM1520 15.2 A LCETENETES SEM1900 19.0 2 BRI R SEM2380 23.8 4 BRI R SEM2860 28.6 7
AR SEM1530 15.3 A EHR R SEM1910 19.1 2 R SEM2390 23.9 4 EHistehk SEM2870 28.7 7
R EhR SEM1540 15.4 A ERX R SEM1920 19.2 2 Bhstshs SEM2400 24.0 4 Bhstshs SEM2880 28.8 7
AR SEM1550 15.5 A Rk SEM1930 19.3 2 BHstehR SEM2410 24.1 5 BHiztehR SEM2890 28.9 7
FRER SEM1560 15.6 A JERR R SEM1940 19.4 2 Bt R SEM2420 24.2 5 Btk SEM2900 29.0 7
EhRshR SEM1570 15.7 A EhRX R SEM1950 19.5 2 BHrstehs SEM2430 24.3 5 BHrstshs SEM2910 29.1 7
AR SEM1580 15.8 A CETENETES SEM1960 19.6 2 R R SEM2440 24.4 5 stk SEM2920 29.2 7
EhEhR SEM1590 15.9 1 Eh X EhR SEM1970 19.7 2 Bzt SEM2450 24.5 5 Ehieh SEM2930 29.3 7
AR SEM1600 16.0 1 CETENETES SEM1980 19.8 2 BRI R SEM2460 24.6 5 BRI R SEM2940 29.4 7
EH R SEM1610 16.1 1 CETENEES SEM1990 19.9 2 Btk SEM2470 24.7 5 B R SEM2950 29.5 7
ERI 5 SEM1620 16.2 1 EhRX R SEM2000 20.0 8] BHrstehs SEM2480 24.8 5 Bzt SEM2960 29.6 7




SEM INSERTS
SEMEE#hhR

SEMINSERTS
SEMEmEththR

o SEN\D FI_ -HZ - AC7315 _‘%:_ﬁi %IE\IA'S;I]MI;EQEO UEIDEARBEAEN TPBEERINNT L, ik
HWEE D RV BELEIZDTUERMELIE, IUEREENTIER.

P KNS H AC3220 EmBRaNE B ARRNIELVESLIMERE, BILREDIEIOKD

le[olo] [ [ | EARBMMREILIN T PINEEER. E
AC7320 B BAEMBHIESSESME LBESANSRSHTAIN BE, \

ZEREBRENSLEENE, FEEPNEESEMERRKE. 15
MAHEERFE NN T PEEBRENMWEE.

ERaE RIS RISE tIHIERE TERY EmE RIS RIS HIERE DERY
B iR SEM2970 29.7 7 AR R SEM3090 30.9 8 -
RN R SEM2980 29.8 7 ERREER SEM3100 31.0 8
BRI R SEM2990 29.9 7 BRI R SEM3110 31.1 8
Ehsthe SEM3000 30.0 7 Ehsths SEM3120 31.2 8 oSEMZIF/ - HM - AC7320
JERREER SEM3010 30.1 8 R R SEM3130 31.3 8
FRXEER SEM3020 30.2 8 B R SEM3140 31.4 8
BRI % SEM3030 30.3 8 R RER SEM3150 31.5 8 ”
JERREER SEM3040 30.4 8 R R SEM3160 31.6 8 2
AR SEM3050 30.5 8 EHi R SEM3170 31.7 8 EmaE MRS BYSR IHIERE DERY EmaHE RABEYSR tIHIEAE DERY g
R R SEM3060 30.6 8 R R SEM3180 31.8 8 =3
R gk SEM3070 30.7 8 R R SEM3190 31.9 8 B EhR SEM1250 12.5 C R SEM1630 16.3 1 %
B R SEM3080 30.8 8 B R SEM3200 32.0 8 ER iR SEM1260 12.6 c B R SEM1640 16.4 1
BRREER SEM1270 12.7 C FRRER SEM1650 16.5 1
BRI EhR SEM1280 12.8 c BRI R SEM1660 16.6 1
ERREER SEM1290 12.9 C ERRXER SEM1670 16.7 1
R R SEM1300 13.0 © ERREER SEM1680 16.8 1
o /A%HZ . /A’-FE” JEETEN S SEM1310 13.1 c EHR R SEM1690 16.9 1
ERREER SEM1320 13.2 © FRREER SEM1700 17.0 1
D14l NZEhS R R SEM1330 13.3 C ERREER SEM1710 17.1 1
12.5-1 0.000/—0.027 iﬁﬁiﬁ%ﬁ% SEM1340 13.4 © }Eﬁ‘iit%ﬁé'e SEM1720 17.2 1
BRREER SEM1350 13.5 C ERRER SEM1730 17.3 1
>18-30 +0.000/-0.033 BRI EhR SEM1360 13.6 B BRI R SEM1740 17.4 1
>30-32 +0.000/-0.039 B R SEM1370 13.7 B B R SEM1750 17.5 1
BRRR SEM1380 13.8 B ERREER SEM1760 17.6 1
BRI R SEM1390 13.9 B ERRXEER SEM1770 17.7 1
=1 EE A . . . Ex . A, BRI R SEM1400 14.0 B RHEER SEM1780 17.8 1
- *%i%{hﬁ%ﬁ%ﬁm%ﬂﬁ SEM HZ%;::LJ 7|‘7_|';-\ Ac7315 W/? /A%U BRI R SEM1410 14.1 B ERREER SEM1790 17.9 1
ERREER SEM1420 14.2 B FRRXEER SEM1800 18.0 1
-~ N FHEh R SEM1430 14.3 B BEHshR SEM1810 18.1 2
;?JJEE‘YC’ BHEER SEM1440 14.4 B ERRR SEM1820 18.2 2
E&(m/min) -
MR8 RIEEEHEBEGRT) ISR SEM1450 14.5 B BRI SEM1830 18.3 2
JERREER SEM1460 14.6 A ERREER SEM1840 18.4 2
RME | DBE | ZXE 12.5 16.0 20.0 25.4 32.0 EEnE TN SEM1470 14.7 A BRI R SEM1850 18.5 2
FRR R SEM1480 14.8 A FRRER SEM1860 18.6 2
{REE4 100 100 120 =R/ 0.15-0.31 0.17-0.36 0.19-0.41 0.25-0.53 0.29-0.60 FHREh R SEM1490 14.9 A BHRRXhR SEM1870 18.7 2
P R R 80 95 110 | =4 | 0.15-0.31 0.17-0.36 | 0.19-0.41 | 0.25-0.53 | 0.29-0.60 CHESIES SEM1500 15.0 A CHESIES SEM1880 18.8 2
B R SEM1510 15.1 A ERR R SEM1890 18.9 2
(A=t 65 70 80 =/ | 0.15-0.31 0.17-0.36 0.19-0.41 0.25-0.53 0.29-0.60 R P—— 150 \ ERteke P — 190 5
BEREREN 30 60 90 EHR/E 0.09-0.14 0.11-0.17 0.13-0.20 0.16-0.25 0.18-0.28 R R SEM1530 15.3 A ERREER SEM1910 19.1 2
B B 4/ 7 TR 30 50 90 | s/ | 0.09-0.14 | 0.11-0.17 | 0.13-0.20 | 0.16-0.25 | 0.18-0.28 Bk SEM1540 15.4 A BRI SEM1920 19.2 2
WA R 20 40 60 =/t | 0.09-0.14 0.11-0.17 0.13-0.20 0.16-0.25 0.18-0.28 AR SEM1550 155 A SEHA SR SEM1930 19.3 2
FRR R SEM1560 15.6 A AR SEM1940 19.4 2
REES 90 135 175 | =k | 0.17-0.35 0.21-042 0.25-0.48 0.31-0.59 0.37-0.70 Ehstese SEM1570 15.7 A ERstsh L SEM1950 19.5 >
K R B 90 110 125 | =4t | 0.17-0.33 0.21-0.41 0.25-0.48 0.31-0.59 0.37-0.70 R R SEM1580 15.8 A RHER SEM1960 19.6 2
. e RN R SEM1590 15.9 1 JERREER SEM1970 19.7 2
SEREEREY 40 95 125 | =/ | 0.18-0.36 0.20-0.41 0.21-0.44 0.23-0.48 0.25-0.53 B SEM1600 160 ; r—— SEM1980 108 >
FRRXEER SEM1610 16.1 1 FRREER SEM1990 19.9 2
BRI R SEM1620 16.2 1 BRI EER SEM2000 20.0 3




SEM INSERTS SEMINSERTS
SEMEE R SEMEEHhhx

o SEMJJE - HM - AC7320-%& o SEMJJE - HM - AC7320-%&

HONEEE HONEEE

ERE RIS EISE HIERE DERY EmE RIS RIS IHIERE DERY ERE RIS EISE IHIELE TERY EmE RIS RIS IHIERE DERY

ERREER SEM2010 20.1 3 BERREER SEM2490 24.9 5 R SEM2970 29.7 7 ERRXEER SEM3090 30.9 8

ERREER SEM2020 20.2 3 JERREhR SEM2500 25.0 5 ERREER SEM2980 29.8 7 ERREER SEM3100 31.0 8

B R SEM2030 20.3 3 BRI R SEM2510 25.1 5 BERREER SEM2990 29.9 7 BERREER SEM3110 31.1 8

FRREER SEM2040 20.4 3 FRRXEER SEM2520 25.2 5 FRRXEER SEM3000 30.0 7 FRREER SEM3120 31.2 8

R R SEM2050 20.5 3 FRREER SEM2530 25.3 5 R R SEM3010 30.1 8 R R SEM3130 31.3 8

ERRXEER SEM2060 20.6 3 FRXER SEM2540 25.4 5 B R SEM3020 30.2 8 B R SEM3140 31.4 8

BRI R SEM2070 20.7 3 BRI R SEM2550 25.5 5 BRI R SEM3030 30.3 8 BRI R SEM3150 31.5 8 ”
B R SEM2080 20.8 3 ERREE R SEM2560 25.6 5 FRREER SEM3040 30.4 8 JERREER SEM3160 31.6 8 S
R SEM2090 20.9 3 ERRR SEM2570 25.7 5 ERRR SEM3050 30.5 8 ERRR SEM3170 31.7 8 g
ERREER SEM2100 21.0 3 JERREhR SEM2580 25.8 5 R R SEM3060 30.6 8 R R SEM3180 31.8 8 2
BRI R SEM2110 21.1 3 RHRR R SEM2590 25.9 5 BN R SEM3070 30.7 8 RRR R SEM3190 31.9 8 %
FRRER SEM2120 21.2 3 FRRXEHR SEM2600 26.0 5 iR SEM3080 30.8 8 FRREHR SEM3200 32.0 8

B R SEM2130 21.3 3 B EER SEM2610 26.1 6

FRRXEER SEM2140 21.4 3 FRXEER SEM2620 26.2 6

ERREER SEM2150 21.5 3 RN R SEM2630 26.3 6

B R SEM2160 21.6 3 ERIREE R SEM2640 26.4 6

EHR R SEM2170 21.7 3 EHR %R SEM2650 26.5 6 o NEHM - 1Nl

TR R SEM2180 21.8 3 JERIR R SEM2660 26.6 6

B R SEM2190 21.9 3 ER A shR SEM2670 26.7 6 D1 &l NERS

FRRER SEM2200 22.0 3 JER R SEM2680 26.8 6 12.5_1 +0.000/-0.027

B R SEM2210 22.1 4 BRI HhR SEM2690 26.9 6

ERi R SEM2220 22.2 4 ke EN SEM2700 27.0 6 >18-30 +0.000/70.033

Btk SEM2230 22.3 4 B R SEM2710 27.1 6 =>30-32 +0.000/-0.039

ERRXEER SEM2240 22.4 4 ERIRXEE R SEM2720 27.2 6

FRRER SEM2250 22.5 4 FRREER SEM2730 27.3 6

BRI R SEM2260 22.6 4 R gh SEM2740 27.4 6 o *ﬁiﬁ{hﬁ%ﬁ%%ﬁé%ﬂ)ﬂr - SEM - HN\%@ . JH":"@T Ac7320 - |j§|>§ . /Al‘—_ﬁu

ERREER SEM2270 22.7 4 BRI R SEM2750 27.5 6

ERREER SEM2280 22.8 4 R R SEM2760 27.6 6

Btk SEM2290 22.9 4 BRRER SEM2770 27.7 6 RNV Al

R AR SEM2300 23.0 4 R R SEM2780 27.8 6 EEE(m/min)

Btk SEM2310 23.1 4 Ehstes SEM2790 27.9 6 M4 E RIEESEREBRT)

ERRXEER SEM2320 23.2 4 ERXEER SEM2800 28.0 6

BRI R SEM2330 23.3 4 BRI R SEM2810 28.1 7 RME | DBE | RAE 12.5 16.0 20.0 25.4 32.0

BRI R SEM2340 23.4 4 B R SEM2820 28.2 7

ERtsEL SEM2350 235 4 ERtsEL SEM2830 28.3 7 R RGN 30 60 90 =p/5E 0.09-0.14 0.11-0.17 0.13-0.20 0.16-0.25 0.18-0.28

R R SEM2360 23.6 4 BHRRER SEM2840 28.4 7 M B R /51 R G4 30 50 90 =3/ | 0.09-0.14 0.11-0.17 0.13-0.20 0.16-0.25 0.18-0.28

R sk SEM2370 23.7 4 R8sk SEM2850 28.5 / WAE 454 20 40 60 =K /5E 0.09-0.14 0.11-0.17 0.13-0.20 0.16-0.25 0.18-0.28

ERRER SEM2380 23.8 4 FRREER SEM2860 28.6 7

B R SEM2390 23.9 4 B R SEM2870 28.7 7

FRRXEER SEM2400 24.0 4 ERXEER SEM2880 28.8 7

ERREER SEM2410 24.1 5 R R SEM2890 28.9 7

BRI R SEM2420 24.2 5 ERHshR SEM2900 29.0 7

FRREER SEM2430 24.3 5 FRREER SEM2910 29.1 7

R R SEM2440 24.4 5 JERREER SEM2920 29.2 7

ERRXEER SEM2450 24.5 5 BERREER SEM2930 29.3 7

FRREER SEM2460 24.6 5 FRREER SEM2940 29.4 7

B R SEM2470 24.7 5 B R SEM2950 29.5 7

FRRXEER SEM2480 24.8 5 FRREER SEM2960 29.6 7




SEMINSERTS
SEMEEHhR

o SEMZJH - HQ - ACPM45-5

HONEEE

SEM INSERTS
SEMEEt#hhR

SEM HQ ACPMASEDHIZDFEERSMIEM BRI TP B LN T HRE, Baen
MIME, BEHMEKE.

ACPM45 #8, TIAIN BEXBE)HBRENEREME . NETH DM
B, Eone, FIBSHRERMENNTIER,

2|
EmaE IR EUSE IR DERY EEmSE FRIREUSE LIHIEE JERY

ERRXEER SEM2010 20.1 3 ERRXEER SEM2490 24.9 5

BRI R SEM2020 20.2 3 BRI R SEM2500 25.0 5

© SEN\DH‘ - HQ - ACPMA45 SN TS SEM2030 20.3 3 ERR#ER SEM2510 25.1 5

FRREER SEM2040 20.4 3 FRREER SEM2520 25.2 5

P MK NS H B R SEM2050 20.5 3 R R SEM2530 25.3 5

FRXER SEM2060 20.6 3 ERXEER SEM2540 25.4 5
” R AEER SEM2070 20.7 3 BRI R SEM2550 25.5 5 ”
S R R SEM2080 20.8 3 EHR SEM2560 25.6 5 S
g ERBE R ELSE IHIER TEERY ER3E FRIS ISR B DERY =k -2 SEM2090 20.9 3 BRI SEM2570 25.7 5 g
2 )RR SEM2100 21.0 3 )RR SEM2580 25.8 5 2
3 ISErEvES SEM1250 12.5 c CETENEES SEM1630 16.3 1 BRI R SEM2110 21.1 3 B SEM2590 25.9 5 2

EHIR AR SEM1260 12.6 c ETENETES SEM1640 16.4 1 BRI R SEM2120 21.2 3 BRI R SEM2600 26.0 5

LETEN S SEM1270 12.7 c B EER SEM1650 16.5 1 R SEM2130 21.3 3 EHsteR SEM2610 26.1 6

ERIR SR SEM1280 12.8 c LCETENEIES SEM1660 16.6 1 BRI R SEM2140 21.4 3 BRI R SEM2620 26.2 6

EHIR AR SEM1290 12.9 c CETENETES SEM1670 16.7 1 BRI R SEM2150 21.5 3 BRI R SEM2630 26.3 6

AR SEM1300 13.0 c CETENEES SEM1680 16.8 1 Btk SEM2160 21.6 3 R R SEM2640 26.4 6

EHIR R SEM1310 13.1 c CETENEIES SEM1690 16.9 1 BRI R SEM2170 21.7 3 BRI R SEM2650 26.5 6

R AR SEM1320 13.2 c CETENETES SEM1700 17.0 1 EHR R SEM2180 21.8 3 stk SEM2660 26.6 6

ERIF SR SEM1330 13.3 c ETENEES SEM1710 17.1 1 BRI R SEM2190 21.9 3 IR SEM2670 26.7 6

EHIR AR SEM1340 13.4 c CETENETES SEM1720 17.2 1 BRI R SEM2200 22.0 3 BRI R SEM2680 26.8 6

R AR SEM1350 13.5 c CETENEES SEM1730 17.3 1 EHR R SEM2210 221 4 EHistehk SEM2690 26.9 6

EHI R SEM1360 13.6 B LETENETES SEM1740 17:4 1 BRI R SEM2220 22.2 4 BRI R SEM2700 27.0 6

EHR AR SEM1370 13.7 B CETENEES SEM1750 17.5 1 BRI R SEM2230 22.3 4 Btk SEM2710 27.1 6

IETEN S SEM1380 13.8 B B shR SEM1760 17.6 1 R SEM2240 22.4 4 R SEM2720 27.2 6

EHIR AR SEM1390 13.9 B CETENETES SEM1770 17.7 1 BRI R SEM2250 225 4 BRI R SEM2730 27.3 6

AR SEM1400 14.0 B R R SEM1780 17.8 1 BRI R SEM2260 22.6 4 stk SEM2740 27.4 6

EHIF R SEM1410 14.1 B ETENEES SEM1790 17.9 1 BRI R SEM2270 22.7 4 BRI R SEM2750 27.5 6

R AR SEM1420 14.2 B CETEN:TES SEM1800 18.0 1 R R SEM2280 22.8 4 BRI R SEM2760 27.6 6

AR SEM1430 14.3 B EHR R SEM1810 18.1 2 B R SEM2290 22.9 4 BHsER SEM2770 27.7 6

EHIR R SEM1440 14.4 B LCETENETES SEM1820 18.2 2 BRI R SEM2300 23.0 4 BRI R SEM2780 27.8 6

FEHR AR SEM1450 14.5 B CETEN:ES SEM1830 18.3 2 R SEM2310 23.1 4 EHistehR SEM2790 27.9 6

ERIFER SEM1460 14.6 A LETENEIES SEM1840 18.4 2 BRI R SEM2320 23.2 4 BRI R SEM2800 28.0 6

EHIR AR SEM1470 14.7 A CETENETES SEM1850 18.5 2 B SEM2330 23.3 4 BRI R SEM2810 28.1 7

AR SEM1480 14.8 A EHR R SEM1860 18.6 2 Btk SEM2340 23.4 4 Btk SEM2820 28.2 7

EHI R SEM1490 14.9 A CETENEIES SEM1870 18.7 2 BRI SEM2350 23.5 4 BRI R SEM2830 28.3 7

EHR AR SEM1500 15.0 A CETEN:TES SEM1880 18.8 2 R R SEM2360 23.6 4 EHstehR SEM2840 28.4 7

LETEN S SEM1510 15.1 A IR SEM1890 18.9 2 IR SEM2370 23.7 4 st R SEM2850 28.5 7

EHI AR SEM1520 15.2 A LETENETES SEM1900 19.0 2 BRI R SEM2380 23.8 4 BRI R SEM2860 28.6 7

EHR R SEM1530 15.3 A RHR R SEM1910 19.1 2 R SEM2390 23.9 4 EHistehk SEM2870 28.7 7

ISErEvES SEM1540 15.4 A ETENEIES SEM1920 19.2 2 BRI R SEM2400 24.0 4 BRI R SEM2880 28.8 7

R AR SEM1550 15.5 A CETENCIES SEM1930 19.3 2 B SEM2410 24.1 5 BRI R SEM2890 28.9 7

R AR SEM1560 15.6 A CETENES SEM1940 19.4 2 Btk SEM2420 24.2 5 Btk SEM2900 29.0 7

EHI R SEM1570 15.7 A ETENEIES SEM1950 19.5 2 BRI SEM2430 24.3 5 BRI R SEM2910 29.1 7

R AR SEM1580 15.8 A CETEN:ES SEM1960 19.6 2 R R SEM2440 24.4 5 stk SEM2920 29.2 7

ERI SR SEM1590 15.9 1 ETENEES SEM1970 19.7 2 BRI SEM2450 24.5 5 BTG SEM2930 29.3 7

R SEM1600 16.0 1 CETENETES SEM1980 19.8 2 BRI R SEM2460 24.6 5 BRI R SEM2940 29.4 7

AR SEM1610 16.1 1 RHR R SEM1990 19.9 2 R SEM2470 24.7 5 EHiztehk SEM2950 29.5 7

AR SEM1620 16.2 1 ETENES SEM2000 20.0 3 BRI R SEM2480 24.8 5 BRI R SEM2960 29.6 7




SEM INSERTS
SEMEE#hhR

o SEMZJH - HQ - ACPM45-%&

P[]
[ ]
ER2E FRIgESE HIERE DERY ER2E RIS RIS HIERE DERY
ER X shR SEM2970 29.7 7 JEhNEh R SEM3090 30.9 8 E
BRR SEM2980 29.8 7 BRR SEM3100 31.0 8
BrztehR SEM2990 29.9 7 BrztehR SEM3110 31.1 8 E 'l A
X EhR SEM3000 30.0 7 BRshR SEM3120 31.2 8
B SEM3010 30.1 8 B she SEM3130 31.3 8
RHRX R SEM3020 30.2 8 RHRX R SEM3140 31.4 8 AN 0 = =+ A
=% R R SEM3030 30.3 8 R R SEM3150 31.5 8 EEE | E%E*u E.I.igﬁL%IEEI‘JTE%én |
% S B s SEM3040 30.4 8 B she SEM3160 31.6 8
L = v a 71s E 71
%% ER A shR SEM3050 30.5 8 BRI shR SEM3170 31.7 8 s . . . e
=32 stk SEM3060 30.6 8 BHstehR SEM3180 31.8 8 SEM@H%%EQ%@’%}:%‘E&, EEEKE’J?},M
§ﬁg Eiatein SEM3070 50.7 . prrryryy SEM3190 S 8 SEM TEZ R PR LR BREHAER, WRSEFERKE
a = . (=1 . . = o .
JERREER SEM3080 30.8 8 R R SEM3200 32.0 8 Zrm)REREE, SAERTIA
A EK R AIER & SRR LS
ZigIHER SEM BIRIFHE5TE
HEEIFE RIS
EEPEERIEFLINT
o NEHQ - Al
D14l AN#Eh8
12.5-1 +0.000/-0.027
>18-30 +0.000/-0.033
>30-32 +0.000/-0.039
P % TR B O O | e VA
o fRIRIVIBEESE R - SEM - HQERL - $48 ACPM45 - RS - Al
AN
g%mﬁrg(vc)
& &(m/min) P
(Zp Sayic] RiEECHEREGRT)
=ME | BE | FAE 12.5 16.0 20.0 25.4 32.0
(RRE 90 100 | 110 | = | 0.14-0.23 0.17-0.25 0.19-0.29 | 0.23-0.38 0.26-0.43 R VRS FLIREE AR 12xD
T/ R 80 90 100 | =4t | 0.17-0.23 0.19-0.25 0.22-0.29 | 0.29-0.38 0.32-0.43 SHFLERSEEA 12,5-40mm
s ¢ 55 65 75 =k | 0.14-0.20 0.15-0.23 0.17-0.25 | 0.23-0.34 0.26-0.38 SR~
A L B ST S e R NLFE T AFEMLE
S/ TEN 50 65 70 =R/ | 0.11-0.20 0.13-0.23 0.14-0.25 | 0.18-0.34 0.21-0.38 &R BN T R
B AR R 45 50 60 =/ | 0.08-0.11 0.10-0.13 0.11-0.14 | 0.14-0.18 0.15-0.20
EE%?;& 45 55 65 | =k | 0.11-0.17 0.13-0.18 0.14-0.20 | 0.18-0.28 0.21-0.31




SEMDRILL1.5D SEMDRILL 3D
SEME=ththtt 1.5 D SEMEBhtatt 3 D

rpameEoe moamcE
3 554 % o i :, %/9 =] o
EEEES AR EDOETIRE . KT, PR LD EEEL. K.

Bo
iB=
Ay
LY SEM - WDAR - 1.5xD - A 0 SEM - WDHE « 3xD - A%l
D/mm L/mm L1/mm Ls/mm Ds/mm TERY D/mm L/mm L1/mm Ls/mm Ds/mm TDERY
1.5 x DEYSE MIN MAX RF IR 3 x DEUSE MIN MAX RF IR
SEM125R1.5WD16M| 12.5 13.6 89 23.5 45 16 C T5x160 M2.5/M2.5x13 SEM125R3WD16M 12.5 13 109 39 45 16 C T5x160 M2.5/M2.5x13
SEM136R1.5WD16M| 13.51 14.6 90 24.8 45 16 B T6x160 M3/M2.5x14 SEM130R3WD16M 13 13.5 109 39 45 16 (o] T5x160 M2.5/M2.5x13
SEM146R1.5WD20M| 14.51 16 103.5 30.5 50 20 A T6x160 M3/M2.5x14 SEM136R3WD16M | 13.51 14 111 42 45 16 B T6x160 M3/M2.5x14
SEM160R1.5WD20M 16 18.1 103.5 30.5 50 20 1 T7x185 M3.5/M2.5x16 SEM140R3WD16M 14 14.5 111 42 45 16 B T6x160 M3/M2.5x14
SEM181R1.5WD25M| 18.01 20 119 36 56 25 2 H2x210 M4/M3x19 SEM146R3WD16M 14.51 15 126 46 50 20 A T6x160 M3/M2.5x14
SEM200R1.5WD25M| 20 22.1 122 39 56 25 3 H2x210 M4/M3x19 SEM150R3WD20M 15 15.87 126 46 50 20 A T6x160 M3/M2.5x14
SEM221R1.5WD25M| 22.01 24 1 126 41 56 25 4 H2x210 M4/M3x19 SEM160R3WD20M 15.88 17 129 49 50 20 1 T7x185 M3.5/M2.5x16
SEM241R1.5WD32M| 24.01 26.1 138.5 45 60 32 5 H2.5x240 M5/M4x23 SEM170R3WD20M 17 18 132 52 50 20 1 T7x185 M3.5/M2.5x16
SEM261R1.5WD32M| 26.01 28.1 141.5 48 60 32 6 H2.5x240 M5/M4x23 SEM181R3WD25M | 18.01 19 147 55 56 25 2 H2x210 M4/M3x19
SEM281R1.5WD32M| 28.01 30.1 147 53.5 60 32 7 H3x265 M6/M5x28 SEM190R3WD25M 19 20 151 58 56 25 2 H2x210 M4/M3x19
SEM301R1.5WD32M| 30.01 32.1 149.5 56 60 32 8 H3x265 M6/M5x28 SEM200R3WD25M 20 21 154 61 56 25 3 H2x210 M4/M3x19
SEM210R3WD25M 21 22 157 64 56 25 3 H2x210 M4/M3x19
SEM221R3WD25M 22.01 23 161 68 56 25 4 H2x210 M4/M3x19
SEM230R3WD25M 23 24 163 70 56 25 4 H2x210 M4/M3x19
SEM241R3WD32M | 24.01 25 176 73 60 32 5 H2.5x240 M5/M4x23
SEM250R3WD32M 25 26 179 76 60 32 5 H2.5x240 M5/M4x23
SEM261R3WD32M 26.01 27 182 79 60 32 6 H2.5x240 M5/M4x23
SEM270R3WD32M 27 28 184 81 60 32 6 H2.5x240 M5/M4x23
SEM281R3WD32M 28.01 29 189 86 60 32 7 H3x265 M6/M5x28
SEM290R3WD32M 29 30 192 89 60 32 7 H3x265 M6/M5x28
SEM301R3WD32M 30.01 31 195 92 60 32 8 H3x265 M6/M5x28
SEM310R3WD32M 31 32 198 95 60 32 8 H3x265 M6/M5x28

SN @D

)
2
o
=3
=3
73

©

=
o

e



SEMDRILL 8D
SEME= thth 8 D

FEBRREREERREDA.
JTREEER, F2BDREER.
RPRER—AFEPNERIRE, KRF.

SEMDRILL 5D
SEMEREH#aH 5D

PrEERREREERRDA .
TRBEER, F2BDAEER.
RPEEEGR—-RAFEAPLVHRRE., RF.

il

%)
S
o
=1
=3
73

©

=
o

o

© SEM - WD#R - 5xD - A\

o SEM - WD#R - 8xD - 2\4l

-~
w D/mm L/mm L1/mm Ls/mm Ds/mm TERY D/mm L/mm L1/mm Ls/mm Ds/mm TERY
5 x DEUSE MIN MAX RF IR 8 x DEUSE MIN MAX RF HE IR

SEM125R5WD16M 12.5 13 133 65 45 16 C T5x160 M2.5/M2.5x13 SEM125R8WD16M 12.5 13 172 104 45 16 C T5x190 M2.5/M2.5x13
SEM130R5WD16M 13 13.5 133 65 45 16 (o] T5x160 M2.5/M2.5x13 SEM130R8WD16M 13 13.5 172 104 45 16 (¢} T5x190 M2.5/M2.5x13
SEM136R5WD16M | 13.51 14 138 70 45 16 B T6x160 M3/M2.5x14 SEM136R8WD16M | 13.51 14 180 112 45 16 B T6x190 M3/M2.5x14
SEM140R5WD16M 14 14.5 138 70 45 16 B T6x160 M3/M2.5x14 SEM140R8WD16M 14 14.5 180 112 45 16 B T6x190 M3/M2.5x14
SEM146R5WD16M 14.51 15 156 76 50 20 A T6x160 M3/M2.5x14 SEM146R8WD16M 14.51 15 201 121 50 20 A T6x190 M3/M2.5x14
SEM150R5WD20M 15 15.87 156 76 50 20 A T6x160 M3/M2.5x14 SEM150R8WD20M 15 15.87 201 121 50 20 A T6x190 M3/M2.5x14
SEM160R5WD20M 15.88 17 161 81 50 20 1 T7x185 M3.5/M2.5x16 SEM160R8WD20M 15.88 17 209 129 50 20 1 T7x225 M3.5/M2.5x16
SEM170R5WD20M 17 18 166 86 50 20 1 T7x185 M3.5/M2.5x16 SEM170R8WD20M 17 18 217 137 50 20 1 T7x225 M3.5/M2.5x16
SEM181R5WD25M | 18.01 19 183 91 56 25 2 H2x210 M4/M3x19 SEM181R8WD25M | 18.01 19 237 145 56 25 2 H2x260 M4/M3x19
SEM190R5WD25M 19 20 189 96 56 25 2 H2x210 M4/M3x19 SEM190R8WD25M 19 20 246 153 56 25 2 H2x260 M4/M3x19
SEM200R5WD25M 20 21 194 101 56 25 3 H2x210 M4/M3x19 SEM200R8WD25M 20 21 254 161 56 25 3 H2x260 M4/M3x19
SEM210R5WD25M 21 22 199 106 56 25 3 H2x210 M4/M3x19 SEM210R8WD25M 21 22 262 169 56 25 3 H2x260 M4/M3x19
SEM221R5WD25M 22.01 23 205 112 56 25 4 H2x210 M4/M3x19 SEM221R8WD25M 22.01 23 270 177 56 25 4 H2x260 M4/M3x19
SEM230R5WD25M 23 24 209 116 56 25 4 H2x210 M4/M3x19 SEM230R8WD25M 23 24 278 185 56 25 4 H2x260 M4/M3x19
SEM241R5WD32M | 24.01 25 224 121 60 32 5 H2.5x240 M5/M4x23 SEM241R8WD32M | 24.01 25 296 193 60 32 5 H2.5x295 M5/M4x23
SEM250R5WD32M 25 26 229 126 60 32 5 H2.5x240 M5/M4x23 SEM250R8WD32M 25 26 304 201 60 32 5 H2.5x295 M5/M4x23
SEM261R5WD32M 26.01 27 234 131 60 32 6 H2.5x240 M5/M4x23 SEM261R8WD32M 26.01 27 312 209 60 32 6 H2.5x295 M5/M4x23
SEM270R5WD32M 27 28 238 135 60 32 6 H2.5x240 M5/M4x23 SEM270R8WD32M 27 28 319 216 60 32 6 H2.5x295 M5/M4x23
SEM281R5WD32M 28.01 29 245 142 60 32 7 H3x265 M6/M5x28 SEM281R8WD32M 28.01 29 329 226 60 32 7 H3x330 M6/M5x28
SEM290R5WD32M 29 30 250 147 60 32 7 H3x265 M6/M5x28 SEM290R8WD32M 29 30 337 234 60 32 7 H3x330 M6/M5x28
SEM301R5WD32M 30.01 31 256 153 60 32 8 H3x265 M6/M5x28 SEM301R8WD32M 30.01 31 345 242 60 32 8 H3x330 M6/M5x28
SEM310R5WD32M 31 32 260 157 60 32 8 H3x265 M6/M5x28 SEM310R8WD32M 31 32 353 250 60 32 8 H3x330 M6/M5x28




SEMDRILL 10D SEMDRILL ACCESSORIES
SEMEE##HF 10D SEMEEthEH

PrEERREREERRDA
TRBEER, F2BDREER.
ERIETRE R —ABXPINHEIRET, RF,

_ — i
o I S [ *f%‘* ] | /A o SEM - j:&?
L1 Ls
L
RF HEIR% drvs Lu
T5x160 M2.5/M2.5x13 T5 160.00
T5x190 M2.5/M2.5x13 T5 190.00
=9 e -T\t\i——a——-’ ?\-__\k e — T5x290 M2.5/M2.5x13 T5 290.00 =49
boh g m T6x160 M3/M2.5x14 T6 160.00 bk S
5 = - T6x190 M3/M2.5x14 T6 190.00 5 =
?ﬁ g ) I\ T6x290 M3/M2.5x14 T6 290.00 gﬁ %
O SEM - WD1{FK-|- - 10xD - L\%U T7x185 M3.5/M2.5x16 T7 185.00
T7x225 M3.5/M2.5x16 T7 225.00
T7x300 M3.5/M2.5x16 T7 300.00
H2x210 M4/M3x19 2mm 210.00
D/mm L/mm L1/mm Ls/mm Ds/mm TDERY H2x260 M4/M3x19 2mm 260.00
H2x345 M4/M3x19 2mm 345.00
10 x DEYSE MIN MAX RF HEIR4 H2.5x240 M5/M4x23 2.5mm 240.00
SEM125R5WD16M | 12.5 13 266 130 45 16 c T5x290 | M2.5/M2.5x13 H2.5x295 M5/M4x23 2.5mm 295.00
SEM130R5WD16M 13 13.5 266 130 45 16 © T5%x290 | M2.5/M2.5x13 H2.5x395 M5/M4x23 2.5mm 395.00
SEM136R5WD16M | 13.51 14 276 140 45 16 B T6x290 M3/M2.5x14 H3x265 M6/M5x28 3mm 265.00
SEM140R5WD16M 14 14.5 276 140 45 16 B T6x290 M3/M2.5x14 H3x330 M6/M5x28 3mm 330.00
SEM146R5WD16M | 14.51 15 312 152 50 20 A T6x290 M3/M2.5x14 H3x440 M6/M5x28 3mm 440.00
SEM150R5WD20M 15 15.87 312 152 50 20 A T6x290 M3/M2.5x14
SEM160R5WD20M | 15.88 17 322 162 50 20 1 T7x300 | M3.5/M2.5x16 Yt
SEM170R5WD20M 17 18 332 172 50 20 1 T7x300 | M3.5/M2.5x16 v Q%D FT
SEM181R5WD25M | 18.01 19 366 182 56 25 2 H2x345 M4/M3x19 1 0
SEM190R5WD25M 19 20 378 192 56 25 2 H2x345 M4/M3x19 L | R ) R A P T 50
SEM200R5WD25M | 20 21 388 202 56 25 3 H2x345 M4/M3x19 RREEDEEYEEEESE,
SEM210R5WD25M | 21 22 398 212 56 25 3 H2x345 M4/M3x19 Z—Eﬁiﬁﬁézﬁﬂﬁﬁﬁ%, 1%
SEM221R5WD25M | 22.01 23 410 224 56 25 4 H2x345 M4/M3x19 2. | RREBCEMTIREA.
SEM230R5WD25M 23 24 418 232 56 25 4 H2x345 M4/M3x19 — BRIDFE, WS EREFIR
SEM241R5WD32M | 24.01 25 448 242 60 32 5 H2.5x395 M5/M4x23 £, EEREMH.
SEM250R5WD32M | 25 26 458 252 60 32 5 H2.5x395 M5/M4x23 —
SEM261R5WD32M | 26.01 27 468 262 60 32 6 H2.5x395 M5/M4x23
SEM270R5WD32M | 27 28 476 270 60 32 6 H2.5x395 M5/M4x23
SEM281R5WD32M | 28.01 29 490 284 60 32 7 H3x440 M6/M5x28 O }EE’E %ﬁ;{ﬁ‘# H'ﬂ ,f,ﬁﬂ%
SEM290R5WD32M | 29 30 500 294 60 32 7 H3x440 M6/M5x28 o e N - o
SEM301R5WD32M | 30.01 a1 512 306 60 32 8 H3x440 M6E/MEx28 Hﬁﬂﬁéggjﬁﬁﬁﬁe JUEBEHEDBORMEERR, ETSERER, TRDBEDETEETESL. RBTIUERKRD
SEM310R5WD32M | 31 32 520 314 60 32 8 H3x440 M6/M5x28 CEH T RERERNTIE | a5 )



SEMDRILL CUTTING CONDITION
SEMEBHINT =4

SEMDRILL ACCESSORIES
SEMEEthfclH - =5l

TERFIEEADADRIBFATERE, DRUWEBRERNDERYT, SERBEE)
ILVAIRT 0,250mm(.0098")R T BRREEHAIERE, BIERBMOVEBILE, —E&E
SEl=piobiibal

ERBmENBS PRI, ARLRED, ERTSE2HESEBES - LHEEN

(reFEam) - BB (KW)

LE/IVE

TR KR AR RS R R DR . 0.250MmL009")
& —
8
E=2 B RIS RIS TDER E= LIHIBEE R8RSR TER 6
& _— if=0.18mm r"

492 12,50 SEM1250 c 844 21,43 SEM0844 3 5 =]
.500 12.70 SEM0500 © 847 21.50 SEM2150 3 -

B v 509 12.93 SEM0509 c .859 21,83 SEM0859 3 16 18 20 22 25 28 32 35 40

% g 512 13,00 SEM1300 C .866 22,00 SEM2200 3 o] 5@;:1@3% Ps[kW]

= 516 13,10 SEMO0516 c 875 22.23 SEMO875 4 EEREEdImmI

3
?I]ﬁ 531 13,50 SEM1350 ® .884 22,44 SEM0884 4 R R S 20EER
g 547 13.89 SEM0547 B 886 22.50 SEM2250 4 oL (KN)

551 14,00 SEM1400 B .906 23.00 SEM2300 4 3xD 8 bars
563 14,29 SEM0563 B 922 23.42 SEM0922 4 53D 2 bare
571 14.50 SEM1450 B 925 23.50 SEM2350 4
578 14,68 SEM0578 A 938 23,81 SEM0938 4 8xD 20 bars
591 15,00 SEM1500 A 945 24.00 SEM2400 4 10xD 30 bars
594 15,08 SEM0594 A .965 24.50 SEM2450 5
.609 15,48 SEM0609 A .969 24.61 SEM0969 5
610 15,50 SEM1550 A .984 25,00 SEM2500 5 = N e EEEED LM B
625 15,88 SEM0625 1 1,000 25,40 SEM1000 5 = f=025mm || R ) ) sl
.630 16,00 SEM1600 1 1.004 25.50 SEM2550 5 4000 sl /'\T—J%n%
634 16,09 SEM0634 1 1.011 25,67 SEM1011 5 L c 12.50-13.50 8.5 9.6
641 16,27 SEMO0641 1 1.024 26,00 SEM2600 5 2000 5 13.51-14.50 8.9 101
650 16,50 SEM1650 1 1.031 26,19 SEM1031 6 oL A 14511589 04 106
.656 16,67 SEM0656 1 1.043 26,50 SEM2650 6 16 18 20 22 25 28 32 35 40
.669 17,00 SEM1700 1 1.047 26,59 SEM1047 6 OERBAF kNI 1 15.90-18.00 10.3 11.6
672 17.07 SEMO0672 1 1.063 27,00 SEM2700 6 #5R B &d1imm] 5 18.01-19.99 112 126
.688 17.46 SEM0688 1 1.083 27,50 SEM2750 6 3 20.00-22.00 12.1 13.6
689 17,50 SEM1750 1 1.094 27,78 SEM1094 6 ©}H%E (Nm) 4 9 01-24.00 130 146
700 17,78 SEM0700 1 1.102 28,00 SEM2800 6 . 24.01-26.00 150 156
703 17.86 SEM0703 1 1.109 28,18 SEM1109 7
709 18,00 SEM1800 1 1122 28.50 SEM2850 7 6 26.01-28.00 14.8 16.6
719 18,26 SEM0719 2 1.125 28,58 SEM1125 7 7 28.01-30.00 15.7 17.6
728 18.50 SEM1850 2 1.142 29,00 SEM2900 7 8 30.01-32.00 16.6 18.6
734 18,65 SEM0734 2 1.156 29,37 SEM1156 7
748 19,00 SEM1900 2 1.161 29,50 SEM2950 7
750 19,05 SEM0750 2 1.172 29,77 SEM1172 7
759 19,27 SEM0759 2 1.181 30,00 SEM3000 7 100
.766 19,45 SEM0766 2 1.188 30,16 SEM1188 8 f=0-39mm# P
768 19.50 SEM1950 2 1.201 30,50 SEM3050 8 o ﬁh:ﬁzo.zsmm =
781 19.84 SEM0781 2 1.203 30,56 SEM1203 8 %ﬁ// —olemm
787 20,00 SEM2000 3 1.219 30,96 SEM1219 8 ] \—'—'—‘ CE:ZRIBRIFREEMRENINR, LD URHBESEER. M
297 2024 SEM0797 3 1 220 31,00 SEM3100 8 0 A16 T 5 i E#Efgij%h’U’fa‘éi@lﬁa\,%ﬁéqﬂﬂ'ﬂ@Xﬁfﬂ*ﬁﬂ&ﬂﬂli@ﬁqﬂﬂ'ﬂwﬁH?]iEIJ
.800 20,32 SEM0800 3 1.240 31,50 SEM3150 8 O4H%E Md Md (Nm] ?&Egrgzééﬂoowmm i
.807 20.50 SEM2050 3 1.250 31,75 SEM1250 8 O E 1 mm] RFAVERL)HIEE R:vc=80 m/min.
813 20,64 SEM0813 3 1.260 32,00 SEM3200 8
827 21,00 SEM2100 3




SEM Plus DRILL
SEM PlusE&

SEMPlus DRILL
SEM PlusE%

® SEM PLUSIEIR L& HEI D2

BPIEED SEM PLUSE R A T RS HHREHER, EREBRSEMEBENB@ELEURSRELLLD)RI HE{L
ENEBUHZEES, HERMUGSEHE—I . SEMPLUSR—RIERIBHITDER, REBTLZEINHSSDER, URE
KBESEDREVIE, SEMPLUST UL EMEREN DR, ERRFAILENDINAE FOSED, IUEESHDEL
ETER,

O £ZfEH

SEMPLUSERF 8. s, RFiFi. UREMRONTI., HESEBHRER HSS DEREANTELE, (A
FEMaEIL I TR, SEMPLUSESRNREEBEB28-101mm(1.102-4" |, EEHE1.5-10xD, EINERELSETHIS
MRBEANIMSEEEZNERGIN, ROKNBFRER RBARNIRE, KEURSHKEH. REURE, &, )

= o - SEM PLUS A1 7J58 DS fERIG AT
== ERNETUKIBIRS RIZS A , = ¥
= ERDETUABREEER RS FIVEMIITAEN O A3 E M.

B
&
A

wn %)
g 2
(w) )
= =
5 =1
2 73
8 ©
3 =
ot o

o

RS

O % FDS OB IR IVER

°* ERFERBBEDEMRMK CFRNERT, BITREE
it BRI HI T) A KB

° ARMEERERER, RUtTUREREFRLIDE
B,

o —EEBIUBEFEARENBERNER (EEMER
MRIBHY FOS EGE, —MEETRRESERBHVER
Lo

O SEM PLUS A1#&58

* SEBEKRE,
o EIFELIHIRY T, MAEEREBE,
o EBERBMAEBEAVTIEAL Dril Fix” DFTF

©O DFR /DFT /DFC AMAIZDK

° BENHEEMBRSNEBRRE
o ERBUHIFH T, HEEBHEENE
o JHEMIAIUESHENRENLEENILEREE

O MESRLDHEIZ)

® SEM PLUS ERERIEDPEMBETENLIHIZ)ZEIER

o HEEAIREMNTEAEML, £ERIUIRSI00%,

o SRELL, BEIEEERRK.5xD-10xD, RBHERR
THEFRIRESR.

O SEMPLUSS|E DK

° IBEAELR, TWERERILEMRL .

o ERTLIEALIEHEENLIR, SEMPLUSTIERIPI
DA AERLEEETBRNERS®,

o RICLLESXDARKEBEAFREEEIMRIE,

O EHIME - PLIR

o Ac7315%48, MUTIAIN BEEMBNNESERE,
IREFSRUHBEDSHKM, &M, #AE
HRRES N LER,

® Ac7320 1 ERALLAITIN BE MY PVD F
[, RABESRBmRNERNTER.

o ACPM45 48, TIAIN ES BB IRENEE
MEl. ET MDA, BHG, Eha,
KR ESTMERIMENNTER.

O Drill Fix SMBIZD =

® KCU25'MEB-BEB AR, RAETICN
-Al-CVD 2B, EREELRNNIERAPER
ROVERSED,

® KCU40#4E - TIAIn-PVD & EE, MEILR,
IEHE, EEI/MRN—RRENT.

® KC7140#18 - ATICN MR B ESE, XEPVD B
EBWEESE DA, IBEATF SEMPLUS JER
%, BEEEM. FHMMRNNT.

® KC7225%E - TIAIN PVD RE MR HIFESSH
¥, ISR, BREE, URKHRNT
PEBBNZ 2,

&

© DFTH] DFCHMEIZD = (DS RE &)

o ERUBHMRINIOES MV, BEM.

o TR, #NTARFM, URFEFIHRNESIELE
VB RIE NI TR

® 2t KCUAOMBESR,

O BFEHI

o RHPBRENIFEHEEER, RAETLTEI27mm,

o RIEZBERBUNFNIEER, RADTFRETE
1200mm, FERELLBIE20xDHVER DS BIREAEFRE,

° NiRTREtRIRIRERN, RMBRBENHBIEEEN
A RIEILA T

o R EATBEPIN DA NIEEE.,

® SEMPLUS ERTUREBEFEREH. BURBRBM,
ITRESTENEBUIHBRRSE,



SEM Plus DRILL SEM Plus DRILL
SEM Plus2Eth SEM PlusEEh

© SEM PLUS ERELIA KRR A1 DEN RS AL - B)

= . 5
$RU4SEM PLUS TIBR SERANREDARY o B IS RIASEM PLUS TJER SERBEGREDHRY 300 D D DA R IR
] L4 L1 E] L4 L1
! o &2l ot | cows SENe® | mEn |BRRY |(#RRY ) o T e ot | cows et | M |BRRY [#RRY
mm in DFR/DFT (mm) | (mm) mm in DFR/DFT (mm) [ (mm)
= 28.000 | 1.1024 | SEMP2800FDS28A1M | 14.000 | DFR040304D28 28 WD32FDS28076M 1.5xD 57 101 45.000 | 1.7717 | SEMP4500FDS45A1M | 18.000 | DFR070408D45 45 WD50FDS45112M 1.5xD 85 147 —
%g 28.575 | 1.1250 | SEMP1125FDS28A1 15.000 | DFR040304D28 28 WD32FDS28128M 3xD 96 153 46.000 | 1.8110 | SEMP4600FDS45A1M | 19.000 | DFR070408D45 45 WD50FDS45206M 3xD 152 236 %%
= 29.000 | 1.1417 | SEMP2900FDS28A1M | 15.000 | DFR040304D28 28 WD32FDS28190M 5xD 158 215 47.000 | 1.8504 | SEMP4700FDS45A1M | 20.000 | DFR070408D45 45 WD50FDS45304M 5xD 250 334 =
%% 29.362 | 1.1563 | SEMP1156FDS28A1 16.000 DFR040304D28 28 WD32FDS28283M 8xD 251 308 47.625| 1.8750 | SEMP1875FDS45A1 21.000 DFR070408D45 45 WD50FDS45451M 8xD 397 481 %%
Sz 30.000| 1.1811 | SEMP3000FDS28A1M | 16.000 DFR040304D28 28 WD32FDS28345M 10xD 313 370 48.000 | 1.8898 | SEMP4800FDS45A1M | 21.000 DFR070408D45 45 WD50FDS45549M 10xD 495 579 Bz
30.175| 1.1875 SEMP1188FDS28A1 17.000 DFR040304D28 28 SSF150FDS280299 1.5xD 57 101 49.000 | 1.9291 | SEMP4900FDS45A1M 22.000 DFR070408D45 45 SSF200FDS450441 1.5xD 85 147
30.963 | 1.2188 | SEMP1219FDS28A1 17.000 | DFR040304D28 28 SSF150FDS280502 3xD 9% 153 SSF200FDS450809 3xD 152 236
31.000 | 1.2205 | SEMP3100FDS28A1M | 17.000 | DFR040304D28 28 SSF150FDS280746 5xD 158 215 SSF200FDS451196 5xD 250 334
SSF150FDS281112 8xD 251 308 SSF200FDS451775 8xD 397 481
SRS S 10xD 313 370 SSF200FDS452161 10xD 4995 579
31.750 | 1.2500 | SEMP1250FDS32A1 | 15.000 | DFTO5T308D32 32 WD32FDS32082M 1.5xD 59 107 50.000 | 1.9685 | SEMP5000FDS50A1M | 23.000 | DFR070408D50 50 WD50FDS50122M 1.5xD 89 157
32.000 | 1.2598 | SEMP3200FDS32A1M | 15.000 | DFTO5T308D32 32 WD32FDS32146M 3xD 110 171 I L &L WRoORPSS0225M XD 0 gos
33.000 | 1.2992 | SEMP3300FDS32A1M | 16.000 | DFTO5T308D33 | 32 WD32FDS32216M 5xD 180 241 51.0001 2.0079 | SEMP5100FDS50ATM | 24.000 | DFR070408D50 | 50 WD50FDS50338M 5xD 280 373
52.000 | 2.0472 | SEMP5200FDS50A1M | 25.000 | DFR070408D50 50 WD50FDS50503M 8xD 445 538
22:222 :z?;; S;!J:f:?::;::::n :jggz E::g;zzsszzz Zz zvvgziszzzzz::: 180XXDD 2:: ?:2 53.000 | 2.0866 | SEMP5300FDS50A1M | 26.000 | DFR070408D50 50 WD50FDS50613M 10xD 555 648
34.000 | 1.3386 | SEMP3400FDS32A1M | 17.000 | DFTO5T308D33 | 32 SSF150FDS320323 | 1.5xD 59 107 22?)22 212:2 SSEEM“’;Z;SFFDDSS;(;’:LA z;ggg Eiggzgjgzgzz zg iiiigﬁiﬁiiﬁﬁgz ‘:’;D 18790 ;Z;
34.925 | 1.3750 | SEMP1375FDS32A1 18.000 | DFTO5T308D33 32 SSF150FDS320573 3xD 110 171 : : ' X
35.000 | 1.3780 | SEMP3500FDS32A1M | 18.000 | DFTO5T308D33 32 SSF150FDS320850 5xD 180 241 95.000 | 21654 | SEMPS500FDSS0ATM | 28.000 | DFR070408D50 50 zzzggig:gzzg ZXE iiz ZZ:
X
corovsman | w0 | | o
56.000 | 2.2047 | SEMP5600FDS56A1M | 20.000 | DFR090508D56 56 WD50FDS56140M 1.5xD 130 175
36.000 | 1.4173 | SEMP3600FDS36A1M | 13.000 | DFTO6T308D36 36 WD32FDS36092M 1.5xD 65 117 57000 | 2.2441 | SEMPE700FDS56ATM | 21000 | DFROS0508DS6 o WDSOFDSE6250M 50 101 204
36.525 | 1.4380 | SEMP1438FDS36A1 14.000 | DFTO6T308D36 36 WD32FDS36166M 3xD 122 191 57150 | 2.2500 | EMP2250FDS56AT 21000 | DFR0S0508DSS 5 WD50FDS56383M . 15 18
87.000 | 1.4567 | SEMP3700FDS36ATM | 14.000 | DFT06T308D36 36 WD32FDS36244M 5xD 200 269 58.000 | 2.2835 | SEMP5800FDS56A1M | 22.000 | DFR090508D56 56 WD50FDS56569M 8xD 501 604
87.500 1.4764 | SEMP3750FDS36ATM | 15.000 | DFTO6T308D36 36 WD32FDS36361M &b 817 386 59.000 | 2.3228 | SEMP5900FDS56A1M | 23.000 | DFR090508D56 56 WD50FDS56693M 10xD 625 728
38.000 | 1.4961 | SEMP3800FDS36ATM | 15.000 | DFTO6T308D36 36 WD32FDS36439M 10xD 395 464 60.000 | 2.3622 | SEMPB000FDS56A1M | 24.000 | DFR090508D56 56 SSF200FDS560551 1.5xD 130 175
38.100 | 1.5000 | SEMP1500FDS36A1 15.000 | DFTUBT308D36 36 SSF150FDS360362 | 1.5xD 65 117 60.330 | 2.3750 | SEMP2375FDS56A 24000 | DFR090508D56 56 SSF200FDS561020 3D 101 094
39.000 | 1.5354 | SEMP3900FDS36A1M | 16.000 | DFTO6T308D39 36 SSF150FDS360652 3xD 122 191 ey g7y ey ——— T Ry — g —— 56 O ——————— 50 315 e
39.200 | 1.5433 | SEMP3920FDS36A1M | 16.000 | DFTO6T308D39 36 SSF150FDS360960 5xD 200 269 62.000 | 2.4409 | SEMP6200FDS56A1M | 26.000 | DFR090508D56 56 SSF200FDS562240 8xD 501 604
39.700 | 1.5630 | SEMP1563FDS36A1 17.000 | DFTO6T308D39 36 SSF150FDS361421 8xD 317 386 ST EE0R s 628 728
SSF150FDS361728 | 10xD S s 63.000 | 2.4803 | SEMP6300FDS63A1M | 27.000 | DFR090508D63 63 WD50FDS63154M 1.5xD 111 194
40.000 | 1.5748 | SEMP4000FDS40A1M | 17.000 | DFT06T308D39 40 WD50FDS40100M 1.5xD 73 125 63.500 | 2.5000 | SEMP2500FDSE3A1 | 28.000 | DFR090508D63 63 WD50FDS63289M 3xD 274 329
41.000 | 1.6142 | SEMP4100FDS40A1M | 18.000 | DFTO6T308D39 40 WD50FDS40183M 3xD 137 213 64.000 | 2.5197 | SEMP6400FDS63A1M | 28.000 | DFR090508D63 63 WDS50FDS63429M 5xD 354 469
41.275 | 1.6250 | SEMP1625FDS40A1 18.000 | DFTO6T308D39 40 WD50FDS40271M 5xD 225 301 65.000 | 2.5591 | SEMP6500FDS63A1M | 29.000 | DFR090508D63 63 WD50FDS63639M 8xD 564 679
42.000 | 1.6535 | SEMP4200FDS40A1M | 19.000 | DFTO6T308D39 40 WD50FDS40403M 8xD 357 433 66.000 | 2.5984 | SEMP6600FDS63A1M | 30.000 | DFR090508D63 63 WD50FDS63779M 10xD 704 819
43.000 | 1.6929 | SEMP4300FDS40A1M | 20.000 | DFTO6T308D39 40 WD50FDS40491M 10xD 445 521 66.680 | 2.6250 | SEMP2625FDS63A1 31.000 | DFR090508D63 63 SSF200FDS630606 1.5xD 111 194
44.000 | 1.7323 | SEMP4400FDS40A1M | 21.000 DFTO6T308D44 40 SSF200FDS400394 1.5xD 73 125 67.000 | 2.6378 | SEMP6700FDS63A1M | 31.000 DFR090508D63 63 SSF200FDS631138 3xD 214 329
44.450 | 1.7500 | SEMP1750FDS40A1 22.000 DFTO6T308D44 40 SSF200FDS400721 3xD 137 213 68.000 | 2.6772 | SEMP6800FDS63A1M 32.000 DFR090508D63 63 SSF200FDS631688 5xD 354 469
SSF200FDS401066 5xD 225 301 69.000 | 2.7165 | SEMP6900FDS63ATM | 33.000 | DFR090508D63 63 SSF200FDS632515 8xD 564 679
SSF200FDS401586 8xD 357 433 69.850 | 2.7500 | SEMP2750FDS63A1 34.000 | DFR090508D63 63 SSF200FDS633066 10xD 704 819
SSF200FDS401933 10xD 445 521 70.000 | 2.7559 | SEMP7000FDS63A1M | 34.000 | DFR090508D63 63




SEMPLUS A1 Heads
AFA1ILNSEM PLUS 03N 7] H

O BTHER100% I NERZEM, SEMPLUSEBAEIISEMT] A REETIBE,

SEM Plus DRILL
SEM PlusE&

© SEM PLUS EERBIARER A1 DBEMAKALK - &)

= = ‘
= = = - 1S fiEeE @ CSWS EER Y .
IRHESEM PLUS TR BEBERNKREDART 3xD, 5xD, 8xD, 10xD (AR il 52) PMIKNISH PMIKNISH o 5
Py % g o] Jof [ ] ] Llel T[] ] o 1BE
D1 SEM PLUS \ =
o s PDF Drill Fix CSWs SEM PLUS ) ERL |BRRY|ERERT
i TREE RY DFR/DFT ANSIZI3R (mm) | (mm)
mm in HZ - AC7315 HM - AC7320 tHIERE RHEIEE DERY
= 71.000 | 2.7950 | SEMP7100FDS71A1M | 26.000 71 WD50FDS71172M 1.5xD 128 217
%g 72.000 | 2.8350 | SEMP7200FDS71A1M | 27.000 71 WD50FDS71292M 3xD 241 333 SEMP1300HZ SEMP1300HM 13.00 0.5118 c
D w)
= 73.000 | 2.8740 | SEMP7300FDS71A1M | 28.000 71 WD50FDS71452M 5xD 401 493 SEMP1400HZ SEMP1400HM 14.00 0.5512 B
g? 73.025 | 2.8750 | SEMP2875FD71A1 28.000 71 SSF200FDS710677 | 1.5xD 128 217 SEMP1500HZ SEMP1500HM 15.00 0.5906 A
o
Bl Z 74.000 | 2.9130 | SEMP7400FDS71A1M | 29.000 71 SSF200FDS711150 3xD 241 333 SEMP1600HZ SEMP1600HM 16.00 0.6299 1
75.000 | 2.9530 | SEMP7500FDS71A1M | 30.000 |4xDFT06T308D44 71 SSF200FDS711780 5xD 401 493 SEMP1700HZ SEMP1700HM 17.00 0.6693 1
76.000 | 2.9920 | SEMP7600FDS71A1M | 31.000 71 SEMP1800HZ SEMP1800HM 18.00 0.7087 1
76.200 | 3.0000 | SEMP3000FDS71A1 31.000 71 SEMP1900HZ SEMP1900HM 19.00 0.7480 2
77.000 | 3.0310 | SEMP7700FDS71A1M | 32.000 71 SEMP2000HZ SEMP2000HM 20.00 0.7874 3
78.000 | 3.0710 | SEMP7800FDS71A1M | 33.000 71 SEMP2100HZ SEMP2100HM 21.00 0.8268 3
79.000 | 3.1100 | SEMP7900FDS71A1M | 34.000 71 SEMP2200HZ SEMP2200HM 22.00 0.8661 3
79.375 | 3.1250 | SEMP3125FDS80A1 | 31.000 80 WD50FDS80192M 1.5xD 145 247 SEMP2300HZ SEMP2500HM 23.00 0.9055 4
80.000 | 3.1500 | SEMP8000FDS80ATM | 31.000 80 WD50FDS80327M 3xD 271 373 el Ll P DL S UL DERcE i
81.000 | 3.1890 | SEMP8100FDS80A1M | 32.000 80 WD50FDS80507M 5xD 451 553 SEMP2500HZ SEMP2500HM 25.00 0.9843 5
82.000 | 3.2280 | SEMP8200FDS80ATM | 33.000 80 SSF200FDS800756 | 1.5xD 145 247 SEMP2600HZ SEMP2600HM 26.00 1.0236 5
SEMP2700HZ SEMP2700HM 27.00 1.0630 6
83.000 | 3.2680 | SEMP8300FDS80ATM | 34.000 80 SSF200FDS801287 3xD 271 373
SEMP2800HZ SEMP2800HM 28.00 1.1024 6
82.550 | 3.2500 | SEMP3250FDS80A1 34.000 80 SSF200FDS801996 5xD 451 553
SEMP2900HZ SEMP2900HM 29.00 1.1417 7
84.000 | 3.3070 | SEMP8400FDS80A1M | 35.000 |[2xDFT06T308D44 80
SEMP3000HZ SEMP3000HM 30.00 1.1811 7
85.000 | 3.3070 | SEMP8500FDS80ATM | 36.000 & 80
o DFTO70408D50 SEMP3100HZ SEMP3100HM 31.00 1.2205 8
85.725 | 3.3750 | SEMP3375FDS80A1 37.000 |2x 80
SEMP3200HZ SEMP3200HM 32.00 1.2598 8
86.000 | 3.3860 | SEMP8600FDS80ATM | 37.000 80
87.000 | 3.4250 | SEMP8700FDS80A1M | 38.000 80
88.000 | 3.4650 | SEMP8800FDS80ATM | 39.000 80
88.900 | 3.5000 | EMP3500FDS80A1 40.000 80
89.000 | 3.5040 | SEMP8900FDS80ATM | 40.000 80 o NEHZ « N\l o NEHM - 1N\Fl
90.000 | 3.5430 | SEMP9000FDS90ATM | 37.000 90 WD50FDS90212M 1.5xD 160 272
91.000 | 3.5830 | SEMP9100FDS90A1M | 38.000 90 WD50FDS90362M 3xD 302 414 D1/ &l AEhS D14 & AZh8
92.000 | 3.6220 | SEMP9200FD906ATM | 39.000 90 WD50FDS90562M 5xD 502 614
4xDFT070408D50 x 12.5-1 +0.000/-0.027 12.5-1 +0.000/-0.027
92.075 | 3.6250 | SEMP3625FDS90A1 39.000 90 SSF200FDS900835 | 1.5xD 160 272 5-30 5.000/-0.033 5-30 5.000/-0.033
93.000 | 3.6610 | SEMP9300FDS90ATM | 40.000 90 SSF200FDS901425 3xD 302 414 = 1o . = = 1o . —
SSF200FDS902213 5xD 502 614 >30-32 +0.000/-0.039 >30-32 +0.000/-0.039
94.000 | 3.7010 | SEMP9400FDS90ATM | 26.000 90
95.000 | 3.7400 | SEMP9500FDS90A1M | 27.000 90
95.250 | 3.7500 | SEMP3750FDS90A1 27.000 90
96.000 | 3.7800 | SEMP9600FDS90ATM | 28.000 90
97.000 | 3.8190 | SEMP9700FDS90ATM | 29.000 90
6xDFT06T308D44
98.000 | 3.8580 | SEMP9800FDS90ATM | 30.000 90
98.425 | 3.8750 | SEMP3875FDS90A1 31.000 90
99.000 | 3.8980 | SEMP9900FDS90A1TM | 31.000 90
100.000( 3.9370 |SEMP10000FDS90ATM| 32.000 90
101.600| 4.0000 | SEMP4000FDS90A1 34.000 90



Indexable Insert Recommand SEMPLUS A1 Heads
UthiEEC T R =R SEMPLUS A17]1sL

O BTHER100% I NERZEM, SEMPLUSEBAEIISEMT] A REETIBE,

© DFT-HP — i
O SEM PLUS SBBRA R BT IR ATEIH IRET,
sk EART (mm) O SEM PLUS iBBRTE & BB B2@1RF— @R FKSEMD A/, —@RF DFT/DFRIDA
Specification/Item L10 D D1 S R MR BRI T RavMA s,
DFT05T308D32HP 529 | 8.00 | 8.40 | 375 | 0.8 O 7E3THE KSEM PLUS D4F0Hs, FEZIREHIZRENRY (CSMS), UEEEBEN DT 2BNES
DFT05T308D33HP 529 | 8.00 | 3.40 | 375 | 08 =
DFTOZT308D36HP 6.62 | 10.00 | 4.40 | 3.75 | 0.8 ©) @$B§PDD%EKSEM PLUST) R {EFIKSEM HPG*DHPCCLZJHH’SDHE°
DFT06T308D39HP 6.62 | 10.00 | 4.40 | 3.75 | 0.8 © BJMEKSEM PLUSTDERTR )/ (KSEM,DFT,F] DFR) e B & H5]IE,
DFT06T308D44HP 6.62 | 10.00 | 4.40 | 3.75 | 0.8
DFT070408D45HP 7.94 | 12.00 | 4.40 | 475 | 0.8
DFT070408D50HP 7.94 | 12.00 | 4.40 | 4.75 0.8 5 CSMS
DFT090508D56HP 9.92 [ 15.00 | 550 | 5.25 | 0.8
DFT090508D63HP 9.92 [ 15.00 | 550 | 5.25 | 0.8
Di| PDD =
: ; 2 x DFR
| ® EfE: 28-<31.75mm
© DFT-DS L1
LPR
il EFRRY (mm)
Specificcﬁon/ltem L10 D D1 S R
DFT05T308D32DS 529 | 8.00 | 340 | 3875 | 0.8 7
B v DFT05T308D33DS 529 | 8.00 | 3.40 | 375 | 08 B v
=Z DFT06T308D36DS 6.62 | 10.00 | 4.40 | 3.75 | 08 D1l PDD 2 x DFT =z
}'[g o DFT06T308D39DS 6.62 | 10.00 | 4.40 3.75 0.8 E{’m . 31.75-70.34mm JDI o
ﬁg = DFT06T308D44DS 6.62 | 10.00 | 4.40 | 3.75 | 0.8 = ! ’ ﬁg =
> 5 DFT070408D45DS 7.94 | 12.00 [ 440 | 475 | 0.8 ==
/% 2 DFT070408D50DS 7.94 [12.00 | 4.40 | 475 | 08 fzr;\* @
Bz DFT090508D56DS 9.92 | 15.00 | 550 | 5.25 | 0.8 5l 2
DFT090508D63DS 9.92 | 15.00 | 550 | 5.25 | 0.8
O DFT-MD ol "D"I I 4 x DFT
: EfS: 70.35-93.34mm
BUZE HEARY (mm)
Specification/Item L10 D D1 S R
DFT05T308D32MD 529 | 8.00 | 340 | 375 | 0.8
DFT05T308D33MD 529 | 8.00 | 3.40 | 3.75 | 08
DFT06T308D36MD 6.62 | 10.00 | 4.40 | 3.75 | 0.8 _
DFT06T308D39MD 6.62 | 10.00 | 440 | 375 | 0.8
DFT06T308D44MD 6.62 | 10.00 [ 4.40 | 3.75 | 0.8 ]
DFT070408D45MD 7.94 | 12.00 | 4.40 | 475 | 0.8 ) —
DFT070408D50MD 7.94 [ 12.00 | 4.40 | 475 | 0.8 _'_ : 6 x DFT
DFT090508D56MD 9.92 [ 15.00 | 550 | 525 | 08
DFT090508D63MD 9.92 | 15.00 | 550 | 525 | 08 BHfE: 93.35-127mm
© SEM PLUS A17J58 - Drill Fix DFR 7D/
RUSE EFRRY (mm) - -
Specification/Item L10 D D1 5 R O SEM PLUS A]DE«E - Drill Fix DFR 7])#
DFT040304D28GD 10.76 | 7.26 | 2.85 | 379 | 0.4
AgE D1 PDD LPR L1
DFT040304D28LD 10.76 | 7.26 | 2.85 | 3.78 | 0.4 Specification/ltem CSMS
mm in mm in mm in mm in
DFT040304D28MD 10.76 | 7.26 | 2.85 | 3.79 | 0.4
SEMP2800FDS28A1M 28.00 1.102 14.00 0.5512 24.9 0.980 22.0 0.866 FDS28
SEMP2858FDS28A1M 28.58 1.125 15.00 0.5906 25.0 0.984 22.0 0.866 FDS28
SEMP2900FDS28A1M 29.00 1.142 15.00 0.5906 25.0 0.984 22.0 0.866 FDS28
SEMP2937FDS28A1M 29.36 1.156 16.00 0.6299 25.2 0.992 22.0 0.866 FDS28
SEMP3000FDS28A1M 30.00 1.181 16.00 0.6299 25.2 0.992 22.0 0.866 FDS28
SEMP3017FDS28A1M 30.18 1.188 17.00 0.6693 25.4 1.000 22.0 0.866 FDS28
SEMP3096FDS28A1M 30.96 1.219 17.00 0.6693 25.4 1.000 22.0 0.866 FDS28
SEMP3100FDS28A1M 31.00 1.221 17.00 0.6693 25.4 1.000 22.0 0.866 FDS28
SEMP3175FDS32A1M 31.75 1.250 15.00 0.5906 23.0 0.907 20.0 0.787 FDS32
SEMP3200FDS32A1M 32.00 1.260 15.00 0.5906 23.0 0.907 20.0 0.787 FDS32
SEMP3300FDS32A1M 33.00 1.299 16.00 0.6299 23.2 0.913 20.0 0.787 FDS32
SEMP3320FDS32A1M 33.20 1.307 16.00 0.6299 23.2 0.913 20.0 0.787 FDS32
SEMP3334FDS32A1M 33.35 1.313 17.00 0.6693 23.4 0.920 20.0 0.787 FDS32
SEMP3400FDS32A1M 34.00 1.339 17.00 0.6693 23.4 0.920 20.0 0.787 FDS32
SEMP3493FDS32A1M 34.93 1.375 18.00 0.7087 23.6 0.928 20.0 0.787 FDS32
SEMP3500FDS32A1M 35.00 1.378 18.00 0.7087 23.6 0.928 20.0 0.787 FDS32




SEM PLUS A1 Heads
SEM PLUS A17]k

SEMPLUS A1 Heads
SEMPLUS A173:k

© SEM PLUS A1JJ8828-101.60mm (1.102-4) -%& O SEM PLUS A17J8828-101.60mm (1.102-4) -#&
ys D1 PDD LPR L1 4 D1 PDD LPR L1
Specifi%}tﬁn/hem CSMs Specifi%fon/hem CSMS
mm in mm in mm in mm in mm in mm in mm in mm in

SEMP3600FDS36A1M 36.00 | 1.417 13.00 0.5118 22.7 0.893 20.0 0.787 FDS36 SEMP7600FDS71A1M 76.00 | 2.992 31.00 1.2200 47.7 1.876 47.7 1.876 FDS71

SEMP3651FDS36A1 36.53 | 1.438 14.00 0.5512 22.9 0.900 20.0 0.787 FDS36 SEMP7620FDS71A1M 76.20 | 3.000 31.00 1.2200 47.7 1.876 47.7 1.876 FDS71

SEMP3700FDS36A1M 37.00 | 1.457 14.00 0.5512 22.9 0.900 20.0 0.787 FDS36 SEMP7700FDS71A1M 77.00 | 3.031 32.00 1.2600 47.8 1.883 47.8 1.883 FDS71

SEMP3750FDS36A1M 37.50 | 1.476 15.00 0.5906 23.0 0.907 20.0 0.787 FDS36 SEMP7800FDS71A1M 78.00 | 3.071 33.00 1.2990 48.0 1.890 48.0 1.890 FDS71

SEMP3800FDS36A1M 38.00 | 1.496 15.00 0.5906 23.0 0.907 20.0 0.787 FDS36 SEMP7900FDS71A1M 79.00 | 3.110 34.00 1.3390 48.2 1.897 48.2 1.897 FDS71

SEMP3810FDS36A1 38.10 | 1.500 15.00 0.5906 23.0 0.907 20.0 0.787 FDS36 SEMP7938FDS80A1M 79.38 | 3.125 31.00 1.2200 52.8 2.077 52.8 2.077 FDS80

SEMP3900FDS36A1M 39.00 | 1.535 16.00 0.6299 23.2 0.913 20.0 0.787 FDS36 SEMP8000FDS80A1M 80.00 | 3.150 31.00 1.2200 52.8 2.077 52.8 2.077 FDS80

SEMP3920FDS36A1M 39.20 | 1.543 16.00 0.6299 23.2 0.913 20.0 0.787 FDS36 SEMP8100FDS80A1M 81.00 | 3.189 32.00 1.2600 52.9 2.085 52.9 2.085 FDS80

SEMP3970FDS36A1 39.70 | 1.563 17.00 0.6693 23.4 0.920 20.0 0.787 FDS36 SEMP8200FDS80A1M 82.00 | 3.228 33.00 1.2990 53.1 2.091 53.1 2.091 FDS80

SEMP4000FDS40A1M 40.00 | 1.575 17.00 0.6693 28.6 1.125 25.0 0.984 FDS40 SEMP8255FDS80A1M 82.55 | 8.250 34.00 1.3390 53.3 2.098 53.3 2.098 FDS80

SEMP4100FDS40A1M 41.00 | 1.614 18.00 0.7087 28.8 1.132 25.0 0.984 FDS40 SEMP8300FDS80A1M 83.00 | 3.268 34.00 1.3390 53.3 2.098 53.3 2.098 FDS80
T SEMP4128FDS40A1 4128 | 1.625 18.00 0.7087 28.8 1.132 25.0 0.984 FDS40 SEMP8400FDS80A1M 84.00 | 3.307 35.00 1.3780 53.5 2.105 53.5 2.105 FDS80
% g SEMP4200FDS40A1M 42.00 | 1.654 19.00 0.7480 28.9 1.139 25.0 0.984 FDS40 SEMP8500FDS80A1M 85.00 | 3.346 36.00 1.4170 53.6 2.112 53.6 2.112 FDS80
= SEMP4300FDS40A1M 43.00 | 1.693 20.00 0.7874 29.1 1.146 25.0 0.984 FDS40 SEMP8573FDS80A1M 85.73 | 3.375 37.00 1.4570 53.8 2.119 53.8 2.119 FDS80
A2 SEMP4400FDS40A1M 44.00 | 1.732 21.00 0.8268 29.3 1.153 25.0 0.984 FDS40 SEMP8600FDS80A1M 86.00 | 3.386 37.00 1.4567 53.8 2.119 53.8 2.119 FDS80
S SEMP4445FDS40A1 44.45 | 1.750 22.00 0.8661 29.5 1.160 25.0 0.984 FDS40 SEMP8700FDS80A1M 87.00 | 3.425 38.00 1.4960 54.0 2.126 54.0 2.126 FDS80

SEMP4500FDS45A1M 45.00 | 1.772 18.00 0.7087 28.8 1.132 25.0 0.984 FDS45 SEMP8800FDS80A1M 88.00 | 3.465 39.00 1.5354 54.2 2.133 54.2 2.133 FDS80

SEMP4600FDS45A1M 46.00 | 1.811 19.00 0.7480 28.9 1.139 25.0 0.984 FDS45 SEMP8890FDS80A1M 88.90 | 3.500 40.00 1.5748 54.3 2.140 45.0 1.172 FDS80

SEMP4700FDS45A1M 47.00 | 1.850 20.00 0.7874 29.1 1.146 25.0 0.984 FDS45 SEMP8900FDS80A1M 89.00 | 3.504 40.00 1.5750 54.3 2.140 54.3 2.140 FDS80

SEMP4763FDS45A1 4763 | 1.875 21.00 0.8268 29.3 1.153 25.0 0.984 FDS45 SEMP9000FDS90A1M 90.00 | 3.543 37.00 1.4567 59.2 2.332 59.2 2.332 FDS90

SEMP4800FDS45A1M 48.00 | 1.890 21.00 0.8268 29.3 1.153 25.0 0.984 FDS45 SEMP9100FDS90A1M 91.00 | 3.583 38.00 1.4960 59.4 2.339 59.4 2.339 FDS90

SEMP4900FDS45A1M 49.00 | 1.929 22.00 0.8661 29.5 1.160 25.0 0.984 FDS45 SEMP9200FDS90A1M 92.00 | 3.622 39.00 1.5354 59.6 2.346 59.6 2.346 FDS90

SEMP5000EDS50A1M 50.00 | 1.969 23.00 0.9055 34.8 1.372 30.0 1.181 FDS50 SEMP9208FDS90A1M 92.08 | 3.625 39.00 1.5350 59.6 2.346 59.6 2.346 FDS90

SEMP5080FDS50A1 50.80 | 2.000 24.00 0.9449 35.0 1.379 30.0 1.181 FDS50 SEMP9300FDS90A1N 93.00 | 3.661 40.00 1.5750 59.7 2.352 59.7 2.352 FDS90

SEMP5100FDS50A1M 51.00 | 2.008 24.00 0.9449 35.0 1.379 30.0 1.181 FDS50 SEMP9400FDS90A1M 94.00 | 3.701 26.00 1.0236 58.0 2.283 58.0 2.283 FDS90

SEMP5200FDS50A1M 52.00 | 2.047 25.00 0.9843 35.2 1.386 30.0 1.181 FDS50 SEMP9500FDS90A1M 95.00 | 3.740 27.00 1.0630 58.2 2.290 58.2 2.290 FDS90

SEMP5300FDS50A1M 53.00 | 2.087 26.00 1.0236 35.4 1.392 30.0 1.181 FDS50 SEMP9525FDS90A1M 95.25 | 3.750 27.00 1.0630 58.2 2.289 58.2 1.969 FDS90

SEMP5398FDS50A1 53.98 | 2.125 27.00 1.0630 35.6 1.399 30.0 1.181 FDS50 SEMP9600FDS90A1M 96.00 | 3.780 28.00 1.1024 58.3 2.297 58.3 2.297 FDS90

SEMP5400FDS50A1M 54.00 | 2.126 27.00 1.0630 35.6 1.399 30.0 1.181 FDS50 SEMP9700FDS90A1M 97.00 | 3.819 29.00 1.1420 58.5 2.304 58.5 2.304 FDS90

SEMP5500FDS50A1M 55.00 | 2.165 28.00 1.1024 35.7 1.406 30.0 1.181 FDS50 SEMP9800FDS90A1M 98.00 | 3.858 30.00 1.1811 58.7 2.311 58.7 2.311 FDS90

SEMP5600FDS56A1M 56.00 | 2.205 20.00 0.7874 34.3 1.151 30.0 1.181 FDS56 SEMP9843FDS90A1M 98.43 | 3.875 31.00 1.2200 58.9 2.317 58.9 2.317 FDS90

SEMP5700FDS56A1M 57.00 | 2.244 21.00 0.8268 34.5 1.358 30.0 1.181 FDS56 SEMP9900FDS90A1M 99.00 | 3.898 31.00 1.2200 58.9 2.317 58.9 2.317 FDS90

SEMP5715FDS56A1 57.15 | 2.250 21.00 0.8268 34.5 1.358 30.0 1.181 FDS56 SEMP10000FDS90A1M 100.00| 3.937 32.00 1.2600 59.0 2.324 59.0 2.324 FDS90

SEMP5800FDSS6A1M 58.00 | 2.284 22.00 0.8661 34.7 1.365 30.0 1.181 FDS56 SEMP10160FDS90A1M 101.60| 4.000 34.00 1.3390 59.4 2.338 59.4 2.338 FDS90

SEMP5900FDS56A1M 59.00 | 2.323 23.00 0.9055 34.8 1.372 30.0 1.181 FDS56

SEMPB000FDS56A1M 60.00 | 2.362 24.00 0.9449 35.0 1.379 30.0 1.181 FDS56 O SEMPLUS A17DE8 - B2ttt

SEMP6033FDS56A1 60.33 | 2.375 24.00 0.9449 35.0 1.379 30.0 1.181 FDS56

SEMP6100FDS56A1M 61.00 | 2.402 25.00 0.9843 35.2 1.386 30.0 1.181 FDS56

SEMP6200FDS56A1M 62.00 2.441 26.00 1.0236 35.4 1.392 30.0 1.181 FDS56

SEMP6300FDS63A1M 63.00 | 2.480 27.00 1.0630 41.8 1.643 36.0 1.417 FDS63

SEMP6350FDS63A1 63.50 | 2.500 28.00 1.1024 41.9 1.650 36.0 1.417 FDS63 (S?E%%f%ﬁmﬁ%)

SEMP6400FDS63A1M 64.00 | 2.520 28.00 1.1024 41.9 1.650 36.0 1.417 FDS63

SEMP6500FDS63A1M 65.00 | 2.559 29.00 1.1417 42.1 1.657 36.0 1.417 FDS63

SEMP6600FDS63A1M 66.00 | 2.598 30.00 1.1811 42.3 1.664 36.0 1.417 FDS63

SEMP6668FDS63A1M 66.68 | 2.625 31.00 1.2205 425 1.671 36.0 1.417 FDS63

SEMP6700FDS63A1M 67.00 | 2.638 31.00 1.2205 425 1.671 36.0 1.417 FDS63 Drill Fix(DFR/DFTHRE

SEMP6800FDS63A1M 68.00 | 2.677 32.00 1.2598 42,6 1.678 36.0 1.417 FDS63

SEMP6900FDS63A1M 69.00 | 2.717 33.00 1.2992 42.8 1.685 36.0 1.417 FDS63

SEMP6985FDS63A1 69.85 | 2.750 34.00 1.3386 43.0 1.692 36.0 1.417 FDS63

SEMP7000FDS63A1M 70.00 | 2.756 34.00 1.3386 43.0 1.692 36.0 1.417 FDS63

SEMP7100FDS71A1M 71.00 | 2.795 26.00 1.0240 46.8 1.842 46.8 1.842 FDS71

SEMP7200EDS71A1M 72.00 | 2.835 27.00 1.0630 47.0 1.849 47.0 1.849 FDS71

SEMP7300FDS71A1M 73.00 | 2.874 28.00 1.1020 47.1 1.855 471 1.855 FDS71

SEMP7303FDS71A1 73.03 | 2.875 28.00 1.1020 47.1 1.855 47.1 1.855 FDS71

SEMP7400FDS71A1M 74.00 | 2.913 29.00 1.1420 47.3 1.863 47.3 1.863 FDS71

SEMP7500FDS71A1M 75.00 | 2.953 30.00 1.1810 47.5 1.869 47.5 1.869 FDS71




SEM PLUS A1 Heads
SEM PLUS A17]k

© SEM PLUS A17]8828-101.60mm (1.102-4) -E#F

SEMPLUS A1 Heads
HBAFA17JLSEM PLUS H¢

O SEM PLUS A17]8828-101.60mm (1.102-4) -Ec¥

D1 PDD ? D1 PDD ?
mm in mm in csms 2E RF Drill Fixi®%4 | Drill Fix 3R3 mm in mm in csms IRE RF Drill Fixi®%% | Drill Fix 3R
28.00 1.102 14.00 0.551 FDS28 364.016 170.350 192.432 170.352 63.50 2.500 28.00 1.102 FDS63 364.012 170.347 191.726 170.356
28.58 1.125 15.00 0.591 FDS28 364.016 170.350 192.432 170.352 64.00 2.520 28.00 1.102 FDS63 364.012 170.347 191.726 170.356
29.00 1.142 15.00 0.591 FDS28 364.016 170.350 192.432 170.352 65.00 2.559 29.00 1.142 FDS63 364.013 170.348 191.726 170.356
29.36 1.156 16.00 0.630 FDS28 364.010 170.345 192.432 170.352 66.00 2.598 30.00 1.181 FDS63 364.013 170.348 191.726 170.356
30.00 1.181 16.00 0.630 FDS28 364.010 170.345 192.432 170.352 66.68 2.625 31.00 1.221 FDS63 364.013 170.348 191.726 170.356
30.18 1.188 17.00 0.669 FDS28 364.010 170.345 192.432 170.352 67.00 2.638 31.00 1.221 FDS63 364.013 170.348 191.726 170.356
30.96 1.219 17.00 0.669 FDS28 364.010 170.345 192.432 170.352 68.00 2.677 32.00 1.260 FDS63 364.013 170.348 191.726 170.356
31.00 1.221 17.00 0.669 FDS28 364.010 170.345 192.432 170.352 69.00 2.717 33.00 1.299 FDS63 364.015 170.348 191.726 170.356
31.75 1.250 15.00 0.591 FDS32 364.016 170.350 191.924 170.353 69.85 2.750 34.00 1.339 FDS63 364.015 170.348 191.726 170.356
32.00 1.260 15.00 0.591 FDS32 364.016 170.350 191.924 170.353 70.00 2.756 34.00 1.339 FDS63 364.015 17.0348 191.726 170.356
33.00 1.299 16.00 0.630 FDS32 364.010 170.345 191.924 170.353 71.00 2.795 26.00 1.024 FDS71 364.012 170.347 191.916 170.355
o 33.20 1.307 16.00 0.630 FDS32 364.010 170.345 191.924 170.353 72.00 2.835 27.00 1.063 FDS71 364.012 170.347 191.916 170.355
%g 33.35 1.313 17.00 0.669 FDS32 364.010 170.345 191.924 170.353 73.00 2.874 28.00 1.102 FDS71 364.012 170.347 191.916 170.355
ﬁ% % 34.00 1.339 17.00 0.669 FDS32 364.010 170.345 191.924 170.353 73.03 2.875 28.00 1.102 FDS71 364.012 170.347 191.916 170.355
/% é 34.93 1.375 18.00 0.709 FDS32 364.010 170.345 191.924 170.353 74.00 2.913 29.00 1.142 FDS71 364.013 170.365 191.916 170.355
§|J é 35.00 1.378 18.00 0.709 FDS32 364.010 170.345 191.924 170.353 75.00 2.953 30.00 1.181 FDS71 364.013 170.365 191.916 170.355
36.00 1.417 13.00 0.512 FDS36 364.016 170.350 191.916 170.355 76.00 2.992 31.00 1.220 FDS71 364.013 170.365 191.916 170.355
36.53 1.438 14.00 0.551 FDS36 364.016 170.350 191.916 170.355 76.20 3.000 31.00 1.220 FDS71 364.013 170.365 191.916 170.355
37.00 1.457 14.00 0.551 FDS36 364.016 170.350 191.916 170.355 77.00 3.031 32.00 1.260 FDS71 364.013 170.365 191.916 170.355
37.50 1.476 15.00 0.591 FDS36 364.016 170.350 191.916 170.355 78.00 3.071 33.00 1.299 FDS71 364.015 170.365 191.916 170.355
38.00 1.496 15.00 0.591 FDS36 364.016 170.350 191.916 170.355 79.00 3.110 34.00 1.339 FDS71 364.015 170.365 191.916 170.355
38.10 1.500 15.00 0.591 FDS36 364.016 170.350 191.916 170.355 79.38 3.125 31.00 1.220 FDS80 364.013 170.365 191.916 170.355
39.00 1.535 16.00 0.630 FDS36 364.010 170.345 191.916 170.355 80.00 3.150 31.00 1.220 FDS80 364.013 170.365 191.916 170.355
39.20 1.543 16.00 0.630 FDS36 364.010 170.345 191.916 170.355 81.00 3.189 32.00 1.260 FDS80 364.013 170.365 191.916 170.355
39.70 1.563 17.00 0.669 FDS36 364.010 170.345 191.916 170.355 82.00 3.228 33.00 1.299 FDS80 364.015 170.365 191.916 170.355
40.00 1.575 17.00 0.669 FDS40 364.010 170.345 191.916 170.355 82.55 3.250 34.00 1.339 FDS80 364.015 170.365 191.916 170.355
41.00 1.614 18.00 0.709 FDS40 364.010 170.345 191.916 170.355 83.00 3.268 34.00 1.339 FDS80 364.015 170.365 191.916 170.355
41.28 1.625 18.00 0.709 FDS40 364.010 170.345 191.916 170.355 84.00 3.307 35.00 1.378 FDS80 364.015 170.365 191.916 170.355
42.00 1.654 19.00 0.748 FDS40 364.010 170.345 191.916 170.355 85.00 3.346 36.00 1.417 FDS80 364.015 170.365 191.916 170.355
43.00 1.693 20.00 0.787 FDS40 364.011 170.346 191.916 170.355 85.73 3.375 37.00 1.457 FDS80 364.015 170.365 191.916 170.355
44.00 1.732 21.00 0.827 FDS40 364.011 170.346 191.916 170.355 86.00 3.386 37.00 1.457 FDS80 364.015 170.365 191.916 170.355
44.45 1.750 22.00 0.866 FDS40 364.011 170.346 191.916 170.355 87.00 3.425 38.00 1.496 FDS80 364.015 170.365 191.916 170.355
45.00 1.772 18.00 0.709 FDS45 364.010 170.345 191.698 170.355 88.00 3.465 39.00 1.535 FDS80 364.015 170.365 191.916 170.355
46.00 1.811 19.00 0.748 FDS45 364.010 170.345 191.698 170.355 88.90 3.500 40.00 1.575 FDS80 364.015 170.365 191.916 170.355
47.00 1.850 20.00 0.787 FDS45 364.011 170.346 191.698 170.355 89.00 3.504 40.00 1.575 FDS80 364.015 170.365 191.916 170.355
47.63 1.875 21.00 0.827 FDS45 364.011 170.346 191.698 170.355 90.00 3.543 37.00 1.457 FDS90 364.015 170.365 191.916 170.355
48.00 1.890 21.00 0.827 FDS45 364.011 170.346 191.698 170.355 91.00 3.583 38.00 1.496 FDS90 364.015 170.365 191.916 170.355
49.00 1.929 22.00 0.866 FDS45 364.011 170.346 191.698 170.355 92.00 3.622 39.00 1.535 FDS90 364.015 170.365 191.916 170.355
50.00 1.969 23.00 0.906 FDS50 364.011 170.346 191.698 170.355 92.08 3.625 39.00 1.5635 FDS90 364.015 170.365 191.916 170.355
50.80 2.000 24.00 0.945 FDS50 364.011 170.346 191.698 170.355 93.00 3.661 40.00 1.575 FDS90 364.015 170.365 191.916 170.355
51.00 2.008 24.00 0.945 FDS50 364.011 170.346 191.698 170.355 94.00 3.701 26.00 1.024 FDS90 364.012 170.355 191.916 170.355
52.00 2.047 25.00 0.984 FDS50 364.012 170.347 191.698 170.355 95.00 3.740 27.00 1.063 FDS90 364.012 170.355 191.916 170.355
53.00 2.087 26.00 1.024 FDS50 364.012 170.347 191.698 170.355 95.25 3.750 27.00 1.063 FDS90 364.012 170.355 191.916 170.355
53.98 2.125 27.00 1.063 FDS50 364.012 170.347 191.698 170.355 96.00 3.780 28.00 1.102 FDS90 364.012 170.355 191.916 170.355
54.00 2.216 27.00 1.063 FDS50 364.012 170.347 191.698 170.355 97.00 3.819 29.00 1.142 FDS90 364.013 170.365 191.916 170.355
55.00 2.165 28.00 1.102 FDS50 364.012 170.347 191.698 170.355 98.00 3.858 30.00 1.181 FDS90 364.013 170.365 191.916 170.355
56.00 2.205 20.00 0.787 FDS56 364.011 170.346 191.726 170.356 98.43 3.875 31.00 1.220 FDS90 364.013 170.365 191.916 170.355
57.00 2.244 21.00 0.827 FDS56 364.011 170.346 191.726 170.356 99.00 3.898 31.00 1.220 FDS90 364.013 170.365 191.916 170.355
57.15 2.250 21.00 0.827 FDS56 364.011 170.346 191.726 170.356 100.00 3.937 32.00 1.260 FDS90 364.013 170.365 191.916 170.355
58.00 2.284 22.00 0.866 FDS56 364.011 170.346 191.726 170.356 101.60 4.000 34.00 1.339 FDS90 364.015 170.365 191.916 170.355
59.00 2.323 23.00 0.906 FDS56 364.011 170.346 191.726 170.356
60.00 2.362 24.00 0.945 FDS56 364.011 170.346 191.726 170.356
60.33 2.375 24.00 0.945 FDS56 364.011 170.346 191.726 170.356
61.00 2.402 25.00 0.984 FDS56 364.012 170.347 191.726 170.356
62.00 2.441 26.00 1.024 FDS56 364.012 170.347 191.726 170.356
63.00 2.480 27.00 1.063 FDS63 364.012 170.347 191.726 170.356




YLMD MAX DRILL YEMDHOLDER & PILOTDRILL
YLMD wEOAKERRES YL MD7I A& 4

i (i Data AUSE #(¥% Data
Specification/Item D 12 U ds Specification/Item D 12 U ds
C40-D16-125 40 | 70 125 | 16 C40-D36-255 40 | 70 | 255 | 36
C40-D16-165 40 | 70 | 165 | 16 C40-D36-305 40 | 70 | 305 | 36
C40-D16-205 40 | 70 | 205 | 16 C40-D36-355 40 | 70 | 355 | 36
C40-D22-125 40 | 70 | 125 | 22 C40-D36-405 40 | 70 | 405 | 36
C40-D22-165 40 | 70 | 165 | 22 C50-D40-125 50 | 80 | 125 | 40
AISE RY Size R A BER%S) | ShTDF EE(IR44) BRI 257 | RF TENIIR/IR 44 i) PINEIR45) C40-D22-205 40 70 | 205 | 22 C50-D40-165 50 80 | 165 | 40
Specification/ttem | Tyslis| L] sz | w7 | s | 3 Insert | Screw |Wrench| muse | guse | PilotDrill [ guse [ :mas C40-D22-255 40 | 70 | 285 | 22 C50-D40-205 50 | 80 |205 | 40
YLMD-045050-C16| 45-50 |16[40(55(1.6] / |M5*12|M5*18 | M3*6 FMB22 | M4*12 PLD1035 M8*20 | M5*20 gi::gii::g: :g Zg zgi ZZ g:g:gig:ii: : Zg iiz :g
YLMD-050055-C16| 50-55 |16(40(55(1.6] / |M5*12|M5%18| M3%6 | WC..040208 |M2.5°6 FMB22 | M4*12 M8*20 | M5*20
YLMD-055060-C22| 55-60 |22|45|60|1.6] / |Ms5*12|M5*18| M3*6 FMB22 | M4*12 M8*20 | M5*20 bl e OR[N e Rl DN £ U COR ISCoN N0
K= YLMD-060065-C22| 60-65 |22|45|60[1.8| M4 16| M5*16 | M5*18 | M3*6 ™8 | EvBaz2 | mat12 M8*20 | M5*20 C40-D28-165 40 | 70 | 165 28 C50-D40-405 50 | 80 | 405 | 40 X =
B3 YLMD-065070-C22| 65-70 |22|45|60(1.8| M4*16 | M5*16 | M5*18 | M3*6 | WC..050308 | M3*7 P22 | M1z | 0238 | ligeao | mst20 C403D282205 20N INZOMS(R20oR(N20 C50-D50=125 20|80 (1258 (550 B3
L= YLMD-070075-C22| 70-75 |22(45|60(1.8| M4*16| M5*16 | M5*18 | M3*6 FMB22 | M4*12 M8*20 | M5*20 C40-D28-255 40 | 70 | 255 | 28 C50-D50-165 50 | 80 | 165 | 50 g
Lié YLMD-075080-C28| 75-80 |28|50|65(2.2| M5*18 | M6*16 | M6*20 | M38 FMB22 | M4*12 M10720| M6*20 €40-D28-305 40 | 70 | 305 | 28 €50-D50-205 50 | 80 | 205 | 50 U%ié
5= YLMD-080085-C28| 80-85 |28|50|65|2.2| M5*18| M6*16 | M6*20 | M3*8 FMB22 | M4*12 M1020| M6*20 €40-D28-355 40 | 70 | 355 | 28 €50-D50-255 50 | 80 | 255 | 50 Bz
YLMD-085090-C28| 85-90 |28|50(652.2| M5*18 | M6*16 | M6*20 | M3*8 | WC..06T308 |M3.5'65| T15 | FMB22 | M4*12 | PLD1645 |M10*20| M6*20 €40-D28-405 40 | 70 | 405 | 28 €50-D50-305 50 | 80 | 305 | 50
YLMD-090095-C28| 90-95 |28(50|65|2.2| M5*18 | M6*16 | M6*20 | M3*8 FMB22 | M4*12 M10*20| M6*20 C40-D36-125 40 | 70 | 125 | 36 C50-D50-355 50 | 80 |38 | 50
YLMD-095100-C28| 95-100 |28|50(65|2.2| M5*18| M6*16 | M6*20 | M3*8 FMB22 | M4*12 M10*20| M6*20 C40-D36-165 40 | 70 | 165 | 36 €50-D50-405 50 | 80 | 405 | 50
YLMD-100105-C36| 100-105 |36 |55|70(2.4| M5*18 | M6*16 | M6*20 | M3*8 FMB27 | M5*16 M12*20| M8*20 C40-D36-205 40 | 70 | 205 | 36
YLMD-105110-C36 | 105-110 | 36|55 |70|2.4| M5*18 | M6*16 | M6*20 | M3*8 | WC..050308 | M3*7 | T8 |FMB27 | M5*16 M12+20| M8*20
YLMD-110115-C36| 110-115 | 36|55 |70|2.4| M5*18 | M6*16 | M6*20 | M3*8 FMB27 | M5*16 M12+20| M8*20 P ——
YLMD-115120-C40| 115-120 | 40|60 |76 |2.4| M5*18 | M6*16 | M6*20 | M3*10 FMB32 [ ME'16 | o [M12°20] M8"20 EERSE, ERREEE AL,
YLMD-120125-C40| 120-125 | 40|60 |763.2| M5*18 | M6*16 | M6*20 | M3*10 FMB32 | M6*16 M12+20| M8*20 Plug the thread hole when using to
YLMD-125130-C40 | 125-130 | 40(60|76(3.2| M5*18 | M6*16 | M6*20 | M3*10 | WC..06T308 |M3.58.5 FMB32 | M6*16 M12+20| M8*20 prevent water leakage. When using
YLMD-130135-C40| 130-135 | 40|60 |76 (3.2| M5*18 | M6*16 | M6*20 | M3*10 FMB32 | M6*16 M12*20| M8*20 L”;gcvﬁ‘{hcgg'l':g' plug the water outlet
YLMD-135140-C40 | 135-140 | 40|60 |76|3.2| M5*18 | M6*16 | M6*20 | M3*10 T15 | FMB32 | M6*16 M12*20| M8*20
YLMD-140150-C50 | 140-150 | 50|60 |98|3.2| M5*18 | M6*16 | M6*20 | M3*10 FMB40 | M6*16 M12+20| M8*20
YLMD-150160-C50| 150-160 |50|60|98(3.2 M5*18 | M6"16 | M6'20 | M3 10| oo | o FMB40 | M6"16 | o [M1220| M8"20 O )& PILOT DRILL
YLMD-160170-C50 | 160-170 |50(60|98(3.2| M5*18 | M6*16 | M6*20 | M3*10 FMB40 | M6*16 M12*20| M8*20
YLMD-170180-C50| 170-180 | 50|60 |98 |3.2| M5*18 | M6*16 | M6*20 | M3*10 FMB40 | M6*16 M12+20| M8*20
DINE B IR4 N BT IR 44
Pilot drill clamping bolt Pilot drill adjusting screw - - e

BIEER IR 44

Side trimmer screw

O The hole tolerance of U Drill
T EERSTL AR A RIS i Dato
Inner cartridge screw Specification/Item D L
AR EE
H\T) B RE Inner cartridge PLD-0620 06 20
Outer cartridge PLD-0825 08 25
MDA BESH R IR 4k PLD-1035 10 35
DE Inner cartridge clamping bolt - PLD-1238 12 g
Pilot drill T Pilotciri‘ll e 9}\73,3-,2%5%%% PLD-1645 16 45
- Outer cartridge locking screws -
Inner cartridge Outer cartridge g g PLD-2045 20 45
PLD-2556 25 56




x
5
w
U

11Ma XYW QWA

V- MAXDRILL
VMD FE L KERRES

O Mx#EIRILTAEL MX Modular Shank Type

i RY Size Db REDHE EATH B CeRe
Specification/Item D os | o1 ||t Pilot Drill Cartridge Insert 1287 Screw | #RF Wrench
VMD-045050 45-50 13 | 28 | 50 | 85 | PLD-V1035 VMC-045050N/T TSB-22045 T6
. WCMX030208
VMD-050055 50-55 13 | 28 | 50 | 85 TiN-H VMC-050055N/T TSB-22045 T6
VMD-055060 55-60 16 | 32 | 60 | 100 VMC-055060N/T WCMX040208 TSB-22045 T8
VMD-060065 60-65 16 | 32 | 60 | 100 | pLD-vi238 VMC-060065N/T TSB-30070 T8
VMD-065070 65-70 16 | 32 | 60 [ 100 TiN-H VMC-065070N/T WCMX050308 TSB-30070 T8
VMD-070075 70-75 22 | 40 | 70 | 115 VMC-070075N/T TSB-30070 T8
VMD-075080 75-80 22 | 40 | 70 | 115 VMC-075080N/T TSB-35090 Ti5
VMD-080085 80-85 22 | 40 | 70 | 115 VMC-080085N/T TSB-35090 Ti5
VMD-085090 85-90 27 | 48 | 70 | 120 PL?&"]:“ VMC-085090N/T WCMX06T308 TSB-35090 Ti5
VMD-090095 90-95 27 | 48 | 70 | 120 VMC-090095N/T TSB-35090 Ti5
VMD-095100 95-100 27 | 48 | 70 | 120 VMC-095100N/T TSB-35090 T15
VMD-100105 100-105 32 | 58 | 80 | 130 VMC-100105N/T WCMX050308 TSB-30070 T8
VMD-105110 105-110 32 | 58 | 80 [ 130 | pLD-V2045 VMC-105110N/T TSB-35090 Ti5
VMD-110115 110-115 32 | 58 | 80 | 130 TiN-H VMC-110115N/T TSB-35090 T15
VMD-115120 115-120 40 | 70 | 90 | 145 VMC-115120N/T TSB-35090 Ti5
VMD-120125 120-125 40 | 70 | 90 | 145 VMC-120125N/T WCMX06T308 | TSB-35090 Ti5
VMD-125130 125-130 40 | 70 | 90 | 145 VMC-125130N/T TSB-35090 Ti5
VMD-130135 130-135 40 | 70 | 90 | 145| pLD-v2556 VMC-130135N/T TSB-35090 Ti5
VMD-135140 135-140 40 | 70 | 90 | 145 TiN-H VMC-135140N/T TSB-35090 T15
VMD-140150 140-150 50 | 80 | 100 | 160 VMC-140150N/T TSB-40110 Ti5
VMD-150160 150-160 50 | 80 | 100 | 160 VMC-150160N/T TSB-40110 Ti5
WCMX080408
VMD-160170 160-170 50 | 80 | 100 | 160 | PLD-V3068 VMC-160170N/T TSB-40110 Ti5
VMD-170180 170-180 50 | 80 | 100 | 160 TiN-H VMC-170180N/T TSB-40110 Ti5
© OL\§& PILOT DRILL
s R Sizelmm)

_& E-_ © Specificgcgltiiﬁnlltem D L

PLD-V1035 TiN-H 10 35

L PLD-V1238 TiN-H 12 38

PLD-V1645 TiN-H 16 45

PLD-2045 TiN-H 20 45

PLD-2556 TiN-H 25 56

PLD-3068 TiN-H 30 68

V=MAXDRILL
VMD-HE O AERIRIE

O Mxt&ER{L TIEE MX Modular Shank Type

@3LEE PEE ShTDEE ERDE RETFHE Bt Component
Drilling Range inner Outer Insert No.of Insert ¥2$TScrew | 33 Wrench
45-50 VMC-045050N VMC-045050T TSB-22045 T6
50-55 VMC-050055N VMC-050055T WCMNX030208 2 TSB-22045 T6
55-60 VMC-055060N VMC-055060T WCMX040208 2 TSB-22045 T8
60-65 VMC-060065N VMC-060065T TSB-30070 T8
65-70 VMC-065070N VMC-065070T WCMX050308 2 TSB-30070 T8
70-75 VMC-070075N VMC-070075T TSB-30070 T8
75-80 VMC-075080N VMC-075080T TSB-35090 T15
80-85 VMC-080085N VMC-080085T TSB-35090 T15
85-90 VMC-085090N VMC-085090T WCMX06T308 2 TSB-35090 T15
90-95 VMC-090095N VMC-090095T TSB-35090 T15
95-100 VMC-095100N VMC-095100T TSB-35090 T15
100-105 VMC-100105N VMC-100105T WCMX050308 3 TSB-30070 T8
105-110 VMC-105110N VMC-105110T TSB-35090 T15
110-115 VMC-110115N VMC-110115T TSB-35090 T15
115-120 VMC-115120N VMC-115120T TSB-35090 T15
120-125 VMC-120125N VMC-120125T WCMX06T308 3 TSB-35090 T15
125-130 VMC-125130N VMC-125130T TSB-35090 T15
130-135 VMC-130135N VMC-130135T TSB-35090 T15
135-140 VMC-135140N VMC-135140T TSB-35090 T15
140-150 VMC-140150N VMC-140150T TSB-40110 T15
150-160 VMC-150160N VMC-150160T TSB-40110 T15
WCMX080408 3
160-170 VMC-160170N VMC-160170T TSB-40110 T15
170-180 VMC-170180N VMC-170180T TSB-40110 T15
O BBENIR DRIVERING
AUSE RY Size(mm)

Specification/Item D d s

DVR-281310 28 13 10

DVR-321610 32 16 10

DVR-402212 40 22 12

DVR-482712 48 27 12

DVR-583214 58 32 14

DVR-704014 70 40 14

DVR-805016 80 50 16

Mt >+

=<
—
=
o
fa=
>
x
o
=%

T CH




V- MAX DRILL V=MAXDRILL
MXB/MXB3E = 4F MXA/MXEE 1 FF

O EFEFMFMXB/ MX Extension O EIEFFMXA/ MX+Cylindrical Adaptor
e R Size 8 EHR B3 RY Size 5 SRR

Drilling Range D d L Ds Drive Ring Specification/Item Ds d L B D Is Drive Ring

MXB-2813115 115 MXA-3213115 13 115 77 28

MXB-2813150 28 13 150 13 DVR-281310 MXA-3213200 32 13 200 165 28 70 DVR-281310

MXB-2813200 200 MXA-3213300 13 300 265 28 MTB-08115

MXB-2813300 300 MTB-08115 MXA-4016125 16 125 86 32

MXB-3216115 115 MXA-1016200 16 200 161 32 DVR-321610

MXB-3216200 32 16 200 16 DVR-321610 MXA-4016300 16 300 261 32

MXB-3216300 300 MXA-4022148 22 148 109 40

MXB-4022113 113 MXA-4022200 22 200 161 40 MTB-10145 DVR-402212

MXB-4022200 40 22 200 22 MTB-10145 DVR-402212 MXA-4022300 40 22 300 261 40
7( é MXB-4022300 300 MXA-4027168 27 168 133 48 80 MTB-12175 DVR-472712 K §
E o MXB-4827113 113 MXA-4027300 27 300 265 48 E o
= S MXB-4827200 48 27 200 27 MTB-12175 DVR-472712 MXA-4032186 32 186 151 58 VITB12105 OVR_583214 = 2
Uzx MXB-4827300 300 MXA-4032300 32 300 265 58 - - Uz
iE= MXB-5832186 s % 186 % MTB_12195 DVR_583214 MXA-W5040186 40 186 151 70 DVR_704014 =

MXB-5832300 300 MXA-W5040300 50 40 300 265 70 MTB-16260

MXB-7040186 186 MXA-W5050184 50 184 149 80 DVR-805016

MXB-7040300 70 40 300 40 DVR-704014 MXA-W5050300 50 300 265 80

MXB-7040500 500

MXB-8050204 204 MLER 6260 *ltis a Adaptor that converts the MX modular system to Side loick Type.

MXB-8050300 80 50 300 50 DVR-805016

MXB-8050500 500

O EFEMMXR/ MX Reducer O EIEFFMXE/ MX+EXT Adaptorr
g R Size e R Size

Specifi?atsﬁn/ltem Ds d L D DI B DIk bine ZEERY Specifi(%tsiﬁn/hem Ds d L D DI B D1/DriveRing
MXR-1613100 16 13 100 32 28 MXB-08115 DVR-281310 DVR-321610 MXE-3613100 13 28 MXB-08115 DVR-281310
MXR-2216100 22 16 100 40 32 MXB-08115 DVR-321610 DVR-402212 MXE-3616100 16 32 MXB-08115 DVR-321610
MXR-2722100 27 22 100 48 40 MXB-10145 DVR-402212 DVR-482712 MXE-3622100 36 22 63 40 MXB-10145 DVR-402212
MXR-3213100 32 13 100 58 28 MXB-08115 DVR-281310 DVR-583214 MXE-3627100 13 28 MXB-12175 DVR-482712
MXR-3216100 32 16 100 58 32 MXB-08115 DVR-321610 DVR-583214 MXE-3632100 16 100 32 MXB-12195 DVR-583214
MXR-3222100 32 22 100 58 40 MXB-10145 DVR-402212 DVR-583214 MXE-4513100 22 40 MXB-08115 DVR-281310
MXR-3227100 32 27 100 58 48 MXB-12175 DVR-482712 DVR-583214 MXE-4516100 27 48 MXB-08115 DVR-321610
MXR-4032100 40 32 100 70 58 MXB-12195 DVR-583214 DVR-704014 MXE-4522100 45 32 80 58 MXB-10145 DVR-402212
MXR-5013080 50 13 80 80 28 MXB-08115 DVR-281310 DVR-805016 MXE-4527100 13 28 MXB-12175 DVR-482712
MXR-5016080 50 16 80 80 32 MXB-08115 DVR-321610 DVR-805016 MXE-4532100 16 32 MXB-12195 DVR-583214
MXR-5022080 50 22 80 80 40 MXB-10145 DVR-402212 DVR-805016
MXR-5027080 50 27 80 80 48 MXB-12175 DVR-482712 DVR-805016 % Itis a Adaptor that converts the MX modular system to EXT modular system.
MXR-5032080 50 32 80 80 58 MXB-12195 DVR-583214 DVR-805016
MXR-5040150 50 40 150 80 70 MXB-16260 DVR-704014 DVR-805016




Ry Size

SR B
Specification/Item D D1 | L d Insert
420-28 28 13 60 137 32 WCMXO06...
420-30 30 13 60 137 32 WCMXO06...
420-32 32 13 60 137 32 WCMXO06...
420-36 36 13 60 137 32 WCMXO06...
422-22 22 - 60 137 32 WCMXO05...
459-22 22 3.2 60 137 32 WCMXO05...
RS g BRI
Specification/Item D | L d Insert
424-25 25 60 137 32 WCMXO06...
424-26 26 60 137 32 WCMXO06...
424-28 28 60 137 32 WCMXO06...
424-30 30 60 137 32 WCMXO06...
424-32 32 60 137 32 WCMXO06...
424-34 34 60 137 32 WCMXO06...
424-36 36 60 137 32 WCMXO06...
469-22 22 60 137 32 WCMXO05...
_ ﬂ?ﬁ RT_'- Size i@ﬁﬁ 7])#
Specification/Item D D1 | L Insert
315-28 28 16.7 124 195 WCMXO05...
315-30 30 16.7 124 195 WCMXO05...
315-32 32 16.7 124 195 WCMXO05...
315-36 36 16.7 124 195 WCMXO05...
330-22 22 3.2 124 195 WCMXO05...




InDexable Insert Drill Cutting Condition

UshtHIF4R

inDexable Insert Drill Cutting Condition

U IS 4R

OMIRRRE, tIHEISETIEN0.5-215 (FIRME - 1S - FIRE
O HEBLIAIEY ( 2D~3D ) Recommended Cutting Conditions (2D~3D) Minimum value—-Recommended value-Maximum value
— Hin%d ﬁ%ﬁé HBIDA \éﬁﬁﬁus@% g 2Feed Rate (mm/rev)
Work Material Norgiece | el Recommended (m,gmfrse $ 130~ ¢ 18.0| ¢ 185~ ¢ 29.0| $ 295~ ¢ 36.0| $ 37.0~ ¢ 55.0| ¢ 56.0~ ¢ 68.0)
HB | ibeder | InsertGrade

W . A3HISS400 125 | G |ACP300 |105-155-2050.04-0.07-0.09 | 0.04-0.07-0.09 [0.04-0.07-0.10| 0.04-0.07-0.11 [0.05-0.08-0.12
. 154#§8/S15C 125 | L [ACP300|115-145-190{0.03-007-0.11|0.03-0.07-0.11 [0.03-0.07-0.12| 0.05-0.10-0.14 [0.06-0.11-0.16
. 45#38/S45C Hardened 190 | G |ACP300 | 85-130-170 |0.07-0.12-022| 0.07-0.12-0.22 0.07-0.13-0.24| 0.08-0.15-027 [0.09-0.16-0.30
" A5H#5R % K/S45C 250 | G |ACP300 | 70-105-140 0.05-0.10-0.17| 0.05-0.10-0.17 0.05-0.11-0.18 0.06-0.12-0.20 |0.07-0.13-0.22
. 60#8/S75C 270 | G |ACP300 | 85-115-140 0.07-0.12-0.20| 0.07-0.12-0.20 | 0.07-0.13-0.21 | 0.08-0.15-0.24 |0.09-0.16-0.27
. 60#§ 7% J/ST5C Hadened | 300 | G |ACP300| 60-85-120 |0.05-0.10-0.16|0.05-0.10-0.16 [0.05-0.11-0.17 | 0.06-0.12-0.19 [0.07-0.13-0.20
TS S spomo-szomoscinSoy 180 | L |ACP300 | 85-120-155 | 0.04-0.09-0.13| 0.04-0.07-0.13| 0.04-0.07-0.15| 0.05-0.08-0.16 | 0.06-0.09-0.18
. 2cmo-420mo BSOSO Haked| 275 | G| ACP300 | 70-105-140 [0.05-0.10-0.16| 0.05-0.10-0.16 [0.05-0.11-0.17| 0.06-0.12-0.19 [0.07-0.13-0.20
. 2cmo-42cmo EHSOUSNCHHatens| 300 | G | ACP300 | 65-95-120 [0.05-0.10-0.16| 0.05-0.10-0.16 0.05-0.11-0.17| 0.06-0.12-0.19 [0.07-0.13-0.20
. 2cmo-420mo EJSCUSNCHHatersd| 350 | G | ACP300| 55-75-95 |0.05-0.10-0.16|0.05-0.10-0.16 0.05-0.11-0.17| 0.06-0.12-0.19 [0.07-0.13-0.20
2 BEEMN  S#anasTABS0ONISH | 200 | G |ACP300 | 85-115-140 |0.07-0.12-022] 0.07-0.12-022(0.07-0.13-0.24 | 0.08-0.15-0.27 | 0.09-0.16-0.30
. BEBIASTABINSONISH | 325 | G |ACP300| 70-85-105 [0.05-0.10-0.17|0.05-0.10-0.17 |0.05-0.11-0.18 | 0.06-0.12-0.20 0.07-0.13-0.22
TEH U sonaty (SRERHEBE)] 200 | G | ACP300 | 85-120-155 [0.05-0.10-0.17| 0.05-0.10-0.17 [0.05-0.11-0.18( 006-0.12-020 [0.08-0.13-0.22
. o MoRRf SEAE BN 240 | G |ACP300 | 80-105-130 [0.05-0.10-0.17|0.05-0.10-0.17 [0.05-0.11-0.18| 0.06-0.12-020 [0.08-0.13-022
. 04316 BIAE onitc 180 | G |ACP300 | 85-120-155 |0.05-0.10-0.17| 0.05-0.10-0.17 [0.05-0.11-0.18| 0.06-0.12-020 |0.08-0.13-0.22
% cast ron H | ACK300|105-140-170|0.08-0.18-0.30| 0.09-0.20-0.34 | 0.10-022-0.37| 0.11-0.24-041 |0.12-0.27-045
BR 458 Duotile CastIron H | ACK300 | 80-105-130 |0.08-0.19-0.30| 0.09-0.20-0.34 | 0.10-022-0.37| 0.11-0.24-041 |0.12-0.27-045
M (G S, Bas, Ba&ec)| 200 | G |ACP300| 25-45-60 |0.05-010-0.17|005-0.10-0.17 0.05-0.11-0.18| 0.06-0.12-020 | 0.07-0.13-0.22
24 & Auminium Aoy G |DL1500 |170-225-275(0.05-0.10-0.16| 0.05-0.10-0.16 | 0.05-0.11-0.17 | 0.06-0.12-0.19 |0.07-0.13-0.20
$4 4 Copper Alloy G [DL1500 |155-200-240|0.05-0.10-0.16| 0.05-0.10-0.16 |0.05-0.11-0.17| 0.06-0.12-0.19 |0.07-0.13-0.20

Hbva Bnd 1080 120 61 755 fof he retommanded Curing canarions. - |1°® & cutting speed ve of 130% in the table

— H%i%of é%% ﬁﬁé’# \C,E;)iéusgfa Fitt 5 2Feed Rate (mm/rev)
Work Material orkiece | e Recommended (mf’mlpn) 130~ ¢ 180| & 185~ ¢ 29.0| ¢ 295~ ¢ 36.0| ¢ 37.0~ ¢ 55.0| & 56.0~ ¢ 680
HB | ibedker | InsertGrode

W . A3HI/SS400 125 | G |ACP300|105-155-205(0.04-0.06-0.09]0.04-0.06-0.09(0.04-0.07-0.10|0.04-0.07-0.11|0.05-0.08-0.12
" 154§/S15C 125 | L |ACP300|115-145-190|0.03-0.06-0.09]0.03-0.06-0.09(0.03-0.07-0.10|0.04-0.08-0.11|0.05-0.08-0.12
- 45#3/S45C Hardened 190 | G |ACP300|85-130-170 [0.07-0.11-0.19]0.07-0.11-0.19(0.07-0.12-0.20|0.08-0.13-0.22|0.09-0.15-0.25
" 45437 X/S45C 250 | G |ACP300|70-105-140 [0.06-0.09-0.14(0.05-0.09-0.140.05-0.10-0.15(0.06-0.11-0.17(0.07-0.12-0.19
. 60#§8/S75C 270 | G |ACP300/ 85-115-140 [0.08-0.11-0.17|0.07-0.11-0.170.07-0.12-0.18|0.08-0.13-0.20{0.09-0.15-0.22)
. 60#3 % X/S75C Hadened | 300 | G |ACP300| 60-85-120 [0.06-0.09-0.13(0.05-0.09-0.130.05-0.10-0.14(0.06-0.11-0.16{0.07-0.12-0.18
RS EH 00mo-somoscushou 180 | L |ACP300| 85-120-155 [0.04-0.06-0.11|0.04-0.06-0.11|0.04-0.07-0.12|0.05-0.07-0.14(0.06-0.08-0.15]
. 2cmo-42emo EJSCUSNCM Haked| 275 | G| ACP300 | 70-105-140 [0.05-0.09-0.13(0.05-0.08-0.13{0.05-0.10-0.14(0.06-0.11-0.16{0.07-0.12-0.18
" 2cmo-42cmo EJSCUSNCHHaten| 300 | G | ACP300| 65-95-120 [0.05-0.09-0.13(0.05-0.09-0.13(0.05-0.10-0.14(0.06-0.11-0.16(0.07-0.12-0.18
. 2cmo-42emo ESCUSNCHHatensd| 350 | G |ACP300| 55-75-95 [0.05-0.09-0.13(0.05-0.09-0.13(0.05-0.10-0.14(0.06-0.11-0.16(0.07-0.12-0.18
® BEEW  mesnasTa@s0s0sH | 200 | G |ACP300| 85-115-140 [0.07-0.11-0.19(0.07-0.11-0.18(0.07-0.12-0.20[0.08-0.13-0.22{0.09-0.15-0.25
" BEBNASTRBANSOSTSH | 325 | G [ACP300| 70-85-105 |0.05-0.09-0.14(0.05-0.08-0.14|0.05-0.10-0.15(0.06-0.11-0.17/0.07-0.12-0.19
TTH Euobiiy (SREREERE) 200 | G |ACP300| 85-120-155 [0.05-0.09-0.14]0.05-0.09-0.14/0.05-0.10-0.10{0.06-0.11-0.17]0.07-0.12-0.19
. Mo doREt SREZ FN)| 240 | G |ACP300| 80-105-130 [0.05-0.09-0.14|0,05-0.09-0.14|0.05-0.10-0.15(0.06-0.11-0.17/0.07-0.12-0.19
" Iu O R il 180 | G |ACP300| 85-120-155 |0.05-0.09-0.14(0.05-0.09-0.14(0.05-0.10-0.15(0.06-0.11-0.17/0.07-0.12-0.19
%% castIron H | ACK300|105-140-170|0.08-0.17-0.25]0.09-0.19-0.28|0.10-0.20-0.300.11-0.22-0.34(0.12-0.24-0.38
BRE 5% Ductle Cast Iron H | ACK300| 80-105-130 [0.08-0.17-0.25]0.09-0.19-0.28|0.10-0.20-0.300.11-0.22-0.34(0.12-0.24-0.38
MHIM(MAGS, Bas, HaEe)| 200 | G |ACP300| 25-45-60 [0.05-0.09-0.14{0.05-0.09-0.14{0.05-0.10-0.15(0.06-0.11-0.17/0.07-0.12-0.19
£8A % Auminium Alloy G [DL1500 |170-225-275(0.05-0.10-0.16|0.05-0.10-0.16|0.05-0.11-0.17|0.06-0.12-0.19/0.07-0.13-0.20
$A4 % Copper Alloy G [DL1500 |155-200-240|0.05-0.10-0.16|0.05-0.10-0.16|0.05-0.11-0.17|0.06-0.12-0.19/0.07-0.13-0.20)

It the first recommended insert grades for P and K, In such cases,

above and a feed rate of 75% for the recommended cutting conditions.

Please use a cutting speed vc of 130% in the table

ONMIRNRERE, tIEISEHTIBIN.5-21F (FIRME - 1S - CIRE
O HEBLIAIEY ( 4D~5D ) Recommended Cutting Conditions (4D~5D) Minimum value-Recommended value-Maximum value
— Ig g{%ﬁé ®RIR VDRI FfGEFeed Rate (mm/rev)
Work Material R [t Remmendd| CONP9%00e9 | 13 4 16,0 ¢ 185  20.0| 6 295~ ¢ 36.0| 6 37.0- ¢ 50| 6 560~ ¢ 630
HB | Gipbeder | Insert Grade
W . A3HSS400 125 | G [ACP300|105-155-205(0,04-0.06-0.09|0.04-0.06-0.09]0.04-0.06-0.09|0.04-0.07-0.09| 0.05-0.08-0.10
. 154#§8/S15C 125 | L [ACP300|115-145-190]0.03-0.06-0.08|0.03-0.06-0.08]0.03-0.06-0.08|0.04-0.07-0.09| 0.05-0.08-0.10
. 45#3B/S45C Hardened 190 | G [ACP300|85-130-170 [0.07-0.10-0.16|0.07-0.10-0.16]0.07-0.11-0.17|0.08-0.13-0.20| 0.09-0.14-0.21
. 4543 X/S45C 250 | G |ACP300]| 70-105-140 0.05-0.08-0.12]0.05-0.09-0.12{0.05-0.09-0.13|0.06-0.10-0.14| 0.07-0.11-0.16
. 60#38/S75C 270 | G |ACP300| 85-115-140 [0.07-0.10-0.140.07-0.10-0.14(0.07-0.11-0.16|0.08-0.13-0.18| 0.09-0.14-0.19
. 60#§ 7% J/S75C Hadened | 300 | G [ACP300| 60-85-120 [0.05-0.09-0.11(0.05-0.08-0.110.05-0.09-0.12{0.06-0.10-0.13[ 0.07-0.11-0.15
RS somo-s2omoiscisnoy 180 | L [ACP300|85-120-155 |0.04-0.06-0.09|0.04-0.06-0.09|0.04-0.06-0.10(0.05-0.07-0.11|0.06-0.08-0.13
: 2cmo-420mo EHSOUSNCH Hakes| 275 | G |ACP300| 70-105-140 [0.05-0.09-0.11|0.05-0.09-0.11(0.05-0.09-0.12[0.06-0.10-0.13[ 0.07-0.11-0.15
: 2cmo-420mo EHSOUSNCHHateos| 300 | G [ACP300| 65-95-120 [0.05-0.09-0.11|0.05-0.09-0.11(0.05-0.09-0.12{0.06-0.10-0.13[ 0.07-0.11-0.15
' 2cmo-420mo EHSOUSNCHHateres| 350 | G |[ACP300| 55-75-95 [0.05-0.09-0.11|0.05-0.09-0.11(0.05-0.09-0.12|0.06-0.10-0.13| 0.07-0.11-0.15
€ BEEMN  s#anasTAEs0ISH | 200 | G |[ACP300|85-115-140 |0.07-0.10-0.160.07-0.10-0.16/0.07-0.11-0.17(0.08-0.13-0.20| 0.09-0.14-021
' BEANASTABINSOKTSH [ 325 | G [ACP300| 70-85-105 |0.05-0.09-0.12|0.05-0.09-0.12]0.05-0.09-0.13(0.06-0.10-0.14| 0.07-0.11-0.16
LM, ORI hna e8] 200 | G |ACP300| 85-120-155 |0.05-0.09-0.12]0.05-0.09-0.12|0.05-0.09-0.130.06-0.10-0.14| 007-0.11-0.16
' R o5 X)] 240 | G |ACP300| 80-105-130 [0.05-0.09-0.12|0.05-0.09-0.12]0.05-0.09-0.1/0.06-0.10-0.14] 0.07-0.11-0.16
" 4316 BIAR ritc 180 | G [ACP300| 85-120-155 [)0.05-0.09-0.120.05-0.09-0.12{0.05-0.09-0.13|0.06-0.10-0.14|0.07-0.11-0.16
4k cast ron H  |ACK300|105-140-170(0.08-0.16-0.21|0.09-0.18-0.24|0.10-0.20-0.26(0.11-0.21-0.29| 0.12-0.23-0.32
Bk B 459 Duotile Cast ron H  |ACK300| 80-105-130 0.08-0.16-0.21|0.09-0.18-0.24]0.10-0.20-0.26(0.11-0.21-0.29| 0.12-0.23-0.32
MM (G E, Bas, HaEeo) 200 | G |ACP300| 25-45-60 [0.06-010-0.13/0.05-0.09-0.12]0.05-0.09-0.13[0.06-0.10-0.14 0.07-0.11-0.16
BEE Auminum Aloy G |DL1500]170-225-275(0.04-0.09-0.14|0.04-0.09-0.14]0.05-0.10-0.15(0.05-0.11-0.17| 0.06-0.12-0.19
$4 4 Copper Alloy G [DL1500155-200-240|0.04-0.09-0.14{0.04-0.08-0.14]0.05-0.10-0.15|0.05-0.11-0.17 0.06-0.12-0.19
Hibova Bnd 1280 1216 o7 755 fof tha recommanded Curing condiona. - |56 & cutting speed ve of 130% in the table
SNTHE e é%% ﬁﬁé“’ VetpapEE Fé#G EFeed Rate (mm/rev)
Work Material ot eonnete] Recommended c”g::‘fniﬁsed 130~ ¢ 180| ¢ 185~ ¢ 29.0| & 295~ ¢ 36.0| ¢ 37.0~ ¢ 550| b 560~ ¢ 680
HB | Cipbeder | Insert Grade
| ASHSS400 125 | G |ACP300|105-155-205|0.04-0.05-0.08 0.04-0.05-0.08(0.04-0.05-0.08|0.04-0.06-0.08
. 15488/S15C 125 | L |ACP300|115-145-190|0.03-0.05-0.07 0.03-0.05-0.07|0.03-0.05-0.07|0.04-0.06-0.08
- 45#38/S45C Hardened 190 | G |ACP300| 85-130-170 |0.06-0.09-0.140.06-0.08-0.14(0.07-0.10-0.16(0.08-0.11-0.18
. A5H#5 % K/S45C 250 | G [ACP300|70-105-140 [0.04-0.08-0.10{0.04-0.08-0.10|0.05-0.08-0.11(0.05-0.08-0.13
. 60#38/S75C 270 | G [ACP300| 85-115-140 [0.06-0.08-0.13(0.06-0.09-0.13(0.07-0.10-0.14|0.08-0.11-0.16
. 60#3 % X/S75C Hardened | 300 | G [ACP300| 60-85-120 [0.04-0.08-0.10(0.04-0.08-0.10|0.05-0.08-0.11 0.05-0.08-0.12
1R85 2omo-4zcmasomson 180 | L |ACP300| 85-120-155 |0.04-0.05-0.08|0.04-0.05-0.08|0.04-0.05-0.09|0.04-0.06-0.10
' 2cmo-42cmo EHSCUSNCH Haked| 275 | G ACP300| 70-105-140 [0.04-0.08-0.10{0.04-0.08-0.10]0.05-0.08-0.11|0.05-0.08-0.12
' 2cmo-42cmo EHSCUSNCHHaen| 300 | G [ACP300| 65-95-120 [0.04-0.08-0.10|0.04-0.08-0.100.05-0.08-0.11(0.05-0.08-0.12
' 2cmo-42emo ESCUSNCHHatered| 350 | G [ACP300| 55-75-95 [0.04-0.08-0.10|0.04-0.08-0.100.05-0.08-0.11(0.05-0.08-0.12
L BEEN  sEALTAEN0NSH | 200 | G |[ACP300|85-115-140 |0.06-0.09-0.14/0.06-0.09-0.140.07-0.10-0.16(0.08-0.11-0.18
' BEBALTABANSOSTSH [ 325 | G [ACP300| 70-85-105 |0.04-0.08-0.10{0.04-0.08-0.10]0.05-0.08-0.11(0.05-0.09-0.13
Tom ksl SRERREER) 200 | G [ACP300| 85-120-155 |0.04-0.08-0.10[0.04-0.08-0.10]0.05-0.08-0.11(0.05-0.09-0.13
" 06 4ORAM SIRER (BN) 240 | G |ACP300| 80-105-130 [0.04-0.08-0.100.04-0.08-0.10] 0.05-0.08-0.11|0.05-0.09-0.13
" Iu S BEBR, i 180 | G |ACP300)| 85-120-155 |0.04-0.08-0.10|0.04-0.08-0.100.05-0.08-0.11|0.05-0.09-0.13
%% castiron H  |ACK300|105-140-170|0.07-0.14-0.20(0.08-0.16-0.21|0.08-0.17-0.23|0.10-0.18-0.26
BR 2 % Ductle Cast Iron H  |ACK300| 80-105-130 |0.07-0.14-0.20(0.08-0.16-0.21|0.08-0.17-0.23|0.10-0.18-0.26
M mAG S, Bag, faZec)| 200 | G [ACP300| 25-45-60 |0.04-0.08-0.10[0.04-0.08-0.10]0.05-0.08-0.11(0.05-0.09-0.13
&S Auminum Aloy G [DL1500|170-225-275(0.04-0.09-0.14(0.04-0.08-0.14]0.05-0.10-0.15(0.05-0.11-0.17
$ 4 Copper Alloy G [DL1500155-200-240|0.04-0.09-0.14|0.04-0.08-0.14]0.05-0.10-0.15(0.05-0.11-0.17

It the first recommended insert grades for P and K, In such cases,

above and a feed rate of 75% for the recommended cutting conditions.

Please use a cutting speed vc of 130% in the table



Weldon Tool Holder
VES WAL ]

BT-SLA Weldon Tool Holder
BT-SLABIE T\ )R

HUSECat.No

-SLA20-75

M16x2.0P

-SLA20-90

BT50

*JEZEHTETHI Non-standard parts can be ordered

Weldon Tool Holder
= KBEIETN DR

s e [o [o[o[o] [o el [e[ou[ofulel
e I I I P R R K S ER A R
T o o [ foaer Fe T T T T T oo o]
e P P e P 0 8 I 8 N I
e P S Y Y P PN T
s sweol e | s | s [sso [on [oma| s [ | s v [ [ Juws] |+~
wissvo s Lo | s L[ fomal s Lo o T Lon Lo funs [ L




)
a
S
=
a
©
=3
1%
©
=1
w

Indexable Insert Recommand

Ushi&EcJ] R #EFER

O WCHRFBITIH/IEEL / WCinsert

O WCRBIDSTE (REFSHETBERM ) / WCtype DSinserts (SS chip breaking)

O SO&RFIFHIER /SO insert

O SPRIITIFER / SPinsert

g -
1) s

BN REFER

O SP/XOZBITIFIEEY/SP/X0 insert

O SP/XOZH5IT]FiEH/SP/X0 insert

O XCHRBITIFHIER / XCinsert

Figure A

RUSE . EXRY (mm) U B
Specification/Item L Ic s d r (mm)
WCMT 020204 FN [AZz330[ 2.25 [ 457 | 159 | 1.8 0.4 [11-14.5
WCMT 030208 FN |Az330| 3.8 | 5.56 | 2.38 | 2.8 0.8 [15-20.5
WCMT 040208 FN [Az330[ 4.3 | 6.35 | 2.38 | 3.1 0.8 [21-24.5
WCMT 050308 FN [Az330 5.4 | 7.94 | 3.18 | 35 0.8 | 25-30.5
WCMT 06T308 FN [Az330[ 6.5 [ 9.525 | 3.97 | 3.7 0.8 [31-41/63-80
WCMT 080412 FN [AZz330[ 8.7 | 12.7 | 4.76 | 4.3 1.2 | 42-62

il . EFRY (mm) UREE
Specification/ltem L IC s d r | (mm)
WCMT 030208 DS [BK9030| 3.8 | 5.56 | 2.38 | 2.8 0.8 [15-20.5
WCMT 040208 DS [BK9030[ 4.3 | 6.35 | 2.38 | 3.1 0.8 [21-24.5
WCMT 050308 DS [BK9030[ 5.4 | 7.94 | 3.18 | 35 0.8 [25-30.5
WCMT 06T308 DS [BK9030[ 6.5 | 9.525 | 3.97 | 3.7 0.8 [31-41/63-80
WCMT 080412 DS [BK9030| 8.7 | 12.7 | 4.76 | 43 1.2 | 42-62

RISR [ EFRY (mm) UBEE
Specification/Item d t DI r (mm)

[ SOMT 050204 DP_|AP9030] 4.9 | 2.38 | 2.25 | 0.4 3-16
[ SOMT 060204 DP_|AP9030| 5.7 | 2.38 | 2.6 0.4 5-19
[ SOMT 070306 DP_|AP9030| 6.8 2.8 2.6 0.6 522
[ SOMT 08T306 DP_|AP9030] 7.9 | 3.97 | 2.85 | 0.6 22.5-26
[ SOMT 09T308 DP_|AP9030] 9.2 | 3.97 | 3.8 0. 26.5-31.5
[ SOMT 117308 DP_|[AP9030] 11 3.97 | 3. 0. 32-36.5
[ SOMT 130408 DP_|AP9030] 12.8 | 4.4 4.4 0. 7-43
[[SOMT 150510 DP_|AP9030] 15 4.8 5.4 1.0 44-50

Eidh ] e EARY (mm) UBEE
Specification/Item d s h r (mm)
SPGT 030104 DG _[AT9030| 3.5 1.4 1.9 0.4 5-95
SPGT 041102 DG _|AT9030[ 4 1.8 | 2.056 | 0.2 0-12.

SPGT 050204 DG_|AT9030[ 5 38 | 2.3 0.4 —15.
SPGT 060204 DG_|AT9030[ 6 38 | 2.61 | 04 —21.
PGT 077308 DG _|AT9030] 7.94 97 | 2.85 | 08 22-28.5
PGT 090408 DG _|AT9030] 9.8 43 | 405 | 08 29-34.5
PGT 110408 DG |AT9030] 11.5 | 4.8 | 4.45 | 0.8 35-41.5
SPGT 140512 DG_|AT9030] 14.3 | 52 | 675 | 1.2 42-50

O GARFTIFIERY / GINSERT

Indexable Insert Recommand

Ut

Figure B

RS EARY (mm) | yugam
Specification/Item d r s di (mm)
SPMT 040204 DP | 4.7 [ 0.4 | 2.4 | 2.4 [ 12-14
SPMT 050204 DP | 5.1 | 0.4 | 2.4 | 2.4 | 14-16
SPMT 060205 DL | SPMT 060205 DP | 6.2 | 0.5 | 2.5 | 2.7 | 17-19
SPMT 077208 DL | SPMT 077208 DP | 7.5 | 0.7 | 2.8 [2.95 | 20-23
SPMT 090308 DL | SPMT 090308 DP | 9.2 | 0.8 [ 3.3 | 35 | 24-29
SPMT 117308 DL | SPMT 11T308 DP | 11 | 0.8 [ 4 | 4.1 | 30-35
SPMT 130410 DL | SPMT 130410 DP | 13 | 1 | 4.5 | 4.6
SPMT 15M510 DL | SPMT 15M510DP [15.2 [ 1 [ 4.98 | 5.65
AU ERRY (mm) | umaR
Specification/Item d v s di (mm)
XOMT 040204 DP | 4.9 | 0.4 | 2.42 | 2.35 | 12-14
XOMT 050204 DP | 5.4 | 0.4 | 2.4 | 2.4 | 14-16
XOMT 060204 DL | XOMT 060204 DP | 6.6 | 0.4 | 2.5 | 2.7 | 17-19
XOMT 07T205 DL | XOMT 077205 DP | 7.8 | 0.5 | 2.9 [2.95 | 20-23
XOMT 090305 DL | XOMT 090305 DP | 9.6 | 0.5 [ 3.3 | 385 | 24-29
XOMT 11T306 DL | XOMT 117306 DP [11.4 [ 0.6 | 4 | 4.1 | 30-35
XOMT 130406 DL | XOMT 130406 DP [ 13.6 | 0.6 | 4.5 | 4.6
XOMT 15M508 DL | XOMT 15M508 DP | 15.9 | 0.8 [ 5.04 | 5.65
AIGE EFRY (mm) - Wl
e Figure -
Specification/ltem | | L S RE D ik
XCMT 040104RTC | 4.40 | 6.40 | 1.70 | 0.40 | 2.10 | A |TCAPO8R
XCMT 040104L TC| 4.40 | 6.40 | 1.70 | 0.40 | 2.10 | A [ TCAPOSL
XCMT 050204 TC| 5.60 | 5.60 | 2.10 | 0.40 | 2.30 [ B |TCAP10R
XCMT 060204 _TC| 6.40 | 6.40 | 2.38 | 0.40 | 2.60 | B |TCAP12R
XCMT 070304 TC| 7.50 | 7.50 | 3.18 | 0.40 | 2.80 | B |TCAP14R
XCMT 080304 TC| 8.40 | 8.40 | 3.18 | 0.40 | 3.40 | B |TCAP16R
XCMT 107304 TC | 10.50 | 10.50 | 3.97 | 0.40 | 4.20 B__| TCAP 20R
XCMT 107308 TC | 10.50 | 10.50 | 3.97 | 0.80 | 4.20 B__|TCAP20R
XCMT 130404 TC | 13.40 | 13.40 | 4.76 | 0.40 | 5.20 B |TCAP25R
XCMT 130408 TC | 13.40 | 13.40 | 4.76 | 0.80 | 5.20 B [TCAP25R
XCMT 170508 TC | 17.40 | 17.40 | 5.56 | 0.80 | 5.20 B |TCAP32R
il . EXRY (mm) U B
Specification/Item W1 s RE1 | RE2 (mm)
WDXT042004-G_| AP300 | 4.20 200 | 04 0.4 15
WDXT052504-G_| AP300 | 5.00 50 | 0.4 0.4 -
WDXT063006-G | AP300 | 6.00 200 | o. 0.6 =
WDXT073506-G_| AP300 | 7.50 50 | o. 0.6 =
WDXT094008-G | AP300 | 9.60 | 4.00 | o0. 0.8 9-35
WDXT125012-G_| AP300 | 12.40 | 5.00 | 1. 1.2 /
WDXT156012-G_| AP300 | 15.20 | 6.00 | 1.2 1.2 /

0
o}
=
=)
a
©
5
73
0}
W
=1
%]




indexable U drill and Boring Head spares

Ush« ##7JEHR

Indexable Insert Drill Cutting Condition

FLINTRIHER

ﬁ%%(N) s N s N s N

Vo in): 108 @ e ———r
Nz —¢ m/min Ve (m/min): t1AIRE  Dilmm) BEET —_—
T xD1 X 1000l ) T (314) : BEE  N: TH#E T i———
*FA1000KFR, RBmmIRE M (BISE) EDAISEREVC=130m/min BBEELS ¢ 25
" SKREEER (N) \ J N y, L y,
t ) (5) =314, DI=25, Vc=130ADT KifiEEE S acckee yellow box K &acckee white box EBshiRFSem drill wrench
N = — 130 1000 =1656r/min e p e p e p
3.14x 25
B, SEEERB1656r/ming
20
FIERE (V)
¥i= f- n{mm/min) Vi imm/min)- =g (78h) ERBRE L ) L ) L )
N f (mrn{reﬂ:‘@%ﬁ'-nz wE (EEREY) T6/T7/T8/T15 IRE (BBXH) T6/T7/T8/T15 RF (EEEY) PLUS T6/T7/T8/T15
t ) n(min™) :E SR WRENCH(wiha) WRENCH (black acckee) WRENCH (wiha)PLUS
(BIE) FEEGER0.2mm/rev p N p N p N
ESRAS1350min™ SKEEISRE
(B) KALR
Vi= f- n=0.2x1350=270mm/min
L@| Bt SEEME D EESEH270mm/min
SLI0 A (Te)
Id - i Te(min): 0 LHFRE Id(mm)S&3LR N J N J N J
Te="n n(min”) - IR f(mm/rev) GEESGE FITIENERLZL (1-6#) FET] FrEEiR# (1-64) sk
i-3L 2K side fastening screw for chuck(1-6#) cutter block screw(1-6#) end cap
n (ﬁu%) ESCN\440§WL§§®]5, %30mmﬂg§bo EQUEE% Ve ~N Ve ~N Ve ~N
{ ) 50m/min, FEEREE550.15mm/rev, K52 Bl 5 R
(%) Eapess = _90x1000 ;61 57min""
FEHEER N 15314 1061.57min
Te= —30x1 g8
1061.57 x 0.15
Ii‘£1| =0.188 x 60=11.3 ) T FEAITE
1 N J N J g J
@ Cutting speed(Vc) @®Feed speed P e Y e p—— e
roug boring head fitting-tightening, side fastening screw screw

Dcx 1t x n Vec(m/min):cutting speed Viimm/min):feed speed screws for rough boring head screw for finish boring head
=—— "~ Dc(mm):drill diameter Vi=fr x n(mm/min) fr(mm/rev):feed rate per revolution
1000 n(rev/min):rotating speed n(rev/min):spindle speed N
®Example ®Example

spindle speed is 1600 rev/min. Drill diameter is 20
mm, thus cutting speed is:
20x3.14 x1600
Ve DExmxn _ 20x05.14x =100(m/min)
1000 1000

® Machining time

Tc(min):machining time

3 P
Tc = Idxi fr(mm/rev):feed rate per revolution - Vix w xDc” g(c(m /Tén.’l'lrggml r;emoval el
T nxf i:number of holes Id(mm):drilling depth T 4x1000 o He Ll el
n(rev/min):spindle speed X Vi(mm/min):feed speed g
®Example ®Example
Drilling a hole with a diameter of 20 mm and a Drill diameter is 20mm, feed speedis160mm/rev, 'ﬁ

depth of 40 mm,cutting speed is 100m/min and
feed rate per revolution is 0.1mm/rev. Calculate
the drilling time.

Spindle speed is 1500 rev/min, feed rate per
revolutionis 0.1mm/rev, thusfeed speedis:

Vi =fr x n=0.1x 1500=150(mm/min)

® Metal removal rate

thus metal removal rate is:

1000 100 x 1000 , . ,
_ Vex _ =1600(rev/min) Qe Vix ™ xDc _ 160x3.14 x 20 = 50.24(cm/min)
Dex 20x3.14 4 %1000 4 x1000
Te= dxi_ 40X g o5(min)

nxfr  1600x0.1

SR LR
Semdrill Screw




Working Condition In VMC Machine TheSolutions Of Common Problems
HR 1% 5 £ ZF PR HY N FB CIEHESPOES

SHE@ ) ®D2 : L2 L1 ) }E@J ?H%EKE

®D1 L3 ‘

-REERE,
SERERTFRIEECENH HEBMNETEIER,

EBRY
T B R (mm) ANTEREEE | POSHEEE IWERE
od | oD1 | ®D2 | L1 L2 | L3 | L4
SHE2025-43 ° 20 | 25 | 41 43 4 36 | 3.0 +0.4~-0.2 +0.2~-0.15
SHE2532-48 ° 25 | 32 | 49 | 48 6 38 | 25 +0.4~-0.2 +0.2~-0.15 I REHEBHLE, _RRELAIEE,
SHE3240-53 ° 32 | 40 | 58 | 53 | 6 | 43 | 25 +0.4~-0.2 +0.2--0.15 g:ggégg:ﬁ%‘;ﬁéﬂﬁﬂmﬁﬂ BEEE SR AR, -fﬁﬁﬁ?&*ﬁio o "
SHE4050-63 ° 40 50 74 63 6 49 | 3.0 +0.6~-0.2 +0.2~-0.2 4 RERLIRIRE, -RERTRELEROHNEREBOEL, SCCX-P1)
[ Bty e
LI TERA R~ TP EETRLII~ 2 /HBEDNS~AEBR OBBRBEDNSERI T HE~
1) © 30Ky # TR UBIEERE
() BB (mm O PINSFFEE(mm
DDI;EQ %ﬁ.( ) s l’;ﬁ fg(ﬂ ) ROBE3IENBIEE RE2EUE, EDEE
£ E = 3 E =
DHER | REE IRER | #RES REERE, NRRFEROME, BE SEEAMREARE.
©20 20 EREBHESARE, -BRDARE.
®25 +0.4~-0.2 25 +0.2~-0.15 -i?ii%ﬁ@?ﬁ&ﬁﬁﬁﬁ%ﬂ'ﬂﬁf%ﬁ%ﬁiﬁﬂﬁé
®32 ®32 BY1EEL, (SCGX-P1)
40 +0.6~-0.2 40 +0.3~-0.2
OERAIE
EEELY) MRS
OUBENRVESEEFEREDAREBRNPRSESE, HEESNERNINBEAESZE
QBEANIEHESO+EESEHE\VITERESQ-TOEE.
QEHEGHR, LEBENIRFBAEGEOZ LN, NTE PHREESF. ~ R 83 A (B AR S BX B 7Y
@ERABENMENTRIEM, tEENHOBEEEREEHE. TRBHEEEEER) _
FRISHAARESRESNER TRE, B2

R R EABEEREEE T,
L EEFNAEABERS,
BELREERNTL.

&1

ROEBERRET JDESopEE
AR E () — ﬁifﬁﬂﬂ%(ﬁmﬁﬁﬂﬁf) OME T R NE D % DEERAR
[ {8 52 4% (SE BE B & N N
PSR ILIE S (R R — X -BEADRIERS. -BERLARE,
L 5L B SRIENEEBNHESR, B e Pl
SRIEMT RS EN N BRI SRIEMENEBNRESR.
BYfERY, (SCGX-P2)
(1) 7 0 T 7L 423 % 2 B+0.4mm) &2 REDRRE.
2 ARPINSEF
S FEEN T RSN R A PR R EDNS RIS B, &,
TRNSEREN TS, WEERINTLARENPLRRBES T )
0. SmmBTTE, BIPILEESE. AR -RERENRE,
; - RETHORE,
R EUEE 3E @ BEAFImm EHHIRE /1 A] -READRERE.
= -REERE.
DREREN DERNSEHSNENBERETRE. 684 ’ ¥ -REDRRE.
QB TEREAE L AR BRI R AR M BB N A BN E LR EAEER, -
ORDREVKESE, Q-HANDES; SUREBRET MMM, [-BHEEEE.
GEHEER, CRENSARTGAESEENINIA, HUSHREED.,
GEERLNDEETENIE, HtEEEIEEEEERE.
AR BARVESREEOLEE, NICARSEMS L. RETEE, BUARBILERT.




Working Condition In VMC Machine

IR £h £ 2 R A R R

Working Condition In VMC Machine
PRI £h £ ZF PR AY . FE

OBREIEENRZEKDE

1 T) IR E R LR XA TR AR SRE (R B eV A2 B T S I T 1)

2 BENDNLZENOBEINDERNQRIES. QBN EHRTEs0°
EREEREBETMEEER, EFERBERALEAETEELR,
AIANE—EBZRAEEE. WFEEAEEs HI)

O MT RS
1IN TEEBVRETSA

OIFADEAIXE SO RENRABEN T, XeHBENNFFEERTF D
bt fvA=

QBFEAIE, TiBxuaNDEARENE, B-2.8-3FR/NIE
IexXEMaaRSaBE DA, ERFBURVWERERILERS
LEEBEEE/NBB0.2mmRED, S8, DWASEILEFT, B-
4)

BB © 2080 RN, SLEERAE/NF19.8mm,

2 NI EBVRIMERRIE

SEDNMRIROOLESORVTEEE—H, TUSHNTER
IMBIR, (EEBIERRLESE LAERESANRLNRT . BITMU
{5 © 20T EE—E 0 21193, ERRA L EH RN TEEHE' S

+0.5mm

O PINZBVRAETIE
1LARMBNPINGE
WEB-FRAARE, NINDUERETDOE0.2mm, B-5)
EREENDUSENDEREASENE, BE, SROBERT
HOVLRERENRHR, DUABAXENBROEEN, BTEE
T, BRADDLSEEEEN,

2. 0AEBARDDPING
ERAADPNE, BEEILMEBNHEPOLTNERBTZ. B-6)
ERNPINSEEEMNE BB UNEEENS0.5mm, SBUTIE
o, IZERBPLE:
1HERBINK
2. B KFImm

* DR PINGEF, 5EU0.Imm/DIA TRV ERE, ERERI0mm
BIE3LI0T.

(BI3)sr 71 E 1| T

(B1)EER LRk

BiGERS

13
‘%
@

(Bl4)i8 5 4 (BN FLI)

RFHLH
%!\]0.2mm/

(15 )4 58 IE. T &

HZ(EE£0.5mm)

(E16)Hh BB i %

3. AMPINSHIAEETIE

QTR ENIEBHERIER/)OTRIES)
EREADNSTPVERBEEN,

mERBRT, ANFELERAPNE, BSHFEME, UUERIE. B-7)

(RESE)

A {EBEAILMI80° FREETRE,
AL EBEHILUBBEBSERR. ([B8)

(RESE)

@ BEOETRE, NTERDRBEERDZES,
WB-9FTR, HIGHEEAEMI0° RE., S
VTR BRiEXES Qe DEKAE
PING. (BR. EMARTERZENITEILLHA,
ERBRNFAZEDRNDSELA), 8N
T8\ ETRESSIRE DR ILIVERS

RN R EBREFERFNPLE.

b

&

BETBR(Imm L)
EREANEFPLEREEN,
ETTBUBEH DT, ALERE,

{hif- i

(RESE)

PEFEHIEIEo0° LKBHE, WE-106TT. KF
N5 LA, Bia x5 aigE) TERBEDLS.
B2, EMATREABNIEILSN, SEE
REOVSELEDMFNDETR), UNITEE
INT ETRES SRR DITREILOE R,
RANHR ZABRFHEFSHDPLS.

PNERE
(RDPINE)

LK B
1Pl A TN PN

(E7)A 77 5 35 8 58 O B R 48

_ﬁ 180° NEHR
m (PO TR

(&9)

(&10)



kee AIH




TWN Twin—-Cutter Boring Head Heavy Cutting Rough Boring Head
TWNZEFIIN T8 E T] S1NHIBHEET] (P25-P90)

O MIsEEDiameter:®25-d90
ONIEE: ¢ 20-$150

OETRAN TEFHVBIE
ONREFNEBEERAA=EELRHNRE, BREIE
ONREEEGFIRE<0.02mm

Priority is given to rigidity.
. _ o ©OCapacity dia. 20-150mm! (ed
OTriple contact for highest rigidity. Wide diameter range Q“?‘;?e“meada
1 head accepts 2 different size cartridges. - onl ’
Example:CKB1-TWN2026-35 provides
—_ capacity of dia.20 to 26 mm
7 N
/ \
\ 1
\\’/
Triple
contact
e e oas e pttetor ﬁ”vagsnihvﬁa'gi}ke"aevsysc%'«ﬁﬁLfiiﬂgzeoem“n"?il?f‘éifiﬁigb'waﬁﬁ’ﬁvenap
heavy duty boring. {Steppad cutting is not available.)
S \
T _(':": f :
— e —m g ] B T\{
| — I
T O - -= © — —J.[ ]
— Hi — 1 —
A A A A
B— B I & — B
83 _ _ \ 1 ¥ 3
&2 57LA Blind hole #FLA Through hole - : EILE Th h hol 2
7S — : =FLA Blind hole 2] rough hole 7E
a TEHIFR Made to order item E
72 S
Sle —— - | N | | 5 §
O B3LA%E8E7I-90°(Rough boring head for blind hole-90°) © B3LA%E8E7I-90°(Rough boring head for blind hole-90°)
S bc lam| L EEDA| ®ET | RF [BRDHE | DHRMG | BIRLE BERESE S, | o B3 e |gm| L [EBDH| ST | RF |BDAREH| URT |RENESH| BT |5 g
Specification Insert | Screw |Wrench|Cutterblock| Screw | Cufterblockscrew [Side fimmerscren| L) Specification Insert | Screw |Wrench|Cutterblockscrew| Wrench |[Sidetimmerscrew | Wrench | L)
CKB1-TWN2026-35 | 20-26 | 19 | 35 |CC..0602..|M2.5x6.5| T8 TW20-26M M2.5*6 | M4-0.7*16 M3*5  [0.07 CKB2-TWN2533-38-A | 25-33 | 24 | 38 | CC..0602.. | M25% T8 M5-0.8*18 L4 M3*6 L1.5 0.14
CKB2-TWN2533-38 | 25-33 | 24 | 38 | CC..0602..|M2.5x6.5| T8 TW25-33M M2.5*6 | M5-0.8*18 M3*6  [0.14 CKB3-TWN3242-43-A | 32-42 | 31 | 45 | CC..09T3.. | M4*10 T15 M6-1.020 L5 M3*8 L1.5 0.23
CKB3-TWN3242-43 | 32-42 | 31| 43 |CC..09T3..| M4x10 T15 TW32-42M M4*10 | M6-1.0*20 M3*8  [0.23 CKB4-TWN4154-50-A | 41-54 | 39 | 52 | CC..09T3.. | M4*10 T15 M8-1.25*25 L6 M3*10 L1.5 0.43] 1
CKB4-TWN4154-50 | 41-54 | 39 | 50 | CC..09T3..| M4x10 T15 TW41-54M M4*10 |M8-1.25*25| M3*10 0.431 CKB5-TWN5372-60-A | 53-72 | 49 | 66 | CC..1204.. | M5*12 T20 M10-1.5*35 L8 M4*12 L2 0.82
CKB5-TWN5372-60 | 53-72 | 49 | 60 | CC..1204..| M5x13 T20 TW53-72M M5*12  |M10-1.5*35| M4*12 [0.82 CKBB-TWN6B890-75-A | 68-90 | 63 | 75 | CC..1204.. | M5*12 T20 M10-1.5*35 L8 M4*16 L2 1.75

CKB6-TWN6890-75 68-90 | 63 | 75 |CC..1204..| M5x13 T20 TW68-90M M5*12  [M10-1.5*35| M4*16 |1.75
CKB6-TWN89120-75 | 89-120 | 63 | 75 |CC..1204..| M5x13 T20 TW89-120M M5*12  |M10-1.5*35| M4*16 |2.25
CKB6-TWN115150-75(115-150| 63 | 75 |CC..1204..| M5x13 T20 TW115-150M M5*12  |M10-1.5*35| M4*20 |2.35

O @3, FAAEEED-75°(Rough boring head for through holes-75°)

O @3LFE¥AgE7)-75°(Rough boring head for through holes-75°)
ik BRADA| B8] | RF |BIRER%| URT |BEFSRR4| RF |&| =
Specificati Dc |dm| L o (o) | B
RUSE 3 ] 1 WAL | 28] B | BEDEEE | DEE% | BIEEeY BENEES S, pecitication Insert | Screw [Wrench|Cutterblockscrew| Wrench |Sidetrimmerscrew | Wrench
R . c m N n 0 .\ i N E
Specification Insert | Screw |Wrench|Cutter block | Screw | Cuferblockscrew [Sdetrinmerscrew| Ue) CKB2—TWN2533-38-A_75°| 25-33 | 24 | 35 | CC.0602.. | M2.5%6 T8 M5-0.8"18 La M3'6 115 lod1a
CKB5-TWN5372-60-T | 53-7 | 49 | 60 [CC..1204..| M5x13 T20 TW53-72M M5*12 |M10-1.5*35| M4*12 |0.82 CKB3-TWN3242-43-A-75°| 32-42 | 31 | 41 | CC..09T3.. | M4*10 Ti5 M6-1.0"20 L5 M3*8 L1.5  [0.23
CKB6-TWN6890-75-T | 68-90 | 63 | 75 [CC..1204..| M5x13 T20 TW68-90M M5*12 |M10-1.5*35| M4*16 [1.75 ) CKB4-TWN4154-50-A-75°| 41-54 | 39 | 48 | CC..09T3.. | M4*10 Ti5 M8-1.25*25 L6 M3*10 L5 |043] 2
CKB6-TWN89120-75-T | 89-120 | 63 | 75 [CC..1204..| M5x13 T20 | TW89-120M | M5*12 |M10-1.5*35| M4*16 [2.25 CKB5-TWN5372-60-A-75°| 53-72 | 49 | 61 | CC..1204.. | M5*12 T20 M10-1.5*35 L8 M4*12 L2 0.82
CKBB6-TWN115150-75-T|115-150| 63 | 75 |CC..1204..| M5x13 T20 |TW115-150M| M5*12 |M10-1.5*35| M4*20 [2.35 CKB6-TWN6890-75-A-75°| 68-90 | 63 | 70 | CC..1204.. | M5*12 T20 M10-1.5*35 L8 M4*16 L2 1.75




TWN Large Diameter Boring Head Technical Informations

HFNAXAENDMEET] (P151-P750) BRAER

O fiIEEDiameter:®151-®750

Dc
|
, RIAEA TR (FiERMm) starting on uneven surfaces (cast surfaces)
b | H ] | o TENN T F AR IRIB R E R 2RI XA
EE_'_""L i'_'_"'_E / e subject to the starting angle, the feed must be reduced when starting the bore.
i i S B Bl e o ZIGHMM ;. 3° =30%; 10° =40%; 25° =60% eRule of thumb: 3° =30%; 10° =40%; 25° =60%
T :.,_i______'_' , 'n|| ] L o {EFRILAY7] Fuse tough insert
= '_'_'I._::_.:'._'_"ll I ¥ T N B S o EAREMNTIREMAuse stable corner radius
- ] ] - Il iyl N R SO [ [N
wlnowgw I S==F o o
4 i \ d ! i | = ,!%, /
T 1 T
= o | ind f ial . |‘d_m’| HORKE  Angled bore exit
o m*E$Zé ﬁmfﬁ]*nﬁgﬁﬂ Two Kinds Of Material, Steel And Aluminum. o T EREREMEIHIGEHEMEILE 50% LT ofrom wear cut is interrupted reduce feed rate up to 50%
o {EFRITAYTIA e usetoughinsert
o 3 g = = g S ey )
RS b |qm| | |BEIE| BT | BT | BREEERM IHEEOEL BRAEEH TR S o ERBENIAES o uso stable comer radius

Specification Insert | Screw |Wrench|Slidefastening screws|baigcutirfustenngseens| Slide side screws|boring cuterside serews (o]
RDH-D151-211-80L  [151-211| 32 | 80 | CC.1204.. | M513 20 M8*25 M8*26 M6°20 M6"20  [4.95 RIEHIAE  starting on cambered surfaces
RDH-D210-290-80L 210-290| 32 | 80 | CC..1204.. M5*13 T20 M8*25 M8*26 M6*25 M6*25 5.85 e %@  enoproblems

o LERRKHL  ereducefeedrateif necessary
RDH-D290-370-80L 290-370| 32 | 80 | CC..1204.. M5*13 T20 M8*25 M8*26 M6*25 M6*25 6.81
RDH-D370-450-80L 370-450| 32 | 80 | CC..1204.. M5*13 T20 M8*25 M8*26 M6*25 M6*25 7.80
RDH-D450-550-80L  [450-550| 32 | 80 | CC.1204.. | M5'13 | T20 Mg*25 M8*26 M6*25 Me'25  |8.75 FERSS, Rougningthrough a cross bore
- - ’ o VERTFE(E 50% ¥4  ereduce feed rate 50% if necessary
RDH-D550-650-80L 550-650| 32 | 80 | CC..1204.. M5*13 T20 M8*25 M8*26 M6*25 M6*25 9.85 o TETNELHMEEER e watch for chip jamming around tool
. N . . N o EFEMIAITIA  eusetoughinsert

RDH-D650-750-80L 650-750| 32 | 80 | CC..1204.. M5*13 T20 M8*25 M8*26 M6*25 M6*25 10.85 o EEBREHNTIRES euse stable corner radius

RBEEAM startingon an edge

o [#{F 50% %4  ereduce feedrate by 50%

o FEAEIAMIIA e usetoughinsert

o (FAFEEMTIRER  eusestablecornerradius

Pin Turning Boring Head-for Roughing Boring TR staring onawelded sean
E%ﬁ*ﬂgﬁﬂ ( CD1 3_¢1 28 ) :gfﬁ,{giSX.Dr%gceffii;a;Zx.BxDtools

O I sEEDiameter:®13-®128

o 7 #EBER Roughing through stacked plates
T o e {HF 80° F{mAJIE  euseholder with 80° approach angle
o TERIFMWIMELE  egoodworkpiece clamping required
T e RABEE=1mm emax.gap=1mm
e o "',:] [BfR — A EE/RE — fi@R75% Problems — Possible causes — solutions
1 - K48 Longchips
L o REREMIH1EE. e notoptimum geometry
ds —EREENIR— select correct cutting depth
- H —IEFEAIENIEIZ % select correct cutting values

2
i
7
=
5l

2
(o]
c
Q
=
@
o
=
=)
Q
T
[0}
Q
Q

|
&
7]
=
5l

el
o
(=
[t}
>
[oc]
o
=
=]
Q
JC
(0]
Q
Q

R - -
m weEoE) | gon | SR mnemosn | om0 BER BEERFE Badsurfacefinish \
Specification/Item Range (excircle) Range (Inner) ds Head Model o HHAARMEHSH. BMERE, FEHS

(L) (H) e feed rate too high — improve cutting parameters: increase cutting speed, reduce feed
CKB5-TW2230-56CK2 TWN2-1 22-30 56 79 80-88 28 CKB2-TWN2533-38 o KB e long chips
CKB5-TW3240-56CK2 TWN2-1 32-40 56 89 90-98 28 CKB2-TWN2533-38
CKB5-TW4555-67CK3 TWN3-1 45-55 67 118 119-129 28 CKB3-EWN3242-43 &z Vibrations
CKB6-TW5565-67CK3 TWN3-1 | 55-65 67 128 129-139 36 CKB3-EWN3242-43 * BRI efeedratetoohigh

- - — — — ~ - o fIHIEEAS e cutting speed too high
CKB6-TW6575-67CK3 TWN3-1 65-75 67 138 139-149 36 CKB3-EWN3242-43 o JIRBRIARMEHEF) e geometry too obtuse
o MEEMME/RMIEE e check axial/radial setting

CKB6-TW87100-77CK4 TWN4-1 89-100 77 179 182-195 36 CKB4-EWN4154-50 o METIEER o check tool assembly
CKB6-TW114127-77CK4 TWN4-1 114-127 77 206 209-222 36 CKB4-EWN4154-50 o METEEAMIREIF  eifrequired, use adamping element adaptor




Rough Boring Cutting Conditions-BT40/BT50
—FWNRFINDBETIHIFRER

DRPER| ey EE t&IEap (mm/ ¢ ) SEFSZF (mm/rev)
Specification MR NEEE vgfrajxﬁif) EEE BAE HEE BAE
Material radius Recommend Recommend MAX

0.20
0.20

. . 0.20
80 ] 0.20

=
>

N

-y
N

CKB1-TWN2026-35

-y
~
N

N -
@|N EEY
@) | w n
o|o|o|o|o|o|un|o|o|o|o
olo|o o
N N L
o|o|o IS

[N

alj;

ololo
Slnol=(ho
@ [N|oo|N

N
o
N

CKB2-TWN2533-38

o=
o
NN
o

w|w
NN (O

I
|~

I

CKB3-TWN3242-43

<22
wio

: 0.
130 [ 35 [ 45 [ 020 |

WW|wW
oo

O]~ |C

w
N
ajojowono|lo

CKB4-TWN4154-50

-

o
w|w
and|o

HH

olo
NN
o|o

N
6]
()

&)
w
[}

w
oo
(&)

o
al|w|o
~
[S3(¢)]
o
n
&)

CKB5-TWN5372-60

90 [ 030 ]

~
o
Hm
o
N
o

~

vo % . 150 [ 70 | 90 [ 025 |
#H 8 CKB6-TWN6890-75
5 180 [ 63 | 90 | 022 |
i 3 CKB6-TWN89120-75 |70 [ 63 | 80 [ 022 |
s CKB6-TWN115150-75 EE |80 | 72 [ 90 [ 025 |
gl BaE 180 [ 80 | 100 [ 030 |
[0]
Bl g BT50 MAS 403 BT |

_— BT

o )
Specification Material

fo::é;R ez | DAIEap (mm/¢ ) ERGZEF (mm/rev)
; Ve(m/min) HEE =AB HEE=E SN
radius Recommend MAX Recommend MAX

95

95 |
|60 |
|80 |
85
85

oo o|o|o|o|o
oMo ho oo ho R[] o |ho [ = | oo [ P Y (Y Y
oo o|w|n|w|o

0.20
0.20
0.20
0.20
0.25
0.25
0.25
0.25
0.25
0.30
0.30
0.28
0.30
0.25

=
CKB1-TWN2026-35 [ | An&5e | 81

1|
R |00| e,

R #ER

I
g
B

CKB2-TWN2533-38

o
iN

=

U)XI o U)XI o mxl v U)XI vl mxl T 0OX
Pnb
e

CKB3-TWN3242-43

—_
n
(6]

; E“E’m—,\lﬂﬁﬁ‘ﬁ“gm%

b/ e b

k|| 8| SR 28 D[~ (28
“”““IIIHHIIHIIHHHIIHHHH

NN OB B DO DO DAL [WNNNN N

Q1 DO [CO L[NNI WO[N N = NN = = = [—

0.38
0.32
0.32
0.35
0.40

P N R Y
b P S e
o|o|C|olo|o
olo|o

w

CKB6-TWN6890-75
CKB6-TWN89120-75
CKB6-TWN115150-75

[) ]
oo

O
S

0.22
0.18
130 0.25 0.30
0.22 0.32 -
0.20 0.30 - -
CKB4-TWN4154-50 ; 0.20 0.30 I
= 0.20 0.30 -
BES 0.28 0.35 E
R #% 0.25 0.38
E&i 150 | 63 [ 72 | 0.20 0.32
CKB5-TWN5372-60 100 | 53 [ 63 | 0.20 0.32
8 [ 72 | 90 | 0.25 0.35 |
& 0.40 ’
0.25
0.25
25
5
0

5 mﬂn?gﬁn\"gmé{
ip T D
| SB[ 8] 25 b~ 28

I
op
L



EWN Pecision Boring Head ABS—EWN Pecision Boring Head

EWNZRFIiEEET] ABS-EWN R 5 EET]

BRTERET, JERSRENNIREE

Reliable scale screw, 1 div=0.01Tmm on

BEFERET, JESEENNIEE OWEA¥EE:D0.0Imm/#E ONI L& E:D20-D150

diameter and vernier scale. J o (.j
©OStable and higher precision achieved by pre-balanced design. o —
©OBack boring is available as standard feature for greater versatility.
o - €
1B K $¥Back Boring i~ s |
- 5 e EN | '
] <
o] $ £ © 4 —$ 5 1 oc
8l @ o o H 820 Back Boring: d>Dc/2+A
a £ .
— ER IE% [z $¥Back Boring
L i = ===
- = < ([l
O#fsR#5RE:00.0Imm/4g O & E:D20-D203 d D
©1div=0.0lmm © PAT. Diameter D20-D203 : @ , : £
! ! -~ o°
| A==
u:ézg Set up example Sel CKN Insert Holder model o M -=F- I
5 ‘ P p electsame CKNO. - pnps 1igincluded e
By soqioed = =
DC
. L
&% Back Boring: d>Dc/2+A L1 Lo
CK SHANK EWN HEAD mgE 1E$% Boring 2 8% Counter boring B 28] | 15 =
BT40-CK3-95 CKB3-EWN3260-40 ificati & = DHE Clamp .
Specification Dc dm | L Cuijije):‘.-b 2 DDID%E uliel a Ctﬁe)ﬁ-b%ck Insert Size | screw | wrench ko]
510025 20-26 ENH1-1
iy 1 25-31 | 25 | 101 ENH1-2 30-31 | 20| 10|10 [ ENH1-2 0.13
IE§¥ Boring /2 Counfer boring Bic 1287 FWN2036-85 30-36 ENH1-3 30-36 ENH1-3
UgE e o RF S TP..0802.. [ M2x5| T6
S % . Clamp ﬁ 26-33 ENH2-1
pecification oc ldm | L TIE KR MIHEE| | | p | o | DHE Insert crow wrench E;V%Z%i;_ss 5 32-40 | 25 |35.5] ENH2-2 36-40 | 22| 10 [12.5] ENH2-2 0.16
Cutter block Dc Cutterblock| ~ Size ) 39-47 ENH2-3 39-47 ENH2-3
33-42 ENH3-1
_ _ TP..0802.. | M2x5| T6
20-26 ENH1-1 Ew,\?;fe‘o 0 41-51 | 32 | 40 ENH3_2 4651 | 25| 9 | 16 | ENH3_2 * 0.27
CKB1-EWN2036-32.5 | 25-31 | 19 |32.5| ENH1-2 30-31 | 20 | 10 | 10 | ENH1-2 0.09 - > [50-60 ENH3-3 50-60 ENA3_3 | TP..0902.. [M2.5x6 T8
30-36 ENH1-3 31-36 ENH1-3 41-54 ENH4-1
25_33 ENHZ-1 B 50-63 | 40 | 47 ENH4-2 53-63_ | 30 | 13 | 20 [ ENH4-2 0.47
61-74 ENH4-3 61-74 ENH4-3 | TC..1102.. M2.5x6 T8
CKB2-EWN2547-35.5 | 32-40 | 24 [35.5 ENH2-2 38-41 22 | 10 |12.5| ENH2-2 TP..0802.. | M2.2*5 T7 0.15
53-70 ENH5-1 62-70 ENH5-1 | 1p 1103.. | Maxs| T10
39-47 ENH2-3 45-47 ENH2-3 D 57 65-82 | 50 | 57 ENH5-2 65-82 | 34 | 19 [25.5] ENH5-2 1.32
32-42 ENH3-1 78-95 ENH5-3 78-95 ENH5-3
CKB3-EWN3260-40 | 41-51 | 31 | 40 | ENH3-2 48-52 | 25| 9 | 16 | ENH3-2 0.25 21CD63- , 68-100 ENH6-1 80-100 ENH6-1 | TC..1102.. [M2.5x6 T8
50260 ENH33 5260 ENAA3 EWNG8150-71 94-126 | 63 | 71 ENH6-2 94-126 | 45 | 23 [32.5] ENH6-2 o 1105 | Maxs| T1o 1.78
118-150 ENH6-3 118-150 ENH6-3 - - x
41-54 ENH4-1
*§ ) CKB4-EWN4174-47 53-66 | 39 | 47 ENH4-2 59-67 30 | 13 | 20 ENH4-2 TC..1102.. | M2.5*6 T8 0.43 ACAUTION *é I
gu 5 61-74 ENH4-3 65-75 ENH4-3 Tt < g 5
73 g 53-70 ENH5-1 61-73 ENH5-1 : The max. allowable spindle speed for the EWN Head is 1200m/min. However, since the rigidity of machine spindle and workpiece, the length of boring \I 73 5
g | tool and usage of Extension and Reduction adapters influence the condition, please increase the speed gradually to determine the best cutting condition. : g
%‘ﬁ T CKB5-EWN5395-57 68-85 | 49 | 57 ENH5-2 66-86 34 | 19 [25.5| ENH5-2 TP..1103.. M3*7 T8 1.25 M e , % T
Bl g 78-95 ENH5-3 78-100 ENH5-3 Bl g
68-100 ENH6-1 77-98 ENH6-1 DE I]H‘E ﬂ:éﬂk ﬁﬁﬁj_—]ﬁiﬁ j][lIf
' A ) B2
CKB6-EWN68150-71 | 93-125| 63 71 ENH6-2 91-123 45 | 23 [32.5| ENH6-2 TC..1102.. | M2.5"6 T8 1.78 AIA 4 — 5
125-150 ENH6-3 119-149 ENH6-3 73 H_ :I=(73 =) Cutter block Flgure Head Model Diameter ¢
Insert Holder Pat.(Option) e R
CKB6-EWN100203-71(125-178| 63 | 71 ENH6-2 124-180 | 45 | 23 |45.5| ENH6-2 | TP.1103. | M3*7 | T8 2.53 - E'I‘\l :12-1 gg:;ﬁ
150-203 ENH6-3 150-206 ENH6-3 \ v ENH2-2 CKB2-EWN2547-35.5 CZ—ZE
ENH2-3 39-47
ENH3-1 R T) A 32-42
. o ENH3-2 TP0802 CKB3-EWN3260-40 41-51
= ENH3-3 50-60
O NELRAISRIREE OMBENHO-1T)F BB, ENHO-2, ENHO-3TJH EER B3, ENF4-1 1182
Part Number Structure of Finish Boring Head ORSENMTE, TofE/RE, 5“ ::2:5 CKB4-EWN4174-47 2(1):6732
sgp  CKB 3 -EWN  3260- 40 ORMIH A ENH5-1 53-70
*CEKNE’I T OCKB4 EATPII03TI A FITCIN02D K BE, TIREFRETHE ENHe-— CKBS-EWNS395-57 |__65-85
: StREWL = — —=
: 1. Insert Holder model ENH-T1is included. ENH-2 and ENH-3 are optional ENH6-1 68-100
REREOR T (dm) Boring Head Lengih i P ENH6-2 | %R 7If | CKB6-EWN68150-71| _93-125
CKNO accessories. ENH6-3 TC11025 25-150
" - 2. Rotation becomes reverse when back-boring. ENH6-1 TP1103 00-153
EWNZUYESE ) §23L8&(Dc) E 2 CKB6-EWN100203-71]_125-178
EWN Boring Head Diameter 3. Insert must be ordered separately. ENHG6-3 £0-203

4. Insert



High Accuracy Precision Boring Head
EWN 128432/ REET]

AR
it it
I

BEREER L L E3LEE EEDR
M8-EWN1626-32.5 36 37.5 16-21/21-26 TPGTO0802
M10-EWN2036-32.5 29.5 32.5 20-26/25-31/30-36 TPGT0802
M12-EWN2547-35.5 32.5 35.5 25-33/32-40/39-47 TPGT0802
M16-EWN3260-40 35 40 32-42/41-51/50-60 TPGT0802

M cwom Fxg vrPN— XTUS NS Ov TW»

. . o
Carbide boring head holder 24
204 - = i oo
EﬁEIE W%E’J%N;HE*E;EBJ'I G =
Y
K=
o uE:D — — Pﬁ E %
T
FHEDIRELSE HRED IR & R DIRELSE HRED IR RE -
14-M8-100 14 M8 100 20-M10-100 20 M10 100 s
14-M8-150 14 M8 150 20-M10-150 20 M10 150 ke
14-M8-200 14 M8 200 20-M10-200 20 M10 200 % ;
15-M8-100 15 M8 100 20-M10-250 20 M10 250 Bl g
15-M8-150 15 M8 150 20-M10-300 20 M10 300 v
15-M8-200 15 M8 200 24-M12-150 24 M12 150 ¥ %
15.6-M8-100 15.6 M8 100 24-M12-200 24 Mi2 200 s
v 2]
15.6-M8—150 15.6 M8 150 24-M12-250 24 Mi12 250 7
=l
15.6-M8-200 15.6 M8 200 24-M12-300 24 M12 300 % ‘QI
15.6-M8—250 15.6 M8 250 25_M12-150 25 Mi12 150 5| &
16-M8—100 16 M8 100 25_M12-200 25 Mi12 200
-
16-M8-150 16 M8 150 25_M12-250 25 M12 250 3
16-M8—-200 16 M8 200 25_M12-300 25 M12 300 Z
16-M8-250 16 M8 250 32-M16-150 32 M16 150 E
16-M8—300 16 M8 300 32-M16-200 32 M16 200 T
19-M10-100 19 M10 100 32-M16-250 32 M16 250 ]
19-M10-150 19 M10 150 32-M16-300 32 M16 300 P
19-M10-200 19 M10 200 32-M16-350 32 M16 350 i
19-M10-250 19 M10 250 /] o
i 2
E
. . 5|
Carbide boring head holder
- AN
RSN ERBETDT D E
B &
= S
®
U 12 /§|] v
d Fohoeldtrme i g% o
S =1 ° i SE
oy
I 1 z
By
=&
il DC 1 L2 L D . o
E 3
ST15W-EWN1621-195TP08 16-21 36 157 38 15 & g
ST16W_EWN1822-195TP08 18-22 36 157 38 16 T 2
3
o
<



ccuracy Precision Boring Head (2084)

AR ¢ 0.0 Tmm/AS (THEHEEEE: ¢ 0.005mm/48)
I EE: ¢ 8- $203mm
REEINEE: $112-$203mm

1div=0.0Tmm /1div=0.005mm
PAT. Diameter $8-$203
Counter Boring Functions: $112-4$203mm

‘F.a.l

2o

a2 SR EISE BEDH
Specification Depth Insert

EZE P N T
CKB6-EWB08203-52 52
YBJ1665 n
ENH6-1 - TP..1103

ENH6-

¥ )RR A SRR 0

Part Number Structure of Finish Boring Head

DN R TR
poaH buuog ysiuy

Each graduation equals to
0.01mm Diameter.

188=0.01mm/®
1E0.01mm/®

¥E8E DR AR

Specification

34169 | 20 | o2 | = | enrio-2r
| 168-203 | 20 | 32 [ - [ ENH6-3F |




—
— AT

OWEAEE: $0.01mm/A%

ONDTEEE: ¢ 8- ¢ 50

©1div=0.01mm

© PAT. Diameter 8- 50

B Prescison Boring Heads

BhLRRIAREET]

iF=rizEdsr=; ‘
% Lo T
R — R 1 Jeeeed J
al ’&* ’’’’’ ”+ N ,i a .71@77 -g
%) EIEARAEE T | .
l AR h—T
T ‘ , 1
L L=
4
e —
/ 3
itk $3|, 88 EDc SEFSATO! HERTIES ) . S,
Specification Boring range Modular Holder Micro distance G
CKB6-EWB0850-65 08-50 YBJ16 3.5 65 63 1.1
EWB#EHFZER7
RN - . _ E
o
al \ e
PM
L
= R~ . IRE] o
. i‘stLET EER DR Sns RF %
ecification Insert wrench
P Dc dm PM L screw
EWB1608-32 08-15 32 80 TB..0601 M2.2*5 T7 0.11
EWB1612-50 12-19 50 98 0.12
TP..0902 M2.5%6 T8
EWB1616-65 16-23 65 115 0.18
EWB1620-85 20-27 1 85 135 0.29
EWB1625-90 25-32 90 145 0.37
EWB1631-90 31-38 920 145 TP..1103 M3*7 T8 0.47
EWB1637-90 37-44 920 145 0.58
EWB1643-90 43-50 920 145 0.65

]
i
7
A
5l

I
=,
%)
=
@©
Q
=
=)
Q
%
[oN




|

ONIEE: $151-d750

ootk i bt

© PAT. Diameter 151 - 750

=———FWN Large Diameter Boring Head
KA ROAFETET]

OWMEABE: $0.0Imm/ig

Dc

|
T
Pt
|
x

el ) o
RN
h |
w i

2

[ -
| _ : /
§8%l Aluminum ' #Al Steel
O MEMES . MMHEIFIEEE] Two Kinds Of Material, Steel And Aluminum.

itk A De | L BRADA| RE] | ®RTF |BREERH| KT | BRASAHRGE KF | S
Specification Insert | Screw |Wrench|Sidefosteningscews | Wrench  |Slderretaingodiustmentscews| Wrench | U]
CDH-D151-211-84L  |151-211| 84 | TP1103.. M3*7 M3*7 M8*25 L6 M6-20 25 |475
CDH-D210-290-84L 210-290| 84 TP11083.. M3*7 M3*7 M8*25 L6 M6*25 L2.5 5.15
CDH-D290-370-84L  |290-370| 84 | TP1103.. M3*7 M3*7 M8*25 L6 M6°25 25 |6.12
CDH-D370-450-84L 370-450| 84 TP1108.. M3*7 M3*7 M8*25 L6 M6*25 L2.5 7.05
CDH-D450-550-84L  |450-550] 84 | TP1103.. M3*7 M3*7 M8*25 L6 M625 25 |8.00
CDH-D550-650-84L  |550-650] 84 | TP1103.. M3*7 M3*7 M8*25 L6 M6+25 25 |9.05
CDH-D650-750-84L  |650-750] 84 | TP1103.. M3*7 M3*7 M8*25 L6 M625 25  |10.05

© PAT. Diameter $8-d120

O MmEME:

Pin Turning Boring Head - For Finishing Boring
EEIMRREARBET]

ONIEHE:d8-d120 OFMFEBE: $0.0Imm/4%

© 1div=0.0lmm

DC

 —
=
BN
L
TR

T T |
r\fLﬁﬁ

il g

#HEIFEEH  Two Kinds Of Material, Steel And Aluminum.

itk Dc L i DR IRET wRF S
Specification Insert Clamp screw wrench (o)
CDH2-D8-55-78L 8-55 78 TP11083... M3X7 T8 2.9
CDH3-D30-120-78L 30-120 78 TP11083... M3X7 T8 3.4

]
i
7
A
5l

poaH Buwog ysiuly




OMAS 403 BT40

EWN Prescison Boring Bar Cutting Conditions—BT40/BT50

EWNZRSIEE TR MR

PM

OBT40 MAS 403 BT (ISO40)

]
b4
7]
=
5

I
=,
[7)
=r
@
[}
=
=
Q
§
Q

o BINIHE | oy | DASER | WAIEEVC| Al | SR (mm/rev)
Specification Material Nose radius | (m/min) (mm/¢ ) HEE RXiE
Recommend MAX
P EdileES 0.2 130 0.18 0.05 0.12
55 0.2 100 0.18 0.05 0.12
CKB1-EWN2036-32.5 K 78 0.2 65 0.15 0.04 0.08
foi ] 0.2 80 0.25 0.05 0.10
A 0.4 170 0.25 0.05 0.12
Pkl 0.2 150 0.25 0.05 0.12
55 0.2 120 0.25 0.05 0.12
CKB2-EWN2547-35.5 %K 93 0.2 80 0.15 0.04 0.08
F 0.2 80 0.25 0.05 0.10
FER=R 0.4 180 0.25 0.08 0.12
B P EdileES 0.2 150 0.30 0.05 0.12
T 55 0.2 120 0.30 0.05 0.12
CKB3-EWN3260-40 K EH 105 0.4 80 0.15 0.06 0.10
4 =8 0.4 80 0.35 0.08 0.12
0 BES 0.4 210 0.35 0.08 0.12
P ESilEES: 0.4 150 0.30 0.06 0.12
A5 0.4 120 0.30 0.06 0.12
CKB4-EWN4174-47 7K SE 105 0.4 80 0.15 0.06 0.08
HH 0.4 80 0.35 0.08 0.12
FRk 0.4 210 0.35 0.08 0.12
P ESilEES 0.4 150 0.30 0.06 0.12
CKB5-EWNS5395-57 55 0.4 120 0.30 0.06 0.12
CKBE-EWN68150-71 &) 105 0.4 80 0.15 0.06 0.08
CKB6-EWN100203-71 ) 0.4 80 0.35 0.08 0.12
A1 0.4 210 0.35 0.08 0.12
OBT50 MAS 403 BT (ISO50)
T
T BINTHE | oy | DRSER | DAEEVC| Paigep | Siow (mm/rev)
Specification Material Noseradius | (m/min) | (mm/¢ ) | HEBE AB
Recommend MAX
P Edlesi] 0.2 130 0.18 0.05 0.12
iEE 0.2 100 0.18 0.05 0.12
CKB1-EWN2036-32.5 K8 78 0.2 65 0.15 0.04 0.08
=9 0.2 80 0.25 0.05 0.10
oy 0.4 170 0.25 0.05 0.12
P EFiEES: 0.2 150 0.25 0.05 0.12
55 0.2 120 0.25 0.05 0.12
CKB2-EWN2547-35.5 X 105 0.2 80 0.15 0.04 0.08
fefid 0.2 80 0.25 0.05 0.10
$RE 4 0.4 180 0.25 0.08 0.12
B P kS 0.2 150 0.30 0.05 0.12
T TiEH 0.2 120 0.30 0.05 0.12
CKB3-EWN3260-40 KR 122 0.4 80 0.15 0.06 0.10
S ffd 0.4 80 0.35 0.08 0.12
0 S 0.4 210 0.35 0.08 0.12
P EFiEES: 0.4 150 0.30 0.06 0.12
55 0.4 120 0.30 0.06 0.12
CKB4-EWN4174-47 %K 122 0.4 80 0.15 0.06 0.08
g 0.4 80 0.35 0.08 0.12
FERok 0.4 210 0.35 0.08 0.12
P ESiIEES: 0.4 150 0.30 0.06 0.12
CKBS-EWN5395-57 AEHH 0.4 120 0.30 0.06 0.12
CKB6-EWN68150-71 T 138 0.4 80 0.15 0.06 0.08
CKB6-EWN100203-71 T 0.4 80 0.35 0.08 0.12
BE 0.4 230 0.35 0.08 0.12




]
b4
Z
=
5l

I
=,
[7)
=r
@
[}
=
=
Q
%
Q

Pin Turning Boring Head—-for Finishing Boring

EEGET]

ISR
Specification/ltem

CKB5-EW0830-52CK2
CKB5-EW1840-52CK2
CKB5-EW2855-63CK3
CKB6-EW3865-63CK3

CKB6-EW4875-63CK3

87-100
CKB6-EW68100-74CK4 75-88
68-80
114-127
CKB6-EW95127-74CK4 102-115
95-107

90-98
97-105
104-112
119-129
128-138
137-147
129-139
138-148
147-157
139-149
148-158
157-167
182-195
194-207
202-215
209-222
221-234
229-242

Head Model

CKB2-EWN2547-35.5

CKB3-EWN3260-40

CKB4-EWN4174-47

——Holder for large Diameter Boring Head

RIS
Specification

BT40-DM32-60

BT50-DM32-100
BT50-DM32-150
BT50-DM32-200
BT50-DM32-250

BT50-DM32-300

-

L =



SKZX 51§ TR

L L
ODIN69871-A/AD-SK
RUSE S
==300 &5
Specification Figure L L2 . d ol € )
SK30-CKB1-80 80 46 19 11 31 M4*0.5 0.75
SK30-CKB2-80 80 46 24 14 31 M5*0.5 0.83
SK30-CKB3-80 80 58 31 18 31 M6%0.75 0.91
SK30-CKB4-80 80 58 39 22 39 M8*0.75 1.02
SK40-CKB1-85 A 85 49 19 11 31 M4*0.5 1.18
SK40-CKB1-115 115 79 19 11 31 M4*0.5 1.21
SK40-CKB2-85 85 49 24 14 31 M5%0.5 1.21
SK40-CKB2-115 115 79 24 14 31 M5%0.5 1.27
SK40-CKB3-95 95 68 31 18 31 M6*0.75 1.32
SK40-CKB3-125 125 80 31 18 31 M6*0.75 1.46
SK40-CKB3-155 5 155 85 31 18 37 M6*0.75 1.62
SK40-CKB3-185 185 115 31 18 37 M6*0.75 1.75
SK40-CKB4-95 A 95 68 39 22 39 M8*0.75 1.54
SK40-CKB4-125 125 98 39 22 39 M8*0.75 1.86
SK40-CKB4-155 5 155 128 39 22 46 M8*0.75 2.15
SK40-CKB4-185 185 148 39 22 46 M8*0.75 2.42
SK40-CKB5-95 95 68 49 28 / M10*1 1.81
SK40-CKB5-125 125 98 49 28 / M10*1 2.35
SK40-CKB5-155 155 128 49 28 / M10*1 2.75
SK40-CKB5-185 185 155 49 28 / M10*1 3.05
SK40-CKB5-215 215 180 49 28 / M10*1 3.3
SK40-CKB6-70 A 70 43 63 36 / M12*1 2.2
SK40-CKB6-95 95 68 63 36 / M12*1 2.75
SK40-CKB6-125 125 98 63 36 / M12*1 3.2
SK40-CKB6-155 155 128 63 36 / M12*1 3.4
SK40-CKB6-185 185 158 63 36 / M12*1 3.6
SK40-CKB6-215 215 188 63 36 / M12%1 3.8
Extension
FRERMT
=1 P
A
2 7
i =
‘\ =— |'I\ T *m ,G,
e ) . — =~
' d "'9;'%”‘—_'_@:”%' d1|p =
J X 172N R 5l
L
BUSE
Specification B L d di G
CKB2-2-30L 24 30 14 14 M5*0.5
CKB3-3-38L 31 38 18 18 M6*0.75
CKB4-4-45L 39 45 22 22 M8*0.75
CKB5-5-55L 49 55 28 28 M10*1
CKB5-5-90L 49 90 28 28 M10*1
CKB6-6-60L 63 60 36 36 M12*1
CKB6-6-100L 63 100 36 36 M12*1




HSK Holder CKB Holder
HSK 71tk CKBX%|#E 7]k

O BkB: 0.005=H3LE

O NE: H5

O T&: G6.3/150008/45
O TRBEREITC2. 5
O B%E: BFEKRRIA

OBT40 MAS 403 BT (10540)

Fidl )i B
Specification b d L b (g BU5E S
Specification Figure L L2 2 d ol @ g
HSK63A-CKB1-85 19 11 85 47 1.18
HSKB3A-CKB1-115 19 11 115 77 1.21 80 46 19 " 31 M4x0.5 0.75
HSK63A-CKB2-85 24 14 85 47 1.21 gg gg i;‘ 1 g 21 &"65:00'755 gg?
HSK63A-CKB2-115 24 14 115 77 1.27 20 o8 3 s ) VB X075 T 02
HSK63A-CKB2-145 24 14 145 107 1.30 o5 e 29 o8 29 V101 Ta5
HSK63A-CKB3-95 31 18 95 69 1.32 BT40-CKB1-85
HSK63A-CKB3-125 31 18 125 99 1.46 BT40-CKB1-115 A 115 79 19 11 31 M4 x 0.5 1.21
HSK63A-CKB3-155 31 18 155 129 1.62 BT40-CKB2-85 85 49 24 14 31 M5 x 0.5 1.21
HSK63A-CKB4-95 39 22 95 69 1.54 BT40-CKB2-115 115 79 24 14 31 M5 x 0.5 1.27
HSK63A-CKB4-125 39 22 125 99 1.86 BT40-CKB2-145 145 105 24 14 31 M5 x 0.5 1.3
HSK63A-CKB4-155 39 20 155 129 215 BT40-CKB3-95 95 68 31 18 31 M6 x 0.75 1.32
HSK63A-CKB5-95 50 28 95 69 1.81 BT40-CKB3-125 125 80 31 18 37 M6 x0.75 1.46
HSKE3A-CKB5-125 50 28 125 99 535 BT40-CKB3-155 5 155 85 31 18 37 M6 x0.75 1.62
5 s orio-Croo- 1o T A Y B A
= = X 0. .
HSK63A-CKB6-95 63 36 % 69 2.75 BT40-CKB4-125 A 125 98 39 22 39 M8 x0.75 1.86
HSK63A-CKB6-125 63 36 125 99 3.2 BT40-CKB4-155 155 128 39 22 46 M8 x 0.75 2.15
HSK63A-CKB6-155 63 36 155 129 3.4 BT40-CKB4-185 B 185 120 39 22 46 M8x0.75 2.42
Unit: mm BT40-CKB5-95 95 68 49 28 49 M10x 1 1.81
BT40-CKB5-125 125 98 49 28 49 M10x 1 2.35
BT40-CKB5-155 155 128 49 28 49 M10x 1 2.75
BT40-CKB5-185 185 155 49 28 49 M10x 1 3.05
. BT40-CKB5-215 215 180 49 28 49 M10x 1 3.30
BST Borlng HOIder BT40-CKB6-65 A 65 43 63 36 63 M12x 1 2.20
B S T%ﬁ 7] 7] m BT40-CKB6-95 95 68 63 36 63 M12 x 1 2.75
BT40-CKB6-125 125 98 63 36 63 M12x 1 3.20
BT40-CKB6-155 155 128 63 36 63 M12x 1 3.40
BT40-CKB6-185 185 158 63 36 63 M12x 1 3.60
BT40-CKB6-215 215 188 63 36 63 M12x 1 3.80
O BT NOSEIRIEE MITATIHES,
O DASLENTAZEHS;
31 WHEIKA ¢ =
O BSPOEIATERRAK o OBT50 MAS 403 BT (I0S50)
, BUSE =S
U Specification Figure L - - d = © g
L BT50-CKB1-125 A 125 67 19 11 27 M4 x 0.5 3.93 i
BT50-CKB1-165 B 165 75 19 11 27 M4 x 0.5 4.05 74
BT50-CKB2-125 A 125 67 24 14 31 M5x 0.5 4.08 N2
_— BT50-CKB2-165 B 165 75 24 14 35 M5x0.5 4.20 A7
Spedﬁcmk;n/"em D L L1 BT50-CKB3-125 A 125 75 31 18 36 M6 x 0.75 4.10 Bl
BT50-CKB3-165 B 165 90 31 18 36 M6 x 0.75 4.35
BT40-BST-70 95 146.4 70 BT50-CKB3-205 205 130 31 18 36 M6 x 0.75 4.70
BT50-BST-100 95 2128 100 BT50-CKB4-125 A 125 82 39 22 45 M8 x0.75 4.35
BT50-CKB4-165 165 95 39 22 45 M8x0.75 4.70
BT50-BST-150 % 2628 180 BT50-CKB4-205 205 110 39 22 45 M8 x0.75 5.02
BT50-BST-200 95 3128 200 BT50-CKB4-245 B 245 150 39 22 45 M8x0.75 5.30
BT50-BST-250 95 362.8 250 BT50-CKB5-125 A 125 82 49 28 49 M10x 1 4.75
BT50-BST-300 95 41238 300 BT50-CKB5-165 165 95 49 28 58 M10x 1 5.20
BT50-BST-350 95 462.8 350 BT50-CKB5-205 B 205 110 49 28 58 M10x 1 5.53
BT50_BST_400 = e e BT50-CKB5-245 245 150 49 28 58 M10x 1 5.95
BT50-CKB6-125 A 125 87 63 36 73 M12x 1 5.15
Unit: mm BT50-CKB6-165 165 127 63 36 73 M12x 1 6.10
BT50-CKB6-205 205 165 63 36 73 M12x1 7.40
BT50-CKB6-245 B 245 150 63 36 73 M12x 1 7.75
BT50-CKB6-285 285 185 63 36 73 M12x 1 8.10




BBT Boring Holder
BBTiJ]7]tA

BUSR
Specification/Item
BBT40-CK1-115
BBT40-CK2-125
BBT40-CK3-125
BBT40-CK4-135
BBT40-CK5-165
BBT40-CK6-60
BBT40-CK6-160

Counter Rough Boring Modular

[z ¥ TI#H $2 T 1R1R

i
A
e
l%x
5l

& Dat
A3 pE el BRI RF

Specification/Item Applicable Insert WRENCH

CKB2-TWN3038F-29
CKB3-TWN3747F-30
CKB4-TWN4660F-36
CKB5-TWN6081F-41
CKB6-TWN79101F-56
CKB6-TWN99130F-56
CKB6-TWN129160F-56 129-160




Accessories for Special Tools
CIE: VAR UNVIES

Accessories for Special Tools
CIE AR - AAVAES

SCISCIR/L45° 1IN B ! SLIFLIR/L90°

h
4
[} J/ '{
= . I 2 T s L _ -
. 90° | ©@ 90° _
S~ Dmin ==
=7 .. L L—’ L L—> H
e it ; il 1R8] |IRF| HRET  |IRTF| RET 1R8] |IRF
= B3 Specification R Size Inserts Screw  |Wrench| Screw  |Wrench| Screw Screw  |Wrench
U Specification H 73 ﬁﬁj ?ﬁ# ﬁﬂ 1&# !ﬁﬁ] ﬁﬁ] ;ﬁ;
5% Sp R size Inserts Screw  |Wrench| Screw |Wrench| Screw Screw | Wrench %7 Left &7 Right HIElh! 1 |L [Dmin ) —F & = & O =
7z 7] Left G7Right |H|[F|h|I]|L [Dmin| /\/[O] m |~ F & = S &% == SCFCLO6CA-06|SCFCRO6CA-06| 6 | 8 [8.5/12[25| 20 |CC..060204|SI1C025065|FT07|SDC035120| S2.5 |SAC030085/SSC030050(S1.5
SCSCLOGCA—0GISCSCROBCA—06/ 6 18 1851121211 20 [CC.060204]SIC025065 FT07|SDC035120! S2.5SAC030085 SCFCL08CA-06|SCFCR08CA-06| 8 [10|1117|32| 25 |CC..060204|S1C025065|FT07|SCC040160| S3 |SAC040130/SSC030050|S1.5
SCSCL08CA-06|SCSCRO8CA-06| 8 |10]11]17]28] 25 |CC..060204]SIC025065 $SC030050| S1.5 SCFCL10CA-09|SCFCR10CA-09|10|14|15|20|50| 40 |CC..09T308|SIC035080|FT15/SCC060200| S4 |SAC050145/SSC040080| S2
STSCLOBCA—09|STSCROBCA—09] 8 [10[11]17]28] 25 [TC..090204]SIC022063] | 07| SCC040160] S3 |SAC040130
= = - SCFCL12CA-09|SCFCR12CA-09|12|20|20|20|55| 50 |CC..09T308|SIC035080|FT15/SCC060250| S4 |SAC060145/SSC050120(S2.5
SCSCL10CA-09|SCSCR10CA-09| 10[14]15]20]44] 40 [CC..09T308| g, ~onr oo fere
SSSCL10CA—-09|SSSCR10CA-09|10/14|15[20] 44| 40 [SC..09T308 SCC060200 S4 |SAC050145/SSC040080| S2 SCFCL12CA-12|SCFCR12CA-12{12|20|20|20|55| 50 |CC..120408|SID040110(FT15/SCC060250| S4 |SAC060145/SSC050120(|S2.5
STSCL10CA-11[STSCR10CA-11[10[14[15[20]44[ 40 [TC..110204]|SIC025065|FT07 SCFCL16CA-12|SCFCR16CA-12|16|25|25|25|63| 60 |CC..120408|SID040110|FT15/SCC080350| S5 |SAC060145/SSC060160| S3
SSSCL12CA-09[SSSCR12CA-09]12[20[20[20][47] 50 [SC..09T308|SIC035080
SSSCL12CA-12|SSSCR12CA-12|12]20|20[20( 47| 50 [SC..120408[SID040110|FT15{SCC060250| S4 |SAC060145/SSC050120| §2.5 STFCLOBCA-09|STFCROBCA-09] 8 |10]11]17]32) 25 |TC..090204| SIC022063|FT07|SCC040160] S3 |SAC040130]SSC030050] S1.5
STSCL12CA—16|STSCR12CA—16|12|20]20|20[47] 50 |TC..16T308|SIC035080 STFCL10CA-11|STFCR10CA-11|10|14|15|20|50| 40 |TC..110204|S1C025065|FT07|SCC060200| S4 |SAC050145/SSC040080| S2
giggt:ggﬁjg giggglggﬁjg 12 22 2: g: gg gg $g~-11§$ggg g:gggg;;g FT15lsCC080350! S5 |SAC060145/SSC060160! S3 STFCL12CA-16|STFCR12CA-16|12(20|20|20|55| 50 |TC..16T308|SIC035080|FT15|SCC060250| S4 |SAC060145/SSC050120|S2.5
= STFCL16CA-16|STFCR16CA-16|16|25|25|25|63| 60 |TC..16T308|SIC035080|FT15|SCC080350 S5 |SAC060145/SSC060160| S3
SCITCIR/L60° 1)\ J)3& .
h SLIKCIR/L75
h
& w -t-IF w 'B' C A
¢ ® = © = - ] |
| — | I~ w 750 = w| 750 -@ 3 L
(= L w S omn_ A\ At [
— Dmin
VA | L ) ~omn_
BUSE Specification R Size AF IRE] RS | RERT| RE] 8] RS
Inserts Screw |Wrench| Screw  |Wrench| Screw Screw  |Wrench
FUSE Specification R Size DR Sﬁﬁ] wF Sﬁﬂ wF Sﬁﬁj Sﬁﬂ wRF
Z 7] Left G 7] Right HIF|lh!| 1] L [Dmin @@ m) Nl & =\ S O =\ Inserts crew  [Wrench crew  |Wrench crew crew  [Wrench
SCTCLO6CA-06|SCTCRO6CA-06| 6 |5.5[8.5/12[25] 20 [CC..060204[SIC025065 SDC035120| S2.5[SAC030085/SSC030050(S1.5 Z7) Left B 7)Right H|{F|h]|I]|L |Dmin mf) = F L = O =
SCTCLO8CA-06|SCTCRO8CA-06| 8 | 6 |11|17|32| 25 |CC..060204|SIC025065
STTCL0BCA—09|STTCRO8CA—09] 8 | 6 [11]17]32] 25 | TC..090204]SIC022063] 07 |SCC040160) S3 |SAC040130|SSC030050) S1.5 SCKCLOGCA-05|SCKCR06CA-05 6 | 8 |8.5|12]25| 20 |0C. 060204 51C025063 |FT07|5DC035120] 52.5|SAC030085 | .
STTCL10CA-11|STTCR10CA-11]10] 9 |15]/20[50] 40 |TC..110204]S1C025065 SCC060200 SAC050145/SSC040080| S2 030050|81.5
STTCL12GA-16]STTORT2GA-1612[13]20[20155 50 |10, 17308 SGe080250l S S AC050145|SSC050120[52.5 SCKCL08CA-06|SCKCRO8CA-06| 8 [10[11[17]32| 25 |CC..060204|SIC025065|FT07|SCC040160| S3 [SAC040130
STTCL16CA-16|STTCR16CA-16]16[15[25[25[63[ 60 | = SI1C035080|FT15/SCC080350] S5 SSC060160| S3 SSKCL10CA-09|SSKCR10CA-09|10|14|15/20|50| 40 |SC..09T308|SIC035080|FT15/SCC060200| S4 |SAC050145/SSC040080| S2
SCTCL10CA-09|SCTCR10CA-09]10] 9 |15[20|50] 40 |CC..09T308 SCC060200] S4 [SAC050145|SSC040080] S2 SSKOL12GA-09|SSKOR120A-09] 12| 20| 20| 20| 55| 50 [SC..09T308] 51C035080|FT15[SCC060250] S4 [$ACO60145[ .
050120[S2.5
SDGDR/L90° /_I\jj% SSKCL12CA-12|SSKCR12CA-12|12|20|20|20|55| 50 |SC..120408|SID040110|FT15/SCC060250| S4 |SAC060145
h SSKCL16CA-12|SSKCR16CA-12|16|25|25|25|63| 60 |SC..120408|SID040110|FT15/SCC080350| S5 |SAC060145/SSC060160| S3
N
A w | == T w | > D \ ° A
~ o SCLCIR/L95° INTJHX h
| I ol
90° | ‘/90" —<_Dmin
L H =] o | -l |
95° ==
R Aelre o
2 T 7 L H 8
MA @9 J".,S ecification i @é-;tﬂ ﬁ? ﬁﬁ] }&? ﬁﬁj @é-;tg] }&? ‘.. MR @
% <) &5 Sp NI Inserts Screw  |Wrench| Screw  |Wrench| Screw Screw  |Wrench %ﬁ
N Q2 N 2
| ) . g A 3 alay 1R8] |IRTF| 1BE]  |IRF| RE] 1RE] RF |
3l Z7) Left B7)Right | H|F[h]|I|L Dmin m bl & = &% " B3 Specification R size Inserts Screw |Wrench| Screw  |Wrench| Screw Screw | Wrench 3
SCGCLO8CA-06|SCGCR08CA—06| 8 [10[11[17[32] 25 [CC..060204]S1C025065|FT07[SCC040160| S3 [SAC040130]/SSC030050[S1.5 77 Left BORight |Hleln|1|L [omin o m) = & = o -
SCGCL10CA-09|SCGCR10CA-09]10[14[15[20[50] 40 [CC..09T308[S1C035080|[FT15/SCC060200] S4 [SAC050145/SSC040080| S2 .
SCGCL12CA-09[SCGCR12CA-09[12[20[20[20[55] 50 [CC..09T308[SIC035080[FT15[SCC060250] S4 [SAC060145
SOGOLT20A 12 1SCGOR120A 1212120120120 (55 50 106 120408/ S10040110[FTT5(S6G060250 84 [SAGOG0T4S| SSC050120| S2.5 SCLCLO6CA-06 | SCLCROBCA-06 | 6 | 8 [8.5[12[25| 20 [CC..060204|SIC025065|FT07|SDC035120| S2.5 |SAC030085 sscosoosol s1.s
SCGCL16CA-12|SCGCR16CA-12|16]25]25]25]63| 60 |CC..120408|SID040110|FT15/SCC080350] S5 |SAC060145| SSC060160| S3 SCLCLOSCA-06 | SCLCR08CA-06 | 8 |10]11]17|32| 25 |cc..060204|S1C025065 | FTo7|scco40160l s3 |SAC040130 :
STGCLO8CA-09 | STGCR08CA—09| 8 [10[11[17[32] 25 [TC..090204]SIC022063|FT07|SCC040160] S3 [SAC040130/SSC030050[S1.5
STGCL10CA-11 | STGCR10CA—11|10|14|15|20[50] 40 |TC..110204|SIC025065|FT07|SCC060200| S4 |SAC050145/SSC040080| S2 SCLCL10CA-09 | SCLCR10CA-09 [10|14|15(20|50| 40 |CC..09T308|S1C035080|FT15/SCC060200 S4 [SAC050145/SSC040080| S2
STGCL12CA-16 | STGCR12CA-16]12[20[20[20]55]| 50 [TC..16T308|SIC035080|FT15/SCC060250| S4 |SAC060145/SSC050120[S2.5
STGOL16CA—16 [STGOR16CA—161 16125 25251631 60 ITC. 16T308] 510035080 [FT15/50C080350] S5 [SAC060125|SSC060160] S3 SCLCL12CA-12 | SCLCR12CA-12 [12[20(20|20|55| 50 [CC..120408|SID040110|FT15/SCC060250| S4 |SAC060145/SSC050120| S2.5




Chamfering Tools

TWNEZRIE=ETIE HIR

HLBA-GLERIT-STAD

itk IRET ®F |BEm

Specification Screw rench |Store

Slot Milling Cutters
CKBR3IEEE )

BgE 28] | DY | BRF | BERED
Specification Insert Screw | Teeth |Wrench| Screw

A R P e

sjoo] Buusywoy)




=——Modular Type Milling Cutter
= AEMHERFTIL

RIS

Specification
300R-16-M8-2T
300R-17-M8-2T
300R-20-M10-2T
300R-20-M10-3T
300R-21-M10-2T
300R-21-M10-3T
300R-22-M10-3T
300R-25-M12-3T
300R-25-M12-3T
300R-26-M12-3T APMT1135
300R-26-M12-3T
300R-32-M16-4T
300R-32-M16-5T
300R-33-M16-4T
300R-33-M16-5T
300R-35-M16-4T
300R-35-M16-5T
300R-36-M16-5T

400R-25-M12-2T
400R-26-M12-2T
400R-32-M16-2T APMT1604
400R-32-M16-3T
400R-33-M16-2T
400R-33-M16-3T APMT1604
400R-35-M16-3T







GUN DRILL
teth

O REIJEFEEBIALRESR
o REDBETRESFERE, ABRTTHHE0.00Imm
o STEBEEN T RERE

D (EBHEEK) *L (BR) -NBimE
| BREL |

o= =ed ) ]

- ° D -
L2

— A —] w | 1B ==
BUREL | i H |
BEEL D=EHEAELE W=TRE L=ERRR IB=BEZEKERTE
BRREL H=E AR & LA=BHRE LN=BREARE L2=RRFTH B B
RERRERTERE:

L=LA (EHRRE) +W (3LR) +B (EAZEHEBREE) +L2 (RAGHBERE) +H (FHR)

® SIERFEIIRMIMN, BE, ALAE, XERE

REBYLEEELImm-50mmsEE, RELTZE250FUE, FRBRTES000mm, BENEBRIR: BEEHE, &
FrRBlEhRE, IRERESE, EERE, PCORE, EREBEESERE, BRIIBEF.

EE$§€£7 HE /* AT T iR
® %E
— = —

yil
7 PR
> wn
—
A\—u g ]

I HERE Ltﬂ%’ﬂ?@%ﬂtﬂg I

©® FREESEAS AR, BRME.

® ERRILBEADEBRNSANE, HREBNRHRBHNENIRE.
RigEREEEEINEED, AUENIR, VWEERREENTHE.

©® =S| E3LUMERBEINTAEN.
©® FREENNIZSH, UEIKENSLINIHR.

¥4 H 8 o

Q
c
=}
o
=
E
=
3
o
o
«Q
~




BRAZED GUNDRILLS BRAZED GUNDRILLS
FizIie Bt

O E?ﬁﬁ%%%ﬁ% © E?ﬁﬁ%fé*ﬁ%ﬁ*ﬁ Standard driver of the brazed gun drills

BENEDEERRELR. BFNER=,EREERRE—EZE, TRERINIMNNAEEERREENEESEMR 5 NeEELHE
EITSRBNNRG. HEEEXAEREESS, IED)RCANEBNRTTISE R, AEBERESENSHRmETF s IMZRID - toollength calculation | o
IRiEE, HT BRI EA R RS E S o ®dia{mm) L e
° h SonmETe specification diameter drawing BT L] EHBEDL fix position X | screw spec M
®dia.(mm) clamping partL1 | fransitional part L
SH10-00 10 40 24.0
SH16-03 16 45 53 31.0
. SH25-00 25 70 78 34.0
/- AN
A( Z > © SH10-01 10 40 57 24.0
L1 L2 SH16-04 16 45 72 31.0
L L
L1
SH25-01 25 ET‘" l 70 105 34.0
B L ———
S | S—
o SH16-02 16 —— 50 58 47.5
o BIEX R TICESETFEE Stock of brazed single flute gun drills H—— -
L
L1
235mm (L) 270mmi(L) e
RIS DAL 800mm [1000mm [1200mm | 1440mm [1650mm | 1800mm YAl SH16-33 16 i | S——— Dl 50 44 47.5
specification e 2B e 2B handle/driver (L) (L) (L) (L) (L) (L) handle/driver !
standrad| coating |standrad| coating SH10-06 10 60 M6x0.5
$3.02 ° ° ° ° SH16-15 16 80 M10x1
$3.52 ° ° ° ° SH25-08 25 100 M16x1.5
6 4.02 ° ° ° ° ° SH10-28 10 60 77 M6x0.5
$4.52 ° ° ° ° ° SH16-22 16 60 105 M10x1
$5.02 ® ® ® ° ® ® SH25-10 25 B 100 140 M16x1.5
552 ° ° ° ° ° SH12.7-00 12.7 38.1 25.3
46.02 ° ° ° ° ° ° SH19.05-01 19.05 — 70 45.0
4652 ° ° ° ° ° ° SH25.4-00 25.4 | 70 57.5
©7.02 ° ° ° ° ° ° ° SH31.7-00 31.7 70 57.5
$7.52 ° ° 10*40 ° ° ° ° 25%70 ki &1 7w I8
45,02 . o . . . o o o SH19.05-11 19.05 70 97 45.0
SH25.4-11 25.4 70 100 57.5
$8.52 ° ° ° ° ° °
SH31.7-01 31.7 -q 70 11 57.5
$9.02 ° ° ° ° ° ° °
SH38.1-01 38.1 70 110 57.5
9.52 ° ° ° ° ° °
0 SH10-44 10 60 68 35 M6x0.5
10.02
¢ ° ° ° ° ° ° ° hd SH16-31 16 80 90 37 M10x1
$10.62 b b hd b b b SH25-34 25 100 100 45 M16x1.5
$11.02 ° ° ° ° ° °
SH16-66 16 80 80 37 M10x1
$11.52 ° ° ° ° °
$12.02 ° ° ° ° ° ° ° SH25-40 25 = 100 100 45 M16x1.5
e=available stock SH10-30 10 40 40 28.0
SH12-14 12 45 45 33.0
SH16-70 16 48 48 36.0
SH20-56 20 50 50 38.0

g ot

L
ES

Q
c
=}
o
=
E
=
3
o
o
«Q
~

¥4 H 8 a6

[4)
(=4
3
o
=
)
=
p=)
[
o
«Q
~




[4)
(=4
3
o
=
)
=
p=)
[
o
«Q
~

BRAZED GUNDRILLS
FizzUieth

O ﬁ?&ﬁ%ﬁ%’f?ﬁﬁ Standard driver of the brazed gun drills

SMERYD Ao bestiiien)
RUSE odia.(mm) e tool length calculation AT X IREGEIE M
specification diameter drawing ERREG L] EREED L fix position X | screw spec M

®dia.(mm) clamping partL1 | fransitional part L
SH16-00 16 112 73.0 TR16x1.5
SH20-00 20 p—— 126 82.0 TR 20x2
SH28-00 28 [ e ] 126 82.0 TR 28x2
SH36-00 36 162 109.0 TR 36x2
SH16-21 16 — 40 28.0
SH25-16 25 hf___._. . ] 50 35.0
SH35-00 35 60 40.0
SH16-30 16 . 40 67 28.0
SH25-20 25 —— 50 77 35.0
SH35-01 35 e e | 60 100 40.0
SH10-40 10 40
SH12-18 12 45
SH16-11 16 L 48
SH20-01 20 o % c‘ 50
SH25-11 25 56
SH32-24 32 60
SH40-03 40 70
SH10-41 10 40 57
SH12-19 12 45 62
SH16-20 16 L 48 75
SH20-60 20 50 77
SH25-21 25 B 56 86
SH32-23 32 60 100
SH40-04 40 70 110
SH10-11 10 . 40 23.5
SH12-07 12 [ —— 45 26.5
SH16-32 16 __.__________-_a‘ 48 29.0
SH20-29 20 50 30.5
SH25-22 25 L 56 38.0
SH32-10 32 IR 60 43.0
SH40-13 40 il 70 47.0
SH10-23 10 L 40 57 23.5
SH12-02 12 L — 45 62 26.5
SH16-53 16 o e | 48 75 29.0
SH20-34 20 ) 50 77 30.5
SH25-31 25 L 56 86 38.0
SH32-11 32 B e | —— QI 60 100 43.0
SH40-14 40 70 110 47.0
SH10-20 10 40 28.0
SH12-08 12 45 33.0
SH16-47 16 48 36.0
SH20-40 20 50 38.0
SH25-36 25 ] 56 44.0
SH32-12 32 60 48.0
SH40-18 40 70 66.0
SH10-24 10 40 57 28.0
SH12-05 12 45 62 33.0
SH16-51 16 48 75 36.0
SH20-43 20 50 77 38.0
SH25-37 25 56 86 44.0
SH32-13 32 60 100 48.0
SH40-17 40 70 110 66.0
SH10-29 10 40 28.0
SH12-13 12 45 33.0
SH16-62 16 - 48 36.0
SH20-55 20 50 38.0

BRAZED GUNDRILL
FixIUIEHh

o JREANEDREINISHR

Machining parameters of the brazed single flute gun drill

EE S
T BERHHE | o mumOms | obd
S M |mzersm| I8 mm | <soovmme | L BB | . &
BE_ | WHAHE | BEAHE | L0l | momm | xEam | DEORd | 2 a5 o
TH#ME =3id = BRI EN il <300N/mm2 | < 400N/mm? h - -
Py [URIEH = KRR -5 Si> 5% Si> 5%
;s 18~25%Cr 13~25%Cr TEm IRBIEE RS TS5 el ST JER @SS
BHEE Ni> 8% SUME | o | <400N/mm? | BILVTRES | | 0000/mm:
REMRS (Rt m) BINTHSRH
P St
REEF)
tJJmﬁ/HEF 25-60 30-60 40-70 60~80 60~90 70~100 70~100 80~150 80~160 100~300
BRO ELSRE 2 K/8: mm/rev
diameter ® feed rate: mm/rev
2.0-2.49 [0.001~0.002|0.002~0.005|0.002~0.006 | 0.002~0.005|0.005~0.018{0.005~0.019 | 0.003~0.007| 0.003~0.015|0.002~0.012|0.005~0.005
2.5-2.99 |0.001~0.005(0.004~0.007|0.004~0.007 | 0.004~0.006(0.008~0.028| 0.008~0.02 | 0.005~0.010|0.005~0.020|0.004~0.026|0.004~0.008
3.0-3.49 [0.002~0.007|0.006~0.008|0.005~0.009 | 0.005~0.007|0.009~0.038|0.009~0.038 | 0.007~0.012| 0.006~0.030|0.006~0.037 | 0.006~0.012
3.5-3.99 |0.004~0.008|0.008~0.009|0.007~0.011(0.007~0.010({0.011~0.042|0.011~0.046|0.009~0.015| 0.007~0.045|0.007~0.055(0.007~0.025
4.0-4.49 |0.006~0.009(0.009~0.010|0.008~0.013|0.008~0.012(0.012~0.047|0.012~0.050 | 0.012~0.019| 0.008~0.050| 0.008~0.071|0.008~0.026
4.5-4.99 |0.008~0.011[0.010~0.013|0.009~0.017|0.011~0.015{0.016~0.052|0.016~0.057 | 0.014~0.020| 0.009~0.057| 0.009~0.094|0.009~0.028
5.0-5.99 [0.010~0.014|0.012~0.015|0.013~0.019|0.013~0.018|0.018~0.065|0.018~0.068 | 0.016~0.026| 0.010~0.069|0.010~0.109(0.010~0.036
6.0-6.99 [0.012~0.016|0.014~0.017|0.015~0.023 | 0.015~0.022|0.024~0.071|0.024~0.074 [ 0.018~0.028| 0.012~0.079|0.012~0.125[0.012~0.045
7.0-7.99 [0.015~0.018|0.016~0.019| 0.18~0.026 |0.018~0.025|0.028~0.084|0.028~0.085 [ 0.021~0.035| 0.014~0.092|0.018~0.130|0.014~0.049
8.0-8.99 |0.018~0.021|0.018~0.021{0.020~0.031(0.020~0.027(0.032~0.092|0.032~0.096 | 0.024~0.036| 0.016~0.101|0.020~0.144(0.016~0.056
9.0-9.99 [0.021~0.025|0.020~0.028|0.023~0.034 | 0.023~0.030| 0.36~0.110 |0.036~0.114 | 0.027~0.040| 0.018~0.113|0.023~0.158(0.018~0.034
10.0-11.99 |0.025~0.030(0.025~0.033 |0.025~0.041 | 0.025~0.038|0.045~0.116|0.050~0.120 | 0.030~0.04 |0.020~0.139(0.025~0.174|0.020~0.074
12.0-13.99 |0.027~0.033|0.030~0.044 |0.030~0.045 | 0.029~0.044(0.051~0.126|0.060~0.138 | 0.036~0.060 0.024~0.156|0.030~0.182|0.024~0.087
14.0-15.99 |0.029~0.040(0.035~0.044 |0.035~0.052 | 0.035~0.050(0.057~0.138|0.070~0.154 | 0.042~0.071| 0.028~0.1790.035~0.194|0.028~0.099
16.0-17.99 |0.033~0.044 |0.041~0.050|0.042~0.060 | 0.039~0.053|0.620~0.158|0.079~0.170 | 0.048~0.079| 0.033~0.1990.050~0.209|0.033~0.108
18.0-19.99 [0.037~0.049(0.045~0.062(0.045~0.067| 0.044~0.060|0.066~0.173|0.090~0.191 | 0.054~0.091( 0.036~0.244(0.054~0.228(0.036~0.130
20.0-23.99 [0.041~0.054(0.049~0.071{0.050~0.079 | 0.049~0.069| 0.069~0.189|0.106~0.207 | 0.060~0.107| 0.040~0.249|0.060~0.254 | 0.040~0.146
24.0-27.99 [0.045~0.057|0.052~0.083|0.054~0.090 |[0.054~0.00770.076~0.210{0.120~0.221 [ 0.069~0.117| 0.048~0.291|0.072~0.295 | 0.048~0.169
28.0-31.99 [0.049~0.0620.057~0.091|0.059~0.098 | 0.059~0.085|0.079~0.212{0.140~0.237 | 0.079~0.134| 0.056~0.327| 0.084~0.360 | 0.056~0.194
32.0-40.0 |0.052~0.065|0.063~0.098 |0.065~0.107 | 0.063~0.098|0.086~0.228|0.160~0.245 | 0.085~0.154| 0.064~0.3800.096~0.455|0.064~0.221

® UHIRENEGEMRF-DEERL, DEARE. VHR. ITHME, #REHFNBEMNIERTER, UEREPNNI2BRELESEE, UMRSBRTRRE,
The cutting speed and feed rate depend on : tool diameter, tool lenath, cutting fluid, vorkpiece material, characterization ofmachine and clamping condition.
The processing parameters in the above table are the standard nornal value for reference.The practical actual working condtions on site are the true value.

Helt H g 55

Q
c
=}
o
=
E
=
3
o
o
«Q
~




SOLID CARBIDE GUN DRILL
EMERS EI0H

O BAEESESICEIRMETIRE Table of soild carbide gun drill handle

SOLID CARBIDE GUN DRILL
BERERSERH

[4)
(=4
3
o
=
)
=
p=)
[
o
«Q
~

B Solid carbide gun drill
9 NAsEE
. ) - handle length calculation -
The solid carbide gun drill is made of drill body(drill tip and drill rod *_‘?‘.*gf %ﬁﬂ;Rﬂ(mm)@gﬂllo. q ’t'E fi Eﬁ? X IRBUSAS AI/\\/\
integrated) and the drill handle from two parts by welding as a whole. It EREEIIERINh iamete(mm) ®dia. rawing BIREZ D BREEL ix positionx | screw spec
can also be made by the whole carbide.( drill tip,drill rod and handle clamping partD | transifional part L
integrated ) lts stabil-ity, efficiency and useful life are better than the
welding type. This design ensures higher reliability and cutting per— | X
formance, while it compromise higher rigidity and less dis-torted ._._._._._.i.._._llf_:l._.__ ol
vibration. It is therefore enjoy a longer tool life. Drilling diameter SH6-03 6 L 30 45 17
EREESSRARORSBARRT—RRAMD S BBCE range:1.00- 12.00 -
m—EEE, HTURSHBRFEESTHINMMER. B, #ER HIESEE
—8), THEEMN. BRURSHIIETIREN, SEREBRE ®1.0~$12.0
EaNTFEHELIRITLE, FRERSOBIMERBRIEHEBRE T
BHESaTE, SH10-15 10 55 70 M6*0.5
X
=
SH10-37 10 = h=t==0 40 55 32.7 M6*0.5
L1
- ¢
"
K | X
SH10-42 10 C 40 55 24
1
L
BREECSRBEEER SH12.7-01 12.7 m ‘ 38 48 25.4
Solid carbide gun drill stock table )
=
©1.52*160-10*55 ©2.0*250-10%135 ©3.8*185-4*38/50-L P e o
SH12.7-09 12.7 l E 51 65 M6*0.5
®1.80*160-10*55 ®2.2*170-4*38/50 ®3.8*240-10*100-L | =
L
®2.02*160-10*55 ®2.5*175-4*38/50-L ®3.8*275-10*135-L "
|——
©2.02*180-10*55 ®2.5*230-10*100-L ®4.0*185-4*38/50-L = - e |
SH16-75 16 L = 80 105 37 M10*1
®2.02*180-10*55-L ®2.5*265-10* 135-L ®4.0*240-10*100-L L
©2.02*200-10*55 ©2.6%175-4*38/50-L ©4.0%275-10*135-L SH4-08 4 34 46
®2.02*200-10*55-L ®2.6*265-10*135-L ®4.2*185-4*38/50-L SH6-12 6 P o | B 36 50
©2.52*180-10*55 ®2.8*175-4*38/50-L ©4.2*240-10*100-L SH10-51 10 L1 40 55
L
®2.52*180-10*55-L ®2.87265-10*135-L ©4.2*275-10*135-L SH12-27 12 45 60
©3.02*180-10*55 ®3.0%175-4*38/50-L ©4.5*285-10*135-L SH16-86 16 48 63
®3.02*200-10*55 ®3.0*230-10*100-L ®4.8*250-10*100-L SH6-13 6 X 36 50 20
©3.02*200-10*55-L ©3.0*265-10*135-L ©5.0*250-10*100-L SH10-47 10 e ¢ 1 40 55 23.5
©2.8*170-2.9*30-L ©3.2°180-4*38/50-L ©5.0*260-10*100-L SH12-50 12 - = 45 60 26.5
®3.0170-2.9*30-L ®3.2*230-10*100-L ®6.0°260-10*100-L SH16-78 16 48 63 29
®3.2¥170-3.1*30-L ®3.2*265-10*135-L ®6.07295-10*135-L SH6-01 6 36 50 25
SH10-49 10 _ 40 5] 28
®1.80*200-10*100 ®3.5*180-4*38/50-L ®7.0*280-10*100-L
SH12-28 12 45 60 33
®2.0*170-4*38/50 ®3.5*230-10*100-L ©9.0*280-10*100-L L
SH16-84 16 48 63 36
®2.0*220-10*100 ®3.5*265-10*135-L ®10.0*280-10*100-L

® L:TIALN

g ot

L
ES

Q
c
=}
o
=
E
=
3
o
o
«Q
~




SOLID CARBIDE GUN DRILL INDEXABLE INSERT GUN DRILL

S S
Ky 2
P BIMERS 0 MFELieth P
S S
@) = ﬁ_t Sg 7 ﬁ 7_] £ )
O kF? V& J) Eﬁ% 0L 2 %(i% Machining parameters of the brazed single flute gun drill
W T W
C O BRI, C
4 ==
w s o BHMERBREEZFFTE, 2MRITHSZE0.001mm W
[
= R REFRES | .oa mupomm | SES )
X UEE FEM  |mzErsm| O E <300N/mm? | it & X
e MEAGE | BBAEE | o0 wOmm | REmm | oLozs | =6 2
T =EELH 2 , | REEKHE &1 =18 i) T
IHHME IR BREKARFEH R <300N/mm? | <400N/mm * ’
C = SUREH - ARER £ Si> 5% Si> 5% - C
MNEE 18~25%Cr 13~25%Cr TE®H IREBEE RIS TER 283 ST JEEEEESe @ f_,_ = El::l: ,|~$
A e Ni > 8% SUHIE | oM | <400N/mm: | BINTEER | | goon/mm? AR T A
P (ﬁgﬂﬁﬁﬁﬁ (FRfksm) BINTHERE SEKE N P
6D REEF) o TLEBWE, ZTERIDARSEEL. 6D
& —_ e —u NITRS g &
8D — o REEHIIOLEEEREMTIEREMDEES. o
J‘I?n/minz 25~60 30~60 40~70 60~80 60~90 70~100 70~100 80~150 80~160 100~300
8 8
8 8
0 0
=R% =K%
=< =
T8 o T8 o
o = oaf =
= = ==
> . ] =
A2 BEO ELEIRE 2K/ mm/rev ]
Bl = diameter ® feed rate: mm/rev Bl =
N K=
E = 0.7~0.79 0.0004~0.0012 | 0.0005~0.0012 | 0.0007~0.0012 | 0.0005~0.0012 | 0.0009~0.0014 | 0.0007~0.0018 | 0.0004~0.0018 | 0.0005~0.0012 | 0.0007~0.0012 | 0.0005~0.0009 E =
v o
?@ = 0.8~0.89 0.0006~0.0016 | 0.0070~0.0015 [ 0.0011~0.0014 | 0.0006~0.0015 | 0.0012~0.0018 | 0.0010~0.0023 | 0.0004~0.0022 | 0.0008~0.0015 [ 0.0012~0.0014 | 0.0008~0.0012 ’<:T|:< =
> >
U x 0.9~0.99 0.0009~0.0020 | 0.0011~0.0019|0.0014~0.0017 | 0.0009~0.0019 [ 0.0015~0.0024 | 0.0014~0.0028 | 0.0007~0.0026 | 0.0011~0.0019 | 0.0017~0.0020 | 0.0011~0.0017 U x
Py o P =
f@f = 1.0~1.09 0.0013~0.0024 | 0.0014~0.0022 | 0.0019~0.0022 | 0.0010~0.0023 | 0.0019~0.0029 | 0.0018~0.0032 | 0.0010~0.0032 | 0.0015~0.0024 | 0.0020~0.0024 | 0.0015~0.0024 \ﬁ% =
- 1.1~1.19 0.0017~0.0028 [ 0.0017~0.0025 | 0.0022~0.0026 | 0.0013~0.0029 | 0.0025~0.0035 | 0.0022~0.0038 | 0.0014~0.0038 | 0.0019~0.0029 | 0.0022~0.0029 | 0.0019~0.0034 o
7] 5_ 1.2~1.29 0.0020~0.0033 | 0.0020~0.0027 | 0.0024~0.0028 | 0.0015~0.0035 | 0.0031~0.0041 | 0.0030~0.0048 | 0.0018~0.0041 | 0.0024~0.0034 | 0.0024~0.0034 | 0.0024~0.0041 7] g_
)_7‘_ % 1.3~1.39 0.0023~0.0036 | 0.0022~0.0029 | 0.0031~0.0035 | 0.0020~0.0041 [ 0.0040~0.0051 | 0.0039~0.0060 | 0.0020~0.0050 | 0.0028~0.0039 | 0.0026~0.0045 | 0.0026~0.0044 ):\L %
"?F E 1.4~1.49 0.0026~0.0038 | 0.0023~0.0031 [ 0.0034~0.0037 | 0.0021~0.0047 | 0.0047~0.0060 | 0.0049~0.0079 | 0.0021~0.0054 | 0.0031~0.0047 | 0.0028~0.0055 | 0.0032~0.0048 /%;IA;\ ;
® o
5‘] % 1.56~1.59 0.0029~0.0042 | 0.0024~0.0035 | 0.0035~0.0042 | 0.0021~0.0051 [ 0.0053~0.0068 | 0.0056~0.0100 | 0.0021~0.0067 | 0.0032~0.0053 | 0.0035~0.0066 | 0.0038~0.0059 §J %
*H ® 1.6~1.79 0.0035~0.0054 | 0.0036~0.0049 | 0.0040~0.0051 | 0.0024~0.0066 | 0.0064~0.0095 | 0.0064~0.0150 | 0.0028~0.0075 | 0.0035~0.0095 | 0.0040~0.0085 | 0.0040~0.0075 *H ®
fﬁ L§ 1.8~1.99 0.0040~0.0065 | 0.0040~0.0065 [ 0.0050~0.0065 | 0.0030~0.0075 | 0.0070~0.0130 | 0.0070~0.0220 | 0.0030~0.0095 | 0.0040~0.0130 [ 0.0050~0.0110| 0.0050~0.0110 %ﬁ é
i b
73 S 2.0~2.49 0.0050~0.0075|0.0050~0.0075 | 0.0050~0.0075 | 0.0030~0.0095 | 0.0100~0.0220 | 0.0090~0.0330 | 0.0040~0.0120 | 0.0040~0.0180 [ 0.0050~0.0200 | 0.0070~0.0130 7] S
Z%\ ll; 2.5~2.99 0.0060~0.0095 | 0.0060~0.0095 | 0.0060~0.0110 | 0.0040~0.0110|0.0130~0.0320 | 0.0110~0.0430 | 0.0050~0.0160 | 0.0050~0.0250 [ 0.0060~0.0360 | 0.0080~0.0170 ? «i
DA RN PARY
§|J g 3.0~3.49 0.0080~0.0110|0.0080~0.0110 [ 0.0080~0.0130 | 0.0050~0.0140 | 0.0150~0.0390 | 0.0140~0.0530 | 0.0080~0.0180 | 0.0060~0.0370 | 0.0080~0.0540 | 0.0100~0.0200 §|J %
[T 3.5~3.99 0.0090~0.0125|0.0100~0.0160 | 0.0090~0.0160 | 0.0070~0.0160 | 0.0180~0.0480 | 0.0180~0.0620 | 0.0090~0.0230 | 0.0070~0.0490 [ 0.0110~0.0750 | 0.0100~0.0250 y=E
%g i 4.0~4.49 0.0100~0.0135|0.0110~0.0180 | 0.0100~0.0190 | 0.0080~0.0190 | 0.0200~0.0560 | 0.0200~0.0690 | 0.0120~0.0260 | 0.0080~0.0600 [ 0.0120~0.0950 | 0.0130~0.0300 %g §j>
\j] Eo? 4.5~4.99 0.0110~0.0160|0.0140~0.0220 | 0.0110~0.0220 | 0.0110~0.0210 | 0.0230~0.0640 | 0.0230~0.0780 | 0.0140~0.0280 | 0.0090~0.0690 [ 0.0140~0.1300 | 0.0160~0.0360 \jj g’
‘_Zr* Lg 5.0~5.99 0.0130~0.0220|0.0150~0.0240 | 0.0130~0.0250 | 0.0120~0.0250 | 0.0250~0.0760 | 0.0250~0.0950 | 0.0150~0.0380 | 0.0100~0.0800 [ 0.0150~0.1550 | 0.0200~0.0470 ? é
PA RN PARY
§|J g 6.0~7.99 0.0150~0.0300|0.0180~0.0290 | 0.0150~0.0370 | 0.0150~0.0330 | 0.0300~0.1100 | 0.0300~0.1250 | 0.0180~0.0490 | 0.0120~0.0960 [ 0.0180~0.0250 | 0.0260~0.0660 §|J g
fﬁ 8.0~12.0 0.0180~0.0380 | 0.0210~0.0330 [ 0.0170~0.0410 | 0.0180~0.0380 | 0.0330~0.1190 | 0.0350~0.1360 | 0.0210~0.0570 | 0.0140~0.1100 | 0.0210~0.2080 | 0.0290~0.0780 /\ﬁ
/) Q O tHREMESERR T NEER., NERE. MR, THME. MERAHNEEUENTERRER, MEREONNTIS2HREESZEH, URSERTIRRE, /] o
1‘|:k_|_ = The cutting speed and feed rate depend on : tool diameter, tool lenath, cutting fluid, vorkpiece material, characterization ofmachine and clamping condition. 7f@ §
z{\ ~ The processing parameters in the above table are the standard nornal value for reference.The practical actual working condtions on site are the true value. ? ~
PARN PARN
5l 3l
I N N .
AR AR
R g R g
o (=]
Ao EY:
5l 3l
1% 12

ABojouyps] |jug uno EEISEIRSEIEINEIs)
ABojouyds] [lug uno ESSINCEIENTNS g}




¥4 H 2 o

(@]
(=4
3
o
=
=
®
[a]
=
p=)
o
o
«Q
~

INDEXABLE INSERT GUN DRILL ( TPMX)
EXeth (TPMX)

o BetbER
DEER BREDLRE 1R TISE RFA%
14-17 TPMX0902 M2.5*6 T8
18-21 TPMX1403 M2.5*6 T8
22-25 TPMX1704 M3.5*9 T15
26-29 TPMX2204 M4*10 T15
30-35 TPMX2405 M4*10 T15
36-42 TPMX2807 M5*12 T20
O BetbER
NEEE WRRE IBHE TS RFRSE
13.5-15 05-18-060 M2.2*4.5 T7
15.5-17 05-18-075 M2.2*4.5 T7
17.5-19.8 06-20-085 M2.5*6 T8
20.3-23.8 06-20-100 M2.5*6 T8
24.2-28 06-20-120 M2.5*6 T8
30-39 07-20-120 M3*6.5 T8

INDEXABLE INSERT GUN DRILL (TOGT)

ket (TOGT)

O Betb®
DEERE T)E RusE BRI ESE RFAE WIREIGE BRI A RFAE
14.00-15.99 TOGT070304 M2.5*5 T8 GPS05-18-060 M2.2*4.5 T7
16.00-18.00 TOGT080305 M2.5*5 T8 GPS05-18-075 M2.2*4.5 T7
18.01-19.99 TOGT090305 M2.5*5 T8 GPS06-20-085 M2.5*5 T8
20.00-20.99 TOGT100305 M3.0*6.5 T8 GPS06-20-085 M2.5*5 T8
21.00-21.99 TOGT100305 M3.0*6.5 T8 GPS06-20-100 M2.5*5 T8
22.00-25.00 TOGT110405 M3.5*9 T15 GPS06-20-100 M2.5*5 T8
25.01-28.99 TOGT120405 M4*10 T15 GPS06-20-120 M2.5*5 T8
29.00-29.99 TOGT130408 M5*11 T20 GPS06-20-120 M2.5*5 T8
30.00-32.02 TOGT140510 M5*11 T20 GPS07-20-120 M3.0*6.4 T8

GUNDRILL COMPATIBLE INSERT

terhi&He ] FrikE

O TPMX&RBITIF/ERY/TPMX insert

O TOGTAZF D/ IE#EY/TOGT insert

O 1RBE M EKIZEY/Gun drill Compatible guide

il BEARY (mm)
Specification/ltem I T Re
TPMX0902 7.5 2.8 0.8
TPMX1403 8.45 3.5 0.4
TPMX1403 8.45 3.5 0.8
TPMX1704 10.3 4.0 0.4
TPMX1704 10.3 4.0 0.8
TPMX2204 12.3 4.4 1.0
TPMX2405 14.2 5.5 0.4
TPMX2405 14.2 5.5 1.2
TPMX2807 17 7.5 0.8
TPMX2807 17 7.5 1.6
RUSE EARY (mm)
Specification/Item IC Re RL T Fig
TOGT070304 7.69 0.4 1.95 2.3 1
TOGT080305 8.55 0.5 2.2 2.8 1
TOGT090305 8.32 0.5 3.0 3.0 2
TOGT100305 9.23 0.5 3.2 3.3 2
TOGT110405 10.4 0.5 3.4 3.8 2
TOGT120405 11.59 0.5 3.6 4.3 2
TOGT130408 12.85 0.8 4.57 4.76 2
TOGT140510 16.85 1.0 5.43 5.26 2
il HEARY (mm)
Specification/Item W T L Re
GPS04-16-045 4.0 1.8 16.0 4.5
GPS04-16-050 4.0 1.8 16.0 5.5
GPS04-16-055 4.0 2.0 16.0 5.5
GPS05-18-060 5.0 2.5 18.0 6.0
GPS05-18-075 5.0 2.5 18.0 7.5
GPS06-20-075 6.0 3.0 20.0 7.5
GPS06-20-085 6.0 3.0 20.0 8.5
GPS06-20-100 6.0 3.0 20.0 10.0
GPS06-20-120 6.0 3.0 20.0 12.0
GPS07-20-120 7.0 3.5 20.0 12.0
GPS08-25-155 8.0 4.5 25.0 15.5
GPS10-30-200 10.0 4.5 30.0 20.0
GPS10-35-200 10.0 6.0 35.0 20.0

¥4 H 8 o

Q
c
=}
o
=
E
=
3
o
o
«Q
~




CUTTING CONDITION
mI&%

CUTTING CONDITION
MISH

O PRI EHMINENASET

O IZENI 2
; LNERIREVC &S
THHR (m/min)
®12-913.99| P14-d18 |P18.01-928( P28.01-d50
EBREM(C<0.3) 50-100 - 0.03-0.1 0.03-0.1 -
$S400/5t42-1,5M/5t52-3,
S25C/C25.% 80-140 0.05-0.1 0.05-0.1 0.05-0.1 0.1-0.2
BSEIC0.3) 50-100 - 0.03-0.1 0.03-0.12 -
545C/C45,555C/C55efc. 80-140 0.05-0.1 0.05-0.16 0.05-0.2 0.1-0.2
(EASHC<0.3) 50-100 - 0.03-0.1 0.03-0.1 -
SCMA415,18CrMo4 efe. 80-140 0.05-0.16 0.05-0.1 0.05-0.1 0.1-0.2
A28(C>0.3) 50-100 - 0.03-0.1 0.03-0.2 -
SCMA440/42CrMod,efc. 80-120 0.05-0.1 0.05-0.16 0.05-0.2 0.1-0.2
RHMERRE) 50-100 - 0.03-0.06 0.03-0.06 -
SUS304/x5CrNi18-9.5US316/
X5CrNiMo17-12-3, efc. 60-100 0.05-0.1 0.05-0.1 0.05-0.1 0.1-0.15
RIFMIHRE BER) 50-100 - 0.03-0.06 0.03-0.06 -
SUS430/X6Cr17,5US416/
X12Crs13.% 60-100 0.05-0.1 0.05-0.1 0.05-0.1 0.1-0.15
Kﬁ%iﬁﬂl(?ﬂﬁ&‘ﬁﬁ{hl 50-100 - 0.03-0.06 0.03-0.06 -
SUS630/X5CrNICUNb16-4,etc. 60-100 0.05-0.1 0.05-0.1 0.05-0.1 0.1-0.3
e 50-100 - 0.03-0.15 0.05-0.18 -
FC250/250-2 efc. 80-140 0.05-0.25 0.05-0.25 0.05-0.3 0.1-0.3
REEE 50-100 - 0.03-0.15 0.05-0.18 -
FCD700/700-2,etc. 80-140 0.05-0.25 0.05-0.25 0.05-0.3 0.1-0.3
80-160 - 0.03-0.15 0.03-0.15 -
bial=krd
100-200 0.05-0.2 0.05-0.2 0.05-0.2 0.1-0.25
PP 20-50 - 0.03-0.06 0.03-0.08 -
Inconel 718, efc. 20-50 0.04-0.08 0.04-0.08 0.04-0.1 0.06-0.13
KE® 30-160 - 0.03-0.1 0.03-0.12 -
TI-6AL-4V, efc. 30-60 0.05-0.13 0.05-0.13 0.05-0.15 0.1-0.18
R 40-100 - 0.03-0.08 0.03-0.08 -
=40HRC 50-100 0.04-0.08 0.04-0.08 0.04-0.1 0.06-0.13
ELSEf (mm/rec) 0.03-0.05 0.03-0.05 0.1-0.5
#& 3L X 3L AL 0O

3

16mmzZE I\

(FBFEELND

o EHEIIMIAELE—ESIEL,

(@]
(=4
3
o
=
i
[0
[a]
=
p=)
o
o
«Q
~

o ENMIRXILHENLILE, BFRERSHRBTHARELS

BINE (S45C) BINE (S45C)
10 10
9 9
8 8
7 7
~ 6 ~ 6
g s g s
g 4 e 4
3 3
2 2
1 1
0 0
10 15 20 25 30 25 30 35 40 45
EIEEL: DC (mm) EIEEL: DC (mm)
H%6 (S45C) H%6 (S45C)
70 120
60 100
50 80
~ 40 ~ 60
£ £
\I: 30 T: 40
20 20
10 10
0 0
10 15 20 25 30 25 30 35 40 45
#EEEE: DC (mm) #EEEE: DC (mm)
RSEN (HERE) RBHRE (HEBE)
4 70
3.5
3 60
= 2.5 = 50
s 2 £
T 45 o 40
! 30
0.5
0 20
10 15 20 25 30 35 40 10 15 20 25 30 35 40
AL DC (mm) BEEE: DC (mm)
Vc =120 m/min -mw VC=80m/min Vc =100 m/min Vc =60 m/min
fn =0.1 mm/rev fn = 0.05 mm/rev fn = 0.25 mm/rev fn =0.25 mm/rev
o oo Vc=120 m/min Vc =40 m/min o oo V=100 m/min o oo Vc=60m/min
fn = 0.05 mm/rev fn = 0.1 mm/rev fn = 0.2 mm/rev fn = 0.2 mm/rev
Vc =80 m/min Vc =40 m/min veve. V=100 m/min veves V=60 m/min
fn =0.1 mm/rev fn = 0.05 mm/rev fn =0.15 mm/rev fn =0.15 mm/rev
Vc =100 m/min V¢ =60 m/min

fn = 0.1 mm/rev

fn = 0.1 mm/rev

¥4 H 8 o

Q
c
=}
o
=
E
=
3
o
o
«Q
~




GUNDRILL APPLY ON CNC MACHINERY
{8 ERFEIN T A O RIfEFE

O HRIVEEAN TPNFIER CHEHITE

o RIREFBRENENRAMAEFZIR TEIVEREIE

GUN DRILL APPLY ON CNC MACHINERY
teER I T O RYfEF

O BEIBESIESLNIRY

¥4 H 2 o

(@]
(=4
3
o
=
=
®
[a]
=
p=)
o
o
«Q
~

SIB3 I REBBEREHER
BEHE ERER I3 ERE LxD S1E33LR
A ©1.805 | ®4.001 | ®8.501 | ®12.001 | ®21.000 | ®31.000 | ®41.000 @ HIL31E3
-4.000 -8.500 -12.000 -20.999 -30.999 -40.999 -55.000 S
ILEAZE: +0.01-+0.Tmm
1.85mm +0.005 o=
- to ap.10xD | 2.0xD | 10xD | 1.0xD | 1.0xD SR H=15mm
4.00mm +0.010
4.01mm +0.010
- to ap.20xD | 3.0xD | 15xD | 15xD | 1.5xD
12.00mm +0.020 1xD
12.01mm +0.015 - @ FIRmR
- to ap25xD | 4.0xD | 20xD | 20xD | 15xD | 1yp ® DRIBIEEANSIESL
50.00mm +0.040 3R : n=50-100min-1
ELERE: VI=100-300mm/min
ap.30xD | 6.0xD | 3.0xD | 3.0xD | 1.5xD FE. AEMESEREEINADIVEANAS|ES
ap.35xD 30mm | 35mm | 3.0xD 1.5xD
ap.40xD 30mm | 35mm | 3.0xD 1.5xD .
@ EEANILRIOMmMEZFLE
6 FRIBRERREIRE
O BREESERESIEILNRY
SIS REEAEREHER ©® EIIasHEELS
_ . AOBE (H=10-20mm )
BEEHE BEE I3 ERE SIE3ILR ~ ST
e BRER | SBARE| Lo B SRR RIBESEEI80%
N ®0.500-1.599 ®1.600-3.999 ®4.000-6.999 ©7.000-12.000 %b?ﬂ'_é :
3R H=20mm—E&ELERE: f=100%
0.500mm +0.005
- to ap.20xD 2.0xD 2.0xD 2.5xD
4.000mm +0.010
4.001Tmm +0.010
- to ap.30xD 2.0xD 3.0xD 3.0xD 3.5xD
12.000mm +0.020 =t
= 3
ap.40xD 4.0xD 4.0xD GV © %’%%
BENTEFBLBHETH5mm
=1 A
ap.50xD 6.0xD ’9‘ & EMEEFRRAAL
Jormm © © RO
ap.60xD 6.0xD 35mm
30mm
>40xD

¥4 H 8 o

Q
c
=}
o
=
E
=
3
o
o
«Q
~




¥4 H 2 o

[4)
(=4
3
o
=
)
=
p=)
[
o
«Q
~

TECHNICAL PARAMETERS

RARSH

REVHE N, REHRE

%%Lﬁ% (ﬁ(‘ﬁﬂ] ) hEEsL

I ) SeE, THALRE
DAIRE, THARIeE
W RiEHE, THRAEE

BERE (#td) haEsL
RE (H8) 698K

N £ RIRT
RBLRT

BHNIREN
(Mpa)

BEOEEME (#5) 698k

ENRETUERNAE

FEEE

=

PN WS OO~ ®©O O

e

et i

o RHE
w HES
148 (L/min)

==

100083, R Emm

0.06
0.04
0.03
0.02
0.01
mm

8E6E (KSi28)

TR

sl (DGHAIRBRE)

#fbi

L]

REGRH

750883 REmm

TREESE
. E—RTRT
BBIRT

BEIEERE

11

HERE

BEFR

BB

=B
HHASEE

Rlpm

21

115

6.2

34

N4

N3

1.0

Rapm

32

16

0.8

0.4

0.1

Rzpum

14

7.6

415,

22

0.65

HERE

ITIRSW

PROBLEM AND SOLUTION
IS T S X R

HWRE
BEEGRE, RUTHRSREDREENRER
oA DERE | gusseser.
DHONE | mams. RES REEEEERSAER, BIE
BHERSEME
ESIERS
EERETE pummEEwR
THNRBESEA:
KRR BETHRESENFVESEREANHIKRESAX
AR BEREHRES
EBEEREY
OEAN0 T o
DARBEA:
2ENaERE
EESENDARE
NEEE | =oaEssas
BRHELSSE
P SELSIRE
B@EAl EEDE . AR ESEERAME LRI LT
= B SE LI
I b SERIA. B EEDEEHRAEE .
ERmSHE, BISESE
BWEETM
AN BERET,
BBk
EEEE WD HEREES
miEE
= = ons
DDI*EE D/\EFD 2
IR RES -
B
RS, BAREEENSSENRE. B B
NIRE TIEI R s . e S HER
HREAR | em. BB -~
BB AR s | TEREOE. BORERSEs
DHIBERR: DB R RIRAE
SRS EOIME. RIS BN, REEEEEEREERATR. BE
HERE :
DRSS UKD B 7R
SR M A R
HEWRE :
EBE EESERE, SESTHNRVE
BEE | | e
FARE BERBENTIRTK. BE
MRS -
=2 HHIREDE.
HESBR A MREBEE, BENENERESEX. BEME
WNBDLESERO, BERERNEBNEGTE
DU THERARDEER T RE0E, e
pums | TOEE
RS ‘
HARERER : FRRE: _
- IRSERE, SESTRNROEBERERINTE IR LIRS R SRR
HERE:
EEABHNATR. BEURARSHE
MRS
SREERS, FESHEESEMAHER

¥4 H 8 o

Q
c
=}
o
=
E
=
3
o
o
«Q
~




